

Register of Public Roads



REGISTER OF PUBLIC ROADS

CONTENTS

SEALED ROADS

Township Sealed Roads

Rural Sealed Roads

UNSEALED ROADS

Township Unsealed Roads

Rural Unsealed Roads

SEALED ROADS – TOWNSHIP

Exemption Company Co	Road Name	From	To End	Asset Type	Length	Width	Area
Assertion Suppose	Acacia Street	Wattle Drive	Springwood Street	Township Low Use Slurry Seal (Standard) Surface			2,678.10
Associate Square							834.80
Assistate Signate	•		Bowman Street				953.30
Contained Southern	•						1,141.60
Additional Support Cyrr Resold (Education) Sustainan Street Community (Cyrrical Presentation 12,5 40 10,50 1,4	•						1,316.70
Authorities Square	•						953.30
Assessment Signation Symmetric (Thompson Control Street Symmetric (Street) East Description Symmetric (Street) Symmetric (Str	Adelaide Square	Eyre Road (Church)	Bowman Street	Township (Other) Low Use (Standard) Pavement			1,316.70
## April Road Three Chain Road Virtuo Stories Virtu		, , ,	Bowman Street				1,141.60
## Strong Road Compart Road South Stoom Train Road Compart R							834.80
Minder Road Internal Road Coppage Road South Command (Pert Prins) Medium Use Spray Seal (Standard) Upper Surface 59,12.0 5,7.7		Three Chain Road	Victoria Street				3,916.80
Afford Road		· -					3,881.30
Afford food		Harris Road	Copinger Road South	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface			3,961.00
Allon Street		Victoria Street	Dorothy Street	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface			3,735.80
Almon Street		Dorothy Street	Harris Road	Township Medium Use Hotmix Bitumen (Standard) Surface		12.80	2,859.50
Manus Street Mondework Road Township (Port Pine) Law Use Spray Seal (Standard - Low Service Level) Upper Surface 28.3.00 9.70 2. Aget Place Imperior Road Indicate Indi	Afton Street	The Terrace	Zeta Street	Township Low Use Slurry Seal (Standard) Surface	159.20	9.80	1,560.20
Agent Piace Ingerton Road End Township (Port Pivis) Low Use Spray Seal (Standard) Upper Surface 68.60 7.00 7.	Afton Street	Zeta Street	James Street	Township Low Use Slurry Seal (Standard) Surface	128.90	9.00	1,160.10
Agency Frederick Road Frances Street Fovensity (Port Princ) Low Use Interns. Effuring Change to Formation) Surface 271.20 9.60 24.	Afton Street	James Street	Wandearah Road	Township (Port Pirie) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	283.30	9.70	2,748.00
Agence Frederick Road Frances Street Toweship (Port Pirie) Low Use Interime Elituren Change to Formation) Surface 271.20 9,60 2,4	Agett Place	Ingerson Road	End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	68.60	7.00	480.20
Albert Terrace	Agnes Street		Frances Street	Township (Port Pirie) Low Use Hotmix Bitumen (Future Change to Formation) Surface	271.20	9.60	2,603.50
Albert Terrace	Albert Terrace	Parks Street	Alpha Terrace	Township Medium Use Hotmix Bitumen (Standard) Surface	141.40	10.60	1,498.80
Alpert Terrace Service Road Wilkins Street Township Medium Use Hotwick Bitumen (Standard) Surface 139.70 11.00 1.1			<u> </u>	, ,			1,446.90
Albert Terrace Wilkins Street Young Street Township Medium Use Inform. Bitumen (Standard) Surface 139.70 11.00 1.4 Alexander Street Gertrude Street Township (Port Prier) High Use Hotmix Bitumen (Standard) Short Life Layer 135.50 13.20 1.4 Alexander Street Gertrude Street Township (Port Prier) High Use Hotmix Bitumen (Standard) Short Life Layer 135.50 13.20 1.4 Alexander Street Township (Port Prier) High Use Hotmix Bitumen (Standard) Short Life Layer 129.00 7.70 Alexander Street Township Paved Strafe Township Paved Strafe Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township Paved Strafe Alexander Street Life Parking Bays Ellen Street Florence Street Township (Port Prier) Low Use Spray Seal (Standard) Upper Surface 213.90 14.00 2.7 Alfred Street Percy Street Esmond Road Township (Port Prier) Low Use Spray Seal (Standard) Upper Surface 213.90 14.00 2.7 Alfred Street Seale Alexander Street Township (Port Prier) Low Use Spray Seal (Standard) Upper Surface 8.2 0.7 0.7 Alice Street Scalad Alexander Street Township (Port Prier) Low Use Spray Seal (Standard) Upper Surface 8.2 0.7 0.7 Alice Street Scalad Alexander Street Township (Port Prier) Low Use Spray Seal (Standard) Upper Surface 9.2 0.7 0.7 Alian Stree		_		, ,			1,467.40
Alexander Street Gertrude Street The Terrace Township (Port Prine) High Use Notimis Bitumen (Standard) Short Life Layer 294.90 12.50 3.7.				, ,			1,536.70
Alexander Street				, ,			3,686.30
Alexander Street Ellen Street Florence Street Township (Port Price) Night Use Hoterik Bitumen (Standard) Short Life Layer 129.00 7.70 5 Alexander Street East Ellen Street Florence Street Township (Port Price) Night Use Hoterik Bitumen (Standard) Short Life Layer 54.10 6.40 6.40 Alexander Street Life Starking Bays Ellen Street Florence Street Township (Port Price) Night Use Hoterik Bitumen (Standard) Short Life Layer 54.10 6.40 6.40 Alexander Street Life Starking Bays Ellen Street Florence Street Township (Port Price) Night Use Spray Seal (Standard) Upper Surface 209.10 7.60 1.5 Alexander Street Life Starking Bays Ellen Street Standard Short Vise Spray Seal (Standard) Upper Surface 213.90 7.40 7.40 Alexander Street Starking Bays Starking Bays Starking Starking Vise Spray Seal (Standard) Upper Surface 213.90 7.40 7.40 7.40 Algeronn Street Starking Bays Starking Starking Vise Spray Seal (Standard) Upper Surface 215.80 7.40 7				1			1,788.60
Alexander Street Ellen Street Florence Street Township Paved Surface 110.00 2.10				, , , , , , , , , , , , , , , , , , , ,			993.30
Alexander Street East Ellien Street Wharf Township (Port Prine) High Use Hotmix (Standard) Short Life Layer 54.10 6.40 Alexander Street Life Parking Bays Ellien Street Township Paved Sturface 11.00 2.10 Alexander Street Life Parking Bays Ellien Street Township Paved Sturface 11.00 2.10 Alexander Street Counting Paved Sturface 11.00 2.10 Alexander Street Counting Paved Sturface 11.00 2.10 Alexander Street Counting Paved Sturface 20.9 10 7.60 1.5 Alexander Street Counting Paved Sturface 20.9 10 7.60 1.5 Alexander Street Specific Paved P							230.00
Alexandre Street LHS Parking Bays				·			346.20
Alexandria Avenue							230.00
Affred Street Perry Street Esmond Road Township (Port Pire) Low Use Spray Seal (Standard) Upper Surface 213.90 14.00 2.5 Affred Street Broadway Road Percy Street Township (Port Pire) Low Use Spray Seal (Standard) Upper Surface 216.80 13.70 2,2 Algernon Street Keith Street Senate Road Township (Port Pire) Low Use Spray Seal (Standard) Upper Surface 82.60 7.40 0.6 Aljes Street Keith Street Senate Road Township (Port Pire) Low Use Spray Seal (Standard) Upper Surface 85.70 7.60 0.6 Aljes Street Kotsoglous Crescent Broadway Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 85.70 7.60 0.6 Allan Street Gadd Avenue Sinclair Street Township (Other) Low Use Spray Seal (Kon-Standard) Upper Surface 95.70 6.60 0.6 Allan Street Gadd Avenue Sinclair Street Township (Other) Low Use (Non-Standard) Upper Surface 231.60 8.20 1.4 Allan Street Gadd Avenue Sinclair Street Township (Other) Low Use (Non-Standard) Upper Surface 231.60 8.20 1.4				·			1,589.20
Affred Street Broadway Road Percy Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 216.80 13.70 2.5 Algernon Street Falconer Street Keith Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 82.60 7.40 6 Allice Street Keth Street Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 85.70 7.60 4 1.64							2,994.60
Algernon Street Falconer Street Keith Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 82.60 7.40 7.40 Algernon Street Keith Street Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 85.70 7.60 1.6 Alice Street Kotsoglous Crescent Broadway Road Township (Other) Low Use Slurry Seal (Standard) Upper Surface 219.10 6.40 1.7 Allan Street Gadd Avenue Sinclair Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 233.60 8.20 1.1 Allan Street Gadd Avenue Sinclair Street Township (Other) Low Use Spray Seal (Standard) Surface 231.60 8.20 1.3 Allan Street Gadd Avenue Sinclair Street Township (Other) Low Use (Kon-Standard) Pavement 95.70 6.60 <t< td=""><td></td><td>-</td><td></td><td></td><td></td><td></td><td>2,970.20</td></t<>		-					2,970.20
Algernon Street Kelth Street Senate Road Township (Port Pirle) Low Use Spray Seal (Standard) Upper Surface 8.57.0 7.60 1.60 1.6 4.0 1.7 6.00 1.6 4.0 1.7 6.00 1.6 4.0 1.8 3.0 7.60 0.60 0.6		-					611.20
Alice Street Kotsoglous Crescent Broadway Road Township Low Use Slurry Seal (Standard) Surface 219.10 6.40 14. Allan Street Gadd Avenue Sinclair St End Township (Other) Low Use Spray Seal (Non-Standard) Upper Surface 35.70 6.60							651.30
Allan Street Sinclair Steet Sinclair St End Township (Other) Low Use Spray Seal (Non-Standard) Upper Surface Sinclair St End Township (Other) Low Use Spray Seal (Standard) Upper Surface Sinclair St End Township (Other) Low Use (Non-Standard) Pavement Sinclair St Sinclair St Sinclair St End Township (Other) Low Use (Standard) Pavement Sinclair St End Township (Other) Low Use (Standard) Pavement Sinclair St End Township (Other) Low Use (Standard) Pavement Sinclair St Sinclair St End Township (Other) Low Use (Standard) Pavement Sinclair St Sinclair St Sinclair St End Township (Other) Low Use (Standard) Pavement Sinclair St Sinclair St Sinclair St Sinclair St Sinclair St Sinclair St End Township (Other) Low Use (Standard) Pavement Sinclair St S							1,402.20
Allan Street Sinclair St Gadd Avenue Sinclair Street Gadd Avenue Sinclair Street Township (Other) Low Use (Non-Standard) Payement Sinclair Street Sinclair Str				' ' '			631.60
Allan Street Sinclair St End Township (Other) Low Use (Non-Standard) Pavement Sinclair St End Township (Other) Low Use (Standard) Pavement Sinclair St End Township (Other) Low Use (Standard) Pavement Sinclair St End Township Medium Use (Standard) Surface Sinclair St Alpha Terrace Queen Street Prince Street Albert Terrace Alpha Terrace Prince Street Albert Terrace Alpha Terrace Non-Standard Street Non-Standard Surface Non-Stan							1,899.10
Allan Street Sinclair St End Township (Other) Low Use (Standard) Pavement 231.60 8.20 1,4 Alpha Terrace Queen Street Prince Street Township Medium Use Slurry Seal (Standard) Surface 142.30 10.70 1,4 Alpha Terrace Prince Street Queen Street Township Medium Use Slurry Seal (Standard) Surface 135.10 9.60 1,4 Alpha Terrace Ring Street Queen Street Township Medium Use Slurry Seal (Non-Standard Low Service Level) Surface 140.90 10.70 1,4 Alpha Terrace Main Road King Street Queen Street Township Medium Use Slurry Seal (Non-Standard Low Service Level) Surface 140.90 10.70 1,4 Alpha Terrace Main Road King Street Township Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 139.20 10.70 1,4 Alpha Terrace Main Road King Street Township Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 139.20 10.70 1,4 Alpha Terrace Main Road King Street Township Medium Use Slurry Seal (Standard) Surface 145.90 6.50 1,4 Alpha Terrace Main Road Warne Street Township Low Use Hotmix Bitumen (Standard) Surface 145.90 6.50 1,4 Alpha Terrace Main Street Warne Street Duffield Street Township Low Use Slurry Seal (Standard) Surface 144.80 6.90 1,4 Amelia Street Warne Street Dianne Street Township Low Use Slurry Seal (Standard - Low Service Level) Surface 144.80 6.90 1,4 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 144.80 6.90 1,4 Amelia Street Una Avenue Dianne Street Township Low Use Slurry Seal (Standard) Surface 144.90 7.90 1,4 Angle Street Wirght Street End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 1,4 Angle Street Amanda Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard Upper Surface 111.50 6.50 1,4 Angac Road Bray Street French Street Township (Port Pirie) Medium Use Spray Seal (Standard Upper Surface 111.50 6.50 1,4 Angac Road Broadway Road Moppett Road Township (Port Pirie) Low Use Spray Seal (Standard Upper Surface 144.80 6.30 2,4 Angac Road Broadway Road Moppett Road Township (Port Pirie) Low Use Spr							631.60
Alpha TerraceQueen StreetPrince StreetTownship Medium Use Slurry Seal (Standard) Surface142.3010.701,5Alpha TerracePrince StreetAlbert TerraceTownship Medium Use Hotmix Bitumen (Standard) Surface135.109.601,7Alpha TerraceKing StreetQueen StreetTownship Medium Use Slurry Seal (Non-Standard Low Service Level) Surface140.9010.701,5Alpha TerraceMain RoadKing StreetTownship Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface139.2010.701,6Amanda CourtKaeleen CourtEndTownship Low Use Hotmix Bitumen (Standard) Surface45.906.502Amanda StreetYork RoadWarne StreetTownship Low Use Slurry Seal (Standard) Surface154.506.204Amanda StreetWarne StreetDuffield StreetTownship Low Use Slurry Seal (Standard) Surface241.806.901,6Amelia StreetDianne StreetDuffield StreetTownship Low Use Slurry Seal (Standard) Surface241.806.901,6Amelia StreetDianne StreetService RoadTownship Low Use Slurry Seal (Standard) Surface91.7010.905Amelia StreetUna AvenueDianne StreetTownship (Port Pirie) Low Use Spray Seal (Standard) Upper Surface214.907.901,6Anje StreetWright StreetEndTownship (Port Pirie) Low Use Spray Seal (Standard) Upper Surface73.607.401Anzac RoadBray StreetFrench StreetTownship (Port Pirie) Medium							1,899.10
Alpha Terrace Prince Street Albert Terrace Township Medium Use Hotmix Bitumen (Standard) Surface 135.10 9.60 1,2 Alpha Terrace King Street Queen Street Township Medium Use Slurry Seal (Non-Standard Low Service Level) Surface 140.90 10.70 1,4 Alpha Terrace Main Road King Street Township Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 139.20 10.70 1,4 Amanda Court Raeleen Court End Township Low Use Hotmix Bitumen (Standard) Surface 139.20 10.70 1,4 Amanda Street York Road Warne Street Township Low Use Hotmix Bitumen (Standard) Surface 45.90 6.50 2 4 Amanda Street York Road Warne Street Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 9 4 Amanda Street Warne Street Duffield Street Township Low Use Slurry Seal (Standard - Low Service Level) Surface 241.80 6.90 1,4 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard - Low Service Level) Surface 241.80 6.90 1,4 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 91.70 10.90 1,4 Angle Street Una Avenue Dianne Street Township Low Use Slurry Seal (Standard) Surface 214.90 7.90 1,4 Angle Street Wright Street End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 73.60 7.40 5 4 Ania Street Ania Street Ania Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard Future Hotmix) Upper Surface 111.50 6.50 6.50 6.50 6.50 6.50 6.50 6.50 6							1,522.60
Alpha Terrace King Street Queen Street Township Medium Use Slurry Seal (Non-Standard Low Service Level) Surface 140.90 10.70 1,5 Alpha Terrace Main Road King Street Township Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 139.20 10.70 1,6 Amanda Court Kaeleen Court End Township Low Use Hotmix Bitumen (Standard) Surface 45.90 6.50 2 Amanda Street York Road Warne Street Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 9 Amanda Street Warne Street Duffield Street Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 9 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 9 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 9 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 9 Amelia Street Una Avenue Dianne Street Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 9 Amelia Street Una Avenue Dianne Street Township (Port Pirie) Low Use Slurry Seal (Standard) Upper Surface 154.50 6.50 9 1,6 Annie Street Amanda Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 154.50 6.50 9 1,6 Anzac Road Bray Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,7 Anzac Road Bray Street French Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Sreet Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Sreet Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Sreet Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Sreet Street Township (Port Pirie) Low Use Spray Seal (Standard) U							1,297.00
Alpha Terrace Main Road King Street Township Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 139.20 10.70 1,4 Amanda Court Kaeleen Court End Township Low Use Hotmix Bitumen (Standard) Surface 45.90 6.50 2 Amanda Street York Road Warne Street Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 9 Amanda Street Warne Street Duffield Street Township Low Use Slurry Seal (Standard - Low Service Level) Surface 154.50 6.20 9 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard - Low Service Level) Surface 191.70 10,0 9 Amelia Street Una Avenue Dianne Street Township Low Use Slurry Seal (Standard) Surface 191.70 10,0 9 Angle Street Una Avenue Dianne Street Township Low Use Slurry Seal (Standard) Surface 191.70 10,0 9 Angle Street Wright Street End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 7 Annie Street Amanda Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 7 Anzac Road Bray Street French Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,3 6.50 8 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,6 6.50 8 Anzac Road York Road End of Seal 45m Nth of Maude Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 448.10 6.30 2,6 6.50 8 Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 448.10 6.30 2,6 6.50 8 Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 448.10 6.30 2,6 6.50 8 Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 448.10 6.30 2,6 6.50 8 Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 448.10 6.30 2,6 6.50 8 Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 448.10 6.30 2,6 6.50 8 Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 448.10 6.30 2,6 6.50 8 Township (Port Pirie) Low Use Spray Seal (S							1,507.60
Amanda Street York Road Warne Street Township Low Use Slurry Seal (Standard) Surface 154.50 6.20 5 Amanda Street Warne Street Duffield Street Township Low Use Slurry Seal (Standard - Low Service Level) Surface 241.80 6.90 1,6 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 91.70 10.90 1,6 Amelia Street Una Avenue Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 91.70 1.90 1,6 Angle Street Wright Street End Township Low Use Spray Seal (Standard) Upper Surface 73.60 7,40 5 Annie Street Amanda Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 7 Anzac Road Esmond Road Bray Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 330.90 7.20 2,8 Anzac Road York Road End of Seal 45m Nth of Maude Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,5							1,489.40
Amanda Street Warne Street Duffield Street Township Low Use Slurry Seal (Standard - Low Service Level) Surface 241.80 6.90 1,6 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 91.70 10.90 9 Amelia Street Una Avenue Dianne Street Township Low Use Slurry Seal (Standard) Surface 214.90 7.90 1,6 Angle Street Wright Street End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 73.60 7.40 9 Annie Street Annie Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 7 Anzac Road Esmond Road Bray Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road Broadway Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road Pork Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,3	Amanda Court	Kaeleen Court	End	Township Low Use Hotmix Bitumen (Standard) Surface	45.90	6.50	298.40
Amanda Street Warne Street Duffield Street Township Low Use Slurry Seal (Standard - Low Service Level) Surface 241.80 6.90 1,6 Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 91.70 10.90 9 Amelia Street Una Avenue Dianne Street Township Low Use Slurry Seal (Standard) Surface 214.90 7.90 1,6 Angle Street Wright Street End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 73.60 7.40 9 Annie Street Annada Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 7 Anzac Road Esmond Road Bray Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road Broadway Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,3 Anzac Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,3	Amanda Street	York Road	Warne Street	Township Low Use Slurry Seal (Standard) Surface	154.50	6.20	957.90
Amelia Street Dianne Street Service Road Township Low Use Slurry Seal (Standard) Surface 91.70 10.90 50 50 50 50 50 50 50 50 50 50 50 50 50	Amanda Street	Warne Street	Duffield Street	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	241.80	6.90	1,668.40
Amelia Street Una Avenue Dianne Street Township Low Use Slurry Seal (Standard) Surface 214.90 7.90 1,6 Angle Street Wright Street End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 73.60 7.40 5 Annie Street Amanda Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 1 Anzac Road Esmond Road Bray Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,7 Anzac Road Bray Street French Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road York Road End of Seal 45m Nth of Maude Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,5 Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,5		Dianne Street	Service Road		91.70	10.90	999.50
Angle Street Wright Street End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 73.60 7.40 5 Annie Street Amanda Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 7 Anzac Road Esmond Road Bray Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,7 Anzac Road Bray Street French Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road York Road End of Seal 45m Nth of Maude Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,3					214.90	7.90	1,697.70
Annie Street Amanda Street Rupara Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 111.50 6.50 7 Anzac Road Esmond Road Bray Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,7 Anzac Road Bray Street French Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road York Road End of Seal 45m Nth of Maude Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,3	Angle Street	Wright Street	End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	73.60	7.40	544.64
Anzac Road Esmond Road Bray Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 224.10 10.10 2,7 Anzac Road Bray Street French Street Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 220.40 10.10 2,7 Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road York Road End of Seal 45m Nth of Maude Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,3			Rupara Street			6.50	724.80
Anzac Road Broadway Road Moppett Road Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface 448.10 6.30 2,8 Anzac Road York Road End of Seal 45m Nth of Maude Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,3	Anzac Road	Esmond Road			224.10		2,263.40
Anzac Road York Road End of Seal 45m Nth of Maude Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 330.90 7.20 2,3	Anzac Road	Bray Street	French Street	Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface	220.40	10.10	2,226.00
Street	Anzac Road	Broadway Road	Moppett Road	Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface	448.10	6.30	2,823.00
	Anzac Road	York Road		Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	330.90	7.20	2,382.50
Anzac Road Goode Road York Road Township Medium Use Hotmix Bitumen (Standard) Surface 449.60 8.90 4,0	Anzac Road	Goodo Boad		Township Modium Use Hotmix Ritumon (Standard) Surface	440.60	9 00	4,001.40

Road Name	From	To End	Asset Type	Length	Width	Area
Anzac Road	Kingston Road	Jervis Street	Township Medium Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level)	278.20	10.60	2,948.90
Anzac Road	Jervis Street	Balmoral Road	Township Medium Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level) Surface	299.80	10.90	3,267.80
Anzac Road	Balmoral Road	Hackett Street	Township Medium Use Hotmix Bitumen (Standard) Surface	243.80	12.70	3,096.30
Anzac Road	Hackett Street	Wall Street	Township Medium Use Hotmix Bitumen (Standard) Surface	177.70	12.70	2,256.80
Anzac Road	Wall Street	Esmond Road	Township Medium Use Hotmix Bitumen (Standard) Surface	167.80	12.70	2,131.10
Anzac Road	Moppett Road	Goode Road	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	444.90	6.50	2,891.90
Armour Street	Hopkins Street	Anzac Road	Township Low Use Hotmix Bitumen (Standard) Surface	86.10	7.10	611.30
Armour Street	Tummel Street	Hopkins Street	Township (Port Pirie) Low Use Spray Seal (Non-Standard) Upper Surface	91.60	7.30	668.70
Arnold Street	Cottell Street	Smith Street	Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	73.30	6.80	498.40
Arnold Street	Smith Street	Veal Street	Township Low Use Slurry Seal (Standard) Surface	59.80	6.80	406.60
Arnold Street	Veal Street	Jellicoe Street	Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	78.70	6.50	511.60
Arnold Street	Jelicoe Street	Balmoral Road	Township Low Use Hotmix Bitumen (Standard) Surface	135.60	11.10	1,505.20
Arthur Crescent	29 Arthur Street	Balmoral Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	150.70	6.90	1,039.80
Arthur Street	The Terrace	South Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	206.90	8.80	1,820.70
Arthur Street	South Street	29 Arthur Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	177.60	9.90	1,758.20
Bain Avenue (Napperby)	Oaks Road	Gulf View Road	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	701.70	7.00	4,911.90
Bain Avenue (Napperby)	Oaks Road	Gulf View Road	Township (Other) Medium Use (Standard) Pavement	701.70	7.00	4,911.90
Bain Avenue (Port Pirie)	Esmond Road	Moresby Crescent	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	103.00	7.40	762.20
Bairstow Street	Port Davis Road	Balfour Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	80.90	7.40	566.30
Balfour Street	South End	Radford Drive South	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	241.40	6.80	1,641.50
	Three Chain Road	Arnold Street		137.90	9.20	1,268.70
Balmoral Road Balmoral Road	Zeta Street	The Terrace	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	157.40	9.20	1,526.80
			1 ()	238.70	9.70	
Balmoral Road	Oxford Street	Senate Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	142.80	12.40	2,363.10
Balmoral Road	Anzac Road	Dunn Street	Township Medium Use Hotmix Bitumen (Standard) Surface			1,770.70
Balmoral Road	The Terrace	Halley Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	147.40	9.70	1,429.80
Balmoral Road	Murdoch Street	Zeta Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	126.10	9.70	1,223.20
Balmoral Road	O'Loughlin Avenue	Murdoch Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	147.80	9.90	1,463.20
Balmoral Road	Wandearah Road	O'loughlin Avenue	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	139.50	9.90	1,381.10
Balmoral Road	Elizabeth Street	Wandearah Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	149.40	9.20	1,374.50
Balmoral Road	Arnold Street	Elizabeth Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	130.80	9.10	1,190.30
Balmoral Road	Halley Street	Oxford Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	185.10	9.90	1,832.50
Balmoral Road	Senate Road	Carter Crescent	Township Medium Use Hotmix Bitumen (Standard) Surface	88.80	11.00	976.80
Balmoral Road	Carter Crescent	Middleton Street	Township Medium Use Hotmix Bitumen (Standard) Surface	96.10	11.00	1,057.10
Balmoral Road	Middleton Street	Caldecott Street	Township Medium Use Hotmix Bitumen (Standard) Surface	109.90	9.70	1,066.00
Balmoral Road	Caldecott Street	Anzac Road	Township Medium Use Hotmix Bitumen (Standard) Surface	276.60	9.10	2,517.10
Balmoral Road Laneway	The Terrace	Wandearah Road	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	555.70	3.00	1,667.10
Barbara Crescent	Haines Street	Port Davis Road	Township Low Use Hotmix Bitumen (Standard) Surface	214.90	7.40	1,590.30
Barbara Crescent	Williams Drive	Haines Street	Township Low Use Hotmix Bitumen (Standard) Surface	73.60	7.30	537.30
Barbara Crescent	Kingston Road	Caryll Court	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	79.40	7.30	579.60
Barbara Crescent	Caryll Court	Williams Drive	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	112.10	7.40	829.50
Barnes Street	Esmond Road	Stuckey Street	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	89.60	9.20	824.30
Barnes Street	Stuckey Street	Symonds Street	Township Low Use Slurry Seal (Standard) Surface	143.90	9.20	1,323.90
Barr Street	Moorhouse Street	Ellis Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	154.50	20.00	3,090.00
Barr Street	Ellis Street	Bridge	Township (Other) Low Use Spray Seal (Standard) Upper Surface	304.50	13.50	4,110.80
Barr Street	South Terrace	Moorehouse Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	307.60	19.50	5,998.20
Barr Street	South Terrace	Moorehouse Street	Township (Other) Low Use (Standard) Pavement	307.60	19.50	5,998.20
Barr Street	Moorhouse Street	Ellis Street	Township (Other) Low Use (Standard) Pavement	154.50	20.00	3,090.00
Barr Street	Ellis Street	Bridge	Township (Other) Low Use (Standard) Pavement	304.50	13.50	4,110.80
Barry Street	Hutchinson Street	Plenty Street	Township Low Use Hotmix Bitumen (Standard) Surface	202.50	7.90	1,599.80
Barry Street	Lydeamore Street	Hutchinson Street	Township Low Use Hotmix Bitumen (Standard) Surface	100.40	7.90	793.20
Barry Street	Luscombe Street	Lydeamore Street	Township Low Use Hotmix Bitumen (Standard) Surface	95.20	7.90	752.10
Bartsch Street	Broadstock Road (West)	Broadstock Road (East)	Township (Port Pirie) Industrial Use Hotmix Bitumen (Standard) Short Life Layer	517.40	11.50	5,950.10
Batty Street	Dawson Street	Evans Street	Township Low Use Slurry Seal (Standard) Surface	222.20	8.70	1,933.10
Batty Street	Evans Street	Magor Road	Township Low Use Slurry Seal (Standard) Surface	296.10	8.60	2,546.50
Batty Street	Eunice Street	Dawson Street	Township Low Use Slurry Seal (Standard) Surface	137.40	9.20	1,264.10
Batty Street	Ramsay Street	Eunice Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	255.10	7.40	1,887.70
Bauer Street	Batty Street		Township Low Use Slurry Seal (Standard) Surface	171.20	8.00	1,369.60
	1 '	111 (11 11 11 11 11 11 11 11 11 11 11 11	, , , , , , , , , , , , , , , , , , , ,			

Road Name	From	To End	Asset Type	Length	Width	Area
Beach Road (East)	Three Chain Road	End	Township Low Use Hotmix Bitumen (Non-Standard) Surface	376.40	6.40	2,409.00
Beach Road (West)	Manders Street	End	Township Low Use Slurry Seal (Standard) Surface	41.20	5.50	226.60
Beach Road (West)	Feeley Street	Manders Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	194.10	10.40	2,018.60
Beach Road (West)	Spencer Highway	Feeley Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	189.90	11.40	2,164.90
Beach Road Bus Park	Three Chain Road	Beach Road	Township Low Use Hotmix Bitumen (Standard) Surface	97.70	5.00	488.50
Beaumont Avenue	Bolivar Crescent	End	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	96.40	6.90	665.20
Beaumont Avenue	Una Avenue	Bolivar Crescent	Township Low Use Slurry Seal (Standard) Surface	119.00	7.30	868.70
Bensley Street	Esmond Road	Halliday Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	269.00	6.80	1,829.20
Bill Jones Crescent	End (south)	End (north)	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	36.40	6.00	218.40
Bill Jones Crescent	Carter Crescent	To End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	185.70	6.00	1,114.20
Binney Road	Musgrave Street	Stanley Street	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	121.00	7.50	907.50
Binney Road	Gilbert Street	Musgrave Street	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	237.50	7.50	1,781.30
Binney Road	Stanley Street	Frith Road	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	212.50	7.50	1,593.80
Binney Road	Gadd Avenue	Gilbert Street	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	376.90	8.30	3,128.30
Binney Road	Gilbert Street	Musgrave Street	Township (Other) Medium Use (Standard) Pavement	237.50	7.50	1,781.30
Binney Road	Musgrave Street	Stanley Street	Township (Other) Medium Use (Standard) Pavement	121.00	7.50	907.50
Binney Road	Stanley Street	Frith Road	Township (Other) Medium Use (Standard) Pavement	212.50	7.50	1,593.80
Binney Road	Gadd Avenue	Gilbert Street	Township (Other) Medium Use (Standard) Pavement	376.90	8.30	3,128.30
Blight Street	Foristel Street	End	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	124.80	7.40	923.50
Blight Street	Eagle Street	Foristel Street	Township Low Use Slurry Seal (Standard) Surface	59.50	7.40	440.30
Blight Street	Ferme Street	Eagle Street	Township Low Use Slurry Seal (Standard) Surface	110.80	7.10	808.80
Bolivar Crescent	Beaumont Avenue	End	Township Low Use Slurry Seal (Standard) Surface	96.10	7.10	682.30
Boundary Road	330m North of Warnertown Road	480m North of Warnertown Road		154.10	6.40	986.20
-						
Bowman Street (Crystal Brook North Side)	Mitchell Street	Mais Terrace	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	128.90	6.40	825.00
Bowman Street (Crystal Brook North Side)	Mitchell Street	Mais Terrace	Township (Other) Medium Use (Standard) Pavement	128.90	6.40	825.00
Bowman Street (Crystal Brook North Side)	Railway Terrace	Eyre Road	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	272.50	15.40	4,196.50
Bowman Street (Crystal Brook North Side)	Railway Terrace	Eyre Road	Township (Other) Medium Use (Standard) Pavement	272.50	15.40	4,196.50
Bowman Street (Crystal Brook South Side)	Mitchell Street	Mais Terrace	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	129.50	6.90	893.60
Bowman Street (Crystal Brook South Side)	Mitchell Street	Mais Terrace	Township (Other) Medium Use (Standard) Pavement	129.50	6.90	893.60
Bowman Street (Crystal Brook South Side)	Railway Terrace	Eyre Road	Township (Other) Medium Use (Standard) Pavement	275.00	16.20	4,455.00
Bowman Street (Crystal Brook South Side)	Railway Terrace	Eyre Road	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	275.00	16.20	4,455.00
Bowman Street (Crystal Brook)	Mais Terrace	End of Seal at Busbridge Road	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	760.60	6.80	5,172.10
Bowman Street (Crystal Brook)	Eyre Road	Mitchell Street	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	144.70	18.30	2,648.00
Bowman Street (Crystal Brook)	Eyre Road	Mitchell Street	Township (Other) Medium Use (Standard) Pavement	144.70	18.30	2,648.00
Bowman Street (Crystal Brook)	Mais Terrace	End of Seal at Busbridge Road	Township (Other) Medium Use (Standard) Pavement	760.60	6.80	5,172.10
Bowman Street (Redhill)	River Terrace	Moorhouse Street	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	218.80	14.90	3,260.10
Bowman Street (Redhill)	Moorhouse St	St. Martins Road	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	622.00	6.40	3,980.80
Bowman Street (Redhill)	Moorhouse St	St. Martins Road	Township (Other) Medium Use (Standard) Pavement	622.00	6.40	3,980.80
Bowman Street (Redhill)	River Terrace	Moorhouse Street	Township (Other) Medium Use (Standard) Pavement	218.80	14.90	3,260.10
Brakenridge Street	The Terrace	Gordon Street	Township Low Use Hotmix Bitumen (Standard) Surface	115.00	4.80	552.00
Brandis Street	Cunningham Street	Edmund Terrace	Township Low Use Slurry Seal (Standard) Surface	193.10	12.10	2,336.50
Brandis Street	Bowman Street	Cunningham Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	202.30	13.80	2,791.70
Brandis Street	Wider Seal	Bowman Street	Township Low Use Slurry Seal (Standard) Surface	105.60	14.20	1,499.50
Brandis Street				224.90	10.20	2,294.00
	Younghusband Terrace	Ferguson Street	Township (Other) Low Use Spray Seal (Non-Standard) Upper Surface			,
Brandis Street	Ferguson Street	Wider Seal	Township (Other) Low Use Spray Seal (Standard) Upper Surface	94.70	10.60	1,003.80
Brandis Street	Cunningham Street	Edmund Terrace	Township (Other) Low Use (Standard) Pavement	193.10	12.10	2,336.50
Brandis Street	Bowman Street	Cunningham Street	Township (Other) Low Use (Standard) Pavement	202.30	13.80	2,791.70
Brandis Street	Wider Seal	Bowman Street	Township (Other) Low Use (Standard) Pavement	105.60	14.20	1,499.50
Brandis Street	Younghusband Terrace	Ferguson Street	Township (Other) Low Use (Non-Standard) Pavement	224.90	10.20	2,294.00
Brandis Street	Ferguson Street	Wider Seal	Township (Other) Low Use (Standard) Pavement	94.70	10.60	1,003.80
Branford Street	End of Cul de Sac	Geddes Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	229.20	6.00	1,375.20
Bray Street	Bray Street Cul De Sac	Anzac Road	Township Low Use Hotmix Bitumen (Standard) Surface	178.10	7.40	1,317.90
Breage Street	Senate Road	Breage Street Lane	Township Low Use Slurry Seal (Standard) Surface	184.20	8.60	1,584.10
Breage Street Lane	Broadway Road	Breage Street	Township (Port Pirie) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	98.40	3.20	314.90
Brereton Street	Noll Street	Ferme Street	Township Low Use Slurry Seal (Standard) Surface	149.30	7.30	1,089.90
Broadstock Road	Copinger Road	Bartsch Street	Township (Port Pirie) Industrial Use Hotmix Bitumen (Standard) Short Life Layer	149.30	11.30	1,687.10
Broadstock Road	Bartsch St	End Of Broadstock Road	Township (Port Pirie) Industrial Use Hotmix Bitumen (Standard) Short Life Layer	419.30	11.40	

Processing Road Wintered Street Annue Road Township Mortius Lie Information (Standard) Surface 18-50 70.	Name		From	To End	Asset Type	Length	Width	Area
Manadary Road		Milne Street		Whittard Street	Township Low Use Hotmix Bitumen (Standard) Surface	285.80	9.80	2,800.80
Service Service Township (Port Pina) High Use Spray Seal (Standard Future Hotmos) Upper Surface 93.30 13.3 13		Whittard Street	:	Anzac Road	Township Medium Use Hotmix Bitumen (Standard) Surface		9.80	1,817.90
Procedury Road		Howe Street		Senate Road	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	239.40	13.40	3,208.00
Procedury Road		Alfred Street		Howe Street	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	95.30	13.70	1,305.60
Branchery Road The Terrace Gordon Street Township (Per Princ) High User Horinin Statument (Standard) Shared Life Layer 125.70	-	Gordon Street		Alfred Street	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	112.60	13.70	1,542.60
Reconstrict	-	Senate Road		Milne Street	Township Low Use Hotmix Bitumen (Standard) Surface	98.70	9.80	967.30
Bruce Street Warnerform Road Orthind Street Township Duw Use Spray Seal (Standard) Upper Surface 112.10 5.		The Terrace		Gordon Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	125.70	13.60	1,709.50
Surt Street Warmertown Road Sabine Street Township Low Use Sjurry Seal (Sandards) Surface 124.30 10, 3 but Street Sabine Street Moorthouse Street Moorthouse Street Township Low Use Sjurry Seal (Sandards) Surface 127.70 7.		Elizabeth Stree	t	Wandearah Road	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	144.80	9.40	1,361.10
Burt Street		Moppett Road		Ottilind Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	112.10	6.20	695.00
Burt Street Doley Street Daisy Street Downship Low Use Surry Seal (Standard) Surface 127,70 7. Butterrick Street Wandaarah Road Mardoch Street Township Low Use Horizon Street 277,10 7. Butterrick Street Wandaarah Road Mardoch Street Township Low Use Horizon Street 277,10 7. Butterrick Street Mandaarah Road Mardoch Street Township Low Use Horizon Street 277,10 8. Butterrick Street Mandaarah Road Mardoch Street Township (Port Princip Low Use Spray Seal (Standard) Upper Surface 138,50 9. Butterrick Street Township (Port Princip Low Use Spray Seal (Standard) Upper Surface 138,50 9. Caldecard Street Maddadon Street Township (Port Princip Low Use Spray Seal (Standard) Upper Surface 138,50 9. Caldecard Street Maddadon Street Maddadon Street Township (Port Princip Low Use Spray Seal (Standard) Upper Surface 138,50 9. Caldecard Street Maddadon Street Maddadon Street Township (Port Princip Low Use Spray Seal (Standard) Upper Surface 56,00 9. Caldecard Street Maddadon Street Madda		Warnertown Ro	ad	Sabine Street		128.30	10.30	1,321.50
Burt Street		Sabine Street		Moorhouse Street	Township Low Use Slurry Seal (Standard) Surface	141.40	10.40	1,470.60
Sutterick Street						127.70	7.80	996.10
Butterick Street		Daisy Street		Wright Street	Township Low Use Slurry Seal (Standard) Surface	62.70	7.80	489.10
Butterick Street Murdoch Street Ingerson Street Township (Port Pire) Luw Use Spray Seal (Standard) Upper Surface 138.50 9. Butterick Street Hockett Street Middleton Street Township (Port Pire) Luw Use Spray Seal (Standard) Upper Surface 140.70 8. Caldecott Street Service Middleton Street Township (Port Pire) Luw Use Spray Seal (Standard) Upper Surface 140.70 8. Caldecott Street Service Servi					i i i i	277.10	8.90	2,466,20
Butterick Street Ingerson Street The Terrace Township (Port Fire) Low Use Spray Seal (Standard) Upper Surface 140,70 8.				Ingerson Street	·		9.10	1,260.40
Caldecott Street Hackett Street Ha				_			9.10	1,260.40
Caldecott Street							8.60	1,210.00
Caldectt Street							9.00	504.00
Caldecut Street	-						9.00	369.00
Galdecott Street Middleton Street Balmoral Road Township (Pert Pirel) Low Use Spray Seal (Standard) Upper Surface 91.60 8.8. Campbell Street Mitchell Street Esmond Road Township Low Use Hortins Bittumen (Standard) Surface 110.50 9.7. Campbell Street Watson Street Mitchell Street Fownship Low Use Hortins Bittumen (Standard) Surface 110.50 9.7. Campbell Street North End In Common Street North End I							9.00	393.30
Campbell Street Mitchell Street Esmond Road Township Low Use Hotnins Bitumen (Standard) Surface 115.00 7. Campbers Watson Street Mitchell Street Township Low Use Hotnins Bitumen (Standard) Surface 100.50 7. Camporeale Drive North End South End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 225.00 6. Caravan Park Road Eyre Road Caravan Park Township (Other) Low Use Spray Seal (Standard) Upper Surface 266.80 6. Caravan Park Road Eyre Road Caravan Park Township (Other) Low Use (Standard) Pavement 266.80 6. Caravan Park Road Eyre Road Balmoral Road Township (Dent) Low Use (Standard) Pavement 266.80 6. Caravan Park Road Eyre Road Garavan Park Township (Other) Low Use (Standard) Pavement 266.80 6. Caravan Park Road Eyre Road Balmoral Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 220.00 5. Cash more Street Department Street End Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 237.50 6. Cash more Street Department Street Three Chain Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 6. Cash more Street Department Street Three Chain Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 76.79.00 6. Catholic Road Eyre Road Ex Weston Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 203.30 11. Cavenet Street Three Thom Street Township (Low Use Standard) Upper Surface 203.30 11. Cavenet Street The Terace Thom Street Township (Low Use Standard) Surface 191.30 7. Charles Street Federation Road Senate Road Township (Port Pirie) Low Use Standard) Upper Surface 191.30 7. Charles Street Federation Road Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 232.5.00 6. Charles Group Street Township Low Use Spray Seal (Standard) Upper Surface 232.5.00 6. Charles Group Street Township Low Use Spray Seal (Standard) Upper Surface 232.5.00 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre				•			8.60	787.80
Campbreale Drive Misson Street Mitchell Street Township Low Use Hotmix Bitumen (Standard) Surface 100.50 7.							7.20	828.00
Camponeale Drive North End South End Township (Port Prire) Low Use Spray Seal (Standard) Upper Surface 422.50 6. Caravan Park Road Eyre Road Caravan Park Township (Other) Low Use Spray Seal (Standard) Upper Surface 26.68 0 6. Caravan Park Road Eyre Road Caravan Park Township (Other) Low Use (Standard) Pavement 266.80 6. Carter Crescent Senate Road Balmoral Road Township (Other) Low Use (Standard) Pavement 220.00 5. Cashmor Street Senate Road Balmoral Road Township Low Use Silvery Seal (Standard) Upper Surface 220.00 5. Cashmor Street Degenhardt Street Three Chain Road Township Low Use Silvery Seal (Standard) Upper Surface 37.50 6. Cashmor Street Degenhardt Street Three Chain Road Township Low Use Silvery Seal (Standard) Upper Surface 37.50 6. Catholic Road Eyre Road Ex Weston Road Township (Other) Privile Low Use Spray Seal (Standard) Upper Surface 37.50 6. Catholic Road Eyre Road Ex Weston Road Township (Other) Privile Low Use Spray Seal (Standard) Upper Surface 37.50 6. Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.50 6. Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.50 6. Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.50 6. Carbolic Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.50 7. Carbolic Road Eyre Road Ex Township Low Use Holland Surface 37.50 7. Carbolic Road Eyre Road Ex Township Low Use Holland Surface 37.50 7. Carbolic Road Express Road End Fort Privile Low Use Spray Seal (Standard) Upper Surface 37.50 7. Carbolic Road Express Road End Of Cheesman Avenue Township (Port Privile Low Use Spray Seal (Standard) Upper Surface 37.50 7. Carbolic Road Express Road End Of Cheesman Avenue Township (Port Privile Low Use Spray Seal (Standard) Upper Surface 37.50 7. Carbolic Road Express Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.70 7. Carbolic Road							7.20	723.60
Caravan Park Road					1 /		6.00	2,535.00
Carevan Park Road Eyre Road Caravan Park Township (Other) Low Use (Standard) Pavement 266.80 6. Carter Crescent Senate Road Balmoral Road Township Low Use Slurry Seal (Standard) Surface 270.00 5. Cashmore Street Degenhardt Street Three Chain Road Township (Port Pirre) Low Use Spray Seal (Standard) Upper Surface 37.50 6. Cashmore Street Degenhardt Street Three Chain Road Township (Port Pirre) Low Use Spray Seal (Standard) Upper Surface 84.30 6. Cashmore Street Degenhardt Street Three Chain Road Township (Port Pirre) Low Use Spray Seal (Standard) Upper Surface 767.90 6. Casholic Road Eyre Road Ex Weston Road Township (Port Pirre) Low Use Spray Seal (Standard) Upper Surface 767.90 6. Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 203.80 11. Cavenett Street Three Carbon Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 203.80 11. Cavenett Street Three Carbon Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 203.80 11. Charles Skreet Road Upton Drive Township Low Use Surry Seal (Standard) Surface 191.30 7. Charles Skreet Road Upton Drive Township Low Use Hothinis Bitumen (Standard) Surface 191.30 7. Chesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirre) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Chesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirre) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Chesman Avenue Senate Road End of Cheesman Avenue Township Low Use Hothinis Bitumen (Standard) Upper Surface 201.00 7. Claridge Road Huddleston Road Mercowie Road Township Low Use Hothinis Bitumen (Standard) Upper Surface 201.00 7. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Claridge Road Extension Hudd								
Carter Crescent Senate Road Balmoral Road Township Low Use Slurry Seal (Standard) Surface 220.00 S. Caryll Court Barbara Crescent End Cuil De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Drive Pelham Road End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Drive Pelham Road End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Drive Pelham Road End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Drive Pelham Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Drive Pelham Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Street Thorn Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Street Pelham Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Street Thorn Street Township Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Street Pederation Road Upton Drive Township Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Street Federation Road End of Cheesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Casularia Street The Terrace Uilly Street Township Low Use Spray Seal (Standard) Upper Surface 37.50 S. Cardige Road Huddleston Road Mercowie Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Cardige Road Extension Huddleston Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 S. Cardige Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.70 S. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 37.70 S. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Standard) Pavement 37.70 S. Claridge Ro							6.20	1,654.20
Caryll Court Barbara Crescent End Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 37.50 6. Cashmore Street Degenhardt Street Three Chain Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 767.90 6. Casholic Road Exham Road End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 767.90 6. Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use (Standard) Surface 203.80 11. Cavenett Street The Terrace Thorn Street Township Low Use Spray Seal (Standard) Surface 203.80 11. Cavenett Street The Terrace Thorn Street Township Low Use Surry Seal (Standard) Surface 191.30 7. Charles Avenue Magor Road Upton Drive Township Low Use Sturry Seal (Standard) Surface 191.30 7. Charles Avenue Magor Road Upton Drive Township Low Use Hothix Bitumen (Standard) Surface 201.00 7. Cheesman Avenue Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Cheesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Cheesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Cheesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Cheesman Avenue Senate Road Extension Endode Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.70 7. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.70 7. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.70 7. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.70 7. Claridge Road Extension Huddleston							6.20	1,654.20
Cashmore Street Degenhardt Street Three Chain Road Township Low Use Slurry Seal (Standard) Surface 84.30 6. Casuarina Drive Pelham Road End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 757.90 6. Catholic Road Eyre Road EX Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 20.3.80 11. Catholic Road Eyre Road EX Weston Road Township (Other) Low Use Spray Seal (Standard) Powers under Surface 20.3.80 11. Catholic Road Eyre Road EX Weston Road Township (Other) Low Use (Standard) Powers Under Surface 20.3.80 11. Cavenett Street The Terrace Thors Street Township Low Use Surry Seal (Standard) Surface 191.30 7. Charles Avenue Magor Road Upton Drive Township Low Use Hotmix Bitumen (Standard) Surface 152.90 6. Charles Street Federation Road Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Church Circle Young Street Poung Street Township Low Use Proper Surface 201.00 7. Church Circle Young Street Young Street Township Low Use Hotmix Bitumen (Standard) Surface 332.70 8. Claridge Road Huddleston Road Mercowie Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 325.20 8. Claridge Road Huddleston Road Mercowie Road Township Low Use Shurry Seal (Future Change to Formation) Surface 325.20 8. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 321.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 321.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Powernent 321.20 5. Claridge Road Eyre Road Eyre Road Eyre Road Township (Other) Low Use (Standard) Powernent 321.20 5. Claridge Road Eyre Road Eyre Road Eyre Road Township (Other) L					· · · · · ·		5.60	1,232.00
Casuarina Drive Pelham Road End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 767.90 6. Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 203.80 11. Cavenett Street The Terrace Thorn Street Township (Other) Low Use (Standard) Pavement 203.80 11. Cavenett Street The Terrace Thorn Street Township Low Use (Standard) Surface 191.30 7. Charles Avenue Magor Road Upton Drive Township Low Use (Standard) Surface 191.30 7. Charles Street Federation Road Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Cheesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 334.70 7. Charles Street The Terrace Thorn Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 334.70 7. Claridge Road The Terrace Lilly Street Township Low Use Spray Seal (Standard) Upper Surface 334.70 7. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 274.20 10. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Eyre Road Eyre Road Eyre Road Township (Other) Low Use (Standard) Upper							6.00	225.00
Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 203.80 11. Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use (Standard) Pavement 203.80 11. Cavenett Street The Terrace Thornship Low Use Surry Seal (Standard) Surface 191.30 7. Charles Avenue Magor Road Upton Drive Township Low Use Hotnix Bitumen (Standard) Surface 191.30 7. Charles Street Federation Road Senate Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Chesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 334.70 7. Church Circle Young Street Township Cover Use Hotnix Bitumen (Standard) Surface 334.70 7. Church Circle Young Street Township Cover Use Hotnix Bitumen (Standard) Surface 3325.20 8. Claridge Road Huddleston Road Mercowie Road Township Low Use Hotnix Bitumen (Standard) Surface 274.20 10. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Pavement 271.70 7. Claridge Road Mulleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road Mulleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotnix Bitumen (Standard) Surface 90.00 5. Clayton Street Senate Road Milne Street Township Low Use Hotnix Bitumen (Standard					. , , , ,		6.40	539.50
Catholic Road Eyre Road Ex Weston Road Township (Other) Low Use (Standard) Pavement 203.80 11. Cavenett Street The Terrace Thorn Street Township Low Use Sturry Seal (Standard) Surface 1191.30 7. Charles Avenue Magor Road Upton Drive Township Low Use Hotmix Bittumen (Standard) Surface 1152.90 6. Charles Street Federation Road Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Chesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 334.70 7. Chesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 334.70 8. Clara Street The Terrace Lilly Street Township Low Use Hotmix Bittumen (Standard) Surface 325.20 8. Clara Street The Terrace Lilly Street Township Low Use Stray Seal (Standard) Upper Surface 325.20 8. Claridge Road Huddleston Road Mercowle Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Stray Seal (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 5. Claridge Road Huddleston Road Mercowle Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 15. Claryton Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 94.00 10. Cockburn Street Seamond Street Salmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surfa							6.50	4,991.40
Cavenett Street The Terrace Thorn Street Township Low Use Slurry Seal (Standard) Surface 191.30 7. Charles Avenue Magor Road Upton Drive Township Low Use Hotmix Bitumen (Standard) Surface 152.90 6. Charles Street Federation Road Senate Road Township (Port Pirei) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Cheesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirei) Low Use Spray Seal (Standard) Upper Surface 334.70 7. Church Circle Young Street Young Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 335.20 8. Clara Street The Terrace Lilly Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 327.20 10. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Etyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Etyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Etyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 1271.70 7. Claridge Road Etyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 1271.70 7. Claridge Road Etyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road Extension Huddleston Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 10. Cockburn Street Esmond Street Esmond Street Ferrace Township Low Use Slurry Seal (Standard) Surface 94.00 10. Cockburn Street Esmond Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.							11.50	2,343.70
Charles Avenue Magor Road Upton Drive Township Low Use Hotmix Bitumen (Standard) Surface 152.90 6. Charles Street Federation Road Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Cheesman Avenue Senate Road For Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 334.70 7. Church Circle Young Street Young Street Township Low Use Hotmix Bitumen (Standard) Surface 325.20 8. Clara Street The Terrace Lilly Street Township Low Use Surry Seal (Future Change to Formation) Surface 274.20 10. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 12m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 5. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 271.70 5. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Surface 99.00 5. Claryton Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 99.00 5. Clayton Street Esmond Street Jeffrey Street Township Low Use Hotmix Bitumen (Standard) Surface 94.00 10. Cockburn Street Esmond Street Jeffrey Street Township Low Use Slurry Seal (Standard) Surface 94.00 10. Cockburn Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.							11.50	2,343.70
Charles Street Federation Road Senate Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 201.00 7. Cheesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 334.70 7. Church Circle Young Street Young Street Township Low Use Hotmix Bitumen (Standard) Surface 325.20 8. Clara Street The Terrace Lilly Street Township Low Use Slurry Seal (Future Change to Formation) Surface 274.20 10. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road 12m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 21.20 5. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 204.10 7. Clayton Street Esmond Street Jeffrey Street Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6.				Thorn Street	· · · · · ·		7.30	1,396.50
Cheesman Avenue Senate Road End of Cheesman Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 334.70 7. Church Circle Young Street Young Street Township Low Use Hotmix Bitumen (Standard) Surface 325.20 8. Clara Street The Terrace Lilly Street Township Low Use Hotmix Bitumen (Standard) Surface 274.20 8. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Future Change to Formation) Surface 185.30 6. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road 191.70 19		Magor Road		Upton Drive	Township Low Use Hotmix Bitumen (Standard) Surface		6.40	978.60
Church Circle Young Street Young Street Young Street Young Street Township Low Use Hotmix Bitumen (Standard) Surface 325.20 8. Clara Street The Terrace Lilly Street Township Low Use Slurry Seal (Future Change to Formation) Surface 274.20 10. Claridge Road Huddleston Road Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road Huddleston Road Huddleston Road Huddleston Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use (Standard) Pavement 185.30 6. Clayton Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 7. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 90.00 7. Clayton Street Esmond Street Jeffrey Street Township Low Use Hotmix Bitumen (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Township Low Use Slurry Seal (Standard) Surface 95.00 8. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		Federation Roa	d	Senate Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface		7.30	1,467.30
Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road Eyre Road Eyre Road Eyre Road Township (Other) Low Use (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road 12m South of Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 204.10 7. Clayton Street Esmond Street Jeffrey Street Township Low Use Hotmix Bitumen (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Goode Road Township Low Use Surry Seal (Standard) Surface 94.00 10. Cockburn Street York Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		Senate Road		End of Cheesman Avenue	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	334.70	7.30	2,443.30
Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 185.30 6. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road Eyre Road Township (Other) Low Use (Standard) Pavement 21.20 5. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 204.10 7. Clayton Street Esmod Street Jeffrey Street Township Low Use Sulrry Seal (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Goode Road Township Low Use Hotmix Bitumen (Standard) Surface 58.10 4. Cockburn Street Pyork Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		Young Street		Young Street	Township Low Use Hotmix Bitumen (Standard) Surface	325.20	8.50	2,764.20
Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 21.20 5. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 21.20 5. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 204.10 7. Clayton Street Esmond Street Jeffrey Street Township Low Use Slurry Seal (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Goode Road Township Low Use Slurry Seal (Standard) Surface 58.10 4. Cockburn Street York Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		The Terrace		Lilly Street	Township Low Use Slurry Seal (Future Change to Formation) Surface	274.20	10.30	2,824.30
Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use Spray Seal (Standard) Upper Surface 21.20 5. Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 21.20 5. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Goode Road Township Low Use Slurry Seal (Standard) Surface 58.10 4. Cockburn Street York Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		Huddleston Roa	ad	Mercowie Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	185.30	6.10	1,130.30
Claridge Road Eyre Road Extension Huddleston Road Township (Other) Low Use (Standard) Pavement 271.70 7. Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 21.20 5. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 204.10 7. Clayton Street Esmond Street Jeffrey Street Township Low Use Hotmix Bitumen (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Goode Road Township Low Use Slurry Seal (Standard - Low Service Level) Surface 58.10 4. Cockburn Street York Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		Eyre Road Exte	nsion	Huddleston Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	271.70	7.20	1,956.20
Claridge Road 21m South of Eyre Road Eyre Road Township (Other) Low Use (Standard) Pavement 21.20 5. Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 204.10 7. Clayton Street Esmond Street Jeffrey Street Township Low Use Slurry Seal (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Goode Road Township Low Use Slurry Seal (Standard - Low Service Level) Surface 58.10 4. Cockburn Street York Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		21m South of I	yre Road	Eyre Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	21.20	5.00	106.00
Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 204.10 7. Clayton Street Esmond Street Jeffrey Street Township Low Use Slurry Seal (Standard) Surface 94.00 10. Cockburn Street Cull De Sac Goode Road Township Low Use Slurry Seal (Standard - Low Service Level) Surface 58.10 4. Cockburn Street York Road Cull De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		Eyre Road Exte	nsion	Huddleston Road	Township (Other) Low Use (Standard) Pavement	271.70	7.20	1,956.20
Claridge Road Huddleston Road Mercowie Road Township (Other) Low Use (Standard) Pavement 185.30 6. Clark Street Senate Road Milne Street Township Low Use Hotmix Bitumen (Standard) Surface 90.00 5. Clayton Street Jeffrey Street Grey Terrace Township Low Use Hotmix Bitumen (Standard) Surface 204.10 7. Clayton Street Esmond Street Jeffrey Street Township Low Use Slurry Seal (Standard) Surface 94.00 10. Cockburn Street Cull De Sac Goode Road Township Low Use Slurry Seal (Standard - Low Service Level) Surface 58.10 4. Cockburn Street York Road Cull De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		21m South of I	yre Road	Eyre Road	Township (Other) Low Use (Standard) Pavement	21.20	5.00	106.00
Clark StreetSenate RoadMilne StreetTownship Low Use Hotmix Bitumen (Standard) Surface90.005.Clayton StreetJeffrey StreetGrey TerraceTownship Low Use Hotmix Bitumen (Standard) Surface204.107.Clayton StreetEsmond StreetJeffrey StreetTownship Low Use Slurry Seal (Standard) Surface94.0010.Cockburn StreetCul De SacGoode RoadTownship Low Use Slurry Seal (Standard - Low Service Level) Surface58.104.Cockburn StreetYork RoadCul De SacTownship Low Use Hotmix Bitumen (Standard) Surface329.406.Collingwood StreetBalmoral RoadVinson StreetTownship Low Use Hotmix Bitumen (Standard) Surface95.608.		Huddleston Roa	nd	Mercowie Road	Township (Other) Low Use (Standard) Pavement	185.30	6.10	1,130.30
Clayton Street Esmond Street Jeffrey Street Township Low Use Slurry Seal (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Goode Road Township Low Use Slurry Seal (Standard - Low Service Level) Surface 58.10 4. Cockburn Street York Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.							5.50	495.00
Clayton Street Esmond Street Jeffrey Street Township Low Use Slurry Seal (Standard) Surface 94.00 10. Cockburn Street Cul De Sac Goode Road Township Low Use Slurry Seal (Standard - Low Service Level) Surface 58.10 4. Cockburn Street York Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.		Jeffrev Street		Grev Terrace	Township Low Use Hotmix Bitumen (Standard) Surface	204.10	7.50	1,530.80
Cockburn StreetCul De SacGoode RoadTownship Low Use Slurry Seal (Standard - Low Service Level) Surface58.104.Cockburn StreetYork RoadCul De SacTownship Low Use Hotmix Bitumen (Standard) Surface329.406.Collingwood StreetBalmoral RoadVinson StreetTownship Low Use Hotmix Bitumen (Standard) Surface95.608.				-	1 /		10.30	968.20
Cockburn Street York Road Cul De Sac Township Low Use Hotmix Bitumen (Standard) Surface 329.40 6. Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.				· · · · · · · · · · · · · · · · · · ·	· · · · · ·		4.20	244.00
Collingwood Street Balmoral Road Vinson Street Township Low Use Hotmix Bitumen (Standard) Surface 95.60 8.							6.40	2,108.20
					· · · ·		8.40	803.00
				Jervis Street	Township Low Use Hotmix Bitumen (Standard) Surface Township Low Use Hotmix Bitumen (Standard) Surface	109.60	8.30	909.70
					1 /		8.30	669.00
							8.20	2,327.20
					· · · ·		8.20	714.20
					. ,			
							9.90	1,167.20
							10.20	1,080.20
Colton Street Musgrave Street Forgan Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 103.30 10.		Musgrave Stree	et	Forgan Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	103.30	10.10	1,043.3

Road Name	From	To End	Asset Type	Length	Width	Area
Colton Street	Stanley Street	Musgrave Street	Township (Other) Low Use (Standard) Pavement	105.90	10.20	1,080.20
Colton Street	Frith Road	Stanley Street	Township (Other) Low Use (Standard) Pavement	117.90	9.90	1,167.20
Colton Street	Musgrave Street	Forgan Street	Township (Other) Low Use (Standard) Pavement	103.30	10.10	1,043.30
Copinger Road	Broadstock Road	Warnertown Road	Township (Port Pirie) Industrial Use Hotmix Bitumen (Standard) Short Life Layer	316.40	12.70	4,018.30
Copinger Road	Wattle Street	Broadstock Road	Township (Port Pirie) Industrial Use Hotmix Bitumen (Standard) Short Life Layer	51.10	12.90	659.20
Copinger Road	Port Germein Road	Wattle Street	Township (Port Pirie) Industrial Use Hotmix Bitumen (Standard) Short Life Layer	146.60	12.70	1,861.80
Cottell Street	Three Chain Road	Arnold Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	237.80	10.00	2,378.00
Cottell Street	Arnold Street	Elizabeth Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	134.00	10.00	1,340.00
Cottell Street	Elizabeth Street	Wandearah Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	139.50	9.90	1,381.10
Creasy Street	Stevens Street	Noll Street	Township Low Use Slurry Seal (Standard) Surface	97.50	7.40	721.50
Creasy Street	Noll Street	Ferme Street	Township Low Use Slurry Seal (Standard) Surface	169.70	7.40	1,255.80
Creasy Street	Hannan Street	Stevens Street	Township Low Use Slurry Seal (Standard) Surface	70.90	7.40	524.70
Cremorne Crescent	Senate Road	Collingwood Street	Township Low Use Hotmix Bitumen (Standard) Surface	166.40	6.50	1,081.60
Cunningham Boulevard	Senate Road	Dawn Court	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	318.10	8.40	2,672.00
Cunningham Street	Mitchell Street	Eyre Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	127.00	10.00	1,270.00
Cunningham Street	Mais Terrace	Mitchell Street	Township (Other) Low Use Spray Seal (Non-Standard) Upper Surface	116.30	10.60	1,232.80
Cunningham Street	Mercowie Road	Mais Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	163.60	7.00	1,145.20
Cunningham Street	Mercowie Road	Mais Terrace	Township (Other) Low Use (Standard) Pavement	163.60	7.00	1,145.20
Cunningham Street	Mitchell Street	Eyre Road	Township (Other) Low Use (Standard) Pavement	127.00	10.00	1,270.00
Cunningham Street	Mais Terrace	Mitchell Street	Township (Other) Low Use (Non-Standard) Pavement	116.30	10.60	1,232.80
Daisy Street	Geddes Road	End	Township Low Use Hotmix Bitumen (Standard) Surface	120.30	6.90	830.10
Daisy Street	Burt Street	Three Chain Road	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	144.70	7.20	1,041.80
Darbon Terrace	Sinclair Street	End of Road (Hendry's)	Township (Other) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	142.20	9.20	1,308.20
Darbon Terrace	0.5km east of O'Shaughnessy Road	Frith Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	234.30	6.20	1,452.70
Darbon Terrace	Frith Road	Musgrave Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	150.90	11.50	1,735.40
Darbon Terrace	Musgrave Street	Gadd Avenue	Township (Other) Low Use Spray Seal (Standard) Upper Surface	367.90	11.50	4,230.90
Darbon Terrace	O'Shaughnessey Road	0.5km east	Township (Other) Low Use Spray Seal (Standard) Upper Surface	479.30	7.00	3,355.10
Darbon Terrace	Musgrave Street	Gadd Avenue	Township (Other) Low Use (Standard) Pavement	367.90	11.50	4,230.90
Darbon Terrace	Frith Road	Musgrave Street	Township (Other) Low Use (Standard) Pavement	150.90	11.50	1,735.40
Darbon Terrace	Sinclair Street	End of Road (Hendry's)	Township (Other) Low Use (Standard) Pavement	142.20	9.20	1,308.20
Darbon Terrace	0.5km east of O'Shaughnessy Road	, , ,	Township (Other) Low Use (Standard) Pavement	234.30	6.20	1,452.70
Darbon Terrace	O'Shaughnessey Road	0.5km east	Township (Other) Low Use (Standard) Pavement	479.30	7.00	3,355.10
David Street	Gertrude Street	The Terrace	Township Low Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level) Surface	229.00	21.60	4,946.40
David Street	Florence Street	Gertrude Street	Township Low Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level) Surface	125.40	21.90	2,746.30
David Street	Ellen Street	Florence Street	Township Low Use Hotmix Bitumen (Standard) Surface	122.30	21.80	2,666.10
Dawn Court	Creasy Street	To End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	183.20	7.50	1,374.00
Dawson Street	Batty Street	End of Dawson Street	Township Low Use Hotmix Bitumen (Standard) Surface	95.50	7.90	754.50
Degenhardt Street	Balmoral Road	Yates Street	Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	231.70	9.20	2,131.60
Degenhardt Street	Yates Street	Kingston Road	Township (Port Pirie) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	337.40	6.50	2,193.10
Desteno Street	The Terrace	Thorn Street	Township Low Use Slurry Seal (Standard) Surface	192.30	7.30	1,403.80
Dey Street	Wandearah Road	Degenhardt Street	Township Low Use Hotmix Bitumen (Standard) Surface	136.20	6.30	858.10
Dianne Street	Magor Road	Amelia Street	Township Low Use Slurry Seal (Standard) Surface	96.90	7.90	765.50
Donovan Street	Esmond Road	End Cul De Sac	Township Low Use Hotmix Bitumen (Standard) Surface	47.60	5.30	252.30
Donovan Street	Spencer Street	Hardy Street	Township Low Use Hotmix Bitumen (Standard) Surface	86.80	5.30	460.00
Dorothy Street	Edward Street	Afford Road	Township Low Use Slurry Seal (Standard) Surface	116.50	10.00	1,165.00
Dorothy Street	John Street	Edward Street	Township Low Use Slurry Seal (Standard) Surface	121.80	9.20	1,120.60
	Simpson Road	Osborne Street	Township (Port Pirie) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	332.00	9.30	3,087.60
Dorothy Street	Simpson Rodu		ı			
·	·	Halliday Street	Township Low Use Hotmix Bitumen (Standard) Surface	122.80	9.60	1,178.90
Dowling Street	Neylon Street	Halliday Street	Township Low Use Hotmix Bitumen (Standard) Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	122.80 282.60	9.60 6.90	1,178.90
Dowling Street Drage Street	Neylon Street Ian Street	Glasson Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	282.60	6.90	1,949.90
Dowling Street Drage Street Drage Street	Neylon Street Ian Street Wandearah Road	Glasson Street Ian Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	282.60 279.10	6.90 5.80	1,949.90 1,618.80
Dowling Street Drage Street Drage Street Duffield Street	Neylon Street Ian Street Wandearah Road Senate Road	Glasson Street Ian Street Wilcher St	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	282.60 279.10 110.60	6.90 5.80 8.70	1,949.90 1,618.80 962.20
Dowling Street Drage Street Drage Street Duffield Street Duffield Street	Neylon Street Ian Street Wandearah Road Senate Road Wilcher St	Glasson Street Ian Street Wilcher St Wardang Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	282.60 279.10 110.60 221.80	6.90 5.80 8.70 6.40	1,949.90 1,618.80 962.20 1,419.50
Dowling Street Drage Street Drage Street Duffield Street	Neylon Street Ian Street Wandearah Road Senate Road	Glasson Street Ian Street Wilcher St	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	282.60 279.10 110.60	6.90 5.80 8.70	1,949.90 1,618.80 962.20

Road Name	From	To End	Asset Type	Length	Width	Area
Dunn Street	Gwyn Street	Kingston Road	Township Low Use Slurry Seal (Standard) Surface	284.90	11.50	3,276.40
Dunn Street	Balmoral Road	Gwyn Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	286.90	11.00	3,155.90
Dunstall's Drive	Warnertown Road	End Of Road	Township Low Use Hotmix Bitumen (Standard) Surface	254.30	9.00	2,288.70
Dunstone Street	Meadow Crescent	Swan Street	Township Low Use Slurry Seal (Standard) Surface	87.80	8.50	746.30
Dunstone Street	Swan Street	Jervis Street	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	93.90	8.50	798.20
Dyer Street	Senate Road	Higgins Court	Township Low Use Slurry Seal (Standard) Surface	78.00	7.00	546.00
Eagle Court	End (North)	Keane St	Township Low Use Hotmix Bitumen (Non-Standard) Surface	191.80	6.40	1,227.50
Eagle Street	Blight Street	Eagle Court	Township Low Use Hotmix Bitumen (Standard) Surface	85.00	7.40	629.00
East Terrace	First Street	Gulf View Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	205.40	7.40	1,520.00
East Terrace	First Street	Gulf View Road	Township (Other) Low Use (Standard) Pavement	205.40	7.40	1,520.00
Edmund Terrace	Railway Terrace	Brandis Street	Township Low Use Slurry Seal (Standard) Surface	130.00	7.10	923.00
Edmund Terrace	Brandis Street	Eyre Road	Township Low Use Slurry Seal (Standard) Surface	128.10	7.20	922.30
Edmund Terrace	Railway Terrace	Brandis Street	Township (Other) Low Use (Standard) Pavement	130.00	7.10	923.00
Edmund Terrace	Brandis Street	Eyre Road	Township (Other) Low Use (Standard) Pavement	128.10	7.20	922.30
Edward Street	Harris Road	Dorothy Street	Township Low Use Slurry Seal (Standard) Surface	206.90	8.80	1,820.70
Edward Street	Victoria Street	Three Chain Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	209.50	8.40	1,759.80
Edward Street	Dorothy Street	Victoria Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	276.30	8.40	2,320.90
Edward Street (North)	Anzac Road	Parralla Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	272.10	7.00	1,904.70
Eighth Street (Port Pirie)	York Road	Tenth Street	Township Low Use Slurry Seal (Non-Standard) Surface	239.80	5.70	1,366.90
Eighth Street (Port Pirie)	Tenth Street	Goode Road	Township Low Use Slurry Seal (Standard) Surface	173.10	5.60	969.40
Eleventh Street (Port Pirie)	The Terrace	Seventh Street	Township Low Use Hotmix Bitumen (Standard) Surface	184.20	5.50	1,013.10
Elizabeth Street	Veal Street	Jellicoe Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	90.40	8.40	759.40
Elizabeth Street	Cottell Street	Veal Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	135.00	8.50	1,147.50
Elizabeth Street	Jellicoe Street	Balmoral Road	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	135.10	8.40	1,134.80
Elizabeth Street	Brown Street	Cottell Street	Township Low Use Slurry Seal (Standard) Surface	106.10	8.30	880.60
Elizabeth Street	Esmond Road	Brown Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	94.70	8.90	842.80
Ellen Street (Northbound)	David Street	George Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	194.10	12.80	2,484.50
Ellen Street (Northbound)	Mary Elie St	Norman Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	200.20	13.60	2,722.70
Ellen Street (Northbound)	Norman Street	Alexander Street	Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard) Short Life Layer	193.70	13.10	2,537.50
Ellen Street (Northbound)	Alexander Street	David Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	195.40	13.40	2,618.40
Ellen Street (Northbound)	George Street	Nyrstar	Township (Port Pirie) High Use Spray Seal (Standard) Upper Surface	139.00	14.50	2,015.50
Ellen Street (Southbound)	George Street	David Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	198.30	9.50	1,883.90
Ellen Street (Southbound)	David Street	Alexander Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	186.10	13.30	2,475.10
Ellen Street (Southbound)	Alexander Street	Norman Street	Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard) Short Life Layer	189.20	13.20	2,497.40
Ellen Street (Southbound)	Mary Elie St	Norman Street	Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard) Short Life Layer	200.10	13.00	2,601.30
Ellis Street	Bowman Street	Barr Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	184.10	14.70	2,706.30
Ellis Street	River Terrace	Bowman Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	63.60	14.20	903.10
Ellis Street	Barr Street	Redhill Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	281.50	10.00	2,815.00
Ellis Street	River Terrace	Bowman Street	Township (Other) Low Use (Standard) Pavement	63.60	14.20	903.10
Ellis Street	Bowman Street	Barr Street	Township (Other) Low Use (Standard) Pavement	184.10	14.70	2,706.30
Ellis Street	Barr Street	Redhill Terrace	Township (Other) Low Use (Standard) Pavement	281.50	10.00	2,815.00
Emma Street	Geddes Street	End	Township (Octier) Low Use Spray Seal (Standard) Upper Surface	299.50	4.50	1,347.80
Ernest John Avenue	Charles Avenue	End	Township Low Use Hotmix Bitumen (Standard) Surface	100.50	6.90	693.50
Esklund Street	Hannan Street	Noll Street	Township Low Use Hotmix Bitumen (Standard) Surface Township Low Use Hotmix Bitumen (Standard) Surface	155.80	7.50	1,168.50
Esmond Road	Three Chain Road	Wanderah Road	Township High Use Slurry Seal (Standard Future Hotmix - Low Service Level) Surface	624.30	12.60	7,866.20
Esmond Road	Wandearah Road	The Terrace	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	575.30	13.40	7,709.00
Esmond Road	Senate Road	Whittard Street	Township Medium Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level)	384.60	12.10	4,653.70
Esmond Road	Anzac Road	Stanley Avenue	Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	435.80	10.00	4,358.00
Esmond Road	Stanley Avenue	End of Seal at Henry St	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	275.60	10.00	2,756.00
Esmond Road	Whittard Street	Anzac Road	Township Medium Use Hotmix Bitumen (Standard) Surface	187.70	11.80	2,214.90
Esmond Road	The Terrace	Senate Road	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	571.20	13.90	7,939.70
Eunice Street	Afford Road	Batty Street	Township Low Use Slurry Seal (Standard) Surface	213.50	6.40	1,366.40
Eunice Street	Batty Street	End	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	53.90	6.40	345.00
Evans Street	Batty Street	Three Chain Road (Service Road E)	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	100.00	8.90	890.00
Eveline Street	Lilly Street	Vera Street	Township Low Use Slurry Seal (Future Change to Formation) Surface	80.80	9.40	759.50
Eveline Street	Vera Street	The Terrace	Township (Port Pirie) Low Use Spray Seal (Future Change to Formation) Surface	176.50	9.40	1,659.10
Evely Street	Esmond Road	Herbert Street	Township Low Use Hotmix Bitumen (Standard) Surface	95.00	6.30	598.50

Road Name	From	To End	Asset Type	Length	Width	Area
Evely Street	Herbert Street	Neylon Street	Township Low Use Hotmix Bitumen (Standard) Surface	46.50	6.20	288.30
Ewbank Street	Barr Street	End of seal	Township (Other) Low Use Spray Seal (Standard) Upper Surface	47.10	6.20	292.00
Ewbank Street	Bowman Street	Barr Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	183.20	12.40	2,271.70
Ewbank Street	Barr Street	End of seal	Township (Other) Low Use (Standard) Pavement	47.10	6.20	292.00
Ewbank Street	Bowman Street	Barr Street	Township (Other) Low Use (Standard) Pavement	183.20	12.40	2,271.70
Eyre Road	Cunningham Street	Edmund Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	202.30	11.50	2,326.50
Eyre Road	Edmund Terrace	Claridge Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	172.70	9.00	1,554.30
Eyre Road	Cunningham Street	Edmund Terrace	Township (Other) Low Use (Standard) Pavement	202.30	11.50	2,326.50
Eyre Road	Edmund Terrace	Claridge Road	Township (Other) Low Use (Standard) Pavement	172.70	9.00	1,554.30
Eyre Road Extension	Claridge Rd	Weston Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	268.90	8.90	2,393.20
Eyre Road Extension	Claridge Rd	Weston Road	Township (Other) Low Use (Standard) Pavement	268.90	8.90	2,393.20
Falconer Street	Goode Road	Algernon Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	110.50	6.00	663.00
Falconer Street	Algernon Street	Second Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	121.70	6.00	730.20
Farrell Street	Harrison Street	Senate Road	Township Low Use Slurry Seal (Standard) Surface	144.00	9.50	1,368.00
Federation Road	The Terrace	Rodda Street	Township Medium Use Hotmix Bitumen (Standard) Surface	353.80	13.50	4,776.30
Federation Road	Rodda Street	Revell Street	Township Medium Use Hotmix Bitumen (Standard) Surface	173.80	13.20	2,294.20
Federation Road	Revell Street	York Road	Township Medium Use Hotmix Bitumen (Standard) Surface	195.40	13.20	2,579.30
Feeley Street	Beach Road	Square Street	Township Low Use Slurry Seal (Standard) Surface	243.20	6.80	1,653.80
Ferguson Street	Eyre Road	Mitchell Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	135.30	10.40	1,407.10
	Mitchell Street	Mais Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	117.60	10.40	1,223.00
Ferguson Street				124.90	10.40	1,223.00
Ferguson Street	Brandis Street	Railway Terrace	Township Low Use Slurry Seal (Standard) Surface			
Ferguson Street	Eyre Road	Brandis Street	Township Low Use Slurry Seal (Standard) Surface	127.20	10.30	1,310.20
Ferguson Street	Eyre Road	Mitchell Street	Township (Other) Low Use (Standard) Pavement	135.30	10.40	1,407.10
Ferguson Street	Mitchell Street	Mais Terrace	Township (Other) Low Use (Standard) Pavement	117.60	10.40	1,223.00
Ferguson Street	Eyre Road	Brandis Street	Township (Other) Low Use (Standard) Pavement	127.20	10.30	1,310.20
Ferguson Street	Brandis Street	Railway Terrace	Township (Other) Low Use (Standard) Pavement	124.90	10.40	1,299.00
Ferme Street	Jacobi Street	Port Davis Road	Township Medium Use Slurry Seal (Standard Future Hotmix - Low Service Level) Surface	315.30	9.80	3,089.90
Ferme Street	Senate Road	Creasy Street	Township Medium Use Slurry Seal (Standard Future Hotmix) Surface	229.80	9.90	2,275.00
Ferme Street	Creasy Street	Jacobi Street	Township Medium Use Slurry Seal (Standard Future Hotmix - Low Service Level) Surface	340.10	9.70	3,299.00
Fifth Street (Koolunga)	First Street	Third Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	353.70	9.50	3,360.20
Fifth Street (Koolunga)	First Street	Third Street	Township (Other) Low Use (Standard) Pavement	353.70	9.50	3,360.20
Fifth Street (Napperby)	North Terrace	Third Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	326.00	10.20	3,325.20
Fifth Street (Napperby)	North Terrace	Third Street	Township (Other) Low Use (Standard) Pavement	326.00	10.20	3,325.20
Fifth Street (Port Pirie)	York Road	Tenth Street	Township Low Use Slurry Seal (Non-Standard - Low Service Level) Surface	235.60	7.30	1,719.90
Fifth Street (Port Pirie)	Tenth Street	Goode Road	Township Low Use Slurry Seal (Standard) Surface	171.90	5.20	893.90
Fifth Street (Port Pirie)	Goode Road	Second Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	231.20	5.60	1,294.70
Fifth Street (Port Pirie)	Second Street	Moppett Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	196.50	5.40	1,061.10
First Street (Koolunga)	Fifth Street	Sixth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	112.90	9.70	1,095.10
First Street (Koolunga)	Sixth Street	Seventh Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	108.70	10.00	1,087.00
	Sixth Street		Township (Other) Low Use (Standard) Pavement	108.70	10.00	1,087.00
First Street (Koolunga)		Seventh Street		112.90	9.70	1,087.00
First Street (Koolunga)	Fifth Street	Sixth Street	Township (Other) Low Use (Standard) Pavement			
First Street (Napperby)	Sixth Street	Bain Avenue	Township (Other) Low Use Spray Seal (Standard) Upper Surface	417.70	11.70	4,887.10
First Street (Napperby)	East Terrace	Sixth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	469.10	12.70	5,957.60
First Street (Napperby)	Sixth Street	Bain Avenue	Township (Other) Low Use (Standard) Pavement	417.70	11.70	4,887.10
First Street (Napperby)	East Terrace	Sixth Street	Township (Other) Low Use (Standard) Pavement	469.10	12.70	5,957.60
First Street (Port Pirie)	The Terrace	Third Street	Township Low Use Slurry Seal (Standard) Surface	107.20	12.50	1,340.00
First Street (Port Pirie)	Third Street	Fourth Street	Township Low Use Slurry Seal (Standard) Surface	104.90	12.50	1,311.30
Fisher Street	Jensen Street	Leonard Avenue	Township Low Use Hotmix Bitumen (Standard) Surface	41.00	8.00	328.00
Fisher Street	Anzac Road	Jensen Street	Township Low Use Hotmix Bitumen (Standard) Surface	97.00	8.00	776.00
Fisherman's Wharf	33m North of Main Road	65m North of Main Road	Township Low Use Hotmix Bitumen (Standard) Surface	61.20	8.60	526.30
Fisherman's Wharf	Main Road	33m North of Main Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	33.40	12.10	404.10
Fitzgerald Street	Wandearah Road	Kingston Road	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	197.50	9.70	1,915.80
Fletcher Court	Phillis Street	To End	Township Low Use Hotmix Bitumen (Standard) Surface	215.30	5.60	1,205.70
Flett Street	Esmond Road	Herbert Street	Township (Port Pirie) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	95.40	9.40	896.75
Flett Street	Herbert Street	Halliday Street	Township (Port Pirie) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	177.70	9.90	1,759.20
Flinders Rest Pub Road	Gervace St	Quarry Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	149.40	16.00	2,390.40

Road Name	From	To End	Asset Type	Length	Width	Area
Flinders Street (Crystal Brook)	Gadd Avenue	Gilbert Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	297.40	8.10	2,408.90
Flinders Street (Crystal Brook)	Gadd Avenue	Gilbert Street	Township (Other) Low Use (Standard) Pavement	297.40	8.10	2,408.90
Flinders Street (Warnertown)	Quarry Road	Gervace St	Township (Other) Low Use Spray Seal (Standard) Upper Surface	118.50	10.00	1,185.00
Flinders Street (Warnertown)	Quarry Road	Gervace St	Township (Other) Low Use (Standard) Pavement	118.50	10.00	1,185.00
Florence Street	George Street	David Street	Township (Port Pirie) High Use Spray Seal (Non-Standard Future Hotmix) Upper Surface	208.20	19.40	4,039.10
Florence Street	Roundabout at Alexander Street		Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	55.00	6.50	357.50
Florence Street	Roundabout at Norman Street		Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	65.70	8.80	578.20
Florence Street	Roundabout at Mary Elie Street		Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard - Low Service Level) Short Life Laver	56.20	7.00	393.40
Florence Street	Norman Street	Mary Elie Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	186.70	22.20	4,144.70
Florence Street	David Street	Alexander Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	207.70	21.40	4,444.80
Florence Street East Parking Lane	Alexander Street	Norman Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	168.60	4.80	809.30
Florence Street East Traffic Lane	Alexander Street	Norman Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	196.50	5.00	982.50
Florence Street West Parking Lane	Alexander Street	Norman Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	171.00	5.00	855.00
Florence Street West Traffic Lane	Alexander Street	Norman Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	196.50	4.90	962.90
Forgan Street	Colton Street	Darbon Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	364.20	7.20	2,622.20
Forgan Street	Binney Road	Colton Street	Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	245.90	11.40	2,803.30
Forgan Street	Colton Street	Darbon Terrace	Township (Other) Low Use (Standard) Pavement	364.20	7.20	2,622.20
Forgan Street	Binney Road	Colton Street	Township (Other) Low Use (Non-Standard) Pavement	245.90	11.40	2,803.30
Foristel Place	Balmoral Road	Cul De Sac	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	49.30	8.50	419.10
Foristel Street	Blight Street	Parker Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	78.50	7.40	580.90
Fourth Street (Napperby)	North Terrace	Third Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	282.50	11.30	3,192.30
Fourth Street (Napperby)	North Terrace	Third Street	Township (Other) Low Use (Standard) Pavement	282.50	11.30	3,192.30
Fourth Street (Port Pirie)	Goode Road	First Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	112.80	5.20	586.60
Fourth Street (Port Pirie)	First Street	Second Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	119.50	5.30	633.40
Fourth Street (Port Pirie)	Second Street	Moppett Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	196.60	5.60	1,101.00
Frances Street	The Terrace	Vera Street	Township Low Use Slurry Seal (Future Change to Formation) Surface	192.00	6.80	1,305.60
Frederick Road	Senate Road	End Seal at Wilcher Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	132.70	5.50	729.90
Frederick Road	The Terrace	Rodda Street	Township (Port Pirie) Low Ose Spray Seal (Standard) Opper Surface Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	299.70	10.90	3,266.70
French Street	Anzac Road		Township Low Use Hotmix Bitumen (Standard) Surface	141.70	6.60	935.20
	Whittard Street	Young Street Anzac Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	176.90	7.40	1,309.10
French Street Frith Road			Township (Other) Medium Use Spray Seal (Standard) Upper Surface	601.00	6.70	4,026.70
Frith Road	Binney Road Binney Road	Darbon Terrace Darbon Terrace	Township (Other) Medium Use (Standard) Pavement	601.00	6.70	4,026.70
Geddes Road			Township Low Use Slurry Seal (Standard) Surface	240.60	12.50	3,007.50
Geddes Road Geddes Road	Warnertown Road Moorehouse Street	Moorehouse Street Haslam Road	Township Low Use Slurry Seal (Standard) Surface Township Low Use Slurry Seal (Standard) Surface	345.00	11.40	3,933.00
			· · · · · ·	307.30	13.20	4,056.40
George Street	Ellen Street	Gertrude Street	Township (Port Pirie) High Use Spray Seal (Non-Standard) Upper Surface	268.60		
George Street	Gertrude Street	The Terrace	Township (Port Pirie) High Use Spray Seal (Standard) Upper Surface	243.30	8.90 12.00	2,390.50 2,919.60
Gertrude Street	David Street	Alexander Street	Township High Use Slurry Seal (Non-Standard Future Hotmix) Surface			
Gertrude Street	Norman Street	Mary Elie Street	Township High Use Slurry Seal (Standard Future Hotmix) Surface	218.40	13.00	2,839.20
Gertrude Street	George Street	David Street	Township High Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level) Surface	215.40	12.90	2,778.70
Gertrude Street	Alexander Street	Norman Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	242.20	12.90	3,124.40
Gervace Street	Quarry Road	Flinders Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	238.70	10.80	2,578.00
Gervace Street	Quarry Road	Flinders Street	Township (Other) Low Use (Standard) Pavement	238.70	10.80	2,578.00
Gilbert Street	Binney Road	Giles Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	369.50	7.90	2,919.10
Gilbert Street	Binney Road	Giles Street	Township (Other) Low Use (Standard) Pavement	369.50	7.90	2,919.10
Giles Street	Gilbert St	Gadd Avenue	Township (Other) Low Use Spray Seal (Standard) Upper Surface	211.80	8.90	1,885.00
Giles Street	Gilbert St	Gadd Avenue	Township (Other) Low Use (Standard) Pavement	211.80	8.90	1,885.00
Gillett Street	Batty Street	Bauer Street	Township Low Use Slurry Seal (Standard) Surface	149.00	6.90	1,028.10
Glasson Street	Kingston Road	Drage Street	Township Low Use Hotmix Bitumen (Standard) Surface	71.10	8.90	632.80
Golding Street	Jervis Street	Kingston Road	Township Low Use Hotmix Bitumen (Standard) Surface	272.40	8.70	2,369.90
Goode Road	Gooding Street	Anzac Road	Township Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	254.10	13.80	3,506.60
Goode Road	Pearce Street	Gooding Street	Township Medium Use Hotmix Bitumen (Standard) Surface	121.30	14.00	1,698.20
Goode Road	Senate Road	Pearce Street	Township Medium Use Hotmix Bitumen (Standard) Surface	200.40	13.90	2,785.60
Goode Road	Fifth Street	Falconer Street	Township High Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level)	58.60	13.70	802.80
Goode Road	Falconer Street	Keith Street	Township High Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level)	94.50	13.70	1,294.70
Goode Road	Keith Street	Senate Road	Township High Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level)	92.40	13.60	1,256.60

Road Name	From	To End	Asset Type	Length	Width	Area
Goode Road	Fourth Street	Fifth Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	111.60	13.90	1,551.20
Goode Road	The Terrace	Fourth Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	217.70	13.20	2,873.60
Goodfellow Street	Gertrude Street	End	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	59.90	4.70	281.50
Gooding Street	Goode Road	End of Gooding Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	211.70	9.60	2,032.30
Gordon Street	Mills Street	Brakenridge Street	Township Low Use Slurry Seal (Standard) Surface	200.60	7.30	1,464.40
Gordon Street	Brakenridge Street	Esmond Road	Township Low Use Slurry Seal (Standard) Surface	126.10	7.00	882.70
Gordon Street	Broadway Road	Mills Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	102.50	6.40	656.00
Goyder Street	Frith Road	Musgrave Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	148.30	8.50	1,260.60
Goyder Street	Musgrave Street	Forgan Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	96.60	8.60	830.80
Goyder Street	Frith Road	Musgrave Street	Township (Other) Low Use (Standard) Pavement	148.30	8.50	1,260.60
Goyder Street	Musgrave Street	Forgan Street	Township (Other) Low Use (Standard) Pavement	96.60	8.60	830.80
Greenwood Street	Coombe Road	Frances Street	Township Low Use Slurry Seal (Future Change to Formation) Surface	221.60	14.50	3,213.20
Greer Street	Simpson Road	Wood Street	Township Low Use Hotmix Bitumen (Standard) Surface	87.70	10.70	938.40
Greer Street	Wood Street	Oliver Street	Township Low Use Hotmix Bitumen (Standard) Surface	82.60	10.70	883.80
Greig Road	Firth Road	235m N of Firth Road (End of	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	237.20	10.50	2,490.60
	The Rodu	Kerb)	Township (Strict) Fredam SSC Spray Scar (Standard) Opper Sandec	257.20	10.50	2,430.00
Greig Road	Firth Road	235m N of Firth Road (End of Kerb)	Township (Other) Medium Use (Standard) Pavement	237.20	10.50	2,490.60
Grevillia Avenue	Acacia Street	To End	Township Low Use Hotmix Bitumen (Standard) Surface	36.60	7.20	263.50
Grey Terrace	Spoon Drain	Wandearah Road	Township High Use Slurry Seal (Standard Future Hotmix) Surface	416.70	9.30	3,875.30
Grey Terrace	Radnor Street	Piper Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	103.50	9.10	941.90
Grey Terrace	Wandearah Road	The Terrace	Township High Use Slurry Seal (Standard Future Hotmix - Very Low Service Level)	572.10	14.00	8,009.40
Grey Terrace	Piper Street	Spoon Drain	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	95.40	9.40	896.80
Grey Terrace	Three Chain Road	Radnor Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	113.90	8.90	1,013.70
Grey Terrace Service Road	Cross Over	Wanderah Road End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	77.70	12.00	932.40
Grey Terrace Service Road	Grey Terrace	ABC Office	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	71.90	6.50	467.40
Grossmans Drive	Eyre Road Extenstion	Weston Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	234.80	7.30	1,714.00
Grossmans Drive	Eyre Road Extension	Weston Road	Township (Other) Low Use (Standard) Pavement	234.80	7.30	1,714.00
Gulf View Road	Scenic Drive	0.600km east	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	596.70	6.30	3,759.20
Gulf View Road	Scenic Drive	End of Bitumen	Township (Other) Medium Use Spray Seal (Standard) Upper Surface Township (Other) Medium Use Spray Seal (Standard) Upper Surface	539.40	7.40	3,739.20
				596.70	6.30	3,759.20
Gulf View Road	Scenic Drive	0.600km east	Township (Other) Medium Use (Standard) Pavement	539.40	7.40	
Gulf View Road	Scenic Drive	End of Bitumen	Township (Other) Medium Use (Standard) Pavement			3,991.60
Gwyn Street	Anzac Road	Dunn Street	Township Low Use Slurry Seal (Non-Standard) Surface	135.10	12.60	1,702.30
Hackett Street	Caldecott Street	Johnson Street	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	84.70	8.80	745.40
Hackett Street	Johnson Street	Robinson Street	Township Low Use Slurry Seal (Standard) Surface	94.30	8.80	829.80
Hackett Street	Robinson Street	Anzac Road	Township Low Use Slurry Seal (Non-Standard) Surface	88.80	8.80	781.40
Haines Street	Barbara Crescent	Radford Drive	Township Low Use Hotmix Bitumen (Standard) Surface	78.60	7.20	565.90
Hakea Court	Casuarina Drive	Cul De Sac	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	145.80	6.50	947.70
Hallam Street	Senate Road	Federation Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	230.00	6.70	1,541.00
Halley Street	Heywood Avenue	Balmoral Road	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	135.30	6.90	933.60
Halliday Street	The Terrace	Bensley Street	Township Low Use Hotmix Bitumen (Standard) Surface	120.50	9.90	1,193.00
Halliday Street	Bensley Street	Flett Street	Township Low Use Hotmix Bitumen (Standard) Surface	116.20	9.90	1,150.40
Halliday Street	Flett Street	Howard Street	Township Low Use Hotmix Bitumen (Standard) Surface	109.40	9.90	1,083.10
Halliday Street	Howard Street	Dowling Street	Township Low Use Hotmix Bitumen (Standard) Surface	116.10	9.90	1,149.40
Halliday Street	Dowling Street	Senate Road	Township Low Use Hotmix Bitumen (Standard) Surface	107.30	9.10	976.40
Hannan Street	Senate Road	Creasy Street	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	324.30	7.60	2,464.70
Hannan Street	Creasy Street	Plenty Street	Township Low Use Slurry Seal (Standard) Surface	334.30	7.60	2,540.70
Hannan Street	Plenty Street	Anzac Road	Township Low Use Slurry Seal (Standard) Surface	97.30	7.40	720.00
Hardy Street	Donovan Street	Hardy St Cul De Sac	Township Low Use Slurry Seal (Non-Standard - Low Service Level) Surface	194.30	7.50	1,457.30
Hardy Street	Senate Road	Donovan Street	Township Low Use Hotmix Bitumen (Standard) Surface	185.10	7.40	1,369.70
Harris Road	John Street	Afford Road	Township Medium Use Slurry Seal (Standard) Surface	240.50	9.00	2,164.50
Harris Road	Railway Terrace	Simpson Road	Township Medium Use Slurry Seal (Standard) Surface	163.70	9.10	1,489.70
Harris Road	Simpson Road	John Street	Township Medium Use Slurry Seal (Standard) Surface	341.80	8.20	2,802.80
Harris Road	Afford Road	Magor Road	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	570.50	8.90	5,077.50
Harrison Crescent	Kingston Road	Henry Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	294.50	9.10	2,680.00
Harrison Crescent	Henry Street	Senate Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	256.10	6.60	1,690.30
Haslam Road	Three Chain Road	Ivy Street	Township Low Use Hotmix Bitumen (Standard) Surface	222.10	9.10	2,021.10
Haslam Road	Ivy Street	Geddes Road	Township Low Use Hotmix Bitumen (Standard) Surface	235.70	8.60	2,021.10
Heath Street	Copinger Road	Pine Street	Township Low Use Hotmix Bitumen (Standard) Surface Township Low Use Hotmix Bitumen (Standard) Surface	145.30	6.40	929.90
neath Street	Copinger Road	i ilie Street	TOWNSHIP LOW OSE HOURING DICUTION (Scandard) Surface	145.30	0.40	929.90

	Road Name	From	To End	Asset Type	Length	Width	Area
Heller Court		Wilsdon Way	End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	36.80	6.20	228.20
Hemmons Street		Maude Street	York Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	275.00	5.00	1,375.00
Henry Street		The Terrace	South Street	Township Low Use Slurry Seal (Standard) Surface	206.60	9.10	1,880.10
Henry Street		South Street	Harrison Street	Township Low Use Slurry Seal (Standard) Surface	193.70	9.10	1,762.70
Herbert Street		Evely Street	Senate Road	Township Low Use Slurry Seal (Standard) Surface	170.80	9.20	1,571.40
Herbert Street		Flett Street	Evely Street	Township Low Use Slurry Seal (Standard) Surface	145.20	9.20	1,335.80
Heritage Road		Joyce Road	End Of Seal	Township (Other) Low Use Spray Seal (Standard) Upper Surface	480.50	6.30	3,027.20
Heritage Road		Abattiors Road	Joyce Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	1,000.70	6.30	6,304.40
Heritage Road		Abattiors Road	Joyce Road	Township (Other) Low Use (Standard) Pavement	1,000.70	6.30	6,304.40
Heritage Road		Joyce Road	End Of Seal	Township (Other) Low Use (Standard) Pavement	480.50	6.30	3,027.20
Hewitt Street		Parker Street	Jacob Street	Township Low Use Slurry Seal (Standard) Surface	125.00	7.30	912.50
Heywood Avenue		Halley Street	Regent Street	Township (Port Pirie) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	159.40	14.70	2,343.20
Higgins Court		Keane Street	End of Higgins Court	Township Low Use Hotmix Bitumen (Standard) Surface	286.90	7.50	2,151.80
Hilda Street		Batty Street	John Leary Street	Township Low Use Hotmix Bitumen (Standard) Surface	81.50	8.90	725.40
Hill Street		Warnertown Road	End Of Hill St	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	183.30	5.70	1,044.80
Holze Court		Casuarina Drive	End (East)	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	192.40	6.40	1,231.40
Hope Street		River Terrace	Redhill Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	265.10	5.40	1,431.50
Hope Street		River Terrace	Redhill Terrace	Township (Other) Low Use (Standard) Pavement	265.10	5.40	1,431.50
Hopkins Street		Goode Road	34m North of Armour Street	Township Low Use Slurry Seal (Standard) Surface	253.90	7.40	1,878.90
Hopkins Street		34m North of Armour Street	York Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	174.70	7.40	1,292.80
Horner Street		Moorhouse Street	End of Horner Street	Township Low Use Hotmix Bitumen (Standard) Surface	70.30	8.00	562.40
Horner Street		Warnertown Road	Sabine Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	121.50	7.20	874.80
Horner Street		Sabine Street	Moorhouse Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	135.90	7.20	978.50
Howard Street		Neylon Street	Halliday Street	Township Low Use Hotmix Bitumen (Standard) Surface	126.80	9.60	1,217.30
Howe Street		Percy Street	Esmond Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	213.00	13.20	2,811.60
Howe Street		Broadway Road	Percy Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	211.90	13.30	2,818.30
Huddleston Road		Mitchell Street	Claridge Street	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	214.10	6.60	1,413.10
Huddleston Road		Eyre Road	Mitchell Street	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	140.10	7.70	1,078.80
Huddleston Road		Mitchell Street	Claridge Street	Township (Other) Medium Use (Standard) Pavement	214.10	6.60	1,413.10
Huddleston Road		Eyre Road	Mitchell Street	Township (Other) Medium Use (Standard) Pavement	140.10	7.70	1,078.80
Hughes Street		Parham Street	The Terrace	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	124.00	6.70	830.80
Hurst Street		Worby Street	Luscombe Street	Township Low Use Slurry Seal (Standard) Surface	84.90	7.90	670.70
Hutchinson Street		Barry Street	Hannan Street	Township Low Use Hotmix Bitumen (Standard) Surface	85.80	7.60	652.10
Hutchinson Street		Kingston Road	Plenty Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	86.20	8.20	706.80
Hutchinson Street		Plenty Street	Barry Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	142.80	8.00	1,142.40
Hyde Street		Stuckey Street	Symonds Street	Township Low Use Hotmix Bitumen (Standard) Surface	135.20	8.90	1,203.30
Hydon Road		St Martins Road	End of Seal	Township (Other) Low Use Spray Seal (Standard) Upper Surface	207.60	7.20	1,494.70
Hydon Road		South Tce	St Martins Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	320.50	7.20	2,307.60
Hydon Road		St Martins Road	End of Seal	Township (Other) Low Use (Standard) Pavement	207.60	7.20	1,494.70
Hydon Road		South Tce	St Martins Road	Township (Other) Low Use (Standard) Pavement	320.50	7.20	2,307.60
Ian Street		Kingston Road	Drage Street	Township Low Use Hotmix Bitumen (Standard) Surface	62.10	6.20	385.00
Illman Street		Main Road	End Illman Street	Township (Port Pirie) Low Use Spray Seal (Non-Standard) Upper Surface	83.60	6.90	576.80
Ingerson Street		Knapman Street	Butterick Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	198.60	9.70	1,926.40
Ivey Street		Wright Street	Haslam Road	Township Low Use Hotmix Bitumen (Standard) Surface	133.60	6.70	895.10
Jacobi Street		Ferme Street	End of Seal	Township Low Use Slurry Seal (Standard) Surface	129.30	9.60	1,241.30
James Street		Afton Street	Zeta Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	220.60	8.00	1,764.80
Jeffrey Street		Three Chain Road	Radnor Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	40.70	9.20	374.40
Jeffrey Street		Radnor Street	Clayton Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	310.50	9.20	2,856.60
Jeffrey Street		Clayton Street	End Jeffrey Street	Township Low Use Slurry Seal (Standard) Surface	143.40	9.20	1,319.30
Jellicoe Street		Arnold Street	Three Chain Road	Township Low Use Hotmix Bitumen (Standard) Surface	167.70	6.50	1,090.10
Jellicoe Street		Wandearah Road	Elizabeth Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	137.30	9.30	1,276.90
Jellicoe Street		Elizabeth Street	Arnold Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	128.90	8.40	1,082.80
Jenkins Street		Senate Road	Penrose Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	187.10	8.40	1,590.40
Jenkins Street		Penrose Street	Caldecott Street		97.00	8.50	824.50
				Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	135.80	7.80	1,059.20
Jennings Street		Darbon Terrace	Allan Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface			
Jennings Street		Darbon Terrace	Allan Street	Township (Other) Low Use (Standard) Pavement	135.80	7.80	1,059.20
Jensen Street Jervis Street		Fisher Street	Balmoral Road	Township Low Use Hotmix Bitumen (Standard) Surface	278.70	7.90	2,201.70 971.10
		Senate Road	Collingwood Street	Township Low Use Slurry Seal (Non-Standard) Surface	107.90	9.00	9/1.10

Road Name	From	To End	Asset Type	Length	Width	Area
Jervis Street	Collingwood Street	Nelson Street	Township Low Use Slurry Seal (Standard) Surface	106.20	9.40	998.30
Jervis Street	Nelson Street	Anzac Road	Township Low Use Slurry Seal (Standard) Surface	335.30	9.10	3,051.20
Joffre Street	Whittard Street	Anzac Road	Township Low Use Hotmix Bitumen (Standard) Surface	180.90	6.70	1,212.00
Joffre Street	Anzac Road	Young Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	142.70	4.90	699.20
John Leary Street	Charles Avenue	End (North)	Township Low Use Hotmix Bitumen (Standard) Surface	226.10	6.40	1,447.00
John Street (Port Pirie)	Harris Road	Dorothy Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	207.00	6.40	1,324.80
John Street (Port Pirie)	Dorothy Street	Victoria Street	Township Low Use Slurry Seal (Standard) Surface	285.50	8.80	2,512.40
John Street (Port Pirie)	Victoria Street	Three Chain Road	Township Low Use Slurry Seal (Standard) Surface	176.80	8.60	1,520.50
Johnson Street	Hackett Street	Middleton Street	Township Low Use Hotmix Bitumen (Standard) Surface	129.80	9.10	1,181.20
Kaeleen Court	Village Way	End	Township Low Use Hotmix Bitumen (Standard) Surface	144.90	6.40	927.40
Kaeleen Court	Melissa Court	End	Township Low Use Hotmix Bitumen (Standard) Surface	100.20	6.40	641.30
Kaeleen Court	Melissa Court	Village Way	Township Low Use Hotmix Bitumen (Standard) Surface	180.90	6.50	1,175.90
Keane Street	Eagle Court	Higgins Court	Township Low Use Hotmix Bitumen (Standard) Surface	191.90	6.00	1,151.40
Keane Street	Blight Street	Eagle Court	Township Low Use Hotmix Bitumen (Standard) Surface	81.90	7.40	606.10
Keith Street	Goode Road	End of Keith Street	Township Low Use Hotmix Bitumen (Standard) Surface	211.00	6.40	1,350.40
Kendrew Terrace	Railway Tce	Eyre Rd	Township (Other) Low Use Spray Seal (Standard) Upper Surface	279.40	8.40	2,347.00
Kendrew Terrace	Railway Tce	Eyre Rd	Township (Other) Low Use (Standard) Pavement	279.40	8.40	2,347.00
Key Street	Simpson Road	End of Key Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	142.70	8.30	1,184.40
King Street	Wilkins Street	Marriott Street	Township Low Use Hotmix Bitumen (Standard) Surface	128.00	8.40	1,075.20
King Street	Three Chain Road	Wilkins Street	Township Low Use Hotmix Bitumen (Standard) Surface	144.30	8.40	1,212.10
King Street	Parks Street	Alpha Terrace	Township Low Use Hotmix Bitumen (Standard) Surface	129.80	8.50	1,103.30
King Street	Marriott Street	Parks Street	Township Low Use Hotmix Bitumen (Standard) Surface	133.30	8.50	1,133.10
Kingston Road	Roundabout at Anzac Road		Township Medium Use Hotmix Bitumen (Standard) Surface	50.50	5.00	252.50
Kingston Road	Senate Road	Nelson Street	Township Medium Use Hotmix Bitumen (Standard) Surface	232.70	13.40	3,118.20
Kingston Road	Nelson Street	Anzac Road	Township Medium Use Hotmix Bitumen (Standard) Surface	341.70	13.40	4,578.80
Kingston Road	Three Chain Road	Wanderah Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	146.00	12.80	1,868.80
Kingston Road	Wandearah Road	The Terrace	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	625.90	13.40	8,387.10
Kingston Road	Anzac Road	Radford Drive	Township Low Use Slurry Seal (Standard) Surface	322.90	13.10	4,230.00
Kingston Road	Radford Drive	End of Seal	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	212.60	6.90	1,466.90
Kingston Road	The Terrace	Senate Road	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	572.10	11.60	6,636.40
Kingston Road	Roundabout at The Terrace		Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	49.20	5.00	246.00
Kipara Street	Anzac Road	Paralla Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	136.20	5.50	749.10
Kitchener Road	Anzac Road	Lamm Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	336.00	7.00	2,352.00
Knapman Street	Wandearah Road	Murdoch Street	Township Low Use Slurry Seal (Standard) Surface	280.20	8.80	2,465.80
Knapman Street	Murdoch Street	Ingerson Street	Township Low Use Hotmix Bitumen (Standard) Surface	135.40	9.00	1,218.60
Knapman Street	Ingerson Street	The Terrace	Township Low Use Hotmix Bitumen (Standard) Surface	142.60	8.80	1,254.90
Kotsoglous Crescent	Stanhope Street	Alice Street	Township Low Use Slurry Seal (Standard) Surface	108.60	7.30	792.80
Kotsoglous Crescent	Alice Street	Senate Road	Township Low Use Slurry Seal (Standard) Surface	89.90	7.30	656.30
Kurll Street	Noll Street	Ferme Street	Township Low Use Slurry Seal (Standard) Surface	77.60	7.30	566.50
Lacey Street	Degenhardt Street	Three Chain Road	Township Low Use Slurry Seal (Standard) Surface	117.70	8.90	1,047.50
Lamb Street	Senate Road	Westley St	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	171.30	5.60	959.30
Lamm Street	Scarman Street	Esmond Road	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	219.70	7.40	1,625.80
Laureate Street	Senate Road	Federation Road	Township Low Use Slurry Seal (Non-Standard - Mid-Low Service Level) Surface	286.90	7.60	2,180.40
Leahey Road	The Terrace	BHAS Gate	Township (Port Pirie) Industrial Use Hotmix Bitumen (Standard) Short Life Layer	279.70	6.30	1,762.10
Leonard Avenue	Wall Street	Fisher Street	Township Low Use Hotmix Bitumen (Standard) Surface	110.70	7.20	797.00
Leonard Avenue	Esmond Road	Wall Street	Township Low Use Hotmix Bitumen (Standard) Surface	148.90	7.20	1,072.10
Lilly Street	Start of Seal	Frederick Street	Township (Port Pirie) Low Use Spray Seal (Future Change to Formation) Surface	215.00	6.80	1,462.00
Lindners Lane	Flinders St	Binney Rd	Township (Other) Low Use Spray Seal (Standard) Upper Surface	137.90	7.90	1,089.40
Lindners Lane	Flinders St	Binney Rd	Township (Other) Low Use (Standard) Pavement	137.90	7.90	1,089.40
Little Gertrude Street	Gertrude Street	End	Township Low Use Concrete Surface	86.00	3.20	275.20
Little Street	Frith Road	Stanley Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	159.50	7.50	1,196.30
Little Street	Frith Road	Stanley Street	Township (Other) Low Use (Standard) Pavement	159.50	7.50	1,196.30
Luscombe Street	Plenty Street	Hurst Street	Township Low Use Hotmix Bitumen (Standard) Surface	77.20	7.90	609.90
Luscombe Street	Hurst Street	Barry Street	Township Low Use Hotmix Bitumen (Standard) Surface	81.20	7.90	641.50
Luscombe Street	Barry Street	Hannan Street	Township Low Use Hotmix Bitumen (Standard) Surface	92.60	7.90	731.50
	Jan , Jan 200		· · · · · · · · · · · · · · · · · · ·			
	Kingston Road	Plenty Street	Township Low Use Hotmix Bitumen (Standard) Surface	95 701	7.901	/57.10
Luscombe Street Lydeamore Street	Kingston Road Plenty Street	Plenty Street Barry Street	Township Low Use Hotmix Bitumen (Standard) Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	95.20 144.10	7.90 7.90	752.10 1,138.40

Road Name	From	To End	Asset Type	Length	Width	Area
Lyons Street	Gilbert Street	Gadd Avenue	Township (Other) Low Use (Non-Standard) Pavement	253.50	8.20	2,078.70
Magor Road	Three Chain Road	Una Avenue	Township Medium Use Slurry Seal (Standard) Surface	312.90	11.90	3,723.50
Magor Road	Una Avenue	Soccer Grounds Gates	Township Medium Use Slurry Seal (Standard) Surface	155.50	12.00	1,866.00
Magor Road	Soccer Grounds Gates	Harris Road	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	540.40	6.90	3,728.80
Magor Road	Harris Road	Old Steam Train Road	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	1,178.90	6.50	7,662.90
Magor Road	600m East	Wauchope Road	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	543.20	7.00	3,802.40
Magor Road	Old Steam Train Road	600m East	Township (Port Pirie) Medium Use Spray Seal (Standard - Low Service Level) Upper Surface	598.70	7.00	4,190.90
Main Road Bridge (Redhill)	Barr St	Main Road	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	56.40	7.10	400.40
Main Road Bridge (Redhill)	Barr St	Main Road	Township (Other) Medium Use (Standard) Pavement	56.40	7.10	400.40
Main Street (Mundoora)	Railway Terrace	Ingram Gap Road	Township Low Use Hotmix Bitumen (Non-Standard) Surface	430.10	6.50	2,795.70
Main Street (Mundoora)	Railway Terrace	Ingram Gap Road	Township (Other) Low Use (Non-Standard) Pavement	430.10	6.50	2,795.70
Mais Terrace	Bowman Street	Cunningham Street	Township Low Use Slurry Seal (Non-Standard) Surface	230.60	7.90	1,821.70
Mais Terrace	Cunningham Street	Wider part of seal	Township Low Use Slurry Seal (Standard) Surface	93.00	8.20	762.60
Mais Terrace	Wider part of seal	School Oval Gate	Township (Other) Low Use Spray Seal (Standard) Upper Surface	174.40	11.30	1,970.70
Mais Terrace	Younghusband Terrace	Bowman Street	Township Low Use Slurry Seal (Non-Standard - Low Service Level) Surface	296.20	7.40	2,191.90
Mais Terrace	School oval gate	Huddleston Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	128.80	6.80	875.80
Mais Terrace	Cunningham Street	Wider part of seal	Township (Other) Low Use (Standard) Pavement	93.00	8.20	762.60
Mais Terrace	Bowman Street	Cunningham Street	Township (Other) Low Use (Non-Standard) Pavement	230.60	7.90	1,821.70
Mais Terrace	Wider part of seal	School Oval Gate	Township (Other) Low Use (Standard) Pavement	174.40	11.30	1,970.70
Mais Terrace	Younghusband Terrace	Bowman Street	Township (Other) Low Use (Non-Standard) Pavement	296.20	7.40	2,191.90
Mais Terrace	School oval gate	Huddleston Road	Township (Other) Low Use (Standard) Pavement	128.80	6.80	875.80
Mallyon Street	Eunice Street	Three Chain Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	350.00	8.00	2,800.00
Manders Street	Beach Road	Square Street	Township Low Use Slurry Seal (Non-Standard - Mid-Low Service Level) Surface	161.40	5.10	823.10
Mannix Court	Radford Drive	Cul De Sac	Township Low Use Slurry Seal (Standard) Surface	57.30	7.40	424.00
Mansom Street	The Terrace	Federation Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	225.60	6.80	1,534.10
Marietta Street	Afton Street	End	Township Low Use Hotmix Bitumen (Standard) Surface	59.50	6.50	386.80
Marriott Street	King Street	Church Circle	Township Low Use Slurry Seal (Non-Standard - Mid-Low Service Level) Surface	81.10	5.40	437.90
Marriott Street	Main Road	King Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	136.10	5.50	748.60
Martin Street	The Terrace	South Street	Township Low Use Hotmix Bitumen (Standard) Surface	205.50	8.90	1,829.00
Martin Street	South Street	Harrison Street	Township Low Use Hotmix Bitumen (Standard) Surface	191.20	8.80	1,682.60
Mary Elie Street	Florence Street	Gertrude Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	152.30	12.50	1,903.80
Mary Elie Street	Gertrude Street	The Terrace	Township High Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level)	516.70	11.70	6,045.40
Mary Elie Street	Ellen Street	Florence Street	Surface Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	133.60	13.40	1,790.20
Maude Street (North)	Anzac Road	Miell Terrace	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	185.00	6.00	1,710.00
Maude Street (South)	Una Avenue	Plantation Crescent	Township Low Use Slurry Seal (Standard) Surface	155.60	8.00	1,244.80
May Street	Senate Road	Federation Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	335.80	6.00	2,014.80
McBride Court	Milne Street	Cul De Sac	Township Low Use Slurry Seal (Standard) Surface	82.80	7.40	612.70
McDonald Court	Wilsdon Way	End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	63.70	6.60	420.40
Meadow Crescent	Balmoral Road	Dunstone Street (w)	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	164.20	8.40	1,379.30
Meadow Crescent	Balmoral Road	Dunstone Street (e)	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	164.80	8.60	1,417.30
Melissa Court	Kingston Road	Kaeleen Court	Township Low Use Hotmix Bitumen (Standard) Surface	41.60	6.40	266.20
Melissa Court	Kaeleen Court	End	Township Low Use Hotmix Bitumen (Standard) Surface	144.40	6.40	924.20
Memorial Drive	Gertrude Street	The Terrace	Township High Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level)	382.40	22.40	8,565.80
Mercowie Road	Cunningham Street	Claridge Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	366.70	6.60	2,420.20
Mercowie Road	140 M North Bowman St	Bowman St	Township (Other) Low Use Spray Seal (Standard) Upper Surface	126.10	6.70	844.90
Mercowie Road	Bowman Street	Cunningham Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	203.80	6.50	1,324.70
Mercowie Road	Cunningham Street	Claridge Road	Township (Other) Low Use (Standard) Pavement	366.70	6.60	2,420.20
Mercowie Road	Bowman Street	Cunningham Street	Township (Other) Low Use (Standard) Pavement	203.80	6.50	1,324.70
Mercowie Road	140 M North Bowman St	Bowman St	Township (Other) Low Use (Standard) Pavement	126.10	6.70	844.90
Merritt Court	Stanhope Street	Cul De Sac	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	48.60	7.30	354.80
Meyers Street	Harrison Street	Senate Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	146.20	7.30	1,067.30
Middleton Street	Balmoral Road	Caldecott Street	Township Low Use Hotmix Bitumen (Standard) Surface	183.20	8.90	1,630.50
Middleton Street	Caldecott Street	Johnson Street	Township Low Use Hotmix Bitumen (Standard) Surface	87.40	8.60	751.60
Middleton Street	Johnson Street	Robinson Street	Township Low Use Hotmix Bitumen (Standard) Surface	84.70	8.60	728.40
Miell Terrace	Maude Street	York Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	275.00	6.00	1,650.00
Mills Street	The Terrace	Gordon Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	114.80	5.60	642.90
Milne Street	McBride Court	Clark Street	Township Low Use Slurry Seal (Standard) Surface	34.20	7.30	249.70
		1	The second secon	3 1.20	,.50	- 15.70

Road Name	From	To End	Asset Type	Length	Width	Area
Milne Street	Clark Street	Spencer Street	Township Low Use Slurry Seal (Standard) Surface	105.40	7.30	769.40
Milne Street	Broadway Road	McBride Court	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	72.40	7.30	528.50
Mitchell Street (Crystal Brook)	Ferguson Street	Bowman Street	Township Low Use Slurry Seal (Non-Standard) Surface	233.30	10.50	2,449.70
Mitchell Street (Crystal Brook)	Younghusband Terrace	Ferguson Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	113.70	10.20	1,159.70
Mitchell Street (Crystal Brook)	Bowman Street	Cunningham Street	Township (Other) Low Use Spray Seal (Non-Standard) Upper Surface	230.90	10.20	2,355.20
Mitchell Street (Crystal Brook)	Cunningham St	Edmund Tce	Township (Other) Low Use Spray Seal (Standard) Upper Surface	237.30	8.30	1,969.60
Mitchell Street (Crystal Brook)	Ferguson Street	Bowman Street	Township (Other) Low Use (Non-Standard) Pavement	233.30	10.50	2,449.70
Mitchell Street (Crystal Brook)	Younghusband Terrace	Ferguson Street	Township (Other) Low Use (Standard) Pavement	113.70	10.20	1,159.70
Mitchell Street (Crystal Brook)	Bowman Street	Cunningham Street	Township (Other) Low Use (Non-Standard) Pavement	230.90	10.20	2,355.20
Mitchell Street (Crystal Brook)	Cunningham St	Edmund Tce	Township (Other) Low Use (Standard) Pavement	237.30	8.30	1,969.60
Mitchell Street (Port Pirie)	Campbell Street	Senate Road	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	113.40	4.90	555.70
Moorhouse Street (Port Pirie)	Burt Street	Horner Street	Township Low Use Slurry Seal (Standard) Surface	56.90	8.40	478.00
Moorhouse Street (Port Pirie)	Horner Street	Three Chain Road	Township Low Use Slurry Seal (Standard) Surface	82.00	8.40	688.80
Moorhouse Street (Port Pirie)	Geddes Road	Burt Street	Township Low Use Slurry Seal (Standard) Surface	151.90	9.50	1,443.10
Moorhouse Street (Redhill)	Bowman St	Maslin St	Township (Other) Low Use Spray Seal (Standard) Upper Surface	312.30	8.20	2,560.90
Moorhouse Street (Redhill)	Bowman St	Maslin St	Township (Other) Low Use (Standard) Pavement	312.30	8.20	2,560.90
Moppett Road	Cemetery Gates	Anzac Road	Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface	259.30	6.90	1,789.20
						•
Moppett Road	Senate Road	Cemetary Gates	Township Medium Use Slurry Seal (Standard Future Hotmix - Very Low Service Level) Surface	316.30	12.80	4,048.60
Moppett Road	Thorn Street	Senate Road	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	374.70	11.50	4,309.10
Moppett Road	The Terrace	Thorn Street	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	201.90	11.60	2,342.00
Moresby Crescent	Start of Moresby Crescent	Bain Avenue	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	194.70	8.00	1,557.60
Morgan Court	Whittard Street	End	Township Low Use Slurry Seal (Standard) Surface	133.30	7.60	1,013.10
Murdoch Street	Butterick Street	Kingston Road	Township Low Use Hotmix Bitumen (Standard) Surface	216.10	7.50	1,620.80
Murdoch Street	Williams Street	Butterick Street	Township Low Use Hotmix Bitumen (Non-Standard) Surface	117.90	6.70	789.90
Murdoch Street	Knapman Street	Williams Street	Township Low Use Hotmix Bitumen (Non-Standard) Surface	94.90	6.50	616.90
Murdoch Street	Balmoral Road	Knapman Street	Township Low Use Hotmix Bitumen (Standard) Surface	142.70	6.50	927.60
Murn Street	Warren Street	Pirie Street	Township Low Use Hotmix Bitumen (Standard) Surface	86.00	9.20	791.20
Murn Street	Pirie Street	Simpson Road	Township Low Use Hotmix Bitumen (Standard) Surface	83.70	9.30	778.40
Murn Street	Railway Terrace	Warren Street	Township Low Use Hotmix Bitumen (Standard) Surface	44.60	9.20	410.30
Murn Street	Simpson Road	Wood Street	Township Low Use Slurry Seal (Standard) Surface	95.60	6.70	640.50
Murphy Court	Wilsdon Way	End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	139.80	6.60	922.70
Murray Street	Forgan Street	Gilbert Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	100.10	7.70	770.80
Murray Street	Forgan Street	Gilbert Street	Township (Other) Low Use (Standard) Pavement	100.10	7.70	770.80
				249.50	10.50	2,619.80
Musgrave Street	Binney Road	Colton Street	Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface		10.50	
Musgrave Street	Colton St	Darbon Tce	Township (Other) Low Use Spray Seal (Standard) Upper Surface	331.50		3,480.80
Musgrave Street	Binney Road	Colton Street	Township (Other) Low Use (Non-Standard) Pavement	249.50	10.50	2,619.80
Musgrave Street	Colton St	Darbon Tce	Township (Other) Low Use (Standard) Pavement	331.50	10.50	3,480.80
Napperby Hall Road	Gulf View Road	End of road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	191.20	4.20	803.00
Napperby Hall Road	Gulf View Road	End of road	Township (Other) Low Use (Standard) Pavement	191.20	4.20	803.00
Nelson Street	Balmoral Road	Vinson Street	Township Low Use Hotmix Bitumen (Standard) Surface	91.50	9.00	823.50
Nelson Street	Vinson Street	Jervis Street	Township Low Use Hotmix Bitumen (Standard) Surface	193.90	9.00	1,745.10
Nelson Street	Jervis Street	Kingston Road	Township Low Use Hotmix Bitumen (Standard) Surface	284.10	9.00	2,556.90
Neylon Street	Howard Street	Dowling Street	Township Low Use Hotmix Bitumen (Standard) Surface	116.00	6.40	742.40
Ninth Street (Port Pirie)	Tenth Street	Goode Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	173.10	5.70	986.70
Ninth Street (Port Pirie)	Eleventh Street	Tenth Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	123.90	6.10	755.80
Noll Street	Esklund Street	Kurll Street	Township Low Use Slurry Seal (Standard) Surface	49.20	7.40	364.10
Noll Street	Tobin Street	Ferme Street	Township Low Use Slurry Seal (Standard) Surface	200.90	6.90	1,386.20
Noll Street	Kurll Street	Tobin Street	Township Low Use Slurry Seal (Standard) Surface	46.60	7.30	340.20
Noll Street	Creasy Street	Brereton Street	Township Low Use Slurry Seal (Standard) Surface	76.50	7.30	558.50
Noll Street	Brereton Street	Esklund Street	Township Low Use Slurry Seal (Non-Standard) Surface	178.70	7.30	1,304.50
Norah Street	Smale Street	Anzac Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	89.30	8.10	723.30
Norman Street	Florence Street	Gertrude Street	Township High Use Slurry Seal (Standard Future Hotmix - Very Low Service Level)	120.10	22.20	2,666.20
Norman Street	Ellen Street	Florence Street	Surface Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	128.50	21.90	2,814.20
North Terrace (Napperby)	Seventh Street	Sixth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	141.20	5.10	720.10
North Terrace (Napperby)	Scenic Drive	Fifth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	161.80	7.40	1,197.30

Road Name	From	To End	Asset Type	Length	Width	Area
North Terrace (Napperby)	Seventh Street	Sixth Street	Township (Other) Low Use (Standard) Pavement	141.20	5.10	720.10
Nunan Court	Eunice St	End	Township Low Use Hotmix Bitumen (Standard) Surface	77.30	6.90	533.40
Old Main Road	Ellis St	End of Seal	Township (Other) Low Use Spray Seal (Standard) Upper Surface	95.40	8.00	763.20
Old Main Road	Ellis St	End of Seal	Township (Other) Low Use (Standard) Pavement	95.40	8.00	763.20
Oliver Street	Three Chain Road (Service Road E)	Pugsley St	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	321.70	10.00	3,217.00
O'Loughlin Avenue	End of O'Loughlin Avenue	Balmoral Road	Township Low Use Hotmix Bitumen (Standard) Surface	142.90	7.40	1,057.50
Osborne Street	Victoria Street	Three Chain Road	Township Low Use Hotmix Bitumen (Standard) Surface	164.70	9.20	1,515.20
O'Shaughnessy Road (Crystal Brook)	Northern Access Road	End of Seal	Township (Other) Low Use Spray Seal (Standard) Upper Surface	436.50	7.40	3,230.10
O'Shaughnessy Road (Crystal Brook)	Northern Access Road	End of Seal	Township (Other) Low Use (Standard) Pavement	436.50	7.40	3,230.10
Ottilind Street	Thorn Street	Bruce Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	89.30	9.40	839.40
Ottilind Street	Bruce Street	The Terrace	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	107.50	8.30	892.30
Oval Access	Oval Gates	Clubrooms	Township (Other) Low Use Spray Seal (Non-Standard - Low Service Level) Upper Surface	122.20	7.00	855.40
Oval Access	Oval Gates	Clubrooms	Township (Other) Low Use (Non-Standard) Pavement	122.20	7.00	855.40
Oxford Street	Regent Street	Balmoral Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	88.50	8.90	787.70
Palmer Street	York Road	Goode Road	Township Low Use Slurry Seal (Standard) Surface	427.70	7.50	3,207.80
Panell Street	Jervis Street	End of Pannell Street	Township (Port Pirie) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	97.10	6.70	650.60
Paralla Street	Edward St	Kipara Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	225.80	7.00	1,580.60
Paralla Street	York Road	Kipara Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	204.00	6.50	1,326.00
Parham Street	End of Seal	Esmond Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	153.90	6.80	1,046.50
Parker Street	Ferme Street	Hewitt Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	79.30	7.30	578.90
Parker Street	Hewitt Street	Foristel Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	124.80	7.30	911.00
Parker Street	Foristel Street	End of Parker Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	114.50	7.30	835.90
Parkes Court	Bill Jones Crescent	To End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	48.80	5.80	283.00
Parks Street	Prince Street	Albert Terrace	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	135.10	5.40	729.50
Parks Street	Queen Street	Prince Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	144.80	5.40	781.90
Parks Street	King Street	Queen Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	133.30	5.40	719.80
Parks Street	Main Road	King Street	Township Low Use Slurry Seal (Non-Standard) Surface	130.60	5.80	757.50
Patterson Street	End of Patterson Street	Phillis Street	Township Low Use Hotmix Bitumen (Standard) Surface	40.10	8.90	356.90
Patterson Street	Phillis Street	The Terrace	Township Low Use Hotmix Bitumen (Standard) Surface	115.20	8.90	1,025.30
Pavlich Street	The Terrace	Federation Road	Township Low Use Hotmix Bitumen (Standard) Surface	288.10	7.20	2,074.30
Pearce Street	Goode Road	End of Pearce Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	207.60	13.80	2,864.90
Pelham Road	The Terrace	Senate Rd	Township Medium Use Slurry Seal (Standard Future Hotmix) Surface	581.10	12.20	7,089.40
Pelham Road	Port Broughton Road	The Terrace	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	847.30	7.40	6,270.00
Penrose Street	Threadgold Street	Jenkins Street	Township Low Use Slurry Seal (Standard) Surface	76.60	8.80	674.10
Penrose Street	Trelawney Street	Threadgold Street	Township Low Use Slurry Seal (Standard) Surface	79.20	9.10	720.70
Percy Street	Alfred Street	Howe Street	Township Low Use Hotmix Bitumen (Standard) Surface	74.50	11.30	841.90
Peterson Circuit	T Junction (West)	T Junction (East)	Township Low Use Hotmix Bitumen (Standard) Surface	130.60	6.50	848.90
Peterson Circuit	Kingston Road	T Junction (West)	Township Low Use Hotmix Bitumen (Standard) Surface	362.80	6.40	2,321.90
Peterson Circuit	Kingston Road	End (north)	Township Low Use Hotmix Bitumen (Standard) Surface	284.40	6.40	1,820.20
Phillis Street	Esmond Road	Patterson Street	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	222.70	6.50	1,447.60
Phillis Street	Patterson Street	Afton Street	Township Low Use Slurry Seal (Standard) Surface	124.20	7.30	906.70
Pine Street	Wattle Street	Heath Street	Township Low Use Hotmix Bitumen (Standard) Surface	80.80	5.40	436.30
Piper Street	Grey Terrace	Reginald Street	Township Low Use Hotmix Bitumen (Standard) Surface	99.30	6.30	625.60
Pirie Street	Harris Road	Murn Street	Township Low Use Slurry Seal (Non-Standard - Mid-Low Service Level) Surface	284.20	9.20	2,614.60
Pirie Street		Three Chain Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	250.70	9.20	2,431.80
	Murn Street			189.00	8.20	
Plantation Crescent	Maude Street	Three Chain Road	Township Low Use Slurry Seal (Non-Standard - Low Service Level) Surface		8.70	1,549.80
Plantation Crescent	Amelia Street	Maude Street	Township Low Use Slurry Seal (Standard) Surface	99.90		869.10
Plenty Street	Plenty Street (025)	Hannan Street	Township Low Use Slurry Seal (Standard) Surface	57.90	6.70	387.90
Plenty Street	Barry Street	Hannan Street	Township Low Use Hotmix Bitumen (Standard) Surface	105.80	7.40	782.90
Plenty Street	Hutchinson Street	Worden Street	Township Low Use Hotmix Bitumen (Standard) Surface	202.70	7.90	1,601.30
Plenty Street	Worden Street	Barry Street	Township Low Use Hotmix Bitumen (Standard) Surface	79.40	8.20	651.10
Plenty Street	Luscombe Street	Lydeamore Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	95.20	8.00	761.60
Plenty Street	Lydeamore Street	Hutchinson Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	100.30	8.00	802.40
Port Davis Road	Ferme St	200 m South of Ferme St	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	215.70	10.00	2,157.00
Port Davis Road	Williams Drive	Ferme Street	Township Medium Use Slurry Seal (Standard Future Hotmix - Very Low Service Level) Surface	243.90	12.30	3,000.00
Port Davis Road	Kingston Road	Williams Drive	Township Medium Use Slurry Seal (Standard Future Hotmix) Surface	266.50	12.20	3,251.30
Port Davis Road	200 m Sth Ferme St	End Of Seal	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	298.00	7.00	2,086.00

Note	Road Name	From	To End	Asset Type	Length	Width	Area
Proce Store	Porta Place	Wandearah Road	End of Cul de sac	Township Low Use Hotmix Bitumen (Standard) Surface	84.40	5.30	447.30
Prince Shreet William Street Young Street You	Poynton Street	Federation Road	Frederick Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	98.30	7.10	697.90
Process Street	Prince Street	Three Chain Road	Wilkins Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	145.50	8.70	1,265.90
Price Street	Prince Street	Wilkins Street	Young Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	124.30	8.70	1,081.40
Page Court	Prince Street	Parks Street	Alpha Terrace	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	121.30	8.70	1,055.30
Page Page Springer Novel Street Other Street County (America) (April Pring) Low be Spring Sent (Counterfor) (April Sortice 0.2.5 0) 4.00 7.0	Prince Street	Young Street	Parks Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	123.50	8.70	1,074.50
Courty Road	Priya Court	Cunningham Boulevard	To End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	86.50	7.40	640.10
Source Product Street Product Stre	Pugsley Street	Wood Street	Oliver Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	82.80	9.60	794.90
Courty Road August Inglands Products ST Township (Others) Low Les (Standard) Powement 18,570 10,80	Quarry Road	Augusta Highway	Flinders St	Township (Other) Low Use Spray Seal (Standard) Upper Surface	89.50	10.80	966.60
Sparry Road	Quarry Road	Flinders Street	End of Seal	Township Low Use Slurry Seal (Standard) Surface	156.70	10.80	1,692.40
Queen Street	Quarry Road	Augusta Highway	Flinders St	Township (Other) Low Use (Standard) Pavement	89.50	10.80	966.60
Queen Street Church Circle Parks Street Tournipp Law Use Internal Situtume (Standard) Surface 74.50 8.50 1,21	Quarry Road	Flinders Street	End of Seal	Township (Other) Low Use (Standard) Pavement	156.70	10.80	1,692.40
Discoss Street Three Chain Road Walkes Street Council Circle Tourchip Low Lee Horizon Road (Strafter) 27.50 8.50 1.21	Queen Street	Parks Street	Alpha Terrace	Township Low Use Hotmix Bitumen (Standard) Surface	126.30	8.50	1,073.60
Discoss Street Three Chain Road Walkes Street Council Circle Tourchip Low Lee Horizon Road (Strafter) 27.50 8.50 1.21				·		8.50	633.30
Queen Street Wilsins Street Out-of-Circle Township (Port Princ) to Use Storting College 9.3 (b) 5.1 (c)		Three Chain Road		·		8.50	1,212.10
Earliford Drive Kingston Road Mannix Court Township (Port Prive) Low Use Spray Seal (Standard) Upper Surface 93.90 10.20 275 264ford Drive Mannix Court To Fad Township (Port Prive) Low Use Spray Seal (Standard) Upper Surface 272.00 10.70 275	-						616.30
Eardord Prive							957.80
Radford Prive South							2,756.00
Fadmor Street							438.40
Salivary Ferrace (Crystal Brook) Cunningham Street Cunningham Street Cunningham Street Cunningham Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 220,90 11.30 2,43 Ralivary Ferrace (Crystal Brook) Forguson Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 412,80 10.20 4,21 Ralivary Ferrace (Crystal Brook) Forguson Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 228,90 13.30 2,49 Ralivary Ferrace (Crystal Brook) Forguson Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 228,90 13.30 2,49 Ralivary Ferrace (Crystal Brook) Commission Street Township (Other) Low Use (Standard) Pavement 228,90 13.30 2,49 Ralivary Ferrace (Crystal Brook) Commission Street Township (Other) Low Use (Standard) Pavement 218,40 10.20 4,21 Ralivary Ferrace (Crystal Brook) Forguson Street Township (Other) Low Use (Standard) Pavement 218,40 10.20 4,21 Ralivary Ferrace (Crystal Brook) Forguson Street Township (Other) Low Use (Standard) Pavement 228,50 10.20 4,21 Ralivary Ferrace (Fort Frie) Murn Street Township (Other) Low Use (Standard) Surface 108,70 13.10 2,60 Ralivary Ferrace (Fort Frie) Murn Street Township (Fort Frie) Murn Use Surface 108,70 13.10 2,60 Ralivary Ferrace (Fort Frie) Allow Street Township (Fort Frie) Murn Use Surface 108,70 13.10 2,60 Ralivary Ferrace (Fort Frie) Allow Murn Street Township (Fort Frie) Murn Use Surface 108,70 13.00 2,60 Ralivary Ferrace (Fort Frie) Allow Murn Street Township (Fort Frie) Murn Use Surface 108,70 13.00 2,60 Ralivary Ferrace (Fort Frie) Allow Street Township (Fort Frie) Murn Use Surface 108,70 13.00 2,60 Ralivary Ferrace (Fort Frie) Allow Murn Street Township (Fort Frie) Murn Use Surface 13.00 1,00 1,00 1,00 Ralivary Ferrace (Fort Frie) Allow Murn Street Township (Fort Frie) Murn Use Surface 1,00 1,00 1,00 1,00 1,00 1,							1,562.10
Railway France (Crystal Brook) Bowman Street Cunningham Street Township (Cliber) Low Uses Spray Seal (Standard) Upper Surface 412.80 0.20 41.20 24.9 Railway France (Crystal Brook) Perguson Street Bowman Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 228.80 9.15 2.17 Railway France (Crystal Brook) Bowman Street Cunningham Street Township (Other) Low Use (Standard) Upper Surface 228.80 9.15 2.17 Railway France (Crystal Brook) Cunningham Street Cunningham Street Township (Other) Low Use (Standard) Prevenent 218.40 7.25 1.63 Railway France (Crystal Brook) Cunningham Street Cunningham Street Township (Other) Low Use (Standard) Prevenent 218.40 7.25 1.63 Railway France (Crystal Brook) Conditions of the Standard Street Township (Other) Low Use (Standard) Prevenent 218.40 7.25 1.63 Railway France (Crystal Brook) Perguson Street Swintan Street Township (Other) Low Use (Standard) Prevenent 218.40 7.25		•		·			1,638.00
Family Ferrace (Crystal Brook) Oval Gates Ferrguson Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 412.80 9.30 4.21 Railway Ferrace (Crystal Brook) Sowman Street Township (Other) Low Use Spray Seal (Standard) Upper Surface 228.00 9.30 2.11 Railway Ferrace (Crystal Brook) Sowman Street Commisphan Street Township (Other) Low Use (Standard) Pavement 228.00 1.30 2.49 Railway Ferrace (Crystal Brook) Commisphan Street Edmund Ferrace Township (Other) Low Use (Standard) Pavement 228.00 1.30 2.49 Railway Ferrace (Crystal Brook) Oval Gates Ferrguson Street Township (Other) Low Use (Standard) Pavement 228.00 9.50 4.21 Railway Ferrace (Crystal Brook) Ferrguson Street Township (Other) Low Use (Standard) Pavement 228.00 9.50 4.21 Railway Ferrace (Fort Pirie) Murr Street Three Chain Road Township (Other) Low Use (Standard) Pavement 228.00 9.50 4.21 Railway Ferrace (Fort Pirie) Murr Street Three Chain Road Township (Medium Use Hotrins Bitumen (Standard) Surface 388.00 8.90 3.60 Railway Ferrace (Fort Pirie) 1.300m West of Wauchopes Road Harris Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 541.60 6.70 3.62 Railway Ferrace (Fort Pirie) 1.300m West of Wauchopes Road Batty Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 425.00 7.70 3.62 Railway Ferrace (Fort Pirie) Murr Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 425.00 7.70 3.62 Railway Ferrace (Fort Pirie) Murr Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 425.00 7.70 3.62 Railway Ferrace (Fort Pirie) Low Use Spray Seal (Standard) Upper Surface 425.00 7.70 3.62 Reseas Court County Street Township Low Use Hutrins Bitumen (Standard) Upper Surface 425.00 7.70 3.62 Reseas Court County Street Township Low Use Hutrins Bitumen (Standard) Surface 425.00 7.70 3.62 Reseas Co							2,496.20
Pailway Ferrace (Crystal Brook) Serguson Street Countighon S							4,210.60
Railway Terrace (Crystall Brook) Bowman Street Cunningham Street Commishin (Other) Low Use (Standard) Pawement 220.00 11.30 2.48 Railway Terrace (Crystall Brook) Oval Gotes Ferguson Street Tomshin (Other) Low Use (Standard) Pawement 21.84 0.75 1.63 Railway Terrace (Crystall Brook) Ferguson Street Formshin (Other) Low Use (Standard) Pawement 22.86 0.75 0.75 Railway Terrace (Crystall Brook) Ferguson Street Formshin (Other) Low Use (Standard) Pawement 22.86 0.75 0.75 Railway Terrace (Port Pririe) Murn Street Time Chain Road Tomshin (Medium Use Surry Sea (Standard Pawement Low Service Level) Surface 198.70 13.10 2.06 Railway Terrace (Port Pririe) 1300m West of Wauchopes Road Harris Road Tomshin (Port Pririe) Medium Use Surry Sea (Standard Pawement Low Service Level) Surface 308.80 8.90 2.74 Railway Terrace (Port Pririe) 1300m West of Wauchopes Road Harris Road Tomshin (Port Pririe) Medium Use Surry Sea (Standard) Upper Surface 215.20 8.80 1.89 Railway Terrace (Port Pririe) 1300m West of Wauchopes Road Batty Street Tomshin (Port Pririe) Medium Use Surry Sea (Standard) Upper Surface 215.00 8.80 1.89 Raed Street Afford Road Batty Street Tomshin (Port Pririe) Low Use Spray Seal (Standard) Upper Surface 215.00 8.80 1.89 Resear Street Afford Road Tomshin (Port Pririe) Low Use Spray Seal (Standard) Upper Surface 215.00 8.90 1.74 Regent Street Afford Street Fend of Resease Court Tomshin Low Use Surry Seal (Standard) Surface 215.00 9.00 2.72 Regent Street Sente Road Tomshin Low Use Surry Seal (Standard) Surface 223.70 6.60 1.75 Regent Street Heywood Avenue Oxford Street Tomshin Low Use Surry Seal (Standard) Surface 223.70 6.60 1.75 Regent Street Piper Street Clayton Street Tomshin Low Use Surry Seal (Standard) Surface 223.70 6.60 1.75 Regent Street Piper Street Clayton Street Tomshin Low Use Surry Seal (Standard) Surface 223.70							
Railway Terrace (Crystal Brook) Cunningham Street Edmund Terrace Township (Other) Low Use (Standard) Pavement 412.80 1.75 1.05 4.21 Railway Terrace (Crystal Brook) Ferguson Street Rownship (Other) Low Use (Standard) Pavement 412.80 1.02 4.21 Railway Terrace (Port Drire) Murn Street Rownship (Other) Low Use (Standard) Pavement 228.80 9.50 2.17 Railway Terrace (Port Drire) Murn Street Rownship (Mortlen) Low Use (Standard) Pavement 228.80 9.50 2.17 Railway Terrace (Port Drire) Harris Road Murn Street Township (Mortlen) Low Use (Standard) Surface 199.70 13.10 2.60 Railway Terrace (Port Drire) Harris Road Murn Street Township (Mortlen) Low Spray Seal (Standard Future Hothrux - Low Service Level) Surface 308.80 8.90 2.74 Railway Terrace (Port Drire) Murn Street Township (Port Drire) Low Use Spray Seal (Standard) Upper Surface 215.20 8.30 1.89 Raad Street Africa Road Goode Road Township (Port Drire) Low Use Spray Seal (Standard) Upper Surface 215.20 8.01 Ragent Street Rownship (Port Drire) Low Use Spray Seal (Standard) Upper Surface 215.20 8.01 Regent Street Rownship (Port Drire) Low Use Healthing Sturface 215.20 8.01 Regent Street Rownship (Port Drire) Low Use Healthing Sturface 215.20 8.01 Regent Street Rownship (Port Drire) Low Use Healthing Sturface 215.20 8.01 Regent Street Rownship (Port Drire) Low Use Healthing Sturface 215.20 8.01 Regent Street Rownship (Low Use Sturry Seal (Standard) Surface 235.70 9.00 2.12 Regent Street Rownship (Low Use Sturry Seal (Standard) Surface 235.70 9.00 2.12 Regent Street Rownship (Low Use Sturry Seal (Standard) Surface 340.60 6.00 35 Regent Street Rownship (Low Use Sturry Seal (Standard) Surface 340.60 6.00 1.45 Regular Street Rownship (Low Use Sturry Seal (Standard) Surface 340.60 6.00 1.45 Regular Street Rownship (Low Use Sturry Seal (Standard) Surface 340.60 6.00 1.45 Regula							
Railway Terrace (Crystal Brook) Oval Gates Ferguson Street Township (Other) Low Use (Standard) Pavement 228.80 3.90 2,17 Railway Terrace (Port Priré) Murn Street Township (Other) Low Use (Standard) Pavement 228.80 3.90 2,17 Railway Terrace (Port Priré) Harris Road Township Medium Use Intrins (Standard) Surface 138.70 13.10 2,60 Railway Terrace (Port Priré) Harris Road Murn Street Township Medium Use Intrins (Standard) Upper Surface 338.80 8.90 2,74 Railway Terrace (Port Priré) 1300m West of Wauchopes Road Harris Road Township (Port Priré) Medium Use Spray Seal (Standard) Upper Surface 341.60 6.70 3,62 Ramay Street Afford Road Satty Street Township (Port Prire) Low Use Spray Seal (Standard) Upper Surface 215.30 8.80 1,89 Reed Street York Road Soode Road Township (Port Prire) Low Use Spray Seal (Standard) Upper Surface 215.30 8.80 1,89 Rees Court Kenne Street End of Reese Court Township (Port Prire) Low Use Spray Seal (Standard) Upper Surface 245.90 8.70 3,00 5,70 Rese Court Kenne Street End of Reese Court Township Low Use Horins (Standard) Surface 95.40 6.60 5,70 Regent Street Conford Street End of Reese Court Township Low Use Surray Seal (Standard) Surface 95.40 6.60 5,70 Reginal Street Haywood Avenue Oxford Street Township Low Use Surray Seal (Standard) Surface 92.50 9.00 2,70 Reginal Street Reginal Street Piper Street Township Low Use Surray Seal (Standard) Surface 92.20 6.60 1,46 Reginal Street Reginal Street Piper Street Township Low Use Surray Seal (Standard) Surface 92.20 6.60 1,46 Reginal Street Reginal Street Township Low Use Surray Seal (Standard) Surface 92.20 6.60 1,46 Reginal Street Reginal Street Township Low Use Surray Seal (Standard) Surface 22.20 6.60 1,46 Reginal Street Reginal Street Township Low Use Surray Seal (Standard) Surface 22.20 6.60 1,46 Reginal Street Reginal Street							
Railway Terrace (Crystal Brook) Ferguson Street Bowman Street Township (Other) Low Use (Standard) Pavement 228.80 9.50 2.17 Railway Terrace (Port Pire) Murn Street Three Chain Road Township Medium Use (Standard) Surface 19.67 13.10 2.74 Railway Terrace (Port Pire) Hurn's Road Murn Street Township Medium Use Sizury Seal (Standard) Upper Surface 308.80 8.90 2.74 Railway Terrace (Port Pire) 1300m West of Wauchopes Road Harris Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 541.60 6.70 3.62 Rameay Street York Road Goode Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 215.20 8.80 1.89 Reses Court Keane Street End of Reese Court Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 425.90 7.22 3.06 Reses Court Keane Street End of Reese Court Township Low Use Surry Seal (Standard) Upper Surface 425.90 7.23 3.06 Reses Court Keane Street End of Reese Court Township Low Use Surry Seal (Standard) Upper Surface 425.90 7.24 3.06 Reginal Street Reginal Street End of Reese Court Township Low Use Surry Seal (Standard) Surface 55.40 6.00 57 Reginal Street Heywood Avenue Oxford Street Township Low Use Surry Seal (Standard) Surface 237.70 9.00 27 Reginal Street Heywood Avenue Oxford Street Township Low Use Surry Seal (Standard) Surface 52.80 6.00 47 Reginal Street Piper Street Township Low Use Surry Seal (Standard) Surface 54.80 6.60 6.							1,638.00
Railway Terrace (Port Pirie) Num Street Three Chain Road Township Medium Use Sturry Seal (Standard) Surface 198.70 13.10 2,60 Railway Terrace (Port Pirie) 1300m West of Wauchopes Road Harris Road Township Medium Use Sturry Seal (Standard) Upper Surface 541,60 6.70 30.88 8.90 2,74 Railway Terrace (Port Pirie) 1300m West of Wauchopes Road Harris Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 541,60 6.70			-				4,210.60
Railway Terrace (Port Pirie) Harris Road Murn Street Township Medium Use Slurry Seal (Standard) Upper Surface 541.60 6.70 3.62 3.74 3.75							2,173.60
Rallway Terrace (Port Pirie) 1300m West of Wauchopes Road Harris Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 541.60 6.70 3,62 Ramsay Street Afford Road Batty Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 215.20 8.80 1,89 Road Street York Road Goode Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 425.90 7.20 3,06 Roses Court Reases Court Reases Court Reases Court Rosen Street Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 425.90 7.20 3,06 Regent Street Oxford Street Oxford Street Senate Road Township Low Use Spray Seal (Standard) Upper Surface 225.70 9.00 2,12 Regent Street Regent Street Regent Street Regent Street Start Reginald Street Start Reginald Street Start Reginald Street Piper Street Township Low Use Silury Seal (Standard) Surface 52.80 9.00 47 Reginald Street Start Reginald Street Piper Street Township Low Use Silury Seal (Standard) Surface 52.80 6.60 1,46 Reveil Street Piper Street Township Low Use Silury Seal (Standard) Surface 52.80 6.60 1,46 Reveil Street Piper Street Township Low Use Silury Seal (Standard) Surface 222.30 6.60 1,46 Reveil Street Piper Street Township Low Use Silury Seal (Standard) Surface 222.30 6.60 1,46 Reveil Street Piper Street Piper Street Township Low Use Silury Seal (Standard) Surface 222.30 6.60 1,46 Reveil Street Piper S							2,603.00
Ramasy Street	Railway Terrace (Port Pirie)	Harris Road	Murn Street	Township Medium Use Slurry Seal (Standard Future Hotmix - Low Service Level) Surface	308.80	8.90	2,748.30
Read Street York Road Goode Road Township (Port Pine) Low Use Spray Seal (Standard) Upper Surface 425.00 7.20 3,06 7.8	Railway Terrace (Port Pirie)	1300m West of Wauchopes Road	Harris Road	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	541.60	6.70	3,628.70
Read Street York Road Goode Road Township (Port Pine) Low Use Spray Seal (Standard) Upper Surface 425.00 7.20 3,06 7.8	Ramsay Street	Afford Road	Batty Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	215.20	8.80	1,893.80
Reese Court Keane Street End of Reese Court Township Low Use Hotmic Bitumen (Standard) Surface 9.54.0 6.00 57 Regent Street Oxford Street Senate Road Township Low Use Slurry Seal (Standard) Surface 2.52.70 9.00 2.12 Reginald Street Heywood Avenue Oxford Street Township Low Use Slurry Seal (Standard) Surface 5.20.0 9.00 47 Reginald Street Start Reginald Street Piper Street Township Low Use Slurry Seal (Standard) Surface 5.20.0 9.00 6.00 1.00 Reginald Street Piper Street Clayton Street Township Low Use Slurry Seal (Standard) Surface 5.20.0 9.00 6.00 1.00 Revell Street Federation Road The Terrace Township Low Use Slurry Seal (Standard) Surface 2.22.30 6.60 1.00 1.71 River Terrace Bowman Street Barr Street Township Medium Use North Surface 2.00 9.00 7.60 2.65 River Terrace Bowman Street Barr Street Township Medium Use Spray Seal (Non-Standard) Surface 2.00 9.00 1.10 1.71 River Terrace Bowman Street Township (Other) Medium Use Spray Seal (Non-Standard) Upper Surface 9.94.0 15.10 1.50 River Terrace Bowman Street Township (Other) Medium Use Spray Seal (Non-Standard) Upper Surface 9.94.0 15.10 1.50 Robinson Street Middleton Street Balmoral Road Township (Other) Medium Use (Standard) Surface 8.00 9.00 1.00 1.71 Robinson Street Middleton Street Balmoral Road Township (Other) Medium Use (Standard) Surface 8.00 9.00 1.00 1.71 Rodd Street Piper Street May St Township (Other) Medium Use (Standard) Surface 9.94.0 1.51.0 1.50 Rodd Street Piper Street Piper Street Township (Nother) Medium Use (Standard) Surface 9.94.0 1.51.0 1.50 Rodd Street Piper Street Piper Street Township (Nother) Medium Use (Nother) Standard) Surface 9.94.0 1.51.0 1.50 Rodd Street Piper Street Piper Street Piper Street Township (Nother) Medium Use (Nother) Standard) Surface 9.94.0 1.51.0 1.50 Rodd Street Piper Str		York Road					3,066.50
Regent Street Oxford Street Senate Road Township Low Use Slurry Seal (Standard) Surface 235.70 9.00 2,12 Regent Street Heywood Avenue Oxford Street Township Low Use Slurry Seal (Standard) Surface 52.80 9.00 4.7 Reginald Street Piper Street Township Low Use Slurry Seal (Standard) Surface 54.80 6.60 36 Reginald Street Piper Street Clayton Street Township Low Use Slurry Seal (Standard) Surface 349.60 7.60 2.60 1,46 Revell Street Piper Street Clayton Street Township Low Use Slurry Seal (Standard) Surface 349.60 7.60 1,60 River Terrace Bowman Street Barr Street Township Medium Use Hotnix Bitumen (Standard) Surface 280.80 6.10 1,71 River Terrace Bowman Street Barr Street Township (Other) Medium Use Standard) Surface 99.40 15.10 1,50 River Terrace Bills Street Bowman Street Township (Other) Medium Use (Standard) Pavement 280.80 6.10 1,71 River Terrace Elis Street Bowman Street <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>572.40</td>							572.40
Regent Street Heywood Avenue Oxford Street Township Low Use Slurry Seal (Standard) Surface 52.80 9.00 47 Reginald Street Start Reginald Street Piper Street Township Low Use Slurry Seal (Standard) Surface 54.80 6.60 36 Reyell Street Piper Street Clayton Street Township Low Use Slurry Seal (Standard) Surface 222.30 6.60 1,46 Revell Street Federation Road The Terrace Township Low Use Slurry Seal (Standard) Surface 280.80 6.10 1,71 River Terrace Bowman Street Township Low Use Slurry Seal (Standard) Surface 280.80 6.10 1,71 River Terrace Billis Street Barr Street Township (Other) Medium Use Hotmix Bitumen (Standard) Surface 280.80 6.10 1,71 River Terrace Billis Street Bowman Street Township (Other) Medium Use Spray Seal (Non-Standard) Upper Surface 99.40 15.10 1,50 Robinson Street Street Bowman Street Township (Other) Medium Use Spray Seal (Non-Standard) Upper Surface 99.40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township (Other) Medium Use (Non-Standard) Pavement 99.40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township Low Use Hotmix Bitumen (Standard) Surface 88.80 8.60 76 Rodd Street Federation Road May St Township Low Use Hotmix Bitumen (Standard) Surface 88.80 8.60 76 Rodd Street Federation Road May St Township (Medium Use Spray Seal (Standard) Upper Surface 65.20 6.60 1.05 Ronald Street May St Frederick Road Township (Port Prine) Medium Use Spray Seal (Standard) Upper Surface 160.50 6.60 1.05 Ronald Street Esmond Road Eilzabeth Street Township Low Use Hotmix Bitumen (Standard) Surface 141.10 6.50 9.35 Rupara Street Esmond Road Eilzabeth Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 9.35 Rupara Street Annie Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 9.35 Rupara Street Annie Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 9.10 Sampson Street Burt Street Horne Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.80 7.00 1,00 Sampson Street							2,121.30
Reginald Street Start Reginald Street Piper Street Township Low Use Slurry Seal (Standard) Surface 54.80 6.60 36 Reginald Street Piper Street Clayton Street Township Low Use Slurry Seal (Standard) Surface 222.30 6.60 1,46 Revell Street Federation Road The Terrace Township Low Use Slurry Seal (Standard) Surface 349.60 7.60 2,65 River Terrace Bowman Street Barr Street Township Medium Use Hothrik Bitumen (Standard) Surface 280.80 6.10 1,71 River Terrace Elis Street Township Medium Use Spray Seal (Standard) Surface 280.80 6.10 1,71 River Terrace Bowman Street Bowman Street Township (Other) Medium Use Spray Seal (Standard) Upper Surface 99.40 15.10 1,50 River Terrace Bowman Street Bowman Street Township (Other) Medium Use (Standard) Pavement 280.80 6.10 1,71 River Terrace Eliis Street Bowman Street Township (Other) Medium Use (Non-Standard) Pavement 99.40 15.10 1,50 River Terrace Eliis Street Bowman Street Township (Other) Medium Use (Non-Standard) Pavement 99.40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township Low Use Hothrik Bitumen (Standard) Surface 88.80 8.60 7.6 Robinson Street Hackett Street Middleton Street Township (Other) Medium Use (Non-Standard) Surface 88.80 8.60 7.6 Robinson Street Hackett Street Middleton Street Township Low Use Hothrik Bitumen (Standard) Surface 88.80 8.60 7.6 Robinson Street Hackett Street May St Township Low Use Hothrik Bitumen (Standard) Surface 133.90 8.70 1,16 Rodda Street Federation Road May St Township Medium Use Spray Seal (Standard) Upper Surface 65.20 6.60 43 Rodda Street May St Frederick Road Township Low Use Hothrik Bitumen (Standard) Upper Surface 160.50 6.60 1,36 Roper Street Esmond Road End Roper Street Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street Esmond Road End Roper Street Township Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street Annie Street Prownship Low Use Hothrik Bitumen (Standard) Upper Surface 141.10 6.50 91 Rupara Street Burt Street Horner Street Township (Port Pir							475.20
Reginald Street Piper Street Clayton Street Township Low Use Slurry Seal (Standard) Surface 222.30 6.60 1,46 Revell Street Federation Road The Terrace Township Low Use Slurry Seal (Standard) Surface 349.60 7.60 2,65 1,76 River Terrace Bowman Street Barr Street Township Medium Use Hotmix Bitumen (Standard) Surface 280.80 6.10 1,71 River Terrace Ellis Street Bowman Street Township (Other) Medium Use Spray Seal (Non-Standard) Upper Surface 99.40 15.10 1,50 River Terrace Bowman Street Township (Other) Medium Use (Standard) Pavement 280.80 6.10 1,71 River Terrace Ellis Street Bowman Street Township (Other) Medium Use (Standard) Pavement 99.40 15.10 1,50 Robinson Street Rilis Street Bowman Street Township (Other) Medium Use (Non-Standard) Pavement 99.40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township (Other) Medium Use (Non-Standard) Pavement 99.40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township (Other) Medium Use (Non-Standard) Surface 88.80 8.60 6.76 Robinson Street Hackett Street Middleton Street Township (Other) Medium Use (Non-Standard) Surface 88.80 8.60 6.76 1,76 Robinson Street Hackett Street Middleton Street Township Low Use Hotmix Bitumen (Standard) Surface 133.30 8.70 1,76 Robinson Street Rederation Road May St Township Medium Use Sidenard Surface 133.30 8.70 1,76 Rodda Street Road Township (Non-Standard - Very Low Service Level) Surface 65.20 6.60 43 Rodda Street May St Frederick Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 160.50 6.60 1,05 91 Rupara Street Esmond Road End Roper Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 141.80 7.00 1,04 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 141.80 7.00 1,04 Sabine Street Burt Street Horner Street Tow							361.70
Reveil Street Federation Road The Terrace Township Low Use Slurry Seal (Standard) Surface 349,60 7.60 2,65 River Terrace Bowman Street Barr Street Township Medium Use Hotmix Bitumen (Standard) Surface 280.80 6.10 1,71 River Terrace Ellis Street Bowman Street Township (Other) Medium Use Spray Seal (Non-Standard) Upper Surface 99,40 15.10 1,50 River Terrace Bowman Street Barr Street Township (Other) Medium Use (Standard) Pavement 280.80 6.10 1,71 River Terrace Ellis Street Bowman Street Township (Other) Medium Use (Standard) Pavement 280.80 6.10 1,71 River Terrace Ellis Street Bowman Street Township (Other) Medium Use (Non-Standard) Pavement 99,40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township Low Use Hotmix Bitumen (Standard) Surface 88.80 8.60 76 Robinson Street Hackett Street Middleton Street Township Low Use Hotmix Bitumen (Standard) Surface 88.80 8.80 8.70 1,16 Rodda Street Federation Road May St Township Low Use Hotmix Bitumen (Standard) Surface 133.90 8.70 1,16 Rodda Street Federation Road May St Township Medium Use Slurry Seal (Standard - Very Low Service Level) Surface 65.20 6.60 43 Rodda Street Pave Street Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 160.50 6.60 1,05 Ronald Street Three Chain Road Elizabeth Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 160.50 6.60 1,05 Ronald Street Esmond Road End Roper Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street Township Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street Annie Street York Road Township Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 8.10 1,04 8.20 Province Street Pave Street Pave Street Pave Street Pave Street Pave Street Pave Street Township Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 8.20 Province Street Pave Street Pave Street Township Low Use Hotmix Bitumen (Standard) Surface 155.60 8.10 53 Sampson Street Burt Street End of Sandery Street Township Low Use Hotmix Bi							1,467.20
River Terrace Bowman Street Barr Street Township Medium Use Hotmix Bitumen (Standard) Surface 280.80 6.10 1,71 River Terrace Ellis Street Bowman Street Township (Other) Medium Use Spray Seal (Non-Standard) Upper Surface 99.40 15.10 1,50 1,50 1,50 1,50 1,50 1,50 1,50 1,			•				2,657.00
River Terrace Ellis Street Bowman Street Township (Other) Medium Use Spray Seal (Non-Standard) Upper Surface 99.40 15.10 1,50 River Terrace Bowman Street Barr Street Township (Other) Medium Use (Standard) Pavement 280.80 6.10 1,71 River Terrace Ellis Street Bowman Street Township (Other) Medium Use (Non-Standard) Pavement 99.40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township Low Use Hotmix Bitumen (Standard) Surface 88.80 8.60 76 Robinson Street Hackett Street Middleton Street Township Low Use Hotmix Bitumen (Standard) Surface 133.90 8.70 1,16 Rodda Street Federation Road May St Township Low Use Hotmix Bitumen (Standard) Surface 65.20 6.60 43 Rodda Street Federation Road May St Township Medium Use Slurry Seal (Standard) Upper Surface 65.20 6.60 1,05 Ronald Street May St Frederick Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 160.50 6.60 1,05 Ronald Street Three Chain Road Elizabeth Street Township Low Use Hotmix Bitumen (Standard) Surface 1417.50 8.50 3,54 Roper Street Esmond Road End Roper Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 1417.50 8.50 3,54 Roper Street Esmond Road End Roper Street Township (Port Pirie) Low Use Surry Seal (Standard) Upper Surface 1417.50 8.50 3,54 Roper Street End Cul de sac Annie Street Township Low Use Surry Seal (Standard) Upper Surface 131.00 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 Sabine Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 73 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 73 Sampson Street Grey Terrace End Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.60 11.80 1,83 Sampson Street Burt Street End Sandary Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.00 11.80 1,83 Sampson Street Burt Street End Sandary Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.00 1							
River Terrace Bowman Street Barr Street Township (Other) Medium Use (Standard) Pavement 280.80 6.10 1,71 River Terrace Ellis Street Bowman Street Township (Other) Medium Use (Non-Standard) Pavement 99.40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township Low Use Hotmix Bitumen (Standard) Surface 88.80 8.60 76 Robinson Street Hackett Street Middleton Street Township Low Use Hotmix Bitumen (Standard) Surface 133.90 8.70 1,16 Rodda Street Federation Road May St Township Low Use Hotmix Bitumen (Standard) Surface 65.20 6.60 43 Rodda Street May St Frederick Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 165.20 6.60 1,05 Ronald Street Three Chain Road Elizabeth Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.50 8.50 3,54 Roper Street Esmond Road End Roper Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street Township Low Use Slurry Seal (Non-Standard) Surface 131.00 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Spray Seal (Standard) Upper Surface 141.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 Sabine Street Burt Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,03 Sandery Street Burt Street End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End Gul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.60 15.00 55 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.50 55 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.50 55 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal				·			1,500.90
River Terrace Ellis Street Bowman Street Township (Other) Medium Use (Non-Standard) Pavement 99.40 15.10 1,50 Robinson Street Middleton Street Balmoral Road Township Low Use Hotmix Bitumen (Standard) Surface 88.80 8.60 76 Robinson Street Hackett Street Middleton Street Township Low Use Hotmix Bitumen (Standard) Surface 133.90 8.67 71,16 Rodia Street Federation Road May St Township Medium Use Surry Seal (Standard - Very Low Service Level) Surface 65.20 6.60 4.60 1,05 Ronald Street May St Frederick Road Township (Port Pirie) Medium Use Surry Seal (Standard) Upper Surface 160.50 6.60 1,05 Ronald Street Three Chain Road Elizabeth Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 1417.50 8.50 3,54 Roger Street Esmond Road End Roper Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 1411.10 6.50 9,54 Rupara Street End Cul de sac Annie Street Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 1411.10 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 1411.10 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 1418.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Upper Surface 148.80 7.80 1,04 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Upper Surface 155.60 11.80 1,83 Sampson Street Burt Street End Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.60 11.80 1,83 Sampson Street Burt Street End Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.60 11.80 1,83 Sampson Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.00 7.50 66							
Robinson Street Middleton Street Balmoral Road Township Low Use Hotmix Bitumen (Standard) Surface 88.80 8.60 76 Robinson Street Hackett Street Middleton Street Township Low Use Hotmix Bitumen (Standard) Surface 133.90 8.70 1,16 Rodda Street Federation Road May St Township Medium Use Slurry Seal (Standard - Very Love Service Level) Surface 65.20 6.60 1,05 Road Street May St Frederick Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 160.50 6.60 1,05 Road Street Three Chain Road Elizabeth Street Township Low Use Hotmix Bitumen (Standard) Surface 417.50 8.50 3,54 Roper Street Esmond Road End Roper Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street Township (Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 141.10 6.50 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 7.00 91 Sabine Street Horner Street Three Chain Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 91 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 155.60 8.10 53 Sangson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.00 6.60 92 Sanger Court Moppet Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 105.00 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66							
Robinson Street Hackett Street Middleton Street Township Low Use Hotmix Bitumen (Standard) Surface 133.90 8.70 1,16 Rodda Street Federation Road May St Township Medium Use Slurry Seal (Standard - Very Low Service Level) Surface 65.20 6.60 43 Rodda Street May St Frederick Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 160.50 6.60 1,05 Ronald Street Three Chain Road Elizabeth Street Township Low Use Hotmix Bitumen (Standard) Upper Surface 417.50 8.50 3,54 Roper Street Esmond Road End Roper Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 1131.00 7.00 91 Rupara Street End Cul de sac Annie Street Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 1131.00 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.60 15.00 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66							1,500.90
Rodda Street Federation Road May St Township Medium Use Slurry Seal (Standard - Very Low Service Level) Surface 65.20 6.60 43 Rodda Street May St Frederick Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 160.50 6.60 1,05 Ronald Street Three Chain Road Elizabeth Street Township Low Use Hotmix Bitumen (Standard) Surface 417.50 8.50 3,54 Roper Street Esmond Road End Roper Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street Township (Port Pirie) Low Use Surry Seal (Non-Standard - Very Low Service Level) Surface 131.00 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 144.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 65.60 8.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 151.90 6.10 92 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66							763.70
Rodda Street May St Frederick Road Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface 160.50 6.60 1,05 Ronald Street Three Chain Road Elizabeth Street Township Low Use Hotmix Bitumen (Standard) Surface 417.50 8.50 3,54 Roper Street Esmond Road End Roper Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.00 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 65.60 8.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.00 15.00 5 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 105.20 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66							1,164.90
Ronald Street Three Chain Road Elizabeth Street Township Low Use Hotmix Bitumen (Standard) Surface 417.50 8.50 3,54 Roper Street Esmond Road End Roper Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 131.00 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 91.50 15.60 18.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 151.90 6.10 92 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66							430.30
Roper Street Esmond Road End Roper Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 141.10 6.50 91 Rupara Street End Cul de sac Annie Street Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 131.00 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 55.60 18.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 151.90 6.10 92 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 105.20 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66							1,059.30
Rupara Street End Cul de sac Annie Street Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface 131.00 7.00 91 Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 55.60 8.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 55.60 15.60							3,548.80
Rupara Street Annie Street York Road Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 148.80 7.00 1,04 Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 65.60 8.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.90 6.10 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 155.90 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66			<u> </u>				917.20
Sabine Street Horner Street Three Chain Road Township Low Use Hotmix Bitumen (Standard) Surface 91.80 8.10 74 Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 65.60 8.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 151.90 6.10 92 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 105.20 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66	· ·						917.00
Sabine Street Burt Street Horner Street Township Low Use Hotmix Bitumen (Standard) Surface 65.60 8.10 53 Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 151.90 6.10 92 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 105.20 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66	-						1,041.60
Sampson Street Grey Terrace End Township Low Use Hotmix Bitumen (Standard) Surface 155.60 11.80 1,83 Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 151.90 6.10 92 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 105.20 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66		Horner Street	Three Chain Road				743.60
Sandery Street Burt Street End of Sandery Street Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 151.90 6.10 92 Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 105.20 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66	Sabine Street	Burt Street	Horner Street	Township Low Use Hotmix Bitumen (Standard) Surface		8.10	531.40
Sayner Court Moppett Road Cul De Sac Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 105.20 5.50 57 Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66	Sampson Street	Grey Terrace	End	Township Low Use Hotmix Bitumen (Standard) Surface		11.80	1,836.10
Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66	Sandery Street	Burt Street	End of Sandery Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	151.90	6.10	926.60
Scarman Street Lamm Street Stanley Avenue Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface 88.60 7.50 66	Sayner Court	Moppett Road	Cul De Sac	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	105.20	5.50	578.60
	Scarman Street		Stanley Avenue	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	88.60	7.50	664.50
	Scone Street	Westley Street	Tay Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	73.30	5.30	388.50

Road Name	From	To End	Asset Type	Length	Width	Area
Scone Street	Tay Street	Tummel Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	84.30	5.20	438.40
Scott Street	Cockburn Street	Read Street	Township Low Use Slurry Seal (Standard) Surface	86.00	7.20	619.20
Scott Street	Read Street	Senate Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	86.70	7.40	641.60
Searle Street	Wandearah Road	Degenhardt Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	137.10	6.80	932.30
Second Street (Koolunga)	Seventh Street	Sixth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	103.00	11.20	1,153.60
Second Street (Koolunga)	Sixth Street	Fifth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	108.50	12.50	1,356.30
Second Street (Koolunga)	Seventh Street	Sixth Street	Township (Other) Low Use (Standard) Pavement	103.00	11.20	1,153.60
Second Street (Koolunga)	Sixth Street	Fifth Street	Township (Other) Low Use (Standard) Pavement	108.50	12.50	1,356.30
Second Street (Napperby)	West Terrace	Seventh Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	292.40	20.50	5,994.20
Second Street (Napperby)	West Terrace	Seventh Street	Township (Other) Low Use (Standard) Pavement	292.40	20.50	5,994.20
Second Street (Port Pirie)	Fourth Street	Fifth Street	Township Low Use Hotmix Bitumen (Standard) Surface	106.00	5.70	604.20
Second Street (Port Pirie)	Third Street	Fourth Street	Township Low Use Hotmix Bitumen (Standard) Surface	99.40	5.30	526.80
Second Street (Port Pirie)	The Terrace	Third Street	Township Low Use Hotmix Bitumen (Standard) Surface	102.70	5.30	544.30
Second Street (Port Pirie)	Fifth Street	Falconer Street	Township Low Use Hotmix Bitumen (Standard) Surface	45.80	5.50	251.90
Second Street North Side (Napperby)	Scenic Drive	East Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	452.10	7.90	3,571.60
Second Street North Side (Napperby)	Scenic Drive	East Terrace	Township (Other) Low Use (Standard) Pavement	452.10	7.90	3,571.60
Second Street South Side (Napperby)	Scenic Drive	East Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	452.10	7.60	3,436.00
Second Street South Side (Napperby)	Scenic Drive	East Terrace	Township (Other) Low Use (Standard) Pavement	452.10	7.60	3,436.00
Senate Road	Sifton Street	Frederick Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	93.40	9.70	906.00
Senate Road	Cheesman Avenue	Aerodrome Road	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	537.20	10.30	5,533.20
Senate Road	Dyer Street	Cheesman Avenue	Township (Port Pirie) Medium Use Spray Seal (Standard - Low Service Level) Upper	1,456.70	10.60	15,441.00
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		Surface	•		
Senate Road	Pelham Road	Dyer Street	Township Medium Use Hotmix Bitumen (Standard) Surface	151.60	11.60	1,758.60
Senate Road	Hannan Street	Pelham Road	Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface	369.70	11.30	4,177.60
Senate Road	Kingston Road	Hannan Street	Township (Port Pirie) Medium Use Spray Seal (Standard Future Hotmix) Upper Surface	363.10	11.10	4,030.40
Senate Road	Roundabout at Esmond Road		Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	52.50	6.90	362.30
Senate Road	Broadway Road	Esmond Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	436.10	12.30	5,364.00
Senate Road	Kotsoglous Crescent	Broadway Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	231.00	12.40	2,864.40
Senate Road	Moppett Road	Kotsoglous Crescent	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	217.00	12.50	2,712.50
Senate Road	York Road	Goode Road	Township Medium Use Hotmix Bitumen (Standard) Surface	448.80	13.30	5,969.00
Senate Road	Laureate Street	York Road	Township Medium Use Slurry Seal (Standard) Surface	325.80	13.30	4,333.10
Senate Road	Balmoral Road	Kingston Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	588.50	10.80	6,355.80
Senate Road	Goode Road	Moppett Road	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	445.20	13.80	6,143.80
Senate Road	Start of Seal (North End)	Sifton Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	79.80	9.90	790.00
Senate Road	Esmond Road	Trelawney Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	88.70	13.00	1,153.10
Senate Road	Trelawney Street	Balmoral Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	490.20	13.00	6,372.60
Senate Road	Frederick Road	Laureate Street	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	258.10	13.30	3,432.70
Seventh Street (Koolunga)	First Street	Fourth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	541.50	9.10	4,927.70
Seventh Street (Koolunga)	First Street	Fourth Street	Township (Other) Low Use (Standard) Pavement	541.50	9.10	4,927.70
Seventh Street (Napperby)	North Terrace	Second Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	280.10	11.50	3,221.20
Seventh Street (Napperby)	Second Street	Third Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	106.40	10.10	1,074.60
Seventh Street (Napperby)	North Terrace	Second Street	Township (Other) Low Use (Standard) Pavement	280.10	11.50	3,221.20
Seventh Street (Napperby)	Second Street	Third Street	Township (Other) Low Use (Standard) Pavement	106.40	10.10	1,074.60
Seventh Street (Port Pirie)	York Road	Tenth Street	Township Low Use Slurry Seal (Standard) Surface	238.90	7.40	1,767.90
Seventh Street (Port Pirie)	Tenth Street	Goode Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	174.20	5.80	1,010.40
Seymour Street	The Terrace	Thorn Street	Township Low Use Hotmix Bitumen (Standard) Surface	189.20	7.20	1,362.20
Short Street	Grey Terrace	End of Short Street	Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	135.40	6.00	812.40
Sifton Street	Senate Road	End Seal	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	159.70	5.60	894.30
Simpson Road	Dorothy Street	Murn Street	Township Low Use Hotmix Bitumen (Standard) Surface	69.40	12.90	895.30
Simpson Road	Murn Street	Greer Street	Township Low Use Hotmix Bitumen (Standard) Surface	146.70	12.70	1,863.10
Simpson Road	Key Street	Dorothy Street	Township Low Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	142.80	12.70	1,842.10
Simpson Road	Greer Street	Three Chain Road	Township Low Use Hotmix Bitumen (Standard) Surface	139.10	12.90	1,780.50
Simpson Road	Harris Road	Key Street	Township Low Use Hotmix Bitumen (Standard) Surface	72.00	13.20	950.40
Sinclair Street	Allan Street			140.70	7.10	999.00
Sinclair Street	Allan Street	Darbon Terrace Darbon Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	140.70	7.10	999.00
			Township (Other) Low Use (Standard) Pavement Township (Other) Low Use Spray Soal (Standard) Upper Surface	761.50	7.10	5,330.50
Sixth Street (Koolunga) Sixth Street (Koolunga)	Valley Road	First St First St	Township (Other) Low Use Spray Seal (Standard) Upper Surface Township (Other) Low Use (Standard) Pavement	761.50	7.00	5,330.50
	Valley Road			550.00	6.70	
Sixth Street (Napperby)	Gulf View Road	Oaks Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	550.00	6.70	3,685.00

Road Name	From	To End	Asset Type	Length	Width	Area
Sixth Street (Napperby)	Gulf View Road	Oaks Road	Township (Other) Low Use (Standard) Pavement	550.00	6.70	3,685.00
Sixth Street (Port Pirie)	York Road	Tenth Street	Township Low Use Slurry Seal (Non-Standard - Low Service Level) Surface	238.90	7.50	1,791.80
Sixth Street (Port Pirie)	Tenth Street	Goode Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	176.40	5.60	987.80
Sjostrom Drive	Ferme Street	Cunningham Boulevard	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	184.70	7.50	1,385.30
Smale Street	Jervis Street	Norah Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	183.50	8.50	1,559.80
Smale Street	Norah Street	Kingston Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	90.40	8.50	768.40
Smith Street	Three Chain Road	Arnold Street	Township Low Use Hotmix Bitumen (Standard) Surface	206.30	5.90	1,217.20
South Street	Balmoral Road	Arthur Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	129.20	6.30	814.00
South Street	Arthur Street	Henry Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	148.50	6.80	1,009.80
South Street	Henry Street	Martin Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	148.50	7.00	1,039.50
South Street	Martin Street	Kingston Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	142.90	6.40	914.60
South Terrace (Redhill)	Bowman Street	Barr Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	183.50	9.80	1,798.30
South Terrace (Redhill)	Mundoora Terrace	Bowman Street	Township Low Use Slurry Seal (Future Change to Formation) Surface	102.90	6.10	627.70
South Terrace (Redhill)	Bowman Street	Barr Street	Township (Other) Low Use (Standard) Pavement	183.50	9.80	1,798.30
South Terrace (Redhill)	Mundoora Terrace	Bowman Street	Township (Other) Low Use (Future Change to Unsealed) Pavement	102.90	6.10	627.70
Spencer Street	Milne Street	Donovan Street	Township Low Use Slurry Seal (Standard) Surface	89.40	7.50	670.50
Spencer Street	Senate Road	Milne Street	Township Low Use Slurry Seal (Standard) Surface	96.60	7.50	724.50
Spencer Street	Donovan Street	Whittard Street	Township Low Use Slurry Seal (Standard) Surface	197.30	7.60	1,499.50
Spinifex Lane	Casuarina Drive	Three Chain Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	403.00	6.50	2,619.50
Springwood Road	Pelham Road	Acacia Street	Township Low Use Slurry Seal (Standard) Surface	88.80	7.40	657.10
Springwood Road	Acacia Street	End of Seal	Township Low Use Slurry Seal (Standard) Surface	60.50	7.40	447.70
Square Street	Feeley Street	Warnertown Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	91.30	6.40	584.30
Square Street	Manders Street	Feeley Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	160.10	4.90	784.50
Square Street	Manders Street	Three Chain Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	113.20	4.90	554.70
Stanhope Street	Taylor Court	Broadway Road	Township Low Use Slurry Seal (Standard) Surface	116.80	7.40	864.30
Stanhope Street	Kotsoglous Cr	Taylor Court	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	73.00	7.30	532.90
Stanhope Street	Tully Crescent	Kotsoglous Cr	Township Low Use Slurry Seal (Standard) Surface	44.60	7.20	321.10
Stanhope Street	Merritt Court	Tully Crescent	Township Low Use Slurry Seal (Standard) Surface	118.10	8.98	1,060.50
Stanhope Street	Moppett Road	Merritt Court	Township Low Use Slurry Seal (Standard) Surface	87.90	9.30	817.50
Stanley Avenue	Scarman Street	Esmond Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	218.40	7.50	1,638.00
Stanley Street (Crystal Brook)	Binney Road	Goyder Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	494.10	10.60	5,237.50
Stanley Street (Crystal Brook)	Binney Road	Goyder Street	Township (Other) Low Use (Standard) Pavement	494.10	10.60	5,237.50
Stevens Street	Creasy Street	Esklund Street	Township Low Use Slurry Seal (Standard) Surface	158.80	7.30	1,159.20
Stuckey Street	Threadgold Street	Dead End Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	137.80	9.20	1,267.80
Swan Street	Dunstone Street	Anzac Road	Township Low Use Slurry Seal (Non-Standard - Low Service Level) Surface	169.70	8.70	1,476.40
Swift Street	York Road	Revell Street	Township Low Use Slurry Seal (Standard) Surface	159.60	9.10	1,452.40
Symonds Street (Crystal Brook)	Giles Street	Darbon Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	247.50	6.20	1,534.50
Symonds Street (Crystal Brook)	Giles Street	Darbon Terrace	Township (Other) Low Use (Standard) Pavement	247.50	6.20	1,534.50
Symonds Street (Port Pirie)	Barnes Street	Anzac Road	Township Low Use Slurry Seal (Standard) Surface	86.00	7.10	610.60
Symonds Street (Port Pirie)	Caldecott Street	Hyde Street	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	87.40	8.10	707.90
Symonds Street (Port Pirie)	Hyde Street	Barnes Street	Township Low Use Slurry Seal (Standard) Surface	94.30	7.10	669.50
Tay Street	Goode Road	End Of Seal	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	239.30	5.70	1,364.00
Taylor Court	Stanhope Street	Cul De Sac	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	98.80	7.20	711.40
Tennis Club Access	Opposite Cavenett St	End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	252.90	10.10	2,554.30
Tennis Club Driveway	Main Gate at Fifth St	End	Township (Other) Low Use Spray Seal (Standard) Upper Surface	67.30	6.50	437.50
Tennis Club Driveway	Main Gate at Fifth St	End	Township (Other) Low Use (Standard) Pavement	67.30	6.50	437.50
Tenth Street (Port Pirie)	The Terrace	Ninth Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	42.40	10.50	445.20
Tenth Street (Port Pirie)	Ninth Street	Eighth Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	72.30	10.50	759.20
Tenth Street (Port Pirie)	Eighth Street	Seventh Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	77.10	10.50	809.60
Tenth Street (Port Pirie)	Seventh Street	Sixth Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	73.70	10.80	796.00
Tenth Street (Port Pirie)	Sixth Street	Fifth Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	63.70	10.80	688.00
Tenth Street (Port Pirie)	Fifth Street	Cockburn Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	52.50	11.10	582.80
The Terrace	Kingston Road	Pelham Road	Township (Port Pirie) High Use Spray Seal (Standard Future Hotmix) Upper Surface	716.40	10.60	7,593.80
The Terrace	Broadway Road	Esmond Road	Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard) Short Life Layer	435.90	13.70	5,971.80
The Terrace	Roundabout at Broadway Road		Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard) Short Life Layer	55.40	5.90	326.90
The Terrace	Moppett Road	Broadway Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	434.40	12.90	5,603.80
The Terrace	Mary Elie Street	Moppett Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	171.30	9.70	1,661.60
The Terrace	Eleventh Street	Goode Road	Township High Use Slurry Seal (Non-Standard Future Hotmix) Surface	316.40	12.50	3,955.00

Road Name	From	To End	Asset Type	Length	Width	Area
The Terrace	Roundabout at Goode Road		Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	56.20	6.20	348.40
The Terrace	First Street	Mary Elie Street	Township High Use Slurry Seal (Standard Future Hotmix - Very Low Service Level) Surface	149.70	12.30	1,841.30
The Terrace	Balmoral Road	Butterick Street	Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard) Short Life Layer	366.30	11.90	4,359.00
The Terrace	Federation Road	Revell Street	Township High Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level) Surface	363.50	12.60	4,580.10
The Terrace	Goode Road	First Street	Township High Use Slurry Seal (Non-Standard Future Hotmix) Surface	114.40	12.20	1,395.70
The Terrace	Butterick Street	Kingston Road	Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard) Short Life Layer	209.50	11.90	2,493.10
The Terrace	Coombe Road	Frances Street	Township (Port Pirie) Medium Use Spray Seal (Non-Standard) Upper Surface	290.50	8.50	2,469.30
The Terrace	Revell Street	York Road	Township High Use Slurry Seal (Non-Standard Future Hotmix - Low Service Level)	176.90	12.60	2,228.90
The Terrace	Clara Street	Federation Road	Township Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	141.60	11.00	1,557.60
The Terrace	Frances Street	Clara Street	Township Medium Use Slurry Seal (Non-Standard Low Service Level) Surface	187.90	10.40	1,954.20
The Terrace	Esmond Road	Afton Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	365.00	13.20	4,818.00
The Terrace	Afton Street	Balmoral Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	225.10	13.20	2,971.30
The Terrace	York Road	Eleventh Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	116.70	12.70	1,482.10
Third Street (Koolunga)	Sixth Street	Seventh Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	102.80	13.40	1,377.50
Third Street (Koolunga)	Fifth Street	Sixth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	115.90	13.00	1,506.70
Third Street (Koolunga)	Sixth Street	Seventh Street	Township (Other) Low Use (Standard) Pavement	102.80	13.40	1,377.50
Third Street (Koolunga)	Fifth Street	Sixth Street	Township (Other) Low Use (Standard) Pavement	115.90	13.00	1,506.70
Third Street (Noblanga) Third Street (Napperby)	Sixth Street	Fourth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	317.60	9.00	2,858.40
Third Street (Napperby)	West Terrace	Sixth Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	300.50	11.00	3,305.50
	Sixth Street	Fourth Street		317.60	9.00	2,858.40
Third Street (Napperby)			Township (Other) Low Use (Standard) Pavement			_
Third Street (Napperby)	West Terrace	Sixth Street	Township (Other) Low Use (Standard) Pavement	300.50	11.00	3,305.50
Third Street (Port Pirie)	First Street	Second Street	Township Low Use Slurry Seal (Standard - Low Service Level) Surface	108.30	5.40	584.80
Third Street (Port Pirie)	Second Street	Moppett Road	Township Low Use Slurry Seal (Standard) Surface	195.50	5.20	1,016.60
Thomas Street	Senate Road	Federation Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	150.70	7.20	1,085.00
Thorn Street	Tully Crescent	Desteno Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	31.10	7.30	227.00
Thorn Street	Cavenett Street	Tully Crescent	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	46.50	7.30	339.50
Thorn Street	Desteno Street	Seymour Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	78.60	7.30	573.80
Thorn Street	Seymour Street	Broadway Road	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	66.20	7.30	483.30
Thorn Street	Moppett Road	Ottilind Street	Township Low Use Slurry Seal (Standard) Surface	115.90	7.40	857.70
Thorn Street	Ottilind Street	Cavenett Street	Township Low Use Slurry Seal (Standard - Very Low Service Level) Surface	92.00	7.30	671.60
Threadgold Street	Penrose Street	Senate Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	184.40	9.00	1,659.60
Threadgold Street	Esmond Road	Stuckey Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	86.00	9.00	774.00
Threadgold Street	Stuckey Street	Caldecott Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	125.20	9.00	1,126.80
Threadgold Street	Caldecott Street	Penrose Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	106.60	9.00	959.40
Three Chain Road	Main Road	Caravan Park Entrance	Township Low Use Hotmix Bitumen (Standard) Surface	216.00	11.90	2,570.40
Three Chain Road (Service Road E)	Warnertown Road	Sabine Street	Township Low Use Slurry Seal (Standard) Surface	118.00	7.00	826.00
Three Chain Road (Service Road E)	Sabine Street	Moorhouse Street	Township Low Use Slurry Seal (Standard) Surface	132.00	6.50	858.00
Three Chain Road (Service Road E)	Moorhouse Street	Wright Street	Township Low Use Slurry Seal (Standard) Surface	191.30	7.00	1,339.10
Three Chain Road (Service Road E)	Square Street	Warnertown Road	Township Low Use Slurry Seal (Non-Standard) Surface	130.20	7.80	1,015.60
Three Chain Road (Service Road E)	End South of Plantation Crescent	End North of Amelia Street	Township Low Use Slurry Seal (Standard) Surface	265.60	7.00	1,859.20
Three Chain Road (Service Road E)	Railway Terrace	Warren Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	107.40	6.20	665.90
Three Chain Road (Service Road E)	Warren Street	Pirie Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	92.70	6.40	593.30
Three Chain Road (Service Road E)	Pirie Street	Simpson Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	87.90	6.70	588.90
Three Chain Road (Service Road E)	Simpson Road	Wood Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	72.30	6.20	448.30
Three Chain Road (Service Road E)	Wood Street	Oliver Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	100.00	6.20	620.00
Three Chain Road (Service Road E)	Oliver Street	Osborne Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	101.90	8.10	825.40
Three Chain Road (Service Road E)	Osborne Street	John Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	56.60	8.20	464.10
Three Chain Road (Service Road E)	John Street	Edward Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	129.30	6.40	827.50
Three Chain Road (Service Road E)	Edward Street	Afford Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	115.90	6.40	741.80
Three Chain Road (Service Road E)	Afford Road	Mallyon Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	89.40	6.10	545.30
		·		169.00	6.20	1,047.80
Three Chain Road (Service Road E)	Mallyon Street	Evans Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	223.70	6.40	
Three Chain Road (Service Road E)	Evans Street	Bauer Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface			1,431.70
Three Chain Road (Service Road E)	Bauer Street	Magor Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	105.70	6.30	665.90
Three Chain Road (Service Road W)	Prince Street	Albert Terrace	Township Low Use Slurry Seal (Standard) Surface	137.70	6.90	950.10
Three Chain Road (Service Road W)	Wright Street	Haslam Road	Township Low Use Slurry Seal (Standard) Surface	185.10	6.20	1,147.60
Three Chain Road (Service Road W)	Main Road	King Street	Township Low Use Slurry Seal (Non-Standard - Mid-Low Service Level) Surface	78.20	7.90	617.80

Road Name	From	To End	Asset Type	Length	Width	Area
Three Chain Road (Service Road W)	Kingston Road	End	Township Low Use Slurry Seal (Standard) Surface	93.90	7.30	685.50
Three Chain Road (Service Road W)	Yates Street	Lacey Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	105.40	6.00	632.40
Three Chain Road (Service Road W)	Albert Terrace	Railway Lines	Township Low Use Slurry Seal (Non-Standard) Surface	98.30	5.90	580.00
Three Chain Road (Service Road W)	Balmoral Road	Yates Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	244.30	6.10	1,490.20
Three Chain Road (Service Road W)	Esmond Road	Ronald Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	82.40	6.40	527.40
Three Chain Road (Service Road W)	Ronald Street	Cottell Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	121.40	6.20	752.70
Three Chain Road (Service Road W)	Cottell Street	Smith Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	82.70	6.40	529.30
Three Chain Road (Service Road W)	Smith Street	Jellicoe Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	151.50	6.20	939.30
Three Chain Road (Service Road W)	Jellicoe Street	End Cul De Sac	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	140.90	6.20	873.60
Three Chain Road (Service Road W)	Lacey Street	Cashmore Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	96.50	6.10	588.70
Three Chain Road (Service Road W)	Cashmore Street	Kingston Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	143.10	6.10	872.90
Three Chain Road (Service Road W)	King Street	Queen Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	128.60	7.00	900.20
Three Chain Road (Service Road W)	Queen Street	Prince Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	128.80	6.80	875.80
Three Chain Road (Service Road W)	Grey Terrace	Esmond Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	308.20	6.90	2,126.60
Three Chain Service Road (North)	Three Chain Road	End Cul De Sac	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	84.70	7.90	669.10
Tobin Street	Hannan Street	Noll Street	Township Low Use Hotmix Bitumen (Standard) Surface	105.90	7.40	783.70
Trafford Street	Moppett Road	End	Township Low Use Slurry Seal (Standard) Surface	109.60	6.30	690.50
Trelawney Street	Esmond Road	Penrose Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	136.30	8.80	1,199.40
Trelawney Street	Penrose Street	Senate Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	184.40	8.80	1,622.70
Tully Crescent	Thorn Street	Stanhope Street	Township Low Use Slurry Seal (Standard) Surface	141.20	7.30	1,030.80
Tummel Street	York Road	Goode Road	Township Low Use Hotmix Bitumen (Standard) Surface	426.80	7.20	3,073.00
Una Avenue	Magor Road	Amelia Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	103.70	7.90	819.20
Una Avenue	Amelia Street	Maude Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	103.70	7.30	757.00
Una Avenue	Maude Street	Beaumont Avenue	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	46.60	7.60	354.20
Upton Drive	John Leary Street	Eunice Street	Township Low Use Hotmix Bitumen (Standard) Surface	192.90	6.40	1,234.60
Valley Road	Harry's Rd	End Of Seal 100m East	Township (Other) Low Use Spray Seal (Standard) Upper Surface	142.70	5.40	770.60
Valley Road	Harry's Rd	End Of Seal 100m East	Township (Other) Low Use (Standard) Pavement	142.70	5.40	770.60
Veal Street	Arnold Street	Elizabeth Street	Township Low Use Slurry Seal (Non-Standard - Mid-Low Service Level) Surface	127.10	8.30	1,054.90
Vera Street	Frances Street	Frederick Street	Township Low Use Slurry Seal (Future Change to Formation) Surface	257.60	9.40	2,421.40
Verdun Street	Anzac Road	Young Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	146.60	7.40	1,084.80
Victoria Street	Edward Street	Afford Road	Township Low Use Slurry Seal (Standard) Surface	116.60	9.00	1,049.40
Victoria Street	John Street	Edward Street	Township Low Use Slurry Seal (Standard) Surface	115.20	8.90	1,025.30
Victoria Street	Osborne Street	John Street	Township Low Use Slurry Seal (Standard) Surface	40.60	9.20	373.50
Village Way	Kaeleen Court	Radford Drive	Township Low Use Hotmix Bitumen (Standard) Surface	91.30	6.40	584.30
Vinson Street	Collingwood Street	Nelson Street	Township Low Use Hotmix Bitumen (Non-Standard) Surface	104.90	9.10	954.60
Vivian Court	Whittard Street	End	Township Low Use Slurry Seal (Standard) Surface	144.10	7.70	1,109.60
Waits Road	Sandy Terrace	1340m North of Sandy Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	1,341.30	6.60	8,852.60
Waits Road	1340m North of Sandy Terrace	Pirie Blocks Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	1,200.70	5.80	6,964.10
Waits Road	100m North of Abottoirs Road	Sandy Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	2,150.90	6.10	13,120.50
Waits Road	Abattoirs Road	100m North of Abottoirs Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	99.30	7.50	744.80
Waits Road	Sandy Terrace	1340m North of Sandy Terrace	Township (Other) Low Use (Standard) Pavement	1,341.30	6.60	8,852.60
Waits Road	100m North of Abottoirs Road	Sandy Terrace	Township (Other) Low Use (Standard) Pavement	2,150.90	6.10	13,120.50
Waits Road	1340m North of Sandy Terrace	Pirie Blocks Road	Township (Other) Low Use (Standard) Pavement	1,200.70	5.80	6,964.10
Waits Road	Abattoirs Road	100m North of Abottoirs Road	Township (Other) Low Use (Standard) Pavement	99.30	7.50	744.80
Wall Street	Anzac Road	Leonard Avenue	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	136.50	4.70	641.60
Wandearah Road (Access)	Fitzgerald Street	End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	84.00	5.70	478.80
Wandearah Road (Port Pirie)	Balmoral Road	Williams Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	246.40	13.10	3,227.80
Wandearah Road (Port Pirie)	Kingston Road	Three Chain Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	224.10	16.20	3,630.40
Wandearah Road (Port Pirie)	Williams Street	Butterick Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	119.90	13.20	1,582.70
Wandearah Road (Port Pirie)	Butterick Street	Kingston Road	Township (Port Pirie) High Use Hotmix Bitumen (Non-Standard) Short Life Layer	243.60	13.50	3,288.60
Wandearah Road (Port Pirie)	Grey Terrace	Esmond Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	347.30	13.50	4,688.60
Wandearah Road (Port Pirie)	Esmond Road	Afton Street	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	359.70	11.80	4,244.50
Wandearah Road (Port Pirie)	Afton Street	Balmoral Road	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	226.10	11.80	2,668.00
Wandearah Road (Port Pirie)	Mary Elie Street	Grey Terrace	Township (Port Pirie) High Use Hotmix Bitumen (Standard) Short Life Layer	1,055.30	13.70	14,457.60
Waratah Street	Heath Street	Warnertown Road	Township Low Use Slurry Seal (Standard) Surface	225.90	7.00	1,581.30
Wardang Street	Duffield Street	Frederick Road	Township Low Use Hotmix Bitumen (Standard) Surface	163.60	6.50	1,063.40
Warne Street	Amanda Street	Senate Road	Township Low Use Slurry Seal (Standard) Surface	85.20	6.80	579.40
Warnertown Road (Service Road N)	End Cul De Sac	Waratah Street	Township Low Ose Sidny Seal (Standard) Surface Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	87.70	5.30	464.80
warnertown Road (Service Road N)	Liiu Cui De Sac	waratan Street	Township (Fort Fille) Low Ose Spray Sear (Standard) Opper Surface	87.70	5.30	404.80

Road Name	From	To End	Asset Type	Length	Width	Area
Warnertown Road (Service Road N)	Waratah Street	End Cul De Sac	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	308.00	7.00	2,156.00
Warnertown Road (Service Road N)	Three Chain Road East	East End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	313.10	9.40	2,943.10
Warnertown Road (Service Road S)	Geddes Road	Burt Street	Township Low Use Slurry Seal (Standard) Surface	50.70	16.10	816.30
Warnertown Road (Service Road S)	Horner Street	Three Chain Road	Township Low Use Hotmix Bitumen (Standard) Surface	74.00	8.40	621.60
Warnertown Road (Service Road S)	Burt Street	Horner Street	Township Low Use Hotmix Bitumen (Standard) Surface	76.20	8.20	624.80
Warnertown Road (Service Road S)	Hill St	Geddes Rd	Township Low Use Slurry Seal (Standard) Surface	328.60	14.00	4,600.40
Warren Street	Murn Street	Three Chain Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	203.00	6.80	1,380.40
Watson Street	Watson Street Cul De Sac	Senate Road	Township Low Use Hotmix Bitumen (Standard) Surface	183.00	7.00	1,281.00
Wattle Drive	Acacia St	End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	92.30	7.40	683.00
Wattle Drive	Pelham Road	Acacia Street	Township Low Use Slurry Seal (Standard) Surface	123.80	7.30	903.70
Wattle Street	Pine Street	Port Germein Road	Township Low Use Hotmix Bitumen (Standard) Surface	140.10	5.60	784.60
Wattle Street	Copinger Road	Pine Street	Township Low Use Hotmix Bitumen (Standard) Surface	144.00	5.70	820.80
Welch Court	Bill Jones Crescent	To End	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	31.70	6.00	190.20
West Terrace	Maude Street	York Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	270.20	6.60	1,783.30
West Terrace (Napperby)	First Street	Third Street	Township (Other) Low Use Spray Seal (Standard) Upper Surface	245.00	10.50	2,572.50
West Terrace (Napperby)	First Street	Third Street	Township (Other) Low Use (Standard) Pavement	245.00	10.50	2,572.50
Western Street	Warnertown Road	Emma Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	242.50	7.60	1,843.00
Westley Street	Goode Road	Scone Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	177.40	7.00	1,241.80
Westley Street	Scone Street	York Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	249.20	7.90	1,968.70
Weston Road	Eyre Road Extension	Goyder Highway	Township (Other) Low Use (Non-Standard) Pavement	325.10	6.30	2,048.10
Weston Road	Eyre Road Extension	Goyder Highway	Township (Other) Low Use Spray Seal (Standard) Upper Surface	325.10	6.30	2,048.10
Wharf Access No 1	Ellen Street	Wharf	Township Low Use Hotmix Bitumen (Standard) Surface	71.70	9.00	645.30
Wharf Road	Red Cross Car Park	Wharf Access 1	Township Low Use Hotmix Bitumen (Standard) Surface	172.00	4.10	705.20
Wharf Road	Alexander Street East	Red Cross Car Park	Township Low Use Hotmix Bitumen (Standard) Surface	133.70	7.00	935.90
Whittard Street	Vivian Court	Spencer Street	Township Low Use Hotmix Bitumen (Standard) Surface	78.60	5.50	432.30
Whittard Street	Morgan Court	Vivian Court	Township Low Use Hotmix Bitumen (Standard) Surface	74.40	5.50	409.20
Whittard Street	Broadway Road	Morgan Court	Township Low Use Hotmix Bitumen (Standard) Surface	70.30	5.40	379.60
Whittard Street	Spencer Street	Joffre Street	Township Low Use Hotmix Bitumen (Standard) Surface Township Low Use Hotmix Bitumen (Standard) Surface	98.30	5.50	540.70
Whittard Street	Joffre Street	Esmond Road	Township Low Use Hotmix Bitumen (Standard) Surface Township Low Use Hotmix Bitumen (Standard) Surface	105.80	5.40	571.30
Whittier Street	Frith Road	End of Road	Township (Other) Low Use Spray Seal (Standard - Low Service Level) Upper Surface	105.80	7.00	889.00
Whittier Street	Frith Road	End of Road	Township (Other) Low Use (Standard) Pavement	127.00	7.00	889.00
Wilcher Street	Duffield Street	Frederick Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	161.20	6.60	1,063.90
Wilkins Street	Prince Street	Albert Terrace	Township Low Use Hotmix Bitumen (Standard) Surface	134.90	5.50	742.00
Wilkins Street	Queen Street	Prince Street	Township Low Use Hotmix Bitumen (Standard) Surface	141.30	5.50	777.20
Wilkins Street	King Street	Queen Street	Township Low Use Hotmix Bitumen (Standard) Surface	141.20	5.60	790.70
Wilkins Street	Main Road	King Street	Township Low Use Hotmix Bitumen (Standard) Surface	134.10	5.50	737.60
William Street	Narrow part of road	End of road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	48.10	5.50	264.60
William Street	Gadd Avenue	Narrow part of road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	48.80	6.80	331.80
William Street	Gadd Avenue	Narrow part of road	Township (Other) Low Use (Standard) Pavement	48.80	6.80	331.80
William Street	Narrow part of road	End of road	Township (Other) Low Use (Standard) Pavement	48.10	5.50	264.60
Williams Drive	Port Davis Road	Barbara Crescent	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	86.30	7.30	630.00
Williams Street	Wandearah Road	Murdoch Street	Township Low Use Slurry Seal (Non-Standard) Surface	279.20	8.90	2,484.90
Wilsdon Way	Pelham Rd	Wattle Drive	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	334.60	6.50	2,174.90
Wongabirrie Road	Goyder Highway	End of Seal at 750m South	Township (Other) Medium Use Spray Seal (Standard) Upper Surface	746.60	6.90	5,151.50
Wongabirrie Road	Goyder Highway	End of Seal at 750m South	Township (Other) Medium Use (Standard) Pavement	746.60	6.90	5,151.50
Wood Street	Greer Street	Three Chain Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	144.50	8.60	1,242.70
Wood Street	Murn Street	Greer Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	142.80	8.70	1,242.40
Worby Street	Hurst Street	Hannan Street	Township Low Use Hotmix Bitumen (Standard) Surface	177.90	8.30	1,476.60
Worby Street	Kingston Road	Hurst Street	Township Low Use Hotmix Bitumen (Standard) Surface	168.60	8.30	1,399.40
Worden Street	Hutchinson Street	Plenty Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	144.10	8.00	1,152.80
Worden Street	Plenty Street	Port Davis Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	85.10	8.30	706.30
Wright Street	Burt Street	Three Chain Road	Township Low Use Slurry Seal (Non-Standard - Low Service Level) Surface	144.50	7.20	1,040.40
Wright Street	Geddes Road	Burt Street	Township Low Use Slurry Seal (Non-Standard - Low Service Level) Surface	236.80	6.40	1,515.50
WW Robinson Crescent	Edmund Terrace	Eyre Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	229.70	4.00	918.80
WW Robinson Crescent	Edmund Terrace	Eyre Road	Township (Other) Low Use (Standard) Pavement	229.70	4.00	918.80
Yates Street	Degenhardt Street	Three Chain Road	Township Low Use Slurry Seal (Standard) Surface	153.60	8.60	1,321.00
		cc ca Noud		155.00	0.00	1,021.00
York Road	The Terrace	Lacey Street	Township Medium Use Hotmix Bitumen (Standard) Surface	102.90	13.40	1,378.90

Road Name	From	To End	Asset Type	Length	Width	Area
York Road	Swift Street	Senate Road	Township Medium Use Hotmix Bitumen (Standard) Surface	268.40	12.90	3,462.40
York Road	Duke Street	Swift Street	Township Medium Use Hotmix Bitumen (Standard) Surface	93.10	13.10	1,219.60
York Road	Anzac Road	Meil St	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	275.20	6.40	1,761.30
York Road	Amanda Street	Rupara Street	Township Medium Use Slurry Seal (Standard - Very Low Service Level) Surface	123.40	12.30	1,517.80
York Road	Rupara Street	Anzac Road	Township Medium Use Slurry Seal (Non-Standard - Very Low Service Level) Surface	354.50	6.40	2,268.80
York Road	Senate Road	Amanda Street	Township (Port Pirie) Medium Use Spray Seal (Standard) Upper Surface	90.10	12.90	1,162.30
Young Street	Church Circle	Prince Street	Township Low Use Slurry Seal (Non-Standard - Mid-Low Service Level) Surface	81.70	5.50	449.40
Young Street	Prince Street	Albert Terrace	Township Low Use Slurry Seal (Standard) Surface	134.40	6.00	806.40
Young Street (West)	Joffre Street	Esmond Road	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	105.10	7.40	777.70
Young Street (West)	Verdun Street	Joffre Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	116.90	7.50	876.80
Young Street (West)	Kitchener Terrace	French Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	102.70	7.50	770.30
Young Street (West)	French Street	Verdun Street	Township (Port Pirie) Low Use Spray Seal (Standard) Upper Surface	102.70	7.50	770.30
Younghusband Terrace	Mais Terrace	Mercowie Road	Township (Other) Low Use Spray Seal (Standard) Upper Surface	89.80	9.60	862.10
Younghusband Terrace	Mitchell Street	Mais Terrace	Township (Other) Low Use Spray Seal (Standard) Upper Surface	135.90	9.50	1,291.10
Younghusband Terrace	Eyre Road	Mitchell Street	Township Low Use Slurry Seal (Standard) Surface	153.00	8.72	1,334.20
Younghusband Terrace	Mais Terrace	Mercowie Road	Township (Other) Low Use (Standard) Pavement	89.80	9.60	862.10
Younghusband Terrace	Mitchell Street	Mais Terrace	Township (Other) Low Use (Standard) Pavement	135.90	9.50	1,291.10
Younghusband Terrace	Eyre Road	Mitchell Street	Township (Other) Low Use (Standard) Pavement	153.00	8.72	1,334.20
Zeta Street	Afton Street	Balmoral Road	Township Low Use Slurry Seal (Standard) Surface	212.60	10.50	2,232.30

SEALED ROADS - RURAL

Road Name	From	То	Asset Type	Length	Width	Area
Abattiors Road	Waits Road	1100m West of Waits Road	Rural Spray Seal (Standard) Upper Layer	1,036.10	8.20	8,496.00
Abattiors Road	900m West of Clover Field Gate	1850m West of Clover Field Gate	Rural Spray Seal (Standard) Upper Layer	935.50	8.60	8,045.30
Abattiors Road	2100m West of Waits Road	Pirie Blocks Road	Rural Spray Seal (Standard) Upper Layer	1,071.40	8.20	8,785.50
Abattiors Road	Pirie Blocks Road	Old Race Course Road	Rural Spray Seal (Standard) Upper Layer	1,624.50	8.40	13,645.80
Abattiors Road	Old Race Course Road	Clover Field Gate	Rural Spray Seal (Standard) Upper Layer	895.50	8.00	7,164.00
Abattiors Road	Railway Crossing (Warnertown)	Warnertown Oval Gate	Rural Spray Seal (Standard) Upper Layer	812.00	8.30	6,739.60
Abattiors Road	Warnertown Oval Gate	Waits Road	Rural Spray Seal (Standard) Upper Layer	922.60	8.10	7,473.10
Abattiors Road	Clover Field Gate	900m West of Clover Field Gate	Rural Spray Seal (Standard - Low Service Level) Upper Layer	985.90	8.50	8,380.20
Abattiors Road	1100m West of Waits Road	2100m West of Waits Road	Rural Spray Seal (Standard - Low Service Level) Upper Layer	1,004.40	8.20	8,236.10
Abattiors Road	1850m West of Clover Field Gate	Port Pirie - Port Broughton Road	Rural Spray Seal (Non-Standard - Low Service Level) Upper Layer	623.60	7.60	4,739.40
Abattiors Road	Auguasta Highway	Railway Crossing (Warnertown)	Rural Hotmix Bitumen (Standard) Surface	58.30	8.80	513.00
Acropolis Road	Flinders View Drive	End	Rural Spray Seal (Standard) Upper Layer	1,181.40	4.70	5,552.60
Aerodrome Road	2100m West of Senate Road	Pt Davis Road	Rural Spray Seal (Standard) Upper Layer	761.10	6.10	4,642.70
Aerodrome Road	1100m West of Senate Road	2100m West of Senate Road	Rural Spray Seal (Standard) Upper Layer	1,008.10	6.10	6,149.40
Aerodrome Road	Senate Road	1100m West of Senate Road	Rural Spray Seal (Standard) Upper Layer	1,132.60	7.10	8,041.50
Aerodrome Road	Spencer Highway	Gun Club Road	Rural Spray Seal (Standard) Upper Layer	597.90	5.70	3,408.00
Aerodrome Road	Old Pirie - Broughton Road	Senate Road	Rural Spray Seal (Standard - Low Service Level) Upper Layer	1,122.70	6.60	7,409.80
Blight Road	Boundary	1.6km south	Rural Spray Seal (Standard) Upper Layer	1,644.90	7.20	11,843.30
Blight Road	1.6km south of Boundary	Nelshaby Road	Rural Spray Seal (Standard) Upper Layer	1,072.10	6.70	7,183.10
Bowman Park Road	Huddleston Road	End of Bitumen	Rural Spray Seal (Standard) Upper Layer	1,409.30	6.40	9,019.50
Cattle Track	Goyder Highway	Binney Road	Rural Spray Seal (Standard) Upper Layer	1,709.90	7.40	12,653.30
Cattle Track	Binney Road	510m South of Montrose Lane	Rural Spray Seal (Standard) Upper Layer	2,070.20	7.30	15,112.50
Cattle Track	Glenburn Road	Lines Road	Rural Spray Seal (Standard) Upper Layer	4,148.10	6.20	25,718.20
Cattle Track	Gum Park Road	Man Road	Rural Spray Seal (Standard) Upper Layer	1,630.10	7.10	11,573.70
Cattle Track	Lithgows Road	Gum Park Road	Rural Spray Seal (Standard) Upper Layer	2,384.00	7.10	16,926.40
Cattle Track	1350m South of Sandow Road	Lithgows Road	Rural Spray Seal (Standard) Upper Layer	1,205.00	7.40	8,917.00
Cattle Track	Slicks Road	Gale's Road	Rural Spray Seal (Standard) Upper Layer	1,519.00	7.10	10,784.90
Cattle Track	Gale's Road	Glenburn Road	Rural Spray Seal (Standard) Upper Layer	976.60	7.00	6,836.20
Cattle Track	510m South of Montrose Lane	Slicks Road	Rural Spray Seal (Standard) Upper Layer	1,301.60	7.00	9,111.20
Cattle Track	Main Road	Redhill Bridge	Rural Spray Seal (Standard) Upper Layer	303.50	8.30	2,519.10
Cattle Track	Lines Road	Sandow Road	Rural Spray Seal (Standard - Low Service Level) Upper Layer	1,206.20	7.40	8,925.90
Cattle Track	Sandow Road	1350m South of Sandow Road	Rural Spray Seal (Standard - Low Service Level) Upper Layer	1,351.20	7.40	9,998.90
Drovers Road	70m E of Abattoirs Road	Abattoirs Road	Rural Spray Seal (Standard) Upper Layer	71.60	7.20	515.50
Ellis Street	Railway Crossing	Mundoora Street	Rural Spray Seal (Standard) Upper Layer	282.50	6.10	1,723.30
Ellis Street	Mundoora Terrace	River Terrace	Rural Spray Seal (Standard) Upper Layer	131.80	14.00	1,845.20
Ellis Street	Augusta Highway	Railway Crossing	Rural Spray Seal (Standard) Upper Layer	204.30	8.00	1,634.40
Flinders View Drive	Augusta Highway	2400m East of Augusta Highway	Rural Spray Seal (Standard) Upper Layer	2,399.50	6.20	14,876.90
Flinders View Drive	2400m East of Augusta Highway	Blight Road	Rural Spray Seal (Standard) Upper Layer	1,266.00	6.60	8,355.60
Flinders View Drive	Blight Road	Scenic Drive	Rural Spray Seal (Non-Standard) Upper Layer	404.90	6.10	2,469.90
Frith Road	Augusta Highway	Brook Park Road	Rural Spray Seal (Standard) Upper Layer	681.20	7.20	4,904.60
Frith Road	Brook Park Road	Binney Road	Rural Spray Seal (Standard) Upper Layer	1,024.90	7.50	7,686.80
Glenburn Road	165m East of Cattle Track	Cattle Track (South West)	Rural Spray Seal (Standard) Upper Layer	152.70	6.90	1,053.60
Graemor Road	Cattle Track	280m East of Cattle Track	Rural Spray Seal (Standard) Upper Layer	269.00	7.10	1,909.90
Graemor Road	365m East of Cattle Track	450m East of Cattle Track	Rural Spray Seal (Standard) Upper Layer	88.30	6.40	565.10
Graemor Road	587m East of Cattle Track	1057m East of Cattle Track	Rural Spray Seal (Standard) Upper Layer	470.30	6.90	3,245.10
Graemor Road	280m East of Cattle Track	365m East of Cattle Track	Rural Concrete (Low Service Level) Surface	88.90	6.10	542.30
Graemor Road	450m East of Cattle Track	587m East of Cattle Track	Rural Concrete (Low Service Level) Surface	140.10	5.50	770.60
Gulf View Road	0.600km east	Crusher Gate	Rural Spray Seal (Standard) Upper Layer	1,036.90	6.90	7,154.60
Gun Club Road	Old Broughton Road	End (East)	Rural Spray Seal (Future Change to Unsealed) Surface	313.20	6.30	1,973.20
Haldane Road	Haldane Road	Port Pirie/ Bungama Road	Rural Spray Seal (Standard) Upper Layer	692.50	5.80	4,016.50
Haldane Road	Haldane Road	Hillview Road	Rural Spray Seal (Standard - Low Service Level) Upper Layer	647.20	6.80	4,401.00
Hillview Road	63 Hillview Road	Warnertown Road	Rural Spray Seal (Standard) Upper Layer	634.90	6.10	3,872.90
Hillview Road	Spencer Highway	63 Hillview Road	Rural Spray Seal (Standard) Upper Layer	1,120.80	6.80	7,621.40
Huddleston Road	Heads White Hill Road	End of Seal at Council Boundary (East)	Rural Spray Seal (Standard) Upper Layer	672.10	7.50	5,040.80
Huddleston Road	Bowman Park Road	Heads White Hill Road	Rural Spray Seal (Standard) Upper Layer	1,178.70	7.40	8,722.40
Huddleston Road	Dead Horse Gully	Bowman Park Road	Rural Spray Seal (Standard) Upper Layer	753.00	8.30	6,249.90
Huddleston Road	Claridge Road	Dead Horse Gully	Rural Spray Seal (Standard - Low Service Level) Upper Layer	2,418.20	7.50	18,136.50
Ingram Gap Road	Mundoora Township	Powerline Road	Rural Spray Seal (Standard) Upper Layer	2,725.90	8.21	22,379.60
	Power Line Rd	1.0 Km East	Rural Spray Seal (Standard) Upper Layer	1,003.30	8.40	8,427.70
Ingram Gap Road						
Ingram Gap Road Ingram Gap Road	1.0 Km East of Powerline Road	Greens Road	Rural Spray Seal (Standard) Upper Layer	2,451.70	8.00	19,613.60
Ingram Gap Road			Rural Spray Seal (Standard) Upper Layer Rural Spray Seal (Standard) Upper Layer	2,451.70 2,250.90	8.00 8.10	19,613.60 18,232.30 12,991.20

Road Name	From	То	Asset Type	Length	Width	Area
Ingram Gap Road	3.5 Km East Of Powerline Rd	Gum Creek Road	Rural Spray Seal (Standard) Upper Layer	1,817.00	11.00	19,987.00
Ingram Gap Road	Greens Road	Pipeline Track	Rural Spray Seal (Standard) Upper Layer	1,420.80	11.00	15,628.80
Koolunga-Brinkworth Road	Weckerts Corner	Council Boundary (South)	Rural Spray Seal (Standard) Upper Layer	2,887.00	6.70	19,342.90
Koolunga-Brinkworth Road	First Street	River Road	Rural Spray Seal (Standard) Upper Layer	335.20	6.20	2,078.20
Koolunga-Brinkworth Road	River Road	Weckerts Corner	Rural Spray Seal (Standard) Upper Layer	3,204.70	6.80	21,792.00
Locks Road	1300m East of Bungama North Road	Scenic Drive	Rural Spray Seal (Standard) Upper Layer	1,387.00	6.20	8,599.40
Locks Road	Bungama North Road	1300m East of Bungama North Road	Rural Spray Seal (Standard) Upper Layer	1,102.90	6.40	7,058.60
Locks Road	Augusta Highway	Bungama North Road	Rural Spray Seal (Standard) Upper Layer	1,046.90	6.10	6,386.10
Main Road	Browns Corner	Lange's Lease Road	Rural Spray Seal (Standard) Upper Layer	1,982.80	7.20	14,276.20
Main Road	Kelly Road	Browns Corner	Rural Spray Seal (Standard) Upper Layer	3,314.40	7.20	23,863.70
Main Road	Water Point Road No. 3	Kelly Road	Rural Spray Seal (Standard) Upper Layer	3,134.60	7.60	23,823.00
Main Road	Walkers Track	Water Point Road No. 3	Rural Spray Seal (Standard) Upper Layer	768.60 297.20	7.00 8.40	5,380.20 2,496.50
Main Road Main Road	Cattle Track Pengillys Road	Pengillys Road Walkers Track	Rural Spray Seal (Standard) Upper Layer Rural Spray Seal (Standard) Upper Layer	341.30	8.60	2,496.30
Main Road	Lange's Lease Road	Fifth St Koolunga	Rural Spray Seal (Standard - Low Service Level) Upper Layer	2,147.40	6.70	14,387.60
Maiii Koau	Lange's Lease Road	Filti St Rooldiiga	Rulai Spray Sear (Standard - Low Service Lever) Opper Layer	2,147.40	0.70	14,367.00
Mundoora Boundary Road	Ingram Gap Road	860m South of Ingram Gap Road	Rural Spray Seal (Standard) Upper Layer	863.20	7.20	6,215.00
Narridy Road	Cattle Track	0.13 Km East	Rural Spray Seal (Standard) Upper Layer	128.50	6.80	873.80
Nelshaby Road	Oaks Road	Flinders View Drive	Rural Spray Seal (Standard) Upper Layer	3,416.80	6.40	21,867.50
Nelshaby Road	Augusta Highway	Oaks Road	Rural Spray Seal (Standard) Upper Layer	2,313.50	6.40	14,806.40
Oaks Road	Nelshaby Road	Scenic Drive	Rural Spray Seal (Standard) Upper Layer	2,906.00	6.30	18,307.80
Old Broughton Road	1.46 km North of Les Affords Road (Floodway	2.26 km North of Les Affords Road (Floodway	Rural Spray Seal (Standard) Upper Layer	80.00	14.20	1,134.00
Pirie Blocks Road	Warnertown Rd	Railway Tce	Rural Spray Seal (Standard) Upper Layer	86.40	7.70	665.30
Pirie Blocks Road	Railway Tce	Sandy Terrace	Rural Spray Seal (Standard - Low Service Level) Upper Layer	2,006.60	6.70	13,444.20
Pirie Connector Road	Port Pirie/ Bungama Road	Augusta Highway	Rural Spray Seal (Standard) Upper Layer	653.10	6.30	4,114.50
Railway Terrace (Port Pirie)	Wauchopes Road	1300m West of Wauchopes Road	Rural Spray Seal (Standard) Upper Layer	1,320.20	6.70	8,845.30
Railway Terrace (Port Pirie)	Old Racecourse Road	Wauchopes Road	Rural Spray Seal (Standard) Upper Layer	703.80	6.10	4,293.20
Robinson Road	Start of Seal	Goyder Highway	Rural Spray Seal (Future Change to Unsealed) Surface	243.50	5.80	1,412.30
Scenic Drive	Augusta Highway	2030m North of Augusta Highway	Rural Spray Seal (Standard) Upper Layer	2,036.60	6.40	13,034.20
Scenic Drive	300m North of Locks Road	1400m North of Locks Road	Rural Spray Seal (Standard) Upper Layer	1,099.60	6.70	7,367.30
Scenic Drive	2030m North of Augusta Highway	Church Road	Rural Spray Seal (Standard) Upper Layer	848.40	6.20	5,260.10
Scenic Drive	Church Road	300m North of Locks Road	Rural Spray Seal (Standard) Upper Layer	930.80	6.40	5,957.10
Scenic Drive	1450m North of Flinders View Drive	Council Boundary (North)	Rural Spray Seal (Standard) Upper Layer	1,337.10	6.00	8,022.60
Scenic Drive	Flinders View Drive	540m North of Flinders View Drive	Rural Spray Seal (Standard) Upper Layer	543.00	6.20	3,366.60
Scenic Drive	Oaks Road	Flinders View Drive Gulf View Road	Rural Spray Seal (Standard) Upper Layer	2,642.00 2,348.80	6.90	18,229.80
Scenic Drive Scenic Drive	1400m North of Locks Road 540m North of Flinders View Drive	1450m North of Flinders View Drive	Rural Spray Seal (Standard) Upper Layer	2,348.80 911.50	6.10 6.40	14,327.70 5,833.60
Sims Hill Road	620m South of Welbourne Road	865m South of Welbourne Road	Rural Spray Seal (Standard) Upper Layer Rural Spray Seal (Standard) Upper Layer	246.10	7.60	1,870.40
Steam Train Road	Railway Terrace	Afford Road	Rural Spray Seal (Standard) Upper Layer	608.60	7.00	4,260.20
Steam Train Road	Afford Road	Magor Road	Rural Spray Seal (Standard) Upper Layer	579.20	7.00	4,054.40
Wandearah Road	1km West of Augusta Highway	1.7km West of Augusta Highway	Rural Spray Seal (Standard) Upper Layer	766.40	7.30	5,594.70
Wandearah Road	2.4km West of Augusta Highway	3.4km West of Augusta Highway	Rural Spray Seal (Standard) Upper Layer	1,008.90	7.20	7,264.10
Wandearah Road	O'Shaughnessy Bridge	0.7km West of O'Shaughnessy Bridge	Rural Spray Seal (Standard) Upper Layer	721.20	6.20	4,471.40
Wandearah Road	0.7km West of O'Shaughnessy Bridge	2.8km West of O'Shaughnessy Bridge	Rural Spray Seal (Standard) Upper Layer	2,173.20	6.20	13,473.80
Wandearah Road	2.8km West of O'Shaughnessy Bridge	3.8km West of O'Shaughnessy Bridge	Rural Spray Seal (Standard) Upper Layer	995.30	6.40	6,369.90
Wandearah Road	3.8km West of O'Shaughnessy Bridge	Spencer Highway	Rural Spray Seal (Standard) Upper Layer	930.10	6.00	5,580.60
Wandearah Road	3.8km West of O'Shaughnessy Bridge	4.8km West of O'Shaughnessy Bridge	Rural Spray Seal (Standard) Upper Layer	1,080.10	6.00	6,480.60
Wandearah Road	2.0km West of Spencer Highway	3.0km West of Spencer Highway	Rural Spray Seal (Standard) Upper Layer	954.60	6.20	5,918.50
Wandearah Road	3.0km West of Spencer Highway	3.5km West of Spencer Highway	Rural Spray Seal (Standard) Upper Layer	498.70	6.40	3,191.70
Wandearah Road	3.5km West of Spencer Highway	4.0km West of Spencer Highway	Rural Spray Seal (Standard) Upper Layer	558.40	6.40	3,573.80
Wandearah Road	4.0km West of Spencer Highway	5.0km West of Spencer Highway	Rural Spray Seal (Standard) Upper Layer	980.50	6.20	6,079.10
Wandearah Road	Spencer Highway	1.0km West of Spencer Highway	Rural Spray Seal (Standard) Upper Layer	1,068.20	6.20	6,622.80
Wandearah Road	1.7km West of Augusta Highway	2.4km West of Augusta Highway	Rural Spray Seal (Standard) Upper Layer	739.00	7.30	5,394.70
Wandearah Road	6.1km West of Spencer Highway	7.1km West of Spencer Highway	Rural Spray Seal (Standard) Upper Layer	953.40	6.10	5,815.70
Wandearah Road	1.0km West of Spencer Highway	2.0km West of Spencer Highway	Rural Spray Seal (Standard) Upper Layer	989.20	6.20	6,133.00
Wandearah Road	Augusta Highway	1km West of Augusta Highway	Rural Spray Seal (Standard) Upper Layer	999.20	7.00	6,994.40
Wandearah Road	5.0km West of Spencer Highway	6.1km West of Spencer Highway	Rural Spray Seal (Standard) Upper Layer	1,142.20	6.10	6,967.40
Wandearah Road	3.4km West of Augusta Highway	O'Shaughnessy Bridge	Rural Spray Seal (Standard - Low Service Level) Upper Layer	997.90	7.10	7,085.10
Wandearah Road	7.1km West of Spencer Highway	Old Broughton Road	Rural Spray Seal (Standard - Low Service Level) Upper Layer	1,008.90	6.10	6,154.30
Wauchopes Road	Warnertown Road	Railway Terrace	Rural Spray Seal (Standard) Upper Layer	88.50	6.60	584.10
Wauchopes Road	Magor Road	Old Racecourse Road	Rural Spray Seal (Standard) Upper Layer	455.80	6.20	2,826.00
Wauchopes Road	Railway Terrace	Magor Road	Rural Spray Seal (Standard) Upper Layer	1,168.10	8.90	10,396.10

UNSEALED ROADS – TOWNSHIP

Road Name	From	То	Asset Type	Length	Width	Area
Anzac Road	End of Seal 45m Nth of Maude Street	Frederick St	Township Category 6 Unformed Surface	259.10	4.00	1,036.40
Balmoral Road	Dunn Street	Last House	Township Category 5 Formed Graded Surface	147.40	6.40	943.36
Balmoral Road	Last House	End (west)	Township Category 6 Unformed Surface	1,145.20	<u> </u>	
Breage Street Lane	Breage Street	No Through at Watson Street	Township Category 5 Formed Graded Surface	99.70	4.00	
Brocks Lease Road	Maslin St	Redhill Tr.	Township Leased Surface	126.30	4.00	
Busbridge Road	Valley Road	Bowman Street	Township Sheeted Wearing Surface	199.90	6.00	
Busbridge Road	Valley Road	Bowman Street	Township Sheeted Lower Base & Earthworks	199.90	9.00	
Claridge Road	Railway Tce Extn	21m South of Eyre Road	Township Sheeted Wearing Surface	245.20	5.00	
Claridge Road	Railway Tce Extn	21m South of Eyre Road	Township Sheeted Lower Base & Earthworks	245.20	6.00	, .
Claxton Street	Federation Road	No Through Road	Township Category 5 Formed Graded Surface	52.50	10.00	525.00
Cleasby Road	Harris Road	End (west)	Township Road Reserve Surface	202.00	Ļ'	ļ!
Clements Street	Mercowie Rd	End Of Road	Township Sheeted Wearing Surface	204.30	5.00	
Clements Street	Mercowie Rd	End Of Road	Township Sheeted Lower Base & Earthworks	204.30	9.00	,
Coombe Road	The Terrace	Anzac Road	Township Category 5 Formed Graded Surface	1,179.10	10.00	
Copinger Road South	Afford Road	0.200 South	Township Category 5 Formed Graded Surface	203.80	5.00	1,019.00
Davis Avenue (Road Reserve)	Stanley Avenue	End (west)	Township Road Reserve Surface	269.00	<u> </u>	
Don Kelly's Track	Whittier St	Greig Rd	Township Sheeted Wearing Surface	341.70	3.00	
Don Kelly's Track	Whittier St	Greig Rd	Township Sheeted Lower Base & Earthworks	341.70	5.00	1,708.50
DPTI Rear Access Road	Binney Rd	End Of Rd	Township Category 5 Formed Graded Surface	500.40	4.00	
Dudley's Rented Road	Weston Road	200 M South	Township Leased Surface	229.90	4.00	919.60
East Terrace	North Terrace	First Street	Township Category 6 Unformed Surface	59.90	12.00	718.80
Elcho Street	Westley St	Tay Street	Township Category 5 Formed Graded Surface	73.30	7.00	513.10
Esmond Road	End of Seal at Henry St	End of Sheeting	Township Road Reserve Surface	734.40	4.00	2,937.60
Ewbank Street	Redhill Tr.	Maslin St	Township Category 5 Formed Graded Surface	143.40	4.00	573.60
Ewbank Street	End Of Seal	Maslin St	Township Category 5 Formed Graded Surface	75.00	5.00	375.00
Ewbank Street	Bowman St	Mundoora Tr.	Township Road Reserve Surface	146.10	4.00	
Fifth Street (Koolunga)	Third Street	Fourth Street	Township Sheeted Wearing Surface	177.30	6.50	1,152.50
Fifth Street (Koolunga)	Third Street	Fourth Street	Township Sheeted Lower Base & Earthworks	177.30	9.50	
Fifth Street (Napperby)	Third St	Gulf View Road	Township Category 5 Formed Graded Surface	56.60	5.00	
Fisher Street	Leonard Avenue	Lorna Avenue	Township Category 5 Formed Graded Surface	144.80	3.80	
Fisher Street	Lorna Avenue	Ascot Avenue	Township Category 6 Unformed Surface	126.20		
Fourth Street (Koolunga)	Fifth St	Seventh St	Township Sheeted Wearing Surface	232.50	6.00	1,395.00
Fourth Street (Koolunga)	Fifth St	Seventh St	Township Sheeted Lower Base & Earthworks	232.50	9.00	
Frances Street	Vera Street	Lilly Street	Township Category 5 Formed Graded Surface	44.90	7.60	
Frederick Road	Rodda Street	Senate Road	Township Road Reserve Surface	277.80		
Frederick Road	End Seal at Wilcher Street	Anzac Road	Township Road Reserve Surface	450.80	4.00	1,803.20
Gerald Street	Anzac Road	Last House	Township Category 5 Formed Graded Surface	487.30	6.40	
Golf Club Lease Road	Darbon Tr.	End Of Road	Township Leased Surface	192.50	4.00	770.00
Greer Street	Oliver Street	Osborne Street	Township Category 5 Formed Graded Surface	79.90	10.80	862.92
Greig Road	235m N of Firth Road (End of Kerb)	Laffers Road	Township Sheeted Wearing Surface	155.50	6.00	
Greig Road	235m N of Firth Road (End of Kerb)	Laffers Road	Township Sheeted Wearing Surface Township Sheeted Lower Base & Earthworks	155.50	9.00	
Haslam Road	Geddes Road	Railway Track	Township Category 5 Formed Graded Surface	144.70	6.50	,
Heath Street	Pine Street	End	Township Category 5 Formed Graded Surface Township Road Reserve Surface	131.80	4.00	
Higgins Road	Claridge Rd	End Of Sheeted Rd	Township Road Reserve Surface Township Sheeted Wearing Surface	338.30	3.00	
Higgins Road	Claridge Rd	End Of Sheeted Rd	Township Sheeted Wearing Surface Township Sheeted Lower Base & Earthworks	338.30	7.00	
Hilda Street	Harris Road	End (west)	Township Road Reserve Surface	283.00	7.00	2,300.10
Jacobi Street	End of Seal	End (west)	Township Road Reserve Surface Township Category 6 Unformed Surface	183.70		
Jeffries Road	Darbon Tce	Greig Rd	Township Sheeted Wearing Surface	434.00	4.50	1,953.00
Jeffries Road	Darbon Tce	Greig Rd	Township Sheeted Wearing Surface Township Sheeted Lower Base & Earthworks	434.00	7.00	
				80.60	6.20	
Johnson Street	Middleton Street 176m West of End of Seal	Balmoral Road 700m West	Township Category 5 Formed Graded Surface	725.80	4.00	
Kingston Road			Township Category 6 Unformed Surface	176.10	7.00	,
Kingston Road	End of Seal	176m West of End of Seal	Township Category 6 Unformed Surface			
Kipara Street	Paralla Street	Paru Street	Township Category 5 Formed Graded Surface	107.20 110.50	6.00 5.50	
Lacey Street	York Road	End Of Road	Township Category 5 Formed Graded Surface	207.70	8.00	
Lamm Street	Kitchener Terrace	Scarman Street	Township Category 5 Formed Graded Surface			
Lilly Street	Frances Street	Start of Seal	Township Road Reserve Surface	84.70	4.00	
Lorna Avenue	Esmond Road	Last House	Township Category 5 Formed Graded Surface	75.20	8.00	
Lorna Avenue	Last House	Fisher Street	Township Category 6 Unformed Surface	204.90	4.00	
Manfred Street	Frith Rd	End Of Rd	Township Road Reserve Surface	132.60	4.00	
Maslin Street	Hope St	Ellis St	Township Category 5 Formed Graded Surface	141.70	5.00	
		I End Of Formed	Township Category 5 Formed Graded Surface	191.30	6.00	1,147.80
Maslin Street	Ellis St	End Of Formed				
Maslin Street Maslin Street Maslin Street	Ellis St Ewbank St River Tce	South Tce Hope St	Township Category 5 Formed Graded Surface Township Category 6 Unformed Surface Township Category 6 Unformed Surface	142.10 127.10	4.00	

Road Name	From	То	Asset Type	Length	Width	Area
Maslin Street	End Of Formed	Ewbank St	Township Category 6 Unformed Surface	99.00	2.00	198.00
Mercowie Road	Younghusband Tr.ex	140 M North Bowman St	Township Category 5 Formed Graded Surface	190.10	5.00	950.50
Moorhouse Street (Redhill)	Mundoora Tce	Bowman St	Township Sheeted Wearing Surface	178.30	6.00	
Moorhouse Street (Redhill)	Mundoora Tce	Bowman St	Township Sheeted Lower Base & Earthworks	178.30	10.00	
Moorhouse Street (Redhill)	Maslin St	Redhill Tce	Township Category 5 Formed Graded Surface	118.70	4.00	474.80
Mundoora Tce	Ellis St	South Tce	Township Sheeted Wearing Surface	457.70	5.00	2,288.50
Mundoora Tce	Ellis St	South Tce	Township Sheeted Lower Base & Earthworks	457.70	9.00	4,119.30
Night Cart Lane	Esmond Road	Patterson Street	Township Category 5 Formed Graded Surface	219.00	5.00	1,095.00
North Terrace (Napperby)	Fifth Street	East Terrace	Township Category 6 Unformed Surface	290.40	9.00	2,613.60
Osborne Street	Dorothy Street	Last House	Township Category 5 Formed Graded Surface	64.30	10.00	643.00
Parham Street	Hughes Street	End of Seal	Township Category 5 Formed Graded Surface	33.70	7.20	242.64
Paru Street	York Road	Edward Street	Township Category 5 Formed Graded Surface	427.00	3.00	1,281.00
Pearce Street	End Of Seal	Moppett Road	Township Category 6 Unformed Surface	221.60		
Railway Terrace (Crystal Brook)	Oval Gates	Darbon Terrace	Township Category 5 Formed Graded Surface	180.80	7.00	1,265.60
Railway Terrace Extension (Crystal Brook)	Weston Rd	Edmund Tr.	Township Sheeted Wearing Surface	480.70	5.00	2,403.50
Railway Terrace Extension (Crystal Brook)	Weston Rd	Edmund Tr.	Township Sheeted Lower Base & Earthworks	480.70	6.00	2,884.20
Railway Terrace Side Track (Port Pirie)	Railway Tr	Boundary Road	Township Category 5 Formed Graded Surface	1,015.90	4.00	4,063.60
Redhill Terrace	Moorhouse St	South Tr.	Township Category 5 Formed Graded Surface	308.10	4.00	1,232.40
Redhill Terrace	River Tce	Moorhouse St	Township Category 5 Formed Graded Surface	352.90	2.00	705.80
River Tce	Barr St	Redhill Tce	Township Category 5 Formed Graded Surface	311.20	2.00	622.40
Rupara Street	Duffield St	End Culdesac	Township Category 5 Formed Graded Surface	110.00	7.00	770.00
Seventh Street (Koolunga)	Last Section	Valley Rd	Township Sheeted Wearing Surface	199.30	6.00	1,195.80
Seventh Street (Koolunga)	Bunyip Reserve	Fifth St Koolunga	Township Sheeted Wearing Surface	147.50	5.20	767.00
Seventh Street (Koolunga)	Last Section	Valley Rd	Township Sheeted Lower Base & Earthworks	199.30	9.00	1,793.70
Seventh Street (Koolunga)	Bunyip Reserve	Fifth St Koolunga	Township Sheeted Lower Base & Earthworks	147.50	8.20	1,209.50
Silo Access	Musgrave St	Weigh Bridge	Township Category 6 Unformed Surface	176.70	6.00	1,060.20
South Terrace (Napperby)	West Tr	Gulf View Road	Township Road Reserve Surface	249.50		
South Terrace (Redhill)	Barr St	Redhill Tr.	Township Category 5 Formed Graded Surface	264.80	4.00	1,059.20
Stanley Avenue	Scarman Street	Kitchener Terrace	Township Category 6 Unformed Surface	209.00	6.00	1,254.00
Surveyed Road	Pirie West Area		Township Road Reserve Surface	482.90	4.00	1,931.60
Surveyed Road	Pirie West Area		Township Road Reserve Surface	2,953.50	4.00	11,814.00
Surveyed Road	Pirie West Area		Township Road Reserve Surface	297.50	4.00	1,190.00
Surveyed Road	Pirie West Area		Township Road Reserve Surface	284.70	4.00	1,138.80
Surveyed Road	Pirie West Area		Township Road Reserve Surface	279.10	4.00	,
Surveyed Road	Pirie West Area		Township Road Reserve Surface	105.80	4.00	423.20
Surveyed Road	Pirie West Area		Township Road Reserve Surface	292.40	4.00	
Surveyed Road	Pirie West Area		Township Road Reserve Surface	244.70	4.00	978.80
Surveyed Road	Pirie West Area		Township Road Reserve Surface	282.80	4.00	,
Surveyed Road	Pirie West Area		Township Road Reserve Surface	408.10	4.00	
Surveyed Road	Pirie West Area		Township Road Reserve Surface	206.30	4.00	825.20
Surveyed Road	Pirie West Area		Township Road Reserve Surface	272.80	4.00	1,091.20
Surveyed Road	Pirie West Area		Township Road Reserve Surface	149.90	4.00	599.60
Surveyed Road	Pirie West Area		Township Road Reserve Surface	222.30	4.00	889.20
Surveyed Road	Pirie West Area		Township Road Reserve Surface	179.10	4.00	716.40
Surveyed Road	Pirie West Area	1	Township Road Reserve Surface	274.30	4.00	1,097.20
Surveyed Road (Lane)	Pelham Road	Acacia Steet	Township Category 6 Unformed Surface	83.00		
Surveyed Road (Lane)	Piper Street	Sampson Street	Township Category 6 Unformed Surface	412.50		├
Surveyed Road (Lane)	Clayton Road	End (west)	Township Category 6 Unformed Surface	134.90		
Surveyed Road (Lane)	Goode Road	End	Township Category 6 Unformed Surface	211.80 41.80		
Surveyed Road (Lane)	Claxton Street	End Bond	Township Category 6 Unformed Surface	210.10		-
Surveyed Road (Lane)		Esmond Road Flett Street	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	104.80		
Surveyed Road (Lane) Surveyed Road (Lane)	Bensley Street Springwood Road	End End	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	39.00		
Surveyed Road (Lane)	Lamb Street	End		80.80		├
Surveyed Road (Lane)	Esmond Road	Herbert Street	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	88.00		├
Surveyed Road (Lane)	Elizabeth Street	Arnold Street	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	130.10		
Surveyed Road (Lane) Surveyed Road (Lane)	Tummel Street	Hopkins Street	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	86.40		
Surveyed Road (Lane)	York Road	Edward Street	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	423.00		
Surveyed Road (Lane)	York Road	Edward Street	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	427.40		
Surveyed Road (Lane)	Paralla Street	End End	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	64.60		
	Goode Road	End	Township Category 6 Unformed Surface Township Category 6 Unformed Surface	210.10		
Surveyed Road (Lane)						

Road Name	From	То	Asset Type	Length	Width	Area
Surveyed Road (Lane)	North End	South End	Township Category 6 Unformed Surface	101.70		
Surveyed Road (Lane)	Tummell Street	Hopkins Street	Township Category 6 Unformed Surface	88.60		
Surveyed Road (Lane)	Lane (north End)	Lane (south End)	Township Category 6 Unformed Surface	327.10		
Surveyed Road (Lane)	Lane (north End)	Lane (south End)	Township Category 6 Unformed Surface	329.80		
Surveyed Road (Lane)	Hopkins Street	Anzac Road	Township Category 6 Unformed Surface	80.80		
Surveyed Road (Lane)	End (north)	End (south)	Township Category 6 Unformed Surface	100.90		
Surveyed Road (Lane)	Brown Street	End (west)	Township Category 6 Unformed Surface	239.90		
Surveyed Road (Lane)	The Terrace	End	Township Category 6 Unformed Surface	64.30		
Surveyed Road (Lane)	Brown Street	Cottell Street	Township Category 6 Unformed Surface	87.30		
Surveyed Road (Road Reserve)	Edward Street	Moppett Road	Township Road Reserve Surface	435.20		
Surveyed Road (Road Reserve)	Anzac Road	Road Reserve	Township Road Reserve Surface	264.10		
Surveyed Road (Road Reserve)	Jacobi Street	Port Davis Road	Township Road Reserve Surface	305.00		
Surveyed Road (Road Reserve)	End (east)	End (west)	Township Road Reserve Surface	215.60		
Surveyed Road (Road Reserve)	End (north)	Moppett Road	Township Road Reserve Surface	431.20		
Surveyed Road (Road Reserve)	Edward Street	Moppett Road	Township Road Reserve Surface	469.70		
Surveyed Road (Road Reserve)	Edward Street	Anzac Road	Township Road Reserve Surface	435.10		
Surveyed Road (Road Reserve)	Edward Street	Moppett Road	Township Road Reserve Surface	430.20		
Tay Street	End of Seal	York Road	Township Category 6 Unformed Surface	186.60		
Valley Road (Crystal Brook)	West Tc	Young Husband Extension	Township Category 5 Formed Graded Surface	379.60	5.00	1,898.00
Wall Street	Leonard Avenue	End Of Wall St	Township Category 6 Unformed Surface	136.70		
Wall Street	Lorna Avenue	Ascot Avenue	Township Road Reserve Surface	124.80		
West Terrace (Napperby)	Third St	South Tr.	Township Road Reserve Surface	142.50		
Williams Avneue	Moresby Crescent	End (west)	Township Category 6 Unformed Surface	175.70		
Younghusband Terrace	Mercowie Road	Busbridge Road	Township Sheeted Wearing Surface	637.00	6.00	3,822.00
Younghusband Terrace	Mercowie Road	Busbridge Road	Township Sheeted Lower Base & Earthworks	637.00	8.50	5,414.50

UNSEALED ROADS – RURAL

Road Name	From	То	Asset Type	Length	Width	Area
Adey Road	Farm Driveway 2500m West of	Long Gully Road	Rural Category 5 Formed Graded Surface	1,268.90	4.00	5,075.60
Adey Road	Gum Creek Rd 1300m West of Gum Creek Rd	Farm Driveway 2500m West of	Rural Category 5 Formed Graded Surface	1,209.00	4.00	4,836.00
Adey Road	Augusta Highway	Gum Creek Rd Farm Driveway 300m East of Gum Creek Road	Rural Category 3 Sheeted (Poor Material) Wearing Surface	1,107.40	5.50	6,090.70
Adey Road	Farm Driveway 300m East of Gum	500m West of Gum Creek Rd	Rural Category 3 Sheeted (Average Material) Wearing Surface	749.90	4.00	2,999.60
Adey Road	Augusta Highway	Farm Driveway 300m East of	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	1,107.40	8.50	9,412.90
Adey Road	Farm Driveway 300m East of Gum Creek Road	500m West of Gum Creek Rd	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	749.90	7.00	5,249.30
Adey Road	500m West of Gum Creek Rd	1300m West of Gum Creek Rd	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	1,056.90	7.00	7,398.30
Adey Road	500m West of Gum Creek Rd	1300m West of Gum Creek Rd	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,056.90	5.00	5,285.00
Adey Road East	Hydon Rd	River Rd	Rural Category 5 Formed Graded Surface	3,088.00	2.00	6,176.00
Aerodrome Road	Lower Broughton Road	Minor Derby Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	2,783.20	5.00	13,916.00
Aerodrome Road	Lower Broughton Road	Minor Derby Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,783.20	8.00	22,265.60
Angel Road	Oval View Road	Drovers Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,316.90	5.00	6,584.50
Angel Road	Abattoirs Road	0.65 km North	Rural Category 2 Sheeted (Average Material) Wearing Surface	655.50	5.00	3,277.50
Angel Road	Abattoirs Road	0.65 km North	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	655.50	6.00	3,933.00
Angel Road	Oval View Road	Drovers Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,316.90	5.50	7,243.00
AP & CA Dallings Lease Road	Barn Hill Road	End	Rural Leased Surface	771.00	4.00	3,084.00
AP & CA Dallings Lease Road	Arbons Lease Road	Barn Hill Road	Rural Leased Surface	1,815.90	4.00	7,263.60
Arbon Holdings Lease Road	Powerline Road	Dalling AP Lease Road	Rural Leased Surface	3,221.20	4.00	12,884.80
Arbon Holdings Lease Road	Torrs Gap Rd	1350m East of Torrs Gap Road	Rural Leased Surface	1,350.00	4.00	5,400.00
Arbon Holdings Lease Road	1350m East of Torrs Gap Road	Powerline Road	Rural Leased Surface	538.80	4.00	2,155.20
Arbon Road	Geoff Cox Road	Yackamoorundie Creek	Rural Category 1 Sheeted (Average Material) Wearing Surface	812.50	7.00	5,687.50
Arbon Road	Yackamoorundie Creek	Narridy Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,214.70	6.00	7,288.20
Arbon Road	Merriton - Nerridy Road	Geoff Cox Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,760.40	7.00	19,322.80
Arbon Road	Farm Driveway at 2200m	Merriton - Nerridy Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	792.60	6.00	4,755.60
Arbon Road	Goyder Highway	Farm Driveway at 2200m	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,191.80	6.00	13,150.80
Arbon Road	Geoff Cox Road	Yackamoorundie Creek	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	812.50	11.00	8,937.50
Arbon Road	Yackamoorundie Creek	Narridy Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,214.70	9.00	
Arbon Road	Merriton - Nerridy Road	Geoff Cox Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,760.40	10.00	27,604.00
Arbon Road	Farm Driveway at 2200m	Merriton - Nerridy Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	792.60	10.00	7,926.00
Arbon Road	Goyder Highway	Farm Driveway at 2200m	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,191.80	10.00	21,918.00
Azile Road	Augusta Highway	Heaslip Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	694.00	6.00	4,164.00
Azile Road	Augusta Highway	Heaslip Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	694.00	6.00	4,164.00
Bains Track	The Bluff Track	Gulf View Track	Rural Road Reserve Surface	4,175.70		
Bairstow Crossing Road	Rackhams Track	Cattle Track	Rural Category 5 Formed Graded Surface	2,261.00	2.00	4,522.00
Bairstow Crossing Road	Martins Rd	Rackhams Track	Rural Category 5 Formed Graded Surface	778.50	4.00	3,114.00
Bairstow Crossing Road	Augusta Highway	Martins Rd	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,201.90	3.00	3,605.70
Bairstow Crossing Road	Augusta Highway	Martins Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,201.90	3.00	
Bakers Lane	Garden Road	End	Rural Category 5 Formed Graded Surface	1,224.00	4.00	4,896.00
Balesfold Lease Road	Clements Gap Road	Farm Driveway 400m North	Rural Leased Surface	401.80	4.00	1,607.20
Barkulla Road	Collinsfield Rd	Council Boundary (South)	Rural Category 5 Formed Graded Surface	2,413.70	4.00	9,654.80
Barkulla Road	River Road	Farm Driveway at 1860m	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,860.20	7.00	
Barkulla Road	Farm Driveway at 1860m	Collinsfield Rd	Rural Category 4 Sheeted (Average Material) Wearing Surface	1,501.30	6.00	9,007.80
Barkulla Road	River Road	Farm Driveway at 1860m	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,860.20	10.00	
Barkulla Road	Farm Driveway at 1860m	Collinsfield Rd	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,501.30	8.00	
Barn Hill Road	Powerline Road	Adey Road	Rural Category 5 Formed Graded Surface	5,779.50		23,118.00
Barnes Road	Clements Gap Road	Council Boundary (West)	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,455.10	7.50	
Barnes Road	Clements Gap Road	Council Boundary (West)	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	2,455.10		25,778.60
Behanna's Road	Wanderah Rd	Sinclair Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	4,356.70	6.00	-,
Behanna's Road	Wanderah Rd	Sinclair Rd	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	4,356.70		52,280.40
Behennas Track	1.9 Km East Of Klau Rd	Harry's Rd	Rural Category 5 Formed Graded Surface	3,317.80	3.00	9,953.40
Behennas Track	1.0 Km East Of Klau Rd	1.9 Km East Of Klau Rd	Rural Category 5 Formed Graded Surface	1,161.90	5.00	5,809.50
Behennas Track	Main Rd	400m NE of Main Rd	Rural Category 5 Formed Graded Surface	403.60	5.00	2,018.00
Behennas Track	Klau Rd	1.0 Km East	Rural Category 4 Sheeted (Average Material) Wearing Surface	465.00	5.50	
Behennas Track	400m NE of Main Rd	Klau's Rd	Rural Category 4 Sheeted (Average Material) Wearing Surface	941.20	5.50	5,176.60

Behennas Track Behennas Track Behenna's Track Behenna's Track Ben Mumfords Road Ben Mumfords Road Bimbadean Road Bimbadean Road Bimbadean Road Binney Road Boundary Road Boundary Road Boundary Fire Track Boundary Road Brook Park Road Brook Park Road Brook Park Road Brook Park Road Brooklyn Road Tothill House	Yacka Rd Koolung Scrub Road 70038 Prown Road Spencer Highway 330m North of Warnertown Road Prown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Poor Material) Wearing Surface Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface	465.00 941.20 1,678.40 917.40 2,235.40 2,235.40 1,894.00 1,712.60 1,712.60 1,712.60 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	8.50 8.50 3.00 4.00 6.00 8.00 4.00 5.00 9.00 4.00 7.00 7.00 9.00 4.00 3.00 5.00	8,000.20 5,035.20 3,669.60 13,412.40 17,883.20 7,576.00 8,563.00 15,413.40 11,364.00 2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 2,990.70 9,944.00
Behenna's Track Ben Mumfords Road Ben Mumfords Road Bimbadean Road Clements Gap Rd Clements Gap Rd Binney Road Cattle Track Binney Road Cattle Track Binney Road Goyder Highway Bob Gale's Rented Road Venning's Rented Roa Bore Road Valley Rd Bottom Road Boundary Fire Track Boundary Fire Track Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Boundary Road Boundary Road Frith Rd Brook Park Road Brook Park Road Brooklyn Road Brooklyn Road Roger Wheatons Brooklyn Road Brooklyn Road Roger Wheatons Brooklyn Road Brooklyn Road Roger Wheatons Brooklyn Road Brooklyn Road Tothill House	Valley Rd River Torrs Gap Rd Torrs Gap Rd Cattle Track Venning Road Venning Road Cattle Track Wyuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary See Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Poor Material) Wearing Surface Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,678.40 917.40 2,235.40 2,235.40 1,894.00 1,712.60 1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	3.00 4.00 6.00 8.000 9.00 6.00 4.00 2.00 7.00 7.00 9.00 4.00	5,035.20 3,669.60 13,412.40 17,883.20 7,576.00 15,413.40 11,364.00 2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70
Ben Mumfords Road Hwy 1 Bimbadean Road Clements Gap Rd Bimbadean Road Goyder Highway Binney Road Cattle Track Binney Road Goyder Highway Binney Road Goyder Highway Binney Road Goyder Highway Bob Gale's Rented Road Venning's Rented Road Bore Road Valley Rd Bottom Road Valley Rd Boundary Fire Track Torrs Gap Rd Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Huddleston Road Boundary Road Frith Rd Brook Park Road Motor Cycle Club Hou Brook Park Road Roger Wheatons Brooklyn Road Roger Wheatons	River Torrs Gap Rd Torrs Gap Rd Cattle Track Venning Road Venning Road Venning Road Cattle Track Wyuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Rocky River Boundary See Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Poor Material) Wearing Surface Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 5 Sheeted (Good Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	917.40 2,235.40 2,235.40 1,894.00 1,712.60 1,712.60 1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	4.00 6.00 8.00 4.00 5.00 6.00 4.00 2.00 4.00 7.00 7.00 9.00 4.00	3,669.60 13,412.40 17,883.20 7,576.00 8,563.00 15,413.40 2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70
Bimbadean Road Clements Gap Rd Bimbadean Road Clements Gap Rd Binney Road Goyder Highway Binney Road Cattle Track Binney Road Goyder Highway Boh Gale's Rented Road Bore Road Bottom Road Boundary Fire Track Boundary Road Bounda	Torrs Gap Rd Torrs Gap Rd Cattle Track Venning Road Venning Road Cattle Track Wyuna Road Vacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Rocky River Boundary Se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 4 Sheeted (Poor Material) Wearing Surface Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,235.40 2,235.40 1,894.00 1,712.60 1,712.60 1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	6.00 8.00 4.00 5.00 9.00 4.00 2.00 4.00 7.00 7.00 9.00 4.00 3.00	13,412.40 17,883.20 7,576.00 8,563.00 15,413.40 2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70
Bimbadean Road Binney Road Binney Road Binney Road Binney Road Binney Road Cattle Track Binney Road Cattle Track Binney Road Boyder Highway Bob Gale's Rented Road Bore Road Bore Road Bottom Road Boundary Fire Track Boundary Fire Track Boundary Road Brook Park Road Brook Park Road Brooklyn Road Brooklyn Road Brooklyn Road Brooklyn Road Brooklyn Road Brooklyn Road Tothill House	Torrs Gap Rd Cattle Track Venning Road Venning Road Venning Road Cattle Track Wyuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Prown Road Rocky River Boundary Se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,235.40 1,894.00 1,712.60 1,712.60 1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	8.00 4.00 5.00 9.00 6.00 4.00 4.00 7.00 7.00 9.00 4.00	17,883.20 7,576.00 8,563.00 15,413.40 5,012.40 2,349.80 20,732.80 3,176.60 2,326.10 2,990.70 9,944.00
Bimbadean Road Binney Road Binney Road Binney Road Binney Road Binney Road Cattle Track Binney Road Binney Road Goyder Highway Binney Road Cattle Track Binney Road Goyder Highway Bob Gale's Rented Road Venning's Rented Roa Bore Road Valley Rd Bottom Road Valley Road Boundary Fire Track Torrs Gap Rd Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Boundary Road Boundary Road Frith Road Brook Park Road Brook Park Road Brooklyn Road Roger Wheatons Brooklyn Road Roger Wheatons Brooklyn Road Brooklyn Road Roger Wheatons Brooklyn Road Roger Wheatons	Torrs Gap Rd Cattle Track Venning Road Venning Road Venning Road Cattle Track Wyuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Prown Road Rocky River Boundary Se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,894.00 1,712.60 1,712.60 1,894.00 1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	4.00 5.00 9.00 6.00 2.00 4.00 7.00 7.00 7.00 9.00 4.00 3.00	7,576.00 8,563.00 15,413.40 11,364.00 2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 2,990.70
Binney Road Binney Road Cattle Track Binney Road Cattle Track Binney Road Cattle Track Binney Road Goyder Highway Cattle Track Binney Road Goyder Highway Bob Gale's Rented Road Venning's Rented Road Bore Road Valley Rd Bottom Road Valley Road Boundary Fire Track Torrs Gap Rd Boundary Road Warnertown Road Frith Road Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	Cattle Track Venning Road Venning Road Venning Road Cattle Track Myuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Prown Road Rocky River Boundary Se Greig Rd Myc Club Rooms Myc Club Rooms Tothills House	Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,894.00 1,712.60 1,712.60 1,894.00 1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	4.00 5.00 9.00 6.00 2.00 4.00 7.00 7.00 7.00 9.00 4.00 3.00	7,576.00 8,563.00 15,413.40 11,364.00 2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 2,990.70 9,944.00
Binney Road Binney Road Cattle Track Binney Road Cattle Track Binney Road Goyder Highway Bob Gale's Rented Road Venning's Rented Roa Bore Road Valley Rd Bottom Road Boundary Fire Track Torrs Gap Rd Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Boundary Road Boundary Road Frith Road Brook Park Road Brook Park Road Brook Park Road Brooklyn Road Brooklyn Road Brooklyn Road Roger Wheatons Brooklyn Road	Venning Road Venning Road Venning Road Cattle Track India Wyuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Rocky River Boundary Se Greig Rd Myc Club Rooms Myc Club Rooms Tothills House	Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,712.60 1,712.60 1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	5.00 9.00 6.00 4.00 4.00 7.00 7.00 7.00 9.00 4.00 3.00	8,563.00 15,413.40 11,364.00 5,012.40 2,349.80 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70 9,944.00
Binney Road Cattle Track Binney Road Goyder Highway Bob Gale's Rented Road Venning's Rented Roa Bore Road Valley Rd Bottom Road Valley Road Boundary Fire Track Torrs Gap Rd Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Huddleston Road Brenda Robinsons Lease Road Huddleston Road Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Roger Wheatons Brooklyn Road Roger Wheatons Brooklyn Road Roger Wheatons	Venning Road Cattle Track Myuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Rocky River Boundary Se Greig Rd Myc Club Rooms M/c Club Rooms Tothills House	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,712.60 1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	9.00 6.00 4.00 2.00 4.00 7.00 7.00 7.00 9.00 4.00 3.00	15,413.40 11,364.00 5,012.40 2,349.80 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70 9,944.00
Binney Road Goyder Highway Bob Gale's Rented Road Venning's Rented Roa Bore Road Valley Rd Bottom Road Valley Road Boundary Fire Track Torrs Gap Rd Boundary Road 480m North of Warne Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Huddleston Road Brenda Robinsons Lease Road Huddleston Road Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Roger Wheatons Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	Cattle Track add Wyuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Rocky River Boundary Se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,894.00 1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	6.00 4.00 2.00 4.00 7.00 7.00 7.00 9.00 4.00 3.00	11,364.00 5,012.40 2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70 9,944.00
Bob Gale's Rented Road Bore Road Valley Rd Bottom Road Valley Road Boundary Fire Track Boundary Road Boundary Road Boundary Road Boundary Road Boundary Road Boundary Road Warnertown Road Boundary Road Warnertown Road Boundary Road Brook Park Road Brook Park Road Brooklyn Road Tothill House	add Wyuna Road Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary Se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,253.10 1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	4.00 2.00 4.00 4.00 7.00 7.00 9.00 4.00 3.00	5,012.40 2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70 9,944.00
Bore Road Valley Rd Bottom Road Valley Road Boundary Fire Track Torrs Gap Rd Boundary Road 480m North of Warne Boundary Road Warnertown Road Broundary Road Warnertown Road Brook Park Road Motor Cycle Club Hou Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	Yacka Rd Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary Se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,174.90 741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	2.00 4.00 4.00 7.00 7.00 7.00 9.00 4.00 3.00	2,349.80 2,965.60 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70 9,944.00
Bottom Road Boundary Fire Track Boundary Road Brenda Robinsons Lease Road Brenda Robinsons Lease Road Brook Park Road Brooklyn Road Tothill House	Koolung Scrub Road 70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary Se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	741.40 5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	4.00 4.00 7.00 7.00 7.00 9.00 4.00 3.00	2,965.60 20,732.80 3,176.60 2,326.10 3,176.60 2,990.70 9,944.00
Boundary Fire Track Boundary Road Brenda Robinsons Lease Road Brenda Robinsons Lease Road Brook Park Road Brooklyn Road	70038 Pertown Road Spencer Highway 330m North of Warnertown Road Pertown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary Se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 5 Formed Graded Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	5,183.20 453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	4.00 7.00 7.00 7.00 9.00 4.00 3.00	20,732.80 3,176.60 2,326.10 3,176.60 2,990.70 9,944.00
Boundary Road 480m North of Warner Boundary Road Warnertown Road Boundary Road 480m North of Warner Boundary Road Warnertown Road Brenda Robinsons Lease Road Huddleston Road Brook Park Road Motor Cycle Club Hou Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	sertown Road Spencer Highway 330m North of Warnertown Road sertown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 5 Formed Graded Surface Rural Category 5 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	453.80 332.30 453.80 332.30 2,486.00 962.90 543.20	7.00 7.00 7.00 9.00 4.00 3.00	3,176.60 2,326.10 3,176.60 2,990.70 9,944.00
Boundary Road Warnertown Road Boundary Road 480m North of Warner Boundary Road Warnertown Road Brenda Robinsons Lease Road Huddleston Road Brook Park Road Motor Cycle Club Hou Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	330m North of Warnertown Road ertown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	332.30 453.80 332.30 2,486.00 962.90 543.20	7.00 7.00 9.00 4.00 3.00	2,326.10 3,176.60 2,990.70 9,944.00
Boundary Road 480m North of Warner Boundary Road Warnertown Road Brenda Robinsons Lease Road Huddleston Road Brook Park Road Motor Cycle Club Hou Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	ertown Road Spencer Highway 330m North of Warnertown Road Rocky River Boundary se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	453.80 332.30 2,486.00 962.90 543.20	7.00 9.00 4.00 3.00	3,176.60 2,990.70 9,944.00
Boundary Road Warnertown Road Brenda Robinsons Lease Road Huddleston Road Brook Park Road Motor Cycle Club Hou Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	330m North of Warnertown Road Rocky River Boundary se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	332.30 2,486.00 962.90 543.20	9.00 4.00 3.00	2,990.70
Brenda Robinsons Lease Road Huddleston Road Brook Park Road Motor Cycle Club Hou Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	Rocky River Boundary se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Leased Surface Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,486.00 962.90 543.20	4.00 3.00	9,944.00
Brook Park Road Motor Cycle Club Hou Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	962.90 543.20	3.00	
Brook Park Road Motor Cycle Club Hou Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	se Greig Rd M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	962.90 543.20	3.00	
Brook Park Road Frith Rd Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	M/c Club Rooms M/c Club Rooms Tothills House	Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	543.20		
Brook Park Road Frith Rd Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	M/c Club Rooms Tothills House	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks		5.00	
Brooklyn Road Roger Wheatons Brooklyn Road Tothill House	Tothills House	- ' ' '		7.00	,
Brooklyn Road Tothill House			2,824.20	3.00	+
•		Rural Category 2 Sheeted (Average Material) Wearing Surface	504.40	6.00	+
	Roger Wheatons	Rural Category 2 Sheeted (Average Material) Wearing Surface Rural Category 3 Sheeted (Average Material) Wearing Surface	1,020.20	5.00	+
Brooklyn Road Ingram Gap Rd Brooklyn Road Ingram Gap Rd	Roger Wheatons	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,020.20	8.00	
			504.40	9.00	
Brooklyn Road Tothill House Bruce Fermes Rented Road Southern Boundary	Augusta Highway Geof Combe's Rented Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks Rural Leased Surface	6,520.20	4.00	
•	I .		1,710.20		
Brysons Road Barnes Rd	Council Boundary	Rural Category 5 Formed Graded Surface		4.00	+
Bungama North Road Lock Road	Gulf View Road	Rural Category 5 Formed Graded Surface	2,584.10	4.00	+
Burfords Track Eulunga Road	Fence On River	Rural Category 5 Formed Graded Surface	2,472.60	3.00	+
Calverts Road 300.m West Of Valley		Rural Category 5 Formed Graded Surface	117.30	2.00	
Calverts Road Harry's Road	300 M West	Rural Category 4 Sheeted (Average Material) Wearing Surface	296.60	5.30	+
Calverts Road Harry's Road	300 M West	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	296.60	8.30	,
Carawatha Road End Of Sheeted 0.8 K	m South Rd Reserve	Rural Category 5 Formed Graded Surface	2,244.00	3.00	6,732.00
Carawatha Road Collinsfield Rd	End Of Sheeted 0.8 Km South	Rural Category 4 Sheeted (Average Material) Wearing Surface	738.50	6.00	4,431.00
Carawatha Road Collinsfield Rd	End Of Sheeted 0.8 Km South	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	738.50	9.00	6,646.50
Carey's Rented Road Talbots Road	John St	Rural Leased Surface	209.00	4.00	836.00
Cattle Track (South Of Redhill) Malycha Lease Road	Collinsfield Road	Rural Category 6 Unformed Surface	2,036.30	4.00	8,145.20
Cattle Track (South Of Redhill) Wheatons Drive East	Malycha Lease Road	Rural Category 5 Formed Graded Surface	3,392.50	4.00	13,570.00
Cattle Track No 2 Collinsfield Rd	Council Boundary	Rural Category 5 Formed Graded Surface	2,435.90	2.00	4,871.80
Cattle Track No 2 Collinsfield Rd	Wheatons Drive East	Rural Category 5 Formed Graded Surface	1,982.10	2.00	3,964.20
Cattle Track No 2 Lines East Road	Sandows East Road	Rural Category 5 Formed Graded Surface	1,188.20	4.00	
Cattle Track Side Track North Of Collinsfield C	I .	Rural Category 5 Formed Graded Surface	352.00	4.00	,
Road Cemetery Road (Redhill) River Rd	Cemetery Gates	Rural Category 3 Sheeted (Good Material) Wearing Surface	629.20	5.60	3,523.50
Cemetery Road (Redhill) River Rd	Cemetery Gates	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	629.20	8.60	+
Cheesman Avenue Lane Cheesman Avenue	South	Rural Category 5 Formed Graded Surface	47.50	4.00	
Church Road Pine Grove Gate	0.7 Km North	Rural Category 2 Sheeted (Poor Material) Wearing Surface	635.60	6.00	1
Church Road Quarry Road	Pine Grove Gate	Rural Category 2 Sheeted (Poor Material) Wearing Surface Rural Category 2 Sheeted (Poor Material) Wearing Surface	575.20	6.00	
Church Road Quarry Road Church Road Hannan's Gate	Quarry Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface Rural Category 2 Sheeted (Poor Material) Wearing Surface	1,164.00	6.00	
	,	- , , , ,			-,
Church Road Tillers Ramp	Hannan's Gate	Rural Category 2 Sheeted (Poor Material) Wearing Surface	640.60	6.00	+
Church Road Augusta Highway	Tillers Ramp	Rural Category 2 Sheeted (Poor Material) Wearing Surface	2,091.20	6.00	
Church Road 1.7 North Of Pine Gro		Rural Category 2 Sheeted (Poor Material) Wearing Surface	1,970.80	6.00	+
Church Road 0.7 Km North Of Pine	Grove Gate 1.7 North Of Pine Grove Gate	Rural Category 2 Sheeted (Poor Material) Wearing Surface	963.60	6.00	5,781.60

Road Name	From	То	Asset Type	Length	Width	Area
Church Road	1.7 North Of Pine Grove Gate	Scenic Drive	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	1,970.80		15,766.40
Church Road	Augusta Highway	Tillers Ramp	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	2,091.20		20,912.00
Church Road	Tillers Ramp	Hannan's Gate	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	640.60	10.00	
Church Road	Hannan's Gate	Quarry Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	1,164.00		11,640.00
Church Road	Quarry Road	Pine Grove Gate	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	575.20	7.50	•
Church Road	Pine Grove Gate	0.7 Km North	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	635.60	7.50	
Church Road	0.7 Km North Of Pine Grove Gate	1.7 North Of Pine Grove Gate	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	963.60	8.00	
Clements Gap Road	4.4 Km N/w Of N/h	Kircheners Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	6,644.80		47,842.60
Clements Gap Road	Kircheners Road	Clements Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,206.90	8.00	
Clements Gap Road	Kircheners Road	Clements Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,206.90		13,275.90
Clements Gap Road	4.4 Km N/w Of N/h	Kircheners Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	6,644.80		66,448.00
Cliffords Road	1.0 Km West Of Kirchener Rd	2.1 Km West Of Kirchener Road	Rural Category 5 Formed Graded Surface	1,151.60	3.00	-, -
Cliffords Road	Kirchener Road	1.0 Km West Of Kirchener Road	Rural Category 5 Formed Graded Surface	932.10	4.00	3,728.40
Cliffords Road	2.1 Km West Of Kirchener Rd	Mundoora School Bus Route	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,056.80	5.50	5,812.40
Cliffords Road	0.8 Km West Of Hannarts Rd	Kirchener Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,063.40	6.00	6,380.40
Cliffords Road	Hannarts Road	0.8 Km West Of Hannarts Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	798.40	5.00	3,992.00
Cliffords Road	Clements Gap Rd	Hannarts Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface	1,290.90	5.00	
Cliffords Road	Clements Gap Rd	Hannarts Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	1,290.90	8.00	10,327.20
Cliffords Road	Hannarts Road	0.8 Km West Of Hannarts Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	798.40	8.00	6,387.20
Cliffords Road	0.8 Km West Of Hannarts Rd	Kirchener Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,063.40	9.00	9,570.60
Cliffords Road	2.1 Km West Of Kirchener Rd	Mundoora School Bus Route	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,056.80	8.50	8,982.80
Clothier Road	Nurom Road	Frith Road	Rural Category 5 Formed Graded Surface	2,500.40	4.00	10,001.60
Clothier Road	Frith Road	1.0 Km To Wandearah Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	992.60	4.50	4,466.70
Clothier Road	1km East Of Frith Road	2.1 Km South To Wandearah Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,093.60	5.50	6,014.80
Clothier Road	2.1km Of Frith Road	Wandearah Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	942.10	5.50	5,181.60
Clothier Road	2.1km Of Frith Road	Wandearah Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	942.10	7.00	6,594.70
Clothier Road	Frith Road	1.0 Km To Wandearah Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	992.60	5.00	4,963.00
Clothier Road	1km East Of Frith Road	2.1 Km South To Wandearah Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,093.60	7.00	7,655.20
Clothiers House Road	Grieg Road	Clothiers House	Rural Road Reserve Surface	232.60	4.00	930.40
Coffee's Lease Road	Collinsfield Rd	Council Boundary	Rural Leased Surface	2,417.00	4.00	9,668.00
Colaby Hill Lease Road	Colaby Hill	End Of Road	Rural Leased Surface	321.20	4.00	1,284.80
Colaby Hill Road	Boundary	Don Young's House	Rural Category 1 Sheeted (Average Material) Wearing Surface	3,403.40	7.00	23,823.80
Colaby Hill Road	Crusher Gate	Augusta Highway	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,121.10	6.50	7,287.20
Colaby Hill Road	Don Young's House	Crusher Gate	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,592.20	6.00	9,553.20
Colaby Hill Road	Crusher Gate	Augusta Highway	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,121.10	9.00	10,089.90
Colaby Hill Road	Boundary	Don Young's House	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	3,403.40	9.50	32,332.30
Colaby Hill Road	Don Young's House	Crusher Gate	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,592.20	9.00	14,329.80
Collinsfield Road	Snowtown Road	Weckert Crn	Rural Category 1 Sheeted (Average Material) Wearing Surface	3,024.50		22,683.80
Collinsfield Road	5.0 Km East Of Hyden Rd	7.3 Km East Of Hyden Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,326.80	7.00	16,287.60
Collinsfield Road	1.7 Km East Of Hyden Rd	2.3km East Of Hyden Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	635.30	7.00	4,447.10
Collinsfield Road	Hwy 1	1.7 Km East of Hyden Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,746.80		13,101.00
Collinsfield Road	Weckert Crn	Reldep Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,498.30		14,989.80
Collinsfield Road	7.3 Km East Of Hyden Road	Snowtown Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,269.00		17,244.40
Collinsfield Road	Reldep Rd	Council Boundary	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,288.50	7.50	•
Collinsfield Road	2.3 Km East Of Hyden Rd	Barkulla Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,586.90		11,901.80
Collinsfield Road	Barkulla Road	5km East Of Hyden Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,156.00	7.00	
Collinsfield Road	Weckert Crn	Reldep Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,498.30		22,484.70
Collinsfield Road	Reldep Rd	Council Boundary	Rural Category 1 Sheeted (Average Fieldship) Lower Base & Earthworks	1,288,50		13,529.30
Collinsfield Road	Snowtown Road	Weckert Crn	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	3,024,50		31,757.30
Collinsfield Road	5.0 Km East Of Hyden Rd	7.3 Km East Of Hyden Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,326.80		23,268.00
Collinsfield Road	1.7 Km East Of Hyden Rd	2.3km East Of Hyden Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	635.30		6,353.00
Collinsfield Road	Hwy 1	1.7 Km East of Hyden Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,746.80		18,341.40
Collinsfield Road	7.3 Km East Of Hyden Road	Snowtown Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,269.00		26,320.40

Road Name	From	То	Asset Type	Length	Width	Area
Collinsfield Road	2.3 Km East Of Hyden Rd	Barkulla Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,586.90	10.50	16,662.50
Collinsfield Road	Barkulla Road	5km East Of Hyden Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,156.00	10.00	11,560.00
Combe Road	Intersection	River Glen Rd	Rural Category 4 Sheeted (Average Material) Wearing Surface	1,511.60	5.00	7,558.00
Combe Road	Augusta Highway (North)	Intersection	Rural Category 4 Sheeted (Average Material) Wearing Surface	1,067.60	5.00	5,338.00
Combe Road	Augusta Highway (North)	Intersection	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,067.60	5.00	5,338.00
Combe Road	Intersection	River Glen Rd	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,511.60	5.00	7,558.00
Combe's Rented Road No 1	Cattle Track	Wyuna Road	Rural Leased Surface	1,024.10	4.00	4,096.40
Combe's Rented Road No 2	Cattle Track	0.400 M .east <gales></gales>	Rural Leased Surface	415.90	4.00	1,663.60
Combe's Rented Road No 3	Cattle Track	0.400 M .east <gales></gales>	Rural Leased Surface	430.10	4.00	1,720.40
Coopers Lease Road	River Road	End Of Sec	Rural Leased Surface	1,239.30	4.00	4,957.20
Copinger Road South	0.200 South Of Afford Road	Magor Road	Rural Category 5 Formed Graded Surface	367.10	4.00	1,468.40
Copinger Road South	Afford Road	Railway Tr.	Rural Category 5 Formed Graded Surface	653.80	3.00	1,961.40
Coultards Road	Clements Gap Rd	Torrs Gap Road	Rural Category 5 Formed Graded Surface	3,699.60	4.00	14,798.40
Council Lease Road	Main Rd	0.1 Km South	Rural Leased Surface	109.60	4.00	438.40
Dalling AP Lease Road No 1	Ingram Gap Rd	0.350 Km North	Rural Leased Surface	385.90	4.00	1,543.60
Dalling AP Lease Road No 2	Ingram Gap Rd	Cemetry	Rural Leased Surface	964.90	4.00	3,859.60
Dalling AP Lease Road No 3	Dalling's South Track	0.1 Km West	Rural Leased Surface	103.20	4.00	412.80
Dalling AP Lease Road No 4	Dalling's South Track	0.4 Km West	Rural Leased Surface	416.00	4.00	
Dalling AP Lease Road No 5	Ingram Gap Rd	1.1 Km North East	Rural Leased Surface	758.20	4.00	
Dalling AP Lease Road No 6	Ingram Gap Rd	0.350 Km North	Rural Leased Surface	355.70	4.00	
Dalling AP Lease Road No 7	Ingram Gap Rd	1.1 Km South	Rural Leased Surface	324.40	4.00	1,297.60
Dallings Sheep Run Road	Mundoora Rd	East Tce	Rural Category 5 Formed Graded Surface	2,457.30	3.00	
Davidson Leased Road	Mumford Rs. & Cs Leased Rd	Clements Gap Road	Rural Leased Surface	1,181.10	4.00	4,724.40
Davidsons Road	Broughton Rd	Augusta Highway	Rural Category 2 Sheeted (Average Material) Wearing Surface	2,079.00	5.50	
Davidsons Road	Broughton Rd	Augusta Highway	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	2,079.00	8.50	17,671.50
Davies Track	Gate	Hills	Rural Category 5 Formed Graded Surface	3,705.30	4.00	
Davis Road	2 Km West Of Pirie Blocks Road	Spencer Highway	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,478.40	6.00	8,870.40
Davis Road	Pirie Blocks Road	To 2 Km West Of Pirie Blocks	Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Poor Material) Wearing Surface	1,993.70	6.00	
Davis Road	File blocks Road	Road	Rulai Category 1 Sheeted (Foor Material) Wearing Surface	1,993.70	6.00	11,902.20
Davis Road	4.2 Km (walsh's Gate)	Pirie Blocks Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	506.50	6.00	3,039.00
Davis Road	Stock Route Road	Heritage Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,708.10	6.00	10,248.60
Davis Road	Garden Road	Old Broughton Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,641.70	5.00	8,208.50
Davis Road	Old Broughton Rd	Lower Broughton Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	3,376.90	5.00	16,884.50
Davis Road	Augusta Highway	Stock Route Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,303.10	6.00	7,818.60
Davis Road	Pirie/ Broughton Rd	Garden Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,322.20	5.00	6,611.00
Davis Road	Lower Broughton Rd	Ti Tree Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	2,414.50	5.00	12,072.50
Davis Road	2.0 Km West	Boat Ramp	Rural Category 1 Sheeted (Average Material) Wearing Surface	599.20	6.00	3,595.20
Davis Road	Wigley's Ramp	2.0 Km West	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,136.20	6.00	12,817.20
Davis Road	Willow Swamp Road	Wigley's Ramp	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,819.50	6.00	10,917.00
Davis Road	1.0 Km West Of Ti Tree Road	Willow Swamp Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,387.30	6.00	14,323.80
Davis Road	Ti Tree Road	1.0 Km West Of Ti Tree Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,008.00	6.00	6,048.00
Davis Road	3.2 Km. West Of Heritage Road	4.2 Km (walsh's Gate)	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	982.70	9.00	8,844.30
Davis Road	1.2 Km West (gate) Of Heritage	3.2 Km. West Of Heritage Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,986.20	9.00	17,875.80
Davis Road	Heritage Road	1.2 Km West Of Heritage Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,176.80	8.00	9,414.40
Davis Road	Stock Route Road	Heritage Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,708.10	10.00	17,081.00
Davis Road	Augusta Highway	Stock Route Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,303.10	9.00	11,727.90
Davis Road	2 Km West Of Pirie Blocks Road	Spencer Highway	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,478.40	9.00	13,305.60
Davis Road	Pirie Blocks Road	To 2 Km West Of Pirie Blocks	Rural Category 1 Sheeted (Poor Material) Lower Base & Earthworks	1,993.70	9.00	17,943.30
Davis Road	4.2 Km (walsh's Gate)	Pirie Blocks Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	506.50	10.00	5,065.00
Davis Road	Pirie/ Broughton Rd	Garden Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,322.20	7.00	9,255.40
Davis Road	Garden Road	Old Broughton Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,641.70	9.00	14,775.30
Davis Road	Old Broughton Rd	Lower Broughton Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	3,376.90	7.00	
Davis Road	Lower Broughton Rd	Ti Tree Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	2,414.50	8.00	19,316.00
Davis Road	1.0 Km West Of Ti Tree Road	Willow Swamp Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,387.30	10.00	
Davis Road	Willow Swamp Road	Wigley's Ramp	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,819.50	10.00	18,195.00
Davis Road	Wigley's Ramp	2.0 Km West	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,136.20	10.00	
Davis Road	2.0 Km West	Boat Ramp	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	599.20	10.00	5,992.00
			The state of the same of the s	333.20	10.00	3,332.00

Road Name	From	То	Asset Type	Length	Width	Area
Davis Road	Ti Tree Road	1.0 Km West Of Ti Tree Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,008.00	10.00	10,080.00
Davis Road	Heritage Road	1.2 Km West Of Heritage Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,176.80	8.00	9,414.40
Davis Road	1.2 Km West (gate) Of Heritage Road	3.2 Km. West Of Heritage Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,986.20	8.00	15,888.00
Davis Road	3.2 Km. West Of Heritage Road	4.2 Km (walsh's Gate)	Rural Category 1 Sheeted (Good Material) Wearing Surface	983.00	9.00	8,847.00
Dead Horse Gully	Nicolsons House	Huddleston Road	Rural Category 6 Unformed Surface	1,414.70	7.00	9,902.90
Dead Horse Gully	Goulter Road	Nicolsons House	Rural Category 4 Sheeted (Good Material) Wearing Surface	284.20	4.50	1,278.90
Dead Horse Gully	Goulter Road	Nicolsons House	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	284.20	7.00	1,989.40
Deep Creek Road	Pirie West Swamp Area		Rural Road Reserve Surface	3,040.40	4.00	12,161.60
Deere's Road	Arbon Ext	Council Boundry	Rural Category 5 Formed Graded Surface	474.10	3.00	1,422.30
Deere's Road	Cattle Track	Arbon Road	Rural Category 5 Formed Graded Surface	2,685.50	2.00	5,371.00
Delamere Road	Davis Road	Milcowie Road	Rural Category 3 Sheeted (Poor Material) Wearing Surface	3,034.70	4.60	13,959.60
Delamere Road	Davis Road	Milcowie Road	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	3,034.70		32,167.80
Devlins Road	Last Section	End Of Section	Rural Category 5 Formed Graded Surface	160.10	4.00	640.40
Diagonal Road	2.0 K. E.of Pirie/ Broughton Rd	2.6 K.e Of Pirie/ Broughton Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface	562.10	5.50	
Diagonal Road	2.6 K. E.of Pirie/ Broughton Rd	3.6 K.e Of Pirie/ Broughton Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface	995.70	5.50	
Diagonal Road	1.0 K. E.of Pirie/ Broughton Rd	2.0 K.e Of Pirie/ Broughton Rd	Rural Category 1 Sheeted (Worldge Haterial) Wearing Surface	994.60	5.50	
Diagonal Road	Spencer Highway	1.0 Km East	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,046.50	5.50	
Diagonal Road	3.6 K. E. Pirie/ Broughton Rd	Senna Road	Rural Category 1 Sheeted (Good Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface	937.40	5.50	
Diagonal Road	2.6 K. E.of Pirie/ Broughton Rd	3.6 K.e Of Pirie/ Broughton Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	937.40	6.50	
Diagonal Road	1.0 K. E.of Pirie/ Broughton Rd	2.0 K.e Of Pirie/ Broughton Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	993.70	7.50	
-	3.6 K. E. Pirie/ Broughton Rd	Senna Road		994.60	7.50	
Diagonal Road			Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	937.40 562.10		
Diagonal Road	2.0 K. E.of Pirie/ Broughton Rd	2.6 K.e Of Pirie/ Broughton Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks		6.00	
Diagonal Road	Spencer Highway	1.0 Km East	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,046.50	7.50	
Dr Wheatons Road	Fork In Rd	T Junction	Rural Category 5 Formed Graded Surface	2,451.90	4.00	
Drovers Road	Cemetrey Road	Abattoirs Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	909.70	5.00	
Drovers Road	Cemetrey Road	Abattoirs Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	909.70	6.00	
Duffield Road	2.9 K E.of Pirie/ Broughton Rd	Wandearah Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,648.70		13,243.50
Duffield Road	Pt Pirie / Pt Broughton	2.9 Km East	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,709.50		13,547.50
Duffield Road	Pt Pirie / Pt Broughton	2.9 Km East	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	2,709.50		24,385.50
Duffield Road	2.9 K E.of Pirie/ Broughton Rd	Wandearah Rd	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	2,648.70		23,838.30
Dunsford Road	Kelly Rd	Lithgows Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	468.20	6.40	2,996.50
Dunsford Road	Smarts Rd	Kelly Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,574.80		10,236.20
Dunsford Road	Smarts Rd	Kelly Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,574.80	9.50	14,960.60
Dunsford Road	Kelly Rd	Lithgows Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	468.20	9.40	4,401.10
Eulunga Road	Unformed	Council Boundary	Rural Category 5 Formed Graded Surface	676.70	4.00	2,706.80
Eulunga Road	Brinkworth Road	Unformed	Rural Category 5 Formed Graded Surface	1,176.30	4.00	4,705.20
Evan's Rented Road No 1	40054	Cattle Track	Rural Leased Surface	2,280.90	3.00	6,842.70
Evan's Rented Road No 2	Walkers Track	Cross Rd	Rural Leased Surface	798.80	4.00	3,195.20
Evan's Rented Road No 3	Rackhams Rented Road	T.junct.	Rural Leased Surface	702.30	4.00	
Evans Tree Road	Rackhams Rented Road	Cattle Track	Rural Category 5 Formed Graded Surface	263.10	2.00	526.20
Exchange Road	Wyeuro Farm Gate	Ti Tree Road	Rural Category 5 Formed Graded Surface	2,507.50		10,030.00
Exchange Road	Spencer Highway	Garden Road	Rural Category 2 Sheeted (Poor Material - Low Service Level) Wearing Surface	3,123.60		15,618.00
Exchange Road	Lower Broughton Road	Wyeuro Farm Gate	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,835.30	5.00	9,176.50
Exchange Road	Wyeuro Road	Lower Broughton Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	392.20	5.00	
Exchange Road	Garden Road	Old Broughton Road	Rural Category 2 Sheeted (Poor Material - Low Service Level) Wearing Surface	2,198.80		10,994.00
Exchange Road	2000m West of Old Broughton	Wyeuro Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	674.90	5.00	3,374.50
Exchange Road	Old Broughton Road	2000m West of Old Broughton	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,026.70	5.00	10,133.50
Exchange Road	Spencer Highway	Road Garden Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	3,123.60	9 00	28,112.40
Exchange Road	Garden Road	Old Broughton Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	2,198.80		19,789.20
Exchange Road Exchange Road	Wyeuro Road	Lower Broughton Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks			3,137.60
		-		392.20 1,835.30		3,137.60
Exchange Road	Lower Broughton Road	Wyeuro Farm Gate	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks			
Exchange Road	Old Broughton Road	2000m West of Old Broughton Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	2,026.70		18,240.30
Exchange Road	2000m West of Old Broughton	Wyeuro Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	674.90	8.00	5,399.20

Road Name	From	То	Asset Type	Length	Width	Area
Farruge's Drive	Abattoirs Road	Farruge's House	Rural Category 4 Sheeted (Good Material) Wearing Surface	370.30	4.00	1,481.20
Farruge's Drive	Abattoirs Road	Farruge's House	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	370.30	7.00	2,592.10
Farruge's Rented Road	Farruge's House	End Of Road	Rural Leased Surface	241.40	4.00	965.60
Fergusons Road	Mumfords Road	3.2 Km East	Rural Category 5 Formed Graded Surface	3,132.00	4.00	12,528.00
Fergusons Road	Augusta Highway	Mumfords Road	Rural Category 5 Formed Graded Surface	1,702.70	3.00	5,108.10
Ferme's Rented Road	Port Pirie / Broughton Road	1.4 Km East	Rural Leased Surface	1,439.60	4.00	5,758.40
Fermes Road	Lines Road East	Narridy Road	Rural Category 5 Formed Graded Surface	921.60	6.00	5,529.60
Fermes Road	Y-junction	End Of Sheeted	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	151.10	9.00	1,359.90
Fermes Road	Arbon Road	Lines Road East	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	862.00	9.00	7,758.00
Fermes Road	Arbon Road	Lines Road East	Rural Category 4 Sheeted (Good Material) Wearing Surface	861.00	7.00	6,027.00
Fermes Road	Y-junction	End Of Sheeted	Rural Category 4 Sheeted (Good Material) Wearing Surface	151.10	9.00	1,359.00
Fidgees Lane	Sandy Lane	End Of Road	Rural Category 5 Formed Graded Surface	1,626.40	4.00	6,505.60
Fifth Street (Warnertown)	Herritage Road	End	Rural Road Reserve Surface	37.90	4.00	151.60
Finnegans Road	Spencer Highway	River Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,109.30	5.00	5,546.50
Finnegans Road	Spencer Highway	River Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,109.30	7.50	8,319.80
Fire Break Track	Base Of Hill	End Of Sec.	Rural Category 5 Formed Graded Surface	3,734.50	4.00	14,938.00
Fire Break Track No 2	Base Of Hill	End Of Sec.	Rural Category 5 Formed Graded Surface	1,415.70	4.00	5,662.80
Fire Track No 3	Scenic Drive	Hills	Rural Category 5 Formed Graded Surface	4,756.10	4.00	19,024.40
First Creek Road	Pirie West Area	End Of Sec.	Rural Road Reserve Surface	4,033.00		16,132.00
First Creek Road	Pirie West Area	End Of Sec.	Rural Road Reserve Surface	3,268.90		13,075.60
Fishermans Creek Road	Abattiors Roads Rented Road	Davis Road	Rural Category 5 Formed Graded Surface	5,309.70		21,238.80
Flinders Street (North)	Quarry Road	North	Rural Category 5 Formed Graded Surface	84.90	4.00	339.60
Floppers Track	Hwy 1	Torrs Gap Rd	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,588.40	3.00	4,765.20
Floppers Track	Hwy 1	Torrs Gap Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,588.40	3.00	4,765.20
Fourth Street East (Warnertown)	Augusta Highway	End Of Road	Rural Category 5 Formed Graded Surface	38.60	4.00	154.40
Freezer Road	2.6 Km West Of Old Broughton	Lower Broughton Road	Rural Category 5 Formed Graded Surface	1,739.20	4.00	6,956.80
	Road	25.1.51 Broughton Road	Tanan Satisgory or office Graded Safface	1,7 39.20	7.00	0,550.00
Freezer Road	Old Broughton Road	1.3 Km West	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,330.10	4.50	5,985.50
Freezer Road	1.3 Km West Of Old Broughton	2.6 Km West Of Old Broughton	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,302.40	4.50	5,860.80
Freezer Road	Road Old Broughton Road	Road 1.3 Km West	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,330.10	g 50	11,305.90
Freezer Road Freezer Road	1.3 Km West Of Old Broughton	2.6 Km West Of Old Broughton	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,302.40		11,305.90
rieezer Rudu	Road Road	Road	Transi Category 5 Streeted (Good Platerial) Lower base & Edithworks	1,302.40	8.50	11,0/0.40
Frith Road	Sargents Rd	Augusta Highway	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,426.40	5.50	7,845.20
Frith Road	Clothier Rd	Sargents Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,162.70		15,138.90
Frith Road	Seidels House Road	Clothier Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,149.20		11,820.60
Frith Road	Senna Road	Seidels House Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,637.70	5.50	
Frith Road	Sargents Rd	Augusta Highway	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,426.40		13,550.80
Frith Road	Clothier Rd	Sargents Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,162.70		20,545.70
Frith Road	Seidels House Road	Clothier Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,149.20		18,268.20
Frith Road	Senna Road	Seidels House Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,637.70		13,920.50
Frith's Lease Road	Frith Road	End Of Road	Rural Leased Surface	369.50	4.00	1,478.00
Gale's Road	Cattle Track	Venning's Rented Road No .2	Rural Category 5 Formed Graded Surface	489.70	4.00	1,958.80
Garden Road	Exchange Road	2.0 Km South	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,879.00	4.00	7,516.00
Garden Road	Davis Road	2.0 Km Sth	Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Average Material) Wearing Surface	1,229.80	4.00	4,919.20
Garden Road	2.0 Km South Of Exchange Road	End Of Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,560.80	4.00	6,243.20
Garden Road	Davis Road	2.0 Km Sth	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,229.80	7.00	8,608.60
Garden Road	Exchange Road	2.0 Km South	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,879.00		14,092.50
Garden Road	2.0 Km South Of Exchange Road	End Of Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,560.80		10,925.60
Garden Road	2.0 Km Sth Of Davis Road	Exchange Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,998.30	4.00	7,993.20
Garden Road	2.0 Km Sth Of Davis Road	Exchange Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,998.30	4.00	7,993.20
Gemini Road	Oaks Road	End Of Sec.	Rural Leased Surface	309.70		1,238.80
Ghost Gully Road	2.3 Km West Of Jones Road	Boundary	Rural Category 5 Formed Graded Surface	1,258.80		10,070.40
Ghost Gully Road	0.75 Km East Of Jones Rd	2.4 Km East Of Jones Rd	Rural Category 4 Sheeted (Average Material) Wearing Surface	1,636.10		10,634.70
Ghost Gully Road	Jones Rd	0.75 East Of Jones Rd	Rural Category 4 Sheeted (Average Material) Wearing Surface	774.10	7.50	
Ghost Gully Road	Valley Rd	Jones Rd	Rural Category 4 Sheeted (Average Material) Wearing Surface	947.20		5,872.60
Ghost Gully Road	1.1km East Of Harry's Road	Valley Rd	Rural Category 3 Sheeted (Average Material) Wearing Surface	589.00		3,239.50
·		1.1 Km East				
Ghost Gully Road	Harry's Rd	II.I VIII EdSL	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,129.20	6.40	7,226.90

Road Name	From	То	Asset Type	Length	Width	Area
Ghost Gully Road	Freemans Gate	Harry's Rd	Rural Category 4 Sheeted (Average Material) Wearing Surface	1,574.10	6.00	9,444.60
Ghost Gully Road	Harry's Rd	1.1 Km East	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,129.20	9.40	10,614.50
Ghost Gully Road	1.1km East Of Harry's Road	Valley Rd	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	589.00	8.50	5,006.50
Ghost Gully Road	Valley Rd	Jones Rd	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	947.20	7.20	6,819.80
Ghost Gully Road	Jones Rd	0.75 East Of Jones Rd	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	774.10	10.50	8,128.10
Ghost Gully Road	0.75 Km East Of Jones Rd	2.4 Km East Of Jones Rd	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,636.10	9.50	15,543.00
Ghost Gully Road	Freemans Gate	Harry's Rd	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,574.10	9.00	14,166.90
Ghost Gully Road	300 M East Of Browns Cr	241 Ghost Gully Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	2,041.20	4.00	8,164.80
Ghost Gully Road	300 M East Of Browns Cr	241 Ghost Gully Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,041.20	4.00	8,164.80
Ghost Gully Road	Main Road	300 m East	Rural Category 4 Sheeted (Good Material) Wearing Surface	355.60	4.00	1,422.40
Ghost Gully Road	Main Road	300 m East	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	355.60	4.00	
Glenburn Road	Wilsons Fire Track	230m East of Cattle Track	Rural Category 1 Sheeted (Average Material) Wearing Surface	3,416.20	7.00	23,913.40
Glenburn Road	Railway Line	Heaslip Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	857.60	7.00	6,003.20
Glenburn Road	Wilsons Fire Track	230m East of Cattle Track	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	3,416.20	11.00	
Glenburn Road	Heaslip Road	Wilsons Fire Track	Rural Category 1 Sheeted (Poor Material) Lower Base & Earthworks	952.90	10.00	9,529.00
Glenburn Road	Railway Line	Heaslip Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	857.60	10.00	
Glenburn Road	Augusta Higway	Railway Line	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,254.30	10.00	
Glenburn Road	Augusta Higway	Railway Line	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,254.30	7.00	8,778.00
Glenburn Road	Heaslip Road	Wilsons Fire Track	3 , , , , , ,	952.90	8.00	7,624.00
			Rural Category 1 Sheeted (Poor Material) Wearing Surface	2,302.00		
Glenroy Homestead Road	Torrs Gap Rd	Glenroy Homestead	Rural Category 5 Formed Graded Surface		6.00	
Glenroy Lease Road	Torrs Gap Rd	End Of Road	Rural Leased Surface	334.80	4.00	1,339.20
Gmc Mahons Track	Freezer Road	End Of Road	Rural Category 5 Formed Graded Surface	1,753.60	4.00	
Goss's Road	Collinsfield Rd	Council Boundary	Rural Category 5 Formed Graded Surface	2,435.40	4.00	9,741.60
Goulter Road	Huddleston Rd	Higgins Rd	Rural Category 5 Formed Graded Surface	713.50	4.00	
Goulter Road	Bowman St Ex	Huddleston Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,352.20	4.00	5,408.80
Goulter Road	Bowman St Ex	Huddleston Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,352.20	6.00	8,113.20
Graemoor Rented Road	Graemoor Rented Road Seg 1	Narridy/merriton Road	Rural Leased Surface	2,663.50	4.00	
Graemoor Rented Road	Ferme's Rented Road	Graemoor Rented Road	Rural Leased Surface	1,588.30	4.00	6,353.20
Graemor Road	Wilkin Rd	Council Boundary (East)	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,581.80	7.00	11,072.60
Graemor Road	1057m East Of Cattle Track	Wilkin Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,233.20	8.00	9,865.60
Graemor Road	Wilkin Rd	Council Boundary (East)	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,581.80	10.00	15,818.00
Graemor Road	1057m East Of Cattle Track	Wilkin Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,233.20	12.00	14,798.40
Greens Lease Road No 1	Collinsfield Rd	60024	Rural Leased Surface	3,809.40	4.00	15,237.60
Greens Lease Road No 2	Cattle Track (South Of Collinsville Road)	0.350 Km East	Rural Leased Surface	348.80	4.00	1,395.20
Greens Lease Road No 2	Cattle Track (South Of Collinsville	0.350 Km East	Rural Leased Surface	351.00	4.00	1,404.00
Greens Road	Pipeline Track	Ingram Gap Rd	Rural Category 5 Formed Graded Surface	1,151.50	2.00	2,303.00
Greens Road	Council Boundary	Pipeline Track	Rural Category 5 Formed Graded Surface	1,039.40	3.00	3,118.20
Greig Road	Roscommon Rd	Clothiers Gate	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,394.70	5.00	6,973.50
Greig Road	Hwy 1 Over Pass	Roscommon Rd	Rural Category 3 Sheeted (Good Material) Wearing Surface	857.70	5.50	
Greig Road	Old Cycle Track Road	Augusta Highway Overpass	Rural Category 3 Sheeted (Good Material) Wearing Surface	2,395,40	5.50	13,174,70
Greig Road	Laffers Road	Old Cycle Track Road	Rural Category 2 Sheeted (Good Haterial) Wearing Surface	218.30	6.00	, -, -
Greig Road	Laffers Road	Old Cycle Track Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	218.30	9.00	
Greig Road	Old Cycle Track Road	Augusta Highway Overpass	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,395.40	9.00	
Greig Road	Hwy 1 Over Pass	Roscommon Rd	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	857.70	7.00	6,003.90
Greig Road	Roscommon Rd	Clothiers Gate	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,394.70	9.00	
Greig Road Side Track	Greig Road	End Of Road	Rural Category 5 Formed Graded Surface	67.00	4.00	268.00
Gulf View Road	Hill View Road	Augusta Highway	Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface	1,689.20	7.00	
				1,948.90		11,693.40
Gulf View Road Gulf View Road	Augusta Highway	North Bungama Road	Rural Category 1 Sheeted (Average Material) Wearing Surface			
	North Bungama Road	Bitumen	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,622.80	10.00	
Gulf View Road	Augusta Highway	North Bungama Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,948.90		19,489.00
Gulf View Road	North Bungama Road	Bitumen	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,618.00	7.00	
Gum Creek Road	Council Boundary	Tothills Road	Rural Category 5 Formed Graded Surface	1,332.50	3.00	
			Rural Category 4 Sheeted (Good Material) Wearing Surface	4,323.00	3.00	12,969.00
Gum Creek Road	Brooklyn	Adey Rd	- , , , , -			
Gum Creek Road Gum Creek Road	Brooklyn	Adey Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	4,323.00	3.00	
Gum Creek Road Gum Creek Road Gum Park Road	Brooklyn 0.7 Km West Of Cattle Track	Adey Rd Martins Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks Rural Category 3 Sheeted (Average Material) Wearing Surface	4,323.00 716.30	3.00 8.00	5,730.40
Gum Creek Road Gum Creek Road	Brooklyn	Adey Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	4,323.00	3.00	5,730.40 5,738.40

Road Name	From	То	Asset Type	Length	Width	Area
Gum Park Road	Cattle Track	End Of Sheeted 0.7 Km West	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	717.30	11.00	7,890.30
Gum Road	House	0.302 Km West	Rural Road Reserve Surface	291.10	4.00	1,164.40
Gum Road	End Of Road Lease	Lease Road	Rural Category 5 Formed Graded Surface	987.00	4.00	
Gum Road	Muster Drive	House	Rural Category 4 Sheeted (Good Material) Wearing Surface	318.60	4.00	
Gum Road	Muster Drive	House	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	318.60	7.00	2,230.20
Gum Tree Drive	Pt Davis Road	Senate Road	Rural Category 5 Formed Graded Surface	1,698.70	6.00	10,192.20
Hannarts Road	Cliffords Crn Rd	Torrs Gap Rd	Rural Category 5 Formed Graded Surface	2,650.10	3.00	
Happy Heads Rented Road	Wilkins Highway	Heads Road	Rural Leased Surface	1,528.70	4.00	6,114.80
Harry's Road	Fullers House Road	Valley Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	980.20	7.00	6,861.40
Harry's Road	1.3 Km South Of Ghost Gully Rd	Fullers House Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	2,232.80	6.00	13,396.80
Harry's Road	Fullers House Road	Valley Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	980.20	10.00	9,802.00
Harry's Road	1.3 Km South Of Ghost Gully Rd	Fullers House Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	2,232.80	9.00	20,095.20
Harry's Road	Mallee Grove Road	Smarts Rd	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	571.50	9.00	5,143.50
Harry's Road	Mallee Grove Road	Smarts Rd	Rural Category 3 Sheeted (Good Material) Wearing Surface	572.00	7.00	4,004.00
Harry's Road	Mallee Grove Road	Ghost Gully Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	3,888.00	7.00	27,216.00
Harry's Road	Mallee Grove Road	Ghost Gully Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	3,888.50	9.00	34,996.50
Hatters Road	2.3 Km East Hatters Road	Wilkins Highway	Rural Category 4 Sheeted (Poor Material) Wearing Surface	2,117.60	4.00	8,470.40
Hatters Road	Hyw 1	2.3 Km East	Rural Category 4 Sheeted (Average Material) Wearing Surface	2,545.30	4.00	10,181.20
Hatters Road	Hyw 1	2.3 Km East	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	2,545.30	5.00	12,726.50
Hatters Road	2.3 Km East Hatters Road	Wilkins Highway	Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks	2,117.60	6.50	,
Hayes Road	1.06 Km South Of Jones Road	Junction	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,012.80	7.00	
Hayes Road	End Of Formed 0.5 Km South Of Jones Road	1.06 Km South Of Jones Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface	308.70	6.00	,
Hayes Road	Junction	Edey Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	997.40	6.30	6,283.60
Hayes Road	Jones Rd	End Of Formed 0.5 Km Sth Of Jones Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	593.60	7.00	4,155.20
Hayes Road	Torrs Gap Rd	Jones Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,320.00	8.00	10,560.00
Hayes Road	Torrs Gap Rd	Jones Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,320.00	11.00	14,520.00
Hayes Road	Jones Rd	End Of Formed 0.5 Km Sth Of Jones Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	593.60	10.00	5,936.00
Hayes Road	End Of Formed 0.5 Km South Of Jones Road	1.06 Km South Of Jones Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	308.70	9.00	2,778.30
Hayes Road	1.06 Km South Of Jones Road	Junction	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,012.80	10.00	10,128.00
Hayes Road	Junction	Edey Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	997.40	8.30	8,278.40
Heads Pipe Line Road	Heads Road (north)	Heads Road (south)	Rural Category 6 Unformed Surface	3,832.80	4.00	15,331.20
Heads Road	Heads Pipe Line Road	Huddlestone Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,100.90	4.50	4,954.10
Heads Road	1.2 Km South Of Heads House	Heads Pipe Line Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,716.40	4.00	6,865.60
Heads Road	Heads Driveway	1.2 Km South	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,287.70	4.00	5,150.80
Heads Road	4 Way Junction	Heads Driveway	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,417.30	4.50	6,377.90
Heads Road	Wilkins Highway	4 Way Junction	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,754.80	5.00	8,774.00
Heads Road	Heads Driveway	1.2 Km South	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,287.70	6.00	7,726.20
Heads Road	Wilkins Highway	4 Way Junction	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,754.80	8.00	14,038.40
Heads Road	4 Way Junction	Heads Driveway	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,417.30	6.00	8,503.80
Heads Road	1.2 Km South Of Heads House	Heads Pipe Line Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,716.40	6.00	10,298.40
Heads Road	Heads Pipe Line Road	Huddlestone Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,100.90	7.00	
Heads White Hill Road	Huddleston Road	Council Boundary (East)	Rural Category 3 Sheeted (Average Material) Wearing Surface	342.10	5.00	,
Heads White Hill Road	Huddleston Road	Council Boundary (East)	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	342.10	8.00	
Heaslip Road	Merriton/narridy	Augusta Highway	Rural Category 2 Sheeted (Average Material) Wearing Surface	3,562.50	6.00	,
Heaslip Road	Merriton/narridy	Augusta Highway	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	3,562.50	8.00	
Heaslips Track	Wilkins Highway	4 Way Junction	Rural Category 5 Formed Graded Surface	742.50	4.00	2,970.00
Heatherdale Road	Cattle Track	John Kircheners Dirt Track	Rural Category 5 Formed Graded Surface	1,852.30	3.00	5,556.90
Heatherdale Road	Kirchener's Dirt Track	1.00 Km East	Rural Category 5 Formed Graded Surface	1,022.10	3.00	3,066.30
Heatherdale Road	1.00 Km East Of Kircheners Road	Goyder Highway	Rural Category 4 Sheeted (Poor Material) Wearing Surface	562.70	5.50	3,094.90
Heatherdale Road	1.00 Km East Of Kircheners Road	Goyder Highway	Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks	562.70	8.50	4,783.00
Heritage Lane	Herritage Road	Herritage Road	Rural Category 5 Formed Graded Surface	296.90	4.00	1,187.60
Heritage Road	1020m South	Davis Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,226.70	5.00	6,133.50

Storms Sand	Road Name	From	То	Asset Type	Length	Width	Area
Freetrigs Road 100m South 100m So	Heritage Road	End Of Seal	350m South	Rural Category 2 Sheeted (Average Material) Wearing Surface	347.80	5.00	1,739.00
Exercision Road 120m South	Heritage Road	End Of Seal	350m South	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	347.80	7.00	2,434.60
Separat Rid	Heritage Road	350m South	1020m South	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	672.40	7.00	4,706.80
### State Privacy ### State Pr	Heritage Road	1020m South	Davis Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,226.70	7.00	8,586.90
Selection Chrise	Higgins Road	Sheeted Rd	Goulter Rd	Rural Category 5 Formed Graded Surface	898.40	4.00	3,593.60
Internation Service Drive Science Drive Nobel's Elsause Survice Drive Nobel's Elsause Survice Drive Nobel's Elsause Survice Drive Nobel's Elsause Survice Drive Survice Drive Driv	Historic Drive	Noble's House	Ruin (end Of Track)	Rural Category 5 Formed Graded Surface	952.20	5.00	4,761.00
Internation Promotion Service Drove Nombrie's Houses Aura Category 3 Sheeted (Good Paterial) (Journ Base 1 Earthworks 1,987.40 6.509 9,018.5.10	Historic Drive	Ruin	Geof Turners Lease	Rural Category 5 Formed Graded Surface	2,474.30	5.00	12,371.50
International North South North South North South North South North South North South So	Historic Drive	Scenic Drive	Noble's House	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,387.40	4.50	6,243.30
Find Prison Pr	Historic Drive	Scenic Drive	Noble's House	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,387.40	6.50	9,018.10
Profest Cape Noad Nursione Boundam Road Coursel Boundary (South) Nursel Category 1 Presented (Good Meleneral) (weer Base & Enthworks 2,660.70 7.00 18,931.60 1,000.70 1,0	Honeymoon Ranch Road	North South Road	End Of Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,993.10	6.00	11,958.60
Nemos Cap Missol	Honeymoon Ranch Road	North South Road	End Of Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,993.10	8.00	15,944.80
Number 2,6 km Sh O Wanderin Road 2,6 km Sh O Wanderin Road 3,773.66	Hope Gap Road	Mundoora Boundar Road	Council Boundary (South)	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,690.70	7.00	18,834.90
Number Sood Wondersh Red 0.55 M South Sural Category 3 Sheeted (Good Maternal) Wearing Surface 5,140 M 2,069-50 M 1,145 M 2,069-50 M 1,145 M 2,069-50 M 2,0	Hope Gap Road	Mundoora Boundar Road	Council Boundary (South)	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,690.70	10.00	26,907.00
Filtred Food 2,6 km Shth Of Wandersh Road 0,55 M South Of Wandersh Road 1,6 km Sht Of Wandersh Road 1,5 km Sht Of Wandersh Road 1,5 km Sht Of Wandersh Road 2,6 km Sht Of Wandersh Road 3,6 km Sht	Hunts Road	2.6 Km Sth Of Wanderah Road	Sinclairs Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,443.40	4.00	5,773.60
Finds 2,6 km Sh0 of Wandersh Road 0,55 km South Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,144,24 7,00 3,727.00	Hunts Road	Wanderah Rd	0.55 M South		517.40	4.00	2,069.60
Hunts Road	Hunts Road	2.6 Km Sth Of Wanderah Road	Sinclairs Road		1,443.40	5.00	7,217.00
Principle Content Co	Hunts Road		I .	3 /			
#units Road	Hunts Road	0.55 M South Of Wandearah Road	1.6 Km Sth Of Wanderah Road	- , , ,	1,000.00		
Hurst Road					·		
Funds Road	Hunts Road	0.55 M South Of Wandearah Road	1.6 Km Sth Of Wanderah Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	•	4.00	4,000.00
Number Send	Hunts Road	1.6 Km Sth Of Wanderah Road	2.6 Km Sth Of Wanderah Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	979.20	4.00	3,916.80
Strollers Rd	Hunts Road	1.6 Km Sth Of Wanderah Road	2.6 Km Sth Of Wanderah Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	979.20	4.00	3,916.80
Hydon Road	Hunts Road	Sinclairs Rd	Schullers Rd	Rural Category 3 Sheeted (Poor Material) Wearing Surface	4,192.60	4.00	16,770.40
Nydon Road	Hunts Road	Sinclairs Rd	Schullers Rd	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	4,192.60	6.00	25,155.60
Invision Road	Hydon Road	Collinsfield Rd	2.85 Km South (boundary)	Rural Category 5 Formed Graded Surface	2,430.90	6.00	0.00
Invision Road	Hydon Road	Adey Road East	Wheatons Road East	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,997.70	6.50	12,985.10
Nedon Road	Hydon Road	Cross Rd	Collinsfield Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,815.90	7.00	12,711.30
Hydon Road	Hydon Road	End of Seal	Cross Rd	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	2,606.70	11.50	29,977.10
Hydon Road	Hydon Road	Adey Road East	Wheatons Road East	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,997.70	9.50	18,978.20
Frith Road	Hydon Road	Cross Rd	Collinsfield Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,815.90	10.00	18,159.00
Impleside Rented Road Mallee Road Ex. Lakes Road Rural Leased Surface 7,084.40 4,00 28,337.60	Hydon Road	End of Seal	Cross Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,600.00	7.00	18,200.00
Ingleside's Magazine Rented Road	Ian Seidels House Road	Frith Road	End Of Road	Rural Category 5 Formed Graded Surface	598.60	6.00	3,591.60
Ingleside's Rented Road	Ingleside Rented Road	Mallee Road Ex.	Lakes Road	Rural Leased Surface	7,084.40	4.00	28,337.60
Englis Consumed Road	Ingleside's Magazine Rented Road	Ingleside Rented Beach Road	End Of Magazine Road	Rural Leased Surface	1,776.30	4.00	7,105.20
Inglis House Driveway Schullers Road Rural Category 2 Sheeted (Good Material) Wearing Surface 1,084.80 6.00 6,508.80	Ingleside's Rented Road	Ferme's Rented Road	Mitchells Rented Road	Rural Leased Surface	7,563.40	4.00	30,253.60
Inglis House Driveway Schullers Road Rural Category 2 Sheeted (Good Material) Wearing Surface 1,084.80 6.00 6,508.80	Inglis Consumed Road	Schullers Road	End Of Sec.	Rural Category 5 Formed Graded Surface	1,073.60	4.00	4,294.40
Inglis Road Sinclair Road Inglis House Driveway Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks 3,049.20 12.00 36,590.40 Inglis Road Inglis House Driveway Schullers Road Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks 1,084.80 10.00 10,484.00 Ianz Road R.f.f.incholls Rd Talbots Rd Rural Category 4 Sheeted (Foor Material) Lower Base & Earthworks 582.20 4.50 2,619.90 Ianz Road R.f.nicholls Rd Talbots Rd Rural Category 4 Sheeted (Foor Material) Lower Base & Earthworks 582.20 4.50 2,619.90 Ianz Road R.f.nicholls Rd Talbots Rd Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks 582.20 5.00 2,911.00 Ianz Road Inmy Richard's House Road Inmy Richard's House Road Inmy Richard's House Road Inmy Richard's Ammentary Sheeted Road Inmy Richard's Road Sandow Road Rural Category 5 Formed Graded Surface 1,220.60 4.00 4,882.40 Immy Richard's Road Road Inmy Richard's Road Road Road Road Road Road Road Road	Inglis Road	Inglis House Driveway	Schullers Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,084.80	6.00	6,508.80
Inglis Road Inglis House Driveway Schullers Road Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks 1,084.80 10.00 10,848.	Inglis Road	Sinclair Road	Inglis House Driveway	Rural Category 2 Sheeted (Average Material) Wearing Surface	3,049.20	6.00	18,295.20
Inglis Road Inglis House Driveway Schullers Road Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks 1,084.80 10.00 10,848.	Inglis Road	Sinclair Road	Inglis House Driveway	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	3,049.20	12.00	36,590.40
Park Road R.f.nicholls Rd Talbots Rd Rural Category 4 Sheeted (Poor Material) Wearing Surface 582.20 4.50 2,619.90	Inglis Road					10.00	
R.f.nicholls Rd Talbots Rd Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks 582.20 5.00 2,911.0	Janz Road	R.f.nicholls Rd	Talbots Rd		582.20	4.50	2,619.90
Dimmy Richards's Rented Road Marks Road Sandow Road Rural Leased Surface 2,517.10 4.00 10,068.40 Dimmy 8 Mumfords Back Road Old Chain Road Cattle Track Rural Road Reserve Surface 347.90 2.00 695.80 Monk Kirchener's Dirt Track Binney Rd Heatherdale Rd Rural Road Reserve Surface 1,702.70 4.00 6,810.80 Dinn Street (Crystal Brook) West Terrace End Rural Category 1 Sheeted (Good Material) Wearing Surface 458.70 12.00 5,504.40 Dinnes Road (Koolunga) Shipway Road Ghost Gully Rd Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks 458.70 12.00 5,504.40 Dinnes Road (Koolunga) Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Average Material) Wearing Surface 1,338.50 6.50 8,700.30 Dinnes Road (Koolunga) Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks 1,338.50 6.50 8,700.30 Dinnes Road (Koolunga) Yacka Road 500m North of Yacka Road Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 500.00 8.40 4,200.00 Dinnes Road (Koolunga) Yacka Road 500m North of Yacka Road Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 500.00 5.40 4,200.00 Dinnes Road (Koolunga) Yacka Road 500m North of Yacka Road Rural Category 3 Sheeted (Poor Material) Wearing Surface 500.00 5.40 4,200.00 Dinnes Road (Koolunga) Soom North Yacka Road Shipway Road Rural Category 3 Sheeted (Poor Material) Wearing Surface 500.00 5.40 4,200.00 Dinnes Road (Koolunga) 500m North of Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Wearing Surface 500.00 5.40 4,800.00 Dinnes Road (Koolunga) 500m North of Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Wearing Surface 500.00 5.40 4,800.00 Dinnes Road (Redhill) End Of Formed 0.25 Km West Ray Hayes Road Junction Rural Category 5 Formed Graded Surface 500.00 5.00 5.00 5.00 5.00 5.00 5.00 5	Janz Road	R.f.nicholls Rd	Talbots Rd		582.20	5.00	2,911.00
Dimmy Richards's Rented Road Marks Road Sandow Road Rural Leased Surface 2,517.10 4.00 10,068.40 Dimmy 8 Mumfords Back Road Old Chain Road Cattle Track Rural Road Reserve Surface 347.90 2.00 695.80 10hn Kirchener's Dirt Track Binney Rd Heatherdale Rd Rural Road Reserve Surface 1,702.70 4.00 6,810.80 10hn Street (Crystal Brook) West Terrace End Rural Category 1 Sheeted (Good Material) Wearing Surface 458.70 12.00 5,504.40 10hn Street (Crystal Brook) West Terrace End Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks 458.70 12.00 5,504.40 10hn Street (Crystal Brook) West Terrace End Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks 458.70 12.00 5,504.40 10hn Street (Crystal Brook) West Terrace End Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks 458.70 12.00 5,504.40 10hn Street (Crystal Brook) West Terrace End Rural Category 3 Sheeted (Average Material) Wearing Surface 1,620.00 5.00 0.00 10hn Street (Koolunga) Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Average Material) Wearing Surface 1,338.50 6.50 8,700.15 0.00 10hn Street (Crystal Brook) Walley Rd Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks 1,338.50 6.50 8,700.15 0.00 10hn Street (Crystal Brook) Walley Rd Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 500.00 8.40 4,200.00 10hn Street (Crystal Brook) Walley Rd Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 500.00 5.40 2,700.00 10hn Street (Crystal Brook) Walley Rd Rural Category 3 Sheeted (Good Material) Wearing Surface 500.00 5.40 4,200.00 10hn Street (Crystal Brook) Rural Category 3 Sheeted (Good Material) Wearing Surface 500.00 5.40 4,800.00 10hn Street (Crystal Brook) Rural Category 5 Formed Graded Surface 500.00 5.00 17,502.00 10hn Street (Crystal Brook) Rural Category 5 Formed Graded Surface 500.00 5.00 5.00 5.00 5.00 5.00 5.00 5	Jimmy Richard's House Road	Lines Rd	Sandow Road	Rural Category 5 Formed Graded Surface	1,220.60	4.00	4,882.40
Dohn Kirchener's Dirt Track Dohn Kirchener's Dirt Track Dohn Street (Crystal Brook) Do	Jimmy Richards's Rented Road	Marks Road	Sandow Road	Rural Leased Surface	2,517.10	4.00	10,068.40
John Street (Crystal Brook) John Street (Good Material) Jo	Jimmy's & Mumfords Back Road	Old Chain Road	Cattle Track	Rural Road Reserve Surface	347.90	2.00	695.80
John Street (Crystal Brook) West Terrace End Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks Shipway Road Ghost Gully Rd Rural Category 5 Formed Graded Surface 1,620.00 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Average Material) Wearing Surface 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Foor Material) Lower Base & Earthworks 1,338.50 Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 Ghost Gully Rd Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 Ghost Gully Rd Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 Ghost Gully Rd Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 Ghost Gully Rd Rural Category 3 Formed Graded Surface 2,917.00 Ghost Gully Rd Rural Category 5 Formed Graded Surface 2,917.00 Ghost Gully Rd Rural Category 5 Formed Graded Surface 2,917.00 Rural Category 5 Formed Graded Surface	John Kirchener's Dirt Track	Binney Rd	Heatherdale Rd	Rural Road Reserve Surface	1,702.70	4.00	6,810.80
Shipway Road Ghost Gully Rd Rural Category 5 Formed Graded Surface 1,620.00 5.00 0.00 0.00 0.00 0.00 0.00 0.00	John Street (Crystal Brook)	West Terrace	End	Rural Category 1 Sheeted (Good Material) Wearing Surface	458.70	8.00	3,669.60
Shipway Road Ghost Gully Rd Rural Category 5 Formed Graded Surface 1,620.00 5.00 0.00 0.00 0.00 0.00 0.00 0.00	John Street (Crystal Brook)						
Sones Road (Koolunga) Ghost Gully Rd Valley Rd Valley Rd Rural Category 3 Sheeted (Average Material) Wearing Surface 1,338.50 6.50 8,700.30 Rones Road (Koolunga) Ghost Gully Rd Valley Rd Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks 1,338.50 9.50 12,715.80 Rones Road (Koolunga) Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 500.00 8.40 4,200.00 Rones Road (Koolunga) Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 500.00 8.40 4,200.00 Rones Road (Koolunga) Som North of Yacka Road Shipway Road Rural Category 3 Sheeted (Poor Material) Wearing Surface 500.00 Rones Road (Koolunga) Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 Rones Road (Koolunga) Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 Rones Road (Roolunga) Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 2,917.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 2,917.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 2,917.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 2,917.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 2,917.00 Rural Category 3 Sheeted (Good Material) Wearing Surface 2,917.00 Rural Category 5 Formed Graded Surface	Jones Road (Koolunga)			- , , , ,			
Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks 1,338.50 9.50 12,715.80 (Inches Road (Koolunga)) Yacka Road 500m North of Yacka Road Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 500.00 8.40 4,200.00 (Inches Road (Koolunga)) Yacka Road 500m North of Yacka Road Rural Category 3 Sheeted (Poor Material) Wearing Surface 500.00 5.40 2,700.00 (Inches Road (Koolunga)) S00m North Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Wearing Surface 500.00 5.40 2,700.00 (Inches Road (Koolunga)) S00m North of Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 4.00 4,800.00 (Inches Road (Koolunga)) S00m North of Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 4.00 4,800.00 (Inches Road (Redhill)) End Of Rd At Property Coultards Road Rural Category 5 Formed Graded Surface 2,917.00 6.00 17,502.00 (Inches Road (Redhill)) End Of Formed 0.25 Km West Ray Hayes Road Junction Rural Category 5 Formed Graded Surface 272.40 4.00 1,089.60	Jones Road (Koolunga)						
Jones Road (Koolunga) Yacka Road 500m North of Yacka Road Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks 500.00 8.40 4,200.00 glones Road (Koolunga) Yacka Road 500m North of Yacka Road Rural Category 3 Sheeted (Poor Material) Wearing Surface 500.00 5.40 2,700.00 glones Road (Koolunga) 500m North Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 4.00 4,800.00 glones Road (Koolunga) 500m North of Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 4.00 4,800.00 glones Road (Redhill) End Of Rd At Property Coultards Road Rural Category 5 Formed Graded Surface 2,917.00 6.00 17,502.00 glones Road (Redhill) End Of Formed 0.25 Km West Ray Hayes Road Junction Rural Category 5 Formed Graded Surface 272.40 4.00 1,089.60	Jones Road (Koolunga)		1 -				
Jones Road (Koolunga) Yacka Road Som North of Yacka Road Shipway Road Rural Category 3 Sheeted (Poor Material) Wearing Surface 500.00 5.40 2,700.00 5.40 2,700.00 5.40 2,700.00 5.40 2,700.00 5.40 4,800.00 5.40 4,800.00 5.40 4,800.00 5.40 4,800.00 5.40 4,800.00 5.40	Jones Road (Koolunga)	•					
Jones Road (Koolunga) 500m North Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Wearing Surface 1,200.00 4.00 4,800.00 dones Road (Koolunga) 500m North of Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 4.00 4,800.00 dones Road (Redhill) End Of Rd At Property Coultards Road Rural Category 5 Formed Graded Surface 2,917.00 6.00 17,502.00 dones Road (Redhill) End Of Formed 0.25 Km West Ray Hayes Road Junction Rural Category 5 Formed Graded Surface 272.40 4.00 1,089.60	Jones Road (Koolunga)			- ' '			
Dones Road (Koolunga) 500m North of Yacka Road Shipway Road Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks 1,200.00 4.00 4,800.00 Dones Road (Redhill) End Of Rd At Property Coultards Road Rural Category 5 Formed Graded Surface 2,917.00 6.00 17,502.00 Dones Road (Redhill) End Of Formed 0.25 Km West Ray Hayes Road Junction Rural Category 5 Formed Graded Surface 272.40 4.00 1,089.60	Jones Road (Koolunga)			-			
Jones Road (Redhill) End Of Rd At Property Coultards Road Rural Category 5 Formed Graded Surface 2,917.00 6.00 17,502.00 Jones Road (Redhill) End Of Formed 0.25 Km West Ray Hayes Road Junction Rural Category 5 Formed Graded Surface 272.40 4.00 1,089.60	, -,						
Jones Road (Redhill) End Of Formed 0.25 Km West Ray Hayes Road Junction Rural Category 5 Formed Graded Surface 272.40 4.00 1,089.60	Jones Road (Redhill)				· · · · · · · · · · · · · · · · · · ·		
	Jones Road (Redhill)				· · · · · · · · · · · · · · · · · · ·		
	Jones Road (Redhill)						

Road Name	From	То	Asset Type	Length	Width	Area
Jones Road (Redhill)	Ray Hayes Road Junction	End Of Rd At Property	Rural Category 4 Sheeted (Poor Material) Wearing Surface	1,258.30	6.00	7,549.80
Jones Road (Redhill)	Ray Hayes Road Junction	End Of Rd At Property	Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks	1,258.30	9.00	11,324.70
Joyce Road	Heritage Road	Maywald Road	Rural Category 3 Sheeted (Poor Material) Wearing Surface	144.80	3.00	434.40
Joyce Road	Heritage Road	Maywald Road	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	144.80	3.00	434.40
Keili Cemetry Road	Ingram Gap Road	Cemetry	Rural Category 4 Sheeted (Average Material) Wearing Surface	577.00	5.00	2,885.00
Keili Cemetry Road	Ingram Gap Road	Cemetry	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	577.00	5.00	2,885.00
Kelly Road	Walkers Track	Dunsfords Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	2,314.10	7.50	17,355.80
Kelly Road	Dunsford Rd	2.5 Km To Council Boundary	Rural Category 2 Sheeted (Average Material) Wearing Surface	2,529.10	8.50	21,497.40
Kelly Road	0.9 Km Nth Of Pengilly's Rd	Walkers Track	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,017.70	7.00	7,123.90
Kelly Road	Pengilly's Road	0.900 Km Nth Of Pengilly's Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	873.30	7.00	6,113.10
Kelly Road	Mumfords Crn	Pengilly's Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,024.80	6.00	12,148.80
Kelly Road	Dunsford Rd	2.5 Km To Council Boundary	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	2,529.10	11.50	29,084.70
Kelly Road	Mumfords Crn	Pengilly's Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	2,024.80	10.00	20,248.00
Kelly Road	Pengilly's Road	0.900 Km Nth Of Pengilly's Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	873.30	10.00	8,733.00
Kelly Road	0.9 Km Nth Of Pengilly's Rd	Walkers Track	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,017.70	10.00	10,177.00
Kelly Road	Walkers Track	Dunsfords Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	2,314.10	10.50	24,298.10
Kerley's Crossing Road	North Side Of Creek	South Side Of Creek	Rural Category 5 Formed Graded Surface	283.30	4.00	1,133.20
Kerley's Crossing Road	Browns Crn	Creek	Rural Category 5 Formed Graded Surface	882.20	4.00	3,528.80
Kerley's Crossing Road	South Side Of Creek	Gate	Rural Category 5 Formed Graded Surface	194.60	3.00	583.80
Kerley's Crossing Road	Gate	River Road	Rural Category 4 Sheeted (Average Material) Wearing Surface	724.00	4.50	3,258.00
Kerley's Crossing Road	Gate	River Road	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	724.00	7.50	5,430.00
Kingston Road	700m West	End Of Track	Rural Category 6 Unformed Surface	5,843.70	4.00	
Kirchener Road	Kircheners House	Cliffords Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	573.50	6.20	3,555.70
Kirchener Road	1.4 Km South Of Clements Gap	Kircheners House	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,613.10	6.00	9,678.60
Kirchener Road	Clements Gap Rd	1.45 Km South	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,467.70	6.50	9,540.10
Kirchener Road	Merriton / Pt Broughton Rd	Clements Gap Rd	Rural Category 2 Sheeted (Poor Material) Wearing Surface	1,348.00	5.20	7,009.60
Kirchener Road	Merriton / Pt Broughton Rd	Clements Gap Rd	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	1,348.00	8.20	
Kirchener Road	Clements Gap Rd	1.45 Km South	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,467.70	9.50	
Kirchener Road	1.4 Km South Of Clements Gap	Kircheners House	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,613.10	9.00	
Kirchener Road	Kircheners House	Cliffords Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	573.50	9.20	5,276.20
Kitchener Road	Lamm St	Sewerage Pond	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,549.70	4.00	
Kitchener Road	Lamm St	Sewerage Pond	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,549.70	6.00	.,
Klau's Rented Road	Klau's Road	End Of Section	Rural Leased Surface	512.80	4.00	
Klau's Road	Klau's House Road	Mallee Grove Road	Rural Category 5 Formed Graded Surface	2,054.00	7.00	
Klau's Road	Kelly Rd	End Of Sheeted	Rural Category 2 Sheeted (Average Material) Wearing Surface	183.90	7.00	1,287.30
Klau's Road	1.1km North Of Kool/redhill Rd	Klau's House Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	789.90	6.00	
Klau's Road	0.9 Km North Of Kool/redhill Rd	1.1km North Of Kool/redhill Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	323.40	6.00	1,940.40
Klau's Road	Redhill / Koolunga Road	0.9 Km North	Rural Category 2 Sheeted (Good Material) Wearing Surface Rural Category 2 Sheeted (Average Material) Wearing Surface	880.00	6.00	5,280.00
Klau's Road	Kelly Road	3.4 Km North	Rural Category 2 Sheeted (Poor Material) - Low Service Level) Wearing Surface	3,219.20	6.00	19,315.20
Klau's Road	Mallee Grove Road	Smarts Rd	Rural Category 4 Sheeted (Good Material) Wearing Surface	2,417.50	7.00	16,922.50
Klau's Road	Redhill / Koolunga Road	0.9 Km North	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	880.00	7.00	6,160.00
Klau's Road	0.9 Km North Of Kool/redhill Rd	1.1km North Of Kool/redhill Rd	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	323.40	7.00	2,263.80
Klau's Road	1.1km North Of Kool/redhill Rd	Klau's House Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	789.90	7.00	5,529.30
Klau's Road	Kelly Rd	End Of Sheeted	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	183.90	10.00	1,839.00
Klau's Road	Kelly Road	3.4 Km North	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	3,219.20	9.00	28.972.80
Klau's Road	Mallee Grove Road	Smarts Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,417.50	11.00	26,592.50
				1,053.70	4.00	4,214.80
Klau's Road Klau's Road	Smarts Rd Smarts Rd	Kelly Rd Kelly Rd	Rural Category 4 Sheeted (Good Material) Wearing Surface Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,053.70	4.00	4,214.80
Klingners Road	Rostyns Road	Boundary	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks Rural Category 3 Sheeted (Good Material) Wearing Surface	2,549.60	4.00	11,473.20
Klingners Road Klingners Road	· ·	Boundary	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,549.60	7.50	19,122.00
-	Rostyns Road	•				1,667.60
Klingners Road Extension Kloppers Road	Inter/ Taylors/klingners Darbon Tce	To Old Railway Line	Rural Category 5 Formed Graded Surface Rural Category 4 Sheeted (Good Material) Wearing Surface	416.90 594.10	4.00 3.50	2,079.40
	Darbon Tce	Greig Rd		594.10 594.10	7.50	4,455.80
Kloppers Road		Greig Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks			
Kunari Road	Minor Derby Road	Beach	Rural Category 5 Formed Graded Surface	10,090.80	4.00	40,363.20
Lakes Road	Lower Broughton Road	End Of Road	Rural Category 5 Formed Graded Surface	2,409.40	4.00	9,637.60
Lange's Lease Road	Koolunga Road	House	Rural Leased Surface	388.80	4.00	1,555.20

Road Name	From	То	Asset Type	Length	Width	Area
Lange's Lease Road	House	End Of Sec.	Rural Leased Surface	523.80	4.00	2,095.20
Larcombes Track	Wheatons Drive East	River Rd	Rural Category 5 Formed Graded Surface	2,767.60	3.00	8,302.80
Larges Rented Road	Mick Talbots Rented R	Valley Road	Rural Leased Surface	237.20	4.00	948.80
Lawrence Joyce's Rented Road	Wandearah Road	Plumbush Road	Rural Leased Surface	1,798.10	4.00	7,192.40
Lawrie's Lease Road	Keith Johnston 's House	End Of Sec.	Rural Leased Surface	1,037.70	4.00	4,150.80
Lease Road	Frith Road	Senna Road	Rural Leased Surface	1,689.50	4.00	6,758.00
Lease Road	Pirie West Area	End Of Sec.	Rural Leased Surface	3,834.50		15,338.00
Lease Road	Pirie West Swamp Area		Rural Leased Surface	1,332.90	4.00	5,331.60
Lease Road	Pirie West Area	End Of Sec.	Rural Leased Surface	2,744.40	4.00	
Lease Road	Pirie West Swamp Area		Rural Leased Surface	1,961.50	4.00	-,-
Lease Road	Pirie West Swamp Area		Rural Leased Surface	1,613.40	4.00	
Lease Road	Pirie West Swamp Area		Rural Leased Surface	837.40	4.00	3,349.60
Lease Road	Pirie West Swamp Area		Rural Leased Surface	1,463.20	4.00	
Lease Road	Pirie West Swamp Area		Rural Leased Surface	5,705.90	4.00	
Lease Road	Pirie West Area	End Of Sec.	Rural Leased Surface	1,924.40	4.00	
Lease Road	Pirie West Swamp Area	Elia Ol Sec.	Rural Leased Surface	3,205.20	4.00	<u> </u>
Lease Road	Pirie West Swamp Area		Rural Leased Surface	5,102.10	4.00	<u> </u>
Lease Road	Spencer Highway	Haldane Road	Rural Leased Surface	764.30	4.00	.,
Lease Road	Pirie East Area	Haidalle Road	Rural Leased Surface Rural Leased Surface	3,175.20		12,700.80
		Frid Of Coo		3,840.50		
Lease Road Lease Road	Pirie West Area Pirie West Swamp Area	End Of Sec.	Rural Leased Surface Rural Leased Surface	3,840.50 417.50	4.00	15,362.00 1,670.00
		Haldana Baad				
Lease Road	Boundary Road	Haldane Road	Rural Leased Surface	666.50	4.00	
Lease Road	Oaks Road	Gulf View Road	Rural Leased Surface	1,174.00	4.00	
Lease Road	Pirie West Swamp Area	5 100	Rural Leased Surface	247.30	4.00	
Lease Road	Pirie West Area	End Of Sec.	Rural Leased Surface	4,534.80	4.00	-,
Lease Road	Pirie West Swamp Area		Rural Leased Surface	3,206.70	4.00	
Lease Road	Pirie West Swamp Area		Rural Leased Surface	829.40	4.00	
Lease Road	Pirie West Area	End Of Sec.	Rural Leased Surface	5,907.50	4.00	
Lease Road	Pirie West Area	End Of Sec.	Rural Leased Surface	1,964.70	4.00	7,858.80
Lease Road	Pirie West Swamp Area		Rural Leased Surface	3,203.10	4.00	
Lease Road	Gulf View Road	End Of Sec.	Rural Leased Surface	155.90	4.00	623.60
Les Affords Road	Lower Broughton Road	Old Broughton Road	Rural Category 5 Formed Graded Surface	4,020.10		20,100.50
Les Bourke's Rented Road	Paynes Rented Road	Pt Davis	Rural Leased Surface	11,797.90	4.00	
Les Bourke's Rented Road	Pt Davis	Paynes Boundary	Rural Leased Surface	9,022.30	4.00	
Les Perry's Rented Road	Wandearah Road	3.6 Km South	Rural Leased Surface	3,792.10	4.00	15,168.40
Les Perry's Rented Road	River Glen Road	River	Rural Leased Surface	286.60	4.00	
Levee Bank Road	Valley Road	Yacka Road	Rural Category 5 Formed Graded Surface	345.30	4.00	1,381.20
Lewis's Rented Road	North South Road	0.5 Km South	Rural Leased Surface	487.20	4.00	1,948.80
Lewis's Track	Paterson's Track	River	Rural Category 5 Formed Graded Surface	950.50	4.00	3,802.00
Lines Road	Cattle Track	Jimmy Richards House Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,724.50	5.00	8,622.50
Lines Road	Fermes Track	Cattle Track	Rural Category 4 Sheeted (Good Material) Wearing Surface	2,394.40	6.00	14,366.40
Lines Road	Cattle Track	Jimmy Richards House Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,724.50	8.00	13,796.00
Lines Road	Farmes Track	Cattle Track	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,394.40	6.00	14,366.40
Lines Road East	Narridy Road	Ferme's Track	Rural Category 4 Sheeted (Good Material) Wearing Surface	479.10	6.00	2,874.60
Lines Road East	Narridy Road	Ferme's Track	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	479.10	6.00	2,874.60
Lithgows Road	3.6km East Of Cattle Track	Klau Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	416.20	7.00	2,913.40
Lithgows Road	3.2 Km East Of Cattle Track	3.6km East Of Cattle Track	Rural Category 2 Sheeted (Good Material) Wearing Surface	445.20	6.00	2,671.20
Lithgows Road	Cattle Track	3.2 Km East	Rural Category 2 Sheeted (Good Material) Wearing Surface	3,070.80	7.00	21,495.60
Lithgows Road	Cattle Track	3.2 Km East	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	3,070.80	10.00	30,708.00
Lithgows Road	3.2 Km East Of Cattle Track	3.6km East Of Cattle Track	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	445.20	8.80	3,917.80
Lithgows Road	3.6km East Of Cattle Track	Klau Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	416.20	10.00	
Long Gully Road	Lease Road	Ingram Gap Road	Rural Category 5 Formed Graded Surface	3,031.20	4.00	
Lovers Lane	Railway Tr.	Waits Road	Rural Category 5 Formed Graded Surface	1,558.00	4.00	
Lower Broughton Road	Wandearah Road	Mitchells Gate	Rural Category 3 Sheeted (Good Material) Wearing Surface	2,814.50	5.00	
Lower Broughton Road	Wandearah Road	Mallee Road	Rural Category 3 Sheeted (Poor Material - Low Service Level) Wearing Surface	2,826.00	5.00	, , , , , , , , ,
Lower Broughton Road	Davis Rd	Aerodrome Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	3,638.50	5.50	
Lower Broughton Road	Exchange Road	Wyeuro Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	550.40	5.00	2,752.00

Road Name	From	То	Asset Type	Length	Width	Area
Lower Broughton Road	2.0 Km North Of Freezer Road	5.5km North Of Freezer Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	3,485.00	5.00	17,425.00
Lower Broughton Road	Freezer Road	2.00 Km North	Rural Category 3 Sheeted (Good Material) Wearing Surface	2,088.20	5.00	10,441.00
Lower Broughton Road	Mitchells Gate	Freezer Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	2,053.90	5.00	10,269.50
Lower Broughton Road	Wyeuro Road	Davis Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	2,759.30	5.50	15,176.20
Lower Broughton Road	5km North Of Freezer Road	Exchange Road.	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,514.30	5.00	7,571.50
Lower Broughton Road	Wandearah Road	Mallee Road	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	2,826.00	5.00	14,130.00
Lower Broughton Road	Wandearah Road	Mitchells Gate	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,814.50	9.00	25,330.50
Lower Broughton Road	Wyeuro Road	Davis Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	2,759.30	9.50	26,213.40
Lower Broughton Road	Davis Rd	Aerodrome Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	3,638.50	9.00	32,746.50
Lower Broughton Road	Mitchells Gate	Freezer Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,053.90	9.00	18,485.10
Lower Broughton Road	Freezer Road	2.00 Km North	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,088.20	9.00	18,793.80
Lower Broughton Road	2.0 Km North Of Freezer Road	5.5km North Of Freezer Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	3,485.00	8.00	27,880.00
Lower Broughton Road	5km North Of Freezer Road	Exchange Road.	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,514.30	8.00	
Lower Broughton Road	Exchange Road	Wyeuro Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	550.40	9.00	4,953.60
Lower Broughton Road Extension	Boundary	2.6 Km North.	Rural Road Reserve Surface	2,619.30	4.00	
Lower Broughton Road Extension	2.6 Km North.boundary	Mallee Road	Rural Category 5 Formed Graded Surface	3,741.00	4.00	14,964.00
LRS Road	End Of Sheeted	Collinsfield Rd	Rural Category 5 Formed Graded Surface	1,986.50	6.00	,
LRS Road	River Rd	End Of Sheeted	Rural Category 4 Sheeted (Average Material) Wearing Surface	1,921.80	5.00	9,609.00
LRS Road	River Rd	End Of Sheeted	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,921.80	8.00	15,374.40
Lyall Evans Rented Road	Ward Boundary	70050	Rural Leased Surface	1,626.50	4.00	6,506.00
Lyall Evans Rented Road	Lyall Evans Rented Road	Cattle Track	Rural Leased Surface	168.10	4.00	672.40
Mallee Grove Road	0.5 Km East Fire Track Rd	Council Boundary	Rural Category 2 Sheeted (Poor Material) Wearing Surface	652.20	5.50	3,587.10
Mallee Grove Road	Bevan Spencers Fire Track	0.5 Km East	Rural Category 2 Sheeted (Foor Material) Wearing Surface	581.10	6.50	3,777.20
Mallee Grove Road	2.7 Km East Of Klau Road	3.2 Km East Of Klau Road	Rural Category 2 Sheeted (Nor Flaterial) Wearing Surface Rural Category 2 Sheeted (Average Material) Wearing Surface	1,366.80	5.50	7,517.40
Mallee Grove Road	Klau Road	1.7 Km East Of Klau Road	Rural Category 2 Sheeted (Average Flaterial) Wearing Surface Rural Category 2 Sheeted (Poor Material) Wearing Surface	1,699.60	8.00	
Mallee Grove Road	Harry's Rd	Valley Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	422.80	7.00	2,959.60
Mallee Grove Road	Valley Road	0.9 East	Rural Category 2 Sheeted (Average Material) Wearing Surface Rural Category 2 Sheeted (Average Material) Wearing Surface	1,001.30	7.50	7,509.80
Mallee Grove Road	1.0 East Of Valley Road	Bevan Spencers Fire Track	Rural Category 2 Sheeted (Average Material) Wearing Surface Rural Category 2 Sheeted (Average Material) Wearing Surface	1,986.20	6.50	12,910.30
Mallee Grove Road	1.7 Km East Of Klau Road	2.7 Km East Of Klau Road	Rural Category 2 Sheeted (Average Material) Wearing Surface Rural Category 2 Sheeted (Average Material) Wearing Surface	2,000.00	7.00	,
Mallee Grove Road	3.2 Km East Of Klau Road	Harry's Rd		1,480.00	7.00	
Mallee Grove Road	Klau Road	1.7 Km East Of Klau Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	,	11.00	-,
			Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	1,699.60		,
Mallee Grove Road	2.7 Km East Of Klau Road	3.2 Km East Of Klau Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,366.80	8.50	11,617.80
Mallee Grove Road	Bevan Spencers Fire Track	0.5 Km East	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	581.10	9.50	5,520.50
Mallee Grove Road	0.5 Km East Fire Track Rd	Council Boundary	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	652.20	8.50	. ,
Mallee Grove Road	Harry's Rd	Valley Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	422.80	10.00	4,228.00
Mallee Grove Road	Valley Road	0.9 East	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,001.30	10.50	.,
Mallee Grove Road	1.0 East Of Valley Road	Bevan Spencers Fire Track	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,986.20	9.50	,
Mallee Grove Road	1.7 Km East Of Klau Road	2.7 Km East Of Klau Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	2,000.00	9.00	,
Mallee Grove Road	3.2 Km East Of Klau Road	Harry's Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,480.00	9.00	,
Mallee Road	North South Road	Affords Old House	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,756.80	5.00	
Mallee Road	Farm Gate <kains></kains>	Old Broughton Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,645.70	6.00	9,874.20
Mallee Road	North South Road	3.0 Km Farm Gate	Rural Category 2 Sheeted (Good Material) Wearing Surface	3,017.70	6.00	
Mallee Road	Engleford Road	North South Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,559.40	6.00	9,356.40
Mallee Road	Port Pirie / Broughton Road	Engleford Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,613.00	6.00	9,678.00
Mallee Road	Affords Old House	North South Road	Rural Category 3 Sheeted (Poor Material - Low Service Level) Wearing Surface	3,327.60	4.00	13,310.40
Mallee Road	Lower Broughton Road	Beach	Rural Category 4 Sheeted (Good Material) Wearing Surface	3,038.60	4.00	12,154.40
Mallee Road	Port Pirie / Broughton Road	Engleford Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,613.00	12.00	19,356.00
Mallee Road	Engleford Road	North South Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,559.40	12.00	18,712.80
Mallee Road	North South Road	3.0 Km Farm Gate	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	3,017.70	8.00	24,141.60
Mallee Road	Farm Gate <kains></kains>	Old Broughton Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,645.70	9.00	14,811.30
Mallee Road	North South Road	Affords Old House	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,756.80	6.00	10,540.80
Mallee Road	Affords Old House	North South Road	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	3,327.60	4.00	13,310.40
Mallee Road	Lower Broughton Road	Beach	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	3,038.60	4.00	
Malycha Lease Road No 1	Bairstows Xing	Fence	Rural Leased Surface	999.10	4.00	3,996.40
Malycha Lease Road No 2	River Road	End	Rural Leased Surface	787.00		
Malycha Lease Road No 2	Malycha Lease Road	River Road	Rural Leased Surface	458.20	4.00	1,832.80
Mark Venning's House Road	Wilkin Rd	Property Gate	Rural Category 4 Sheeted (Good Material) Wearing Surface	858.00	5.00	,

Road Name	From	То	Asset Type	Length	Width	Area
Mark Venning's House Road	Wilkin Rd	Property Gate	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	858.00	9.00	7,722.00
Marks Road	Glenburn Road	3.2km South of Glenburn Road	Rural Category 4 Sheeted (Average Material) Wearing Surface	3,198.60	6.00	19,191.60
Marks Road	Glenburn Road	3.2km South of Glenburn Road	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	3,198.60	9.00	28,787.40
Marks Road	3.2km South of Glenburn Road	5.45 1.95 Km South Of Merriton /	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,890.00	4.00	7,560.00
Marks Road	3.2km South of Glenburn Road		Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,890.00	4.00	7,560.00
Marks Road	Bairstows Road	Marks Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	3,811.60	4.00	15,246.40
Marks Road	Bairstows Road	Marks Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	3,811.60	4.00	15,246.40
Marshalls Track	Hwy 1	Sinclairs Rd	Rural Category 5 Formed Graded Surface	1,684.50	3.00	5,053.50
Martins Road	Cattle Track	200 M West	Rural Category 5 Formed Graded Surface	226.00	3.00	678.00
Martins Road	200 M West Of Cattle Track	Gum Park Intersection	Rural Category 5 Formed Graded Surface	2,011.40	4.00	8,045.60
Martins Road	Gum Park Intersection	Bairstows Road Corner	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,044.40	4.00	4,177.60
Martins Road	Gum Park Intersection	Bairstows Road Corner	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,044.40	4.00	4,177.60
Maywald Road	Joyce Road	End	Rural Category 3 Sheeted (Average Material) Wearing Surface	291.00	4.00	1,164.00
Maywald Road	Joyce Road	End	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	291.00	6.00	1,746.00
Mcmahons Rented Road	Freezer Road Ex.	Exchange Road Ex.	Rural Leased Surface	2,141.30	4.00	8,565.20
Mick Talbots Sand Track	Rostyns Road	Klingners / Slattery Rd	Rural Category 5 Formed Graded Surface	1,510.60	7.00	10,574.20
Milcowie Road	Woodlands Road	2.00 Km East	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,736.60	5.50	9,551.30
Milcowie Road	Pirie/ Broughton Rd	Woodlands Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,548.10	5.00	7,740.50
Milcowie Road	150 M W. Of N. H	Augusta Highway	Rural Category 1 Sheeted (Good Material) Wearing Surface	179.70	6.00	1,078.20
Milcowie Road	Rail Crossing	150 M .west Of N. H	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,172.60	5.00	5,863.00
Milcowie Road	Delamere Road	Rail Crossing	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,332.40	6.00	7,994.40
Milcowie Road	1.2 Km East Of Senna Road	Delamere Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,296.30	6.00	7,777.80
Milcowie Road	0.6 Km East Of Senna Road	1.2 Km East Of Senna Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	577.40	6.00	3,464.40
Milcowie Road	Senna Road	0.6 Km East Of Senna Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	636.90	5.00	3,184.50
Milcowie Road	3.4km East Of Woodlands Road	Senna Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	577.80	5.50	3,177.90
Milcowie Road	2km East Of Woodlands Road	3.4km East Of Woodlands Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,477.70	5.00	7,388.50
Milcowie Road	Woodlands Road	2.00 Km East	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,736.60	9.50	16,497.70
Milcowie Road	Pirie/ Broughton Rd	Woodlands Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,548.10	8.00	
Milcowie Road	0.6 Km East Of Senna Road	1.2 Km East Of Senna Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	577.40	10.00	5,774.00
Milcowie Road	1.2 Km East Of Senna Road	Delamere Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,296.30	12.00	
Milcowie Road	Delamere Road	Rail Crossing	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,332.40	10.00	13,324.00
Milcowie Road	Rail Crossing	150 M .west Of N. H	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,172.60	9.00	
Milcowie Road	150 M W. Of N. H	Augusta Highway	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	179.70	10.00	1,797.00
Milcowie Road	2km East Of Woodlands Road	3.4km East Of Woodlands Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,477.70	8.00	
Milcowie Road	3.4km East Of Woodlands Road	Senna Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	577.80	9.50	5,489.10
Milcowie Road	Senna Road	0.6 Km East Of Senna Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	636.90	9.00	5,732.10
Minor Derby Road	Pt Davis Road	Airport Road	Rural Category 6 Unformed Surface	3,036.90	4.00	12,147.60
Minor Derby Road	Pt Davis Road	600m towards Airport Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	600.00	4.00	2,400.00
Minor Derby Road	Pt Davis Road	600m towards Airport Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	600.00	4.00	2,400.00
Mitchell's Rented Road No 1	Lakes Road	Mcmahons Rented Road	Rural Leased Surface	2,691.50	4.00	10,766.00
Mitchell's Rented Road No 2	Ingleside Rented Road	Paynes Rented Road	Rural Leased Surface	3,983.80	4.00	
Montrose Lane	Venning Road	1.34 Km Sth	Rural Category 6 Unformed Surface	1,267.50	4.00	5,070.00
Montrose Lane	1.34 Km Sth Of Merriton Road	Sheeted Section	Rural Category 6 Unformed Surface	856.00	4.00	3,424.00
Montrose Lane	Sheeted Section	Cattle Track	Rural Category 4 Sheeted (Average Material) Wearing Surface	712.90	4.50	3,208.10
Montrose Lane	Sheeted Section	Cattle Track	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	712.90	8.50	6,059.70
Mosquito Drive	Boat Ramp	Samphire Road	Rural Road Reserve Surface	999.70	4.00	3,998.80
Mumford RS & CS Leased Road No 1	Mumford Rs. & Cs Leased Road	2.0 Km North	Rural Leased Surface	1,952.70	4.00	
Mumford RS & CS Leased Road No 2	Clements Gap Road	Hannarts Road	Rural Leased Surface	1,357.10	4.00	,
Mumford's Rented Road No 1	Augusta Highway	River	Rural Leased Surface	268.00	4.00	
Mumford's Rented Road No 2	Augusta Highway	River	Rural Leased Surface	277.30	4.00	
Mumford's Rented Road No 3	Marks Road	Augusta Highway	Rural Leased Surface	1,668.90	4.00	,
Mumfords Road	Mumfords House	Clements Gap Rd	Rural Category 5 Formed Graded Surface	2,904.70	4.00	
Mumfords Road	Siviours Rd	Mumfords House	Rural Category 3 Sheeted (Good Material) Wearing Surface	769.30	5.00	
Mumfords Road	Hwy 1	Siviours Rd	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,066.00	7.00	
	, ±	5.1.0ui5 Ku	naise category 5 Sheeted (Good Fideerial) Wedning Surface	1,000.00	7.00	,,,,,,,,,,

Road Name	From	То	Asset Type	Length	Width	Area
Mumfords Road	Hwy 1	Siviours Rd	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,066.00	10.00	10,660.00
Mumfords Road	Siviours Rd	Mumfords House	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	769.30	8.00	6,154.40
Mundoora Boundary Road	860m South of Ingram Gap Road	Hope Gap Road	Rural Category 1 Sheeted (Poor Material) Wearing Surface	509.50	8.50	4,330.80
Mundoora Boundary Road	860m South of Ingram Gap Road	Hope Gap Road	Rural Category 1 Sheeted (Poor Material) Lower Base & Earthworks	509.50	11.50	5,859.30
Mundoora Boundary Road	Hope Gap Road	Pattingale Rd	Rural Category 1 Sheeted (Poor Material) Wearing Surface	1,910.00	8.50	16,235.00
Mundoora Boundary Road	Hope Gap Road	Pattingale Rd	Rural Category 1 Sheeted (Poor Material) Lower Base & Earthworks	1,910.00	11.50	12,817.61
Murray Fermes Road	Arbon Road	Property	Rural Category 6 Unformed Surface	1,018.40	4.00	4,073.60
Muster Drive	Flinders View Road	Oaks Road	Rural Category 6 Unformed Surface	2,717.40	4.00	10,869.60
Muster Drive	Gum Road	Sentosa Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	419.50	5.00	2,097.50
Muster Drive	Sentosa Road	Gulf View Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,608.40	6.00	9,650.40
Muster Drive	Locks Road	Gum Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,581.80	6.00	9,490.80
Muster Drive	Gum Road	Sentosa Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	419.50	8.00	3,356.00
Muster Drive	Sentosa Road	Gulf View Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,608.40	10.00	16,084.00
Muster Drive	Locks Road	Gum Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,581.80	6.00	9,490.80
Muster Drive Side Track No 1	Scenic Drive	Muster Drive	Rural Road Reserve Surface	360.60	4.00	1,442.40
Muster Drive Side Track No 2	Scenic Drive	Muster Drive	Rural Category 5 Formed Graded Surface	361.70	4.00	1,446.80
Muster Drive Side Track No 3	Scenic Drive	Blight Road	Rural Category 5 Formed Graded Surface	357.80	4.00	1,431.20
Nantoura Track	River Crossing	Valley Road	Rural Road Reserve Surface	662.40	4.00	2,649.60
Narridy Road	Redpines Road	East To Council Boundary	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,470.70	7.00	10,294.90
Narridy Road	0.6km East Of Cattle Track	Redpines Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,755.40	8.00	22,043.20
Narridy Road	0.13 Km East	0.6 Km East	Rural Category 1 Sheeted (Good Material) Wearing Surface	448.10	7.00	3,136.70
Narridy Road	0.13 Km East	0.6 Km East	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	448.10	12.60	5,646.10
Narridy Road	0.6km East Of Cattle Track	Redpines Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,755.40	12.40	34,167.00
Narridy Road	Redpines Road	East To Council Boundary	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,470.70	11.40	16,766.00
North - South Road	400m North of River Road	1.5 Km North To End Of Rd	Rural Category 5 Formed Graded Surface	1,140.00	5.00	5,700.00
North - South Road	2.0 Km North Of	Wandearah Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,273.50	8.00	10,188.00
North - South Road	1.0 Km North Of Mallee Rd	2.0 Km Nth Of Mallee Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	995.60	8.00	7,964.80
North - South Road	Mallee Road	1.0 Km North	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,012.90	8.00	8,103.20
North - South Road	1.5 Km North Of Honeymoon Ranch Rd	Mallee Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,175.40	8.00	9,403.20
North - South Road	1.1 Km Nth Of Wandearah Rd	2.2 Km Nth Of Wandearah Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,096.00	5.00	5,480.00
North - South Road	2.2 Km Nth Of Wandearah Rd	3.3 Km Nth Of Wandearah Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,100.70	5.00	5,503.50
North - South Road	Wandearah Road	1.1 Km Nth Of Wandearah Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,070.50	5.00	5,352.50
North - South Road	3.3 Km Nth Of Wandearah Rd	River Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,071.60	5.00	5,358.00
North - South Road	Honeymoon Ranch Road	1.5 Km North	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,500.00	8.00	12,000.00
North - South Road	Sandy Lane	Honeymoon Ranch Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,584.70	6.20	9,825.10
North - South Road	Boundary	Sandy Lane	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,611.20	7.00	11,278.40
North - South Road	Sandy Lane	Honeymoon Ranch Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,584.70	8.20	12,994.50
North - South Road	Honeymoon Ranch Road	1.5 Km North	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,500.00	12.00	18,000.00
North - South Road	1.5 Km North Of Honeymoon Ranch Rd	Mallee Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,175.40	11.00	12,929.40
North - South Road	Mallee Road	1.0 Km North	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,012.90	12.00	12,154.80
North - South Road	1.0 Km North Of Mallee Rd	2.0 Km Nth Of Mallee Rd	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	995.60	12.00	11,947.20
North - South Road	2.0 Km North Of	Wandearah Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,273.50	12.00	15,282.00
North - South Road	Wandearah Road	1.1 Km Nth Of Wandearah Rd	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,070.50	9.00	9,634.50
North - South Road	3.3 Km Nth Of Wandearah Rd	River Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,071.60	9.00	9,644.40
North - South Road	1.1 Km Nth Of Wandearah Rd	2.2 Km Nth Of Wandearah Rd	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,096.00	9.00	9,864.00
North - South Road	2.2 Km Nth Of Wandearah Rd	3.3 Km Nth Of Wandearah Rd	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,100.70	9.00	,
North - South Road	Boundary	Sandy Lane	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,611.20	9.00	
North Terrace (Warnertown)	Abattiors Road	End Of Road	Rural Category 6 Unformed Surface	363.10	4.00	,
Nurom Road	The Whim Road	Old Nurom Rail Siding Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	956.70	6.00	5,740.20
Nurom Road	0.8 Km West	1.650 Km West	Rural Category 4 Sheeted (Average Material) Wearing Surface	860.00	5.00	4,300.00
Nurom Road	1.03 Km	The Whim Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	819.50	5.00	4,097.50
Nurom Road	Senna Road	1.00 Km West (old Siding Road)	Rural Category 1 Sheeted (Good Material) Wearing Surface	975.30	6.00	5,851.80
1						
Nurom Road	1.4 Km West Clothiers Road.	Senna Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	787.60	5.00	3,938.00

Road Name	From	То	Asset Type	Length	Width	Area
Nurom Road	Clothiers Road	.700 West Of Clothiers Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	680.60	5.00	3,403.00
Nurom Road	2.0.km W. Of Sargents Rd	Clothiers Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,277.60	6.00	7,665.60
Nurom Road	1.0 Km W. Of Sargents Rd	2.0.km W. Of Sargents Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,008.20	6.00	6,049.20
Nurom Road	1.650 Km	Pt Pirie /pt Broughton Rd	Rural Category 4 Sheeted (Good Material) Wearing Surface	853.80	5.00	4,269.00
Nurom Road	Sargents Road	1.0 Km West	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,000.00	6.00	6,000.00
Nurom Road	Sargents Road	1.0 Km West	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,000.00	10.00	10,000.00
Nurom Road	The Whim Road	Old Nurom Rail Siding Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	956.70	10.00	9,567.00
Nurom Road	Augusta Highway	1.4 Km W. (sargents Rd)	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,413.30	10.00	14,133.00
Nurom Road	1.03 Km	The Whim Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	819.50	5.00	4,097.50
Nurom Road	.700 West Of Clothiers Road West	1.4 Km West Clothiers Road.	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	998.50	9.00	8,986.50
Nurom Road	1.4 Km West Clothiers Road.	Senna Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	787.60	9.00	7,088.40
Nurom Road	Senna Road	1.00 Km West (old Siding Road)	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	975.30	10.00	9,753.00
Nurom Road	1.0 Km W. Of Sargents Rd	2.0.km W. Of Sargents Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,008.20	10.00	10,082.00
Nurom Road	2.0.km W. Of Sargents Rd	Clothiers Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,277.60	10.00	12,776.00
Nurom Road	Clothiers Road	.700 West Of Clothiers Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	680.60	9.00	6,125.40
Nurom Road	0.8 Km West	1.650 Km West	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	860.00	5.00	4,300.00
Nurom Road	1.650 Km	Pt Pirie /pt Broughton Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	853.80	5.00	4,269.00
Nurom Road	Augusta Highway	1.4 Km W. (sargents Rd)	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,413.00	8.00	11,304.00
Old Brick Kilne Road	Greig Rd	Greig Rd	Rural Category 5 Formed Graded Surface	1,847.30	4.00	7,389.20
Old Broughton Road	2.2 km North of Les Affords Road	3.2 km North of Les Affords Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,001.60	6.00	6,009.60
Old Broughton Road	1.2 km North of Les Affords Road	1.46 km North of Les Affords Road (Floodway Approach)	Rural Category 1 Sheeted (Good Material) Wearing Surface	263.60	6.00	1,821.60
Old Broughton Road	Les Affords Road	1.2 km North of Les Affords Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,055.90	6.00	6,335.40
Old Broughton Road	Sandy Lane	1.8 Km Nth To Mallee Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,817.50	8.00	14,540.00
Old Broughton Road	Council Boundary (South)	Sandy Lane	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,585.30	8.00	12,682.40
Old Broughton Road	Exchange Road	1.0 Km North	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,005.60	7.00	7,039.20
Old Broughton Road	1.0 K Nth Of Exchange Rd	2.0 Km North Of Exchange Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	958.60	7.00	6,710.20
Old Broughton Road	3.2 km North of Les Affords Road	Exchange Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	930.10	6.00	5,580.60
Old Broughton Road	Davis Road	1.7 Km North	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,666.80	8.00	13,334.40
Old Broughton Road	2.0 Km North Of Exchange Road	Davis Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,300.60	7.50	9,754.50
Old Broughton Road	River Road	1.2 km North of River Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,229.80	6.00	7,378.80
Old Broughton Road	1.225 Nth Of Wandearah Rd	2.450 Nth Of Wandearah Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,213.90	6.00	7,283.40
Old Broughton Road	Mallee Road	1.4 Km North	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,436.30	8.00	11,490.40
Old Broughton Road	Wandearah Rd	1.225 Nth Of Wandearah Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,242.50	6.00	•
Old Broughton Road	2.450 Nth Of Wandearah Rd	3.7 Km Nth Wandearah Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,232.00	6.00	7,392.00
Old Broughton Road	3.675 K Nth Of Wandearah Rd	River Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,179.00	6.00	7,074.00
Old Broughton Road	1.2 km North of River Road	Les Affords Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,223.90	6.00	7,343.40
Old Broughton Road	1.8 Km Nth Ofsandy Lane	Mallee Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,469.50	8.00	19,756.00
Old Broughton Road	1.4 Km Nth Of Mallee Rd	Wandearah Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,400.00	8.00	11,200.00
Old Broughton Road	1.7 Km Nth Of Davis Rd	2.8 Km North Of Davis Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,077.70	6.00	6,466.20
Old Broughton Road	2.8 Km Nth Of Of Davis Rd	Aerodrome Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,040.90	6.00	6,245.40
Old Broughton Road	1.0 K Nth Of Exchange Rd	2.0 Km North Of Exchange Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	958.60	10.00	9,586.00
Old Broughton Road	Exchange Road	1.0 Km North	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,005.60	10.00	10,056.00
Old Broughton Road	2.2 km North of Les Affords Road	3.2 km North of Les Affords Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,001.60	10.00	10,016.00
Old Broughton Road	1.2 km North of Les Affords Road	1.46 km North of Les Affords Road (Floodway Approach)	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	263.60	10.00	3,036.00
Old Broughton Road	Les Affords Road	1.2 km North of Les Affords Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,055.90	10.00	10,559.00
Old Broughton Road	Sandy Lane	1.8 Km Nth To Mallee Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,817.50	11.00	19,992.50
Old Broughton Road	Council Boundary (South)	Sandy Lane	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,585.30	11.00	17,438.30
Old Broughton Road	3.2 km North of Les Affords Road	Exchange Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	930.10	10.00	9,301.00
Old Broughton Road	2.0 Km North Of Exchange Road	Davis Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,300.60	10.00	13,006.00
					_	

Road Name	From	То	Asset Type	Length	Width	Area
Old Broughton Road	Davis Road	1.7 Km North	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,666.80	12.00	20,001.60
Old Broughton Road	1.7 Km Nth Of Davis Rd	2.8 Km North Of Davis Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,077.70	10.00	10,777.00
Old Broughton Road	1.8 Km Nth Ofsandy Lane	Mallee Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,469.50	11.00	27,164.50
Old Broughton Road	Mallee Road	1.4 Km North	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,436.30	11.00	15,799.30
Old Broughton Road	1.4 Km Nth Of Mallee Rd	Wandearah Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,400.00	11.00	15,400.00
Old Broughton Road	Wandearah Rd	1.225 Nth Of Wandearah Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,242.50	10.00	12,425.00
Old Broughton Road	1.225 Nth Of Wandearah Rd	2.450 Nth Of Wandearah Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,213.90	10.00	12,139.00
Old Broughton Road	2.450 Nth Of Wandearah Rd	3.7 Km Nth Wandearah Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,232.00	10.00	12,320.00
Old Broughton Road	3.675 K Nth Of Wandearah Rd	River Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,179.00	10.00	11,790.00
Old Broughton Road	River Road	1.2 km North of River Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,229.80	10.00	12,298.00
Old Broughton Road	1.2 km North of River Road	Les Affords Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,223.90	10.00	12,239.00
Old Broughton Road	2.8 Km Nth Of Of Davis Rd	Aerodrome Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,040.90	10.00	10,409.00
Old Broughton Road	2.26 km North of Les Affords Road (Floodway Approach)	2.2 km North of Les Affords Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	655.60	6.00	4,173.60
Old Broughton Road	2.26 km North of Les Affords Road (Floodway Approach)	2.2 km North of Les Affords Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	655.60	10.00	6,956.00
Old Chain Road	1000m South of Lithgows Rd	1700m South of Lithgows Rd	Rural Category 5 Formed Graded Surface	698.70	2.00	1,397.40
Old Chain Road	Lithgows Rd	1000m South of Lithgows Rd	Rural Category 5 Formed Graded Surface	1,007.40	2.00	
Old Marawah Road	Goyder Highway	Robinson Road	Rural Road Reserve Surface	413.70		
Old National Highway (Merriton)	Clements Road	Augusta Highway	Rural Category 5 Formed Graded Surface	982.80	4.00	3,931.20
Old National Highway (Redhill)	Road House / Redhill	Augusta Highway	Rural Category 5 Formed Graded Surface	1,422.90	4.00	
Old Nurom Rail Siding Road	Nurom Road	End Of Road	Rural Category 5 Formed Graded Surface	568.30	4.00	
Old Nurom Road	Augusta Highway	Brick Kilne Road	Rural Category 5 Formed Graded Surface	253.40	4.00	
Old Racecourse Road	0.300 Km Sth	0.900 Km Sth	Rural Category 5 Formed Graded Surface	858.50	5.00	
Old Racecourse Road	Wauchope's Road	Abattiors Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	2,477.60	5.50	,
Old Racecourse Road	0.900 Km Sth	Wauchope's Road	Rural Category 4 Sheeted (Average Material) Wearing Surface	202.80	4.00	
Old Racecourse Road	Railway Tr.	0.300 Km Sth	Rural Category 3 Sheeted (Average Material) Wearing Surface	304.40	6.50	
Old Racecourse Road	0.900 Km Sth	Wauchope's Road	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	202.80	6.50	
Old Racecourse Road	Wauchope's Road	Abattiors Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	2,477.60	8.00	,
Old Racecourse Road	Railway Tr.	0.300 Km Sth	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	304.40	10.00	
Old Rocky Bridge Road	Goyder Highway	Slattery Road	Rural Category 5 Formed Graded Surface	447.40	6.00	
Old Roscomon Road	Noonans House	Heads House	Rural Category 4 Sheeted (Good Material) Wearing Surface	121.00	3.00	, , , , , , ,
Old Roscomon Road	Noonans House	Heads House	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	121.00	6.00	
Old School House Road	Broughton Rd	Sinclairs Rd	Rural Category 3 Sheeted (Good Material) Wearing Surface	3,031.20	6.00	
Old School House Road	Broughton Rd	Sinclairs Rd	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	3,031.20	11.00	
Old Slaughter House Road	Goulter Road	0.180 M .south	Rural Category 5 Formed Graded Surface	183.00	4.00	
Olive Grove Road	Gulf View Road	Muster Drive	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,729.70	4.00	
Olive Grove Road	Gulf View Road	Muster Drive	Rural Category 3 Sheeted (Good Material) Wearing Surface Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,729.70	5.00	
O'Shaughnessy Road	1.0 Km East Of Spencer Highway	2.1 Km Of Broughton Road	<u> </u>	1,111.50	8.00	
	, , , , ,		Rural Category 1 Sheeted (Good Material) Wearing Surface			.,
O'Shaughnessy Road	2.1 Km East Of Broughton Road	Hunts Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	576.20	7.50	
O'Shaughnessy Road	Spencer Highway	0.5 Km East	Rural Category 1 Sheeted (Good Material) Wearing Surface	458.10	7.00	
O'Shaughnessy Road	0.5 Km East of Spencer Highway	1.0 Km East Of Broughton Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	495.90	8.00	3,967.20
O'Shaughnessy Road	1.0 Km East Of Spencer Highway	2.1 Km Of Broughton Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,111.50	12.00	13,338.00
O'Shaughnessy Road	2.1 Km East Of Broughton Road	Hunts Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	576.20	9.00	5,185.80
O'Shaughnessy Road	0.5 Km East of Spencer Highway	1.0 Km East Of Broughton Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	495.90	10.00	4,959.00
O'Shaughnessy Road	Spencer Highway	0.5 Km East	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	458.10	12.00	5,497.20
O'Shaughnessy Road (Crystal Brook)	Noonans House	Darbon Tce	Rural Category 4 Sheeted (Good Material) Wearing Surface	393.10	5.00	1,965.50
O'Shaughnessy Road (Crystal Brook)	Noonans House	Darbon Tce	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	393.10	7.50	
Oval View Road	Cemetrey Road	Abattiors Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	535.70	5.00	2,678.50
Oval View Road	Cemetrey Road	Abattiors Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	535.70	8.00	4,285.60
Oval View Road West	Cemetry Road	End Of Road	Rural Category 5 Formed Graded Surface	1,097.30	4.00	,
Parklands Road	Koolunga / Redhill Road	Valley Road Ex.	Rural Category 5 Formed Graded Surface	487.20	4.00	
Pattersons Track	Spencer Highway	End Of Road	Rural Category 4 Sheeted (Poor Material) Wearing Surface	2,493.50	4.50	
Pattersons Track	Spencer Highway	End Of Road	Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks	2,493.50	4.50	,
Paynes Rented Road	Lower Broughton Road	Young's Road	Rural Leased Surface	2,235.80	4.00	
Pedlers Road	Reldep Road	0.7 Km East	Rural Category 4 Sheeted (Average Material) Wearing Surface	585.40	4.60	
		1	the state of the s	383.10	00	_,.,

Road Name	From	То	Asset Type	Length	Width	Area
Pedlers Road	Reldep Road	0.7 Km East	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	585.40	7.60	4,449.00
Pengillys Road	Main Road	Walkers Track	Rural Category 6 Unformed Surface	275.00	4.00	1,100.00
Pengillys Road	Kelly Rd	Klau Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,486.60	7.00	10,406.20
Pengillys Road	Redhill Road / Koolunga Road	2.9 Km East	Rural Category 2 Sheeted (Average Material) Wearing Surface	2,513.90	7.00	17,597.30
Pengillys Road	2.9 Km East / Koolunga Road	Kelly Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	809.20	7.00	5,664.40
Pengillys Road	Redhill Road / Koolunga Road	2.9 Km East	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	2,513.90	10.00	25,139.00
Pengillys Road	2.9 Km East / Koolunga Road	Kelly Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	809.20	11.00	8,901.20
Pengillys Road	Kelly Rd	Klau Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,486.60	11.00	16,352.60
Perrins Diagonal Track	River Rd	Perrins Rd	Rural Category 5 Formed Graded Surface	977.90	2.00	1,955.80
Perrins Road	Perrins House Road	Koolunga / Redhill Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	2,360.60	6.00	14,163.60
Perrins Road	River Rd	Perrins House Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	115.80	5.50	636.90
Perrins Road	River Rd	Perrins House Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	115.80	8.50	984.30
Perrins Road	Perrins House Road	Koolunga / Redhill Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,360.60	9.00	
Perry's Leased Road	Warnertown / Hughs Gap Road	End Of Sec.	Rural Leased Surface	3,002.80		12,011.20
Peter Combe's Rented Road	Hwy 1	End Of Sec.	Rural Leased Surface	1,184.70	4.00	
Peter Griegs Lease Road	Davis Road	Milcowie Road	Rural Leased Surface	3,282.90	4.00	
Peter Mumfords Lease Road No 1	Ellis St	End Of Road	Rural Leased Surface	652.50	4.00	2,610.00
Peter Mumfords Lease Road No 2	Hyden Road	End Of Road	Rural Leased Surface	255.90	4.00	1,023.60
Peter Wilsons Paddock	Heaslip Road	Merriton /narridy Road	Rural Category 5 Formed Graded Surface	2,362.50	4.00	
Pilkingtons Dirt Track	60033	60031	Rural Category 5 Formed Graded Surface	342.70	2.00	685.40
Pipeline Track	Cross Rd	Ingram Gap Rd	Rural Category 5 Formed Graded Surface	1,688.20	2.00	3,376.40
Pipeline Track	Purdie Road	· ·	Rural Category 5 Formed Graded Surface	1,088.20	4.00	
•		Cross Rd			5.00	
Pipeline Track	Council Boundary	Purdie Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	599.00		2,995.00
Pipeline Track	Council Boundary	Purdie Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	599.00	8.00	4,792.00
Pirie Blocks Road	Abattiors Road	Solar Farm Entrance Gate	Rural Category 5 Formed Graded Surface	1,353.40	5.00	6,767.00
Pirie Blocks Road	Sandy Terrace	Wauchope's Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,065.30	5.00	5,326.50
Pirie Blocks Road	Wauchope's Road	Abattiors Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	535.80	5.00	2,679.00
Pirie Blocks Road	Wauchope's Road	Abattiors Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	535.80	8.00	4,286.40
Pirie Blocks Road	Sandy Terrace	Wauchope's Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,065.30	8.00	8,522.40
Pirie Blocks Road	Solar Enterance Gate	Port Davis Road	Rural Category 4 Sheeted (Good Material) Wearing Surface	2,300.00	4.00	9,200.00
Pirie Blocks Road	Solar Enterance Gate	Port Davis Road	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,300.00	4.00	9,200.00
Plenty's Track	Scenic Drive	Muster Drive	Rural Category 5 Formed Graded Surface	372.70	7.00	2,608.90
Plumbush Road	Lower Broughton Road	Lawrence's Rented Road	Rural Category 5 Formed Graded Surface	2,258.20	4.00	9,032.80
Port Davis Road	Smiths Gate	Ti Tree Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,188.10	5.50	12,034.60
Port Davis Road	End of Seal	Gum Tree Drive	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,187.00	6.00	7,122.00
Port Davis Road	Gum Tree Drive	Aerodrome Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,576.10	6.00	9,456.60
Port Davis Road	Aerodrome Rd	Smiths Gate	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,381.80	6.00	14,290.80
Port Davis Road	End of Seal	Gum Tree Drive	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,187.00	10.00	
Port Davis Road	Smiths Gate	Ti Tree Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,188.10	8.50	.,
Port Davis Road	Gum Tree Drive	Aerodrome Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,576.10	10.00	,
Port Davis Road	Aerodrome Rd	Smiths Gate	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,381.80	15.00	
Power Line Road	Torrs Gap Road	Ingram Gap Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	4,213.80	7.00	
Power Line Road	Sims Road	Torrs Gap Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,402.10	7.00	- , -
Power Line Road	1900m South of Clifords Road	Sims Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	559.40	7.00	3,915.80
Power Line Road	1000m South of Clifords Road	1900m South of Clifords Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	969.90	6.50	6,304.40
Power Line Road	Clifords Road	1000m South of Clifords Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	998.90	6.50	6,492.90
Power Line Road	Clements Road	1000m South of Clements Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,016.30	7.00	7,114.10
Power Line Road	1000m South of Clements Road	2000m South of Clements Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,010.10	6.00	6,060.60
Power Line Road	2000m South of Clements Road	Cliffords Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	954.50	6.20	5,917.90
Power Line Road	Ingram Gap Rd	950m South of Ingram Gap Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	960.50	6.00	5,763.00
Power Line Road	950m South of Ingram Gap Road	Council Boundary (South)	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,771.80	5.50	9,744.90
Power Line Road	Clements Road	1000m South of Clements Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,016.30	10.00	10,163.00
Power Line Road	1000m South of Clements Road	2000m South of Clements Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,010.10	9.00	9,090.90
Power Line Road	2000m South of Clements Road	Cliffords Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	954.50	9.20	8,781.40
			The state of the s	351.50	7.20	-,. 310

Road Name	From	То	Asset Type	Length	Width	Area
Power Line Road	Clifords Road	1000m South of Clifords Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	998.90	9.50	9,489.60
Power Line Road	Ingram Gap Rd	950m South of Ingram Gap Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	960.50	9.00	8,644.50
Power Line Road	950m South of Ingram Gap Road	Council Boundary (South)	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,771.80	8.50	15,060.30
Power Line Road	1000m South of Clifords Road	1900m South of Clifords Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	969.90	9.50	9,214.10
Power Line Road	1900m South of Clifords Road	Sims Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	559.40	10.00	5,594.00
Power Line Road	Sims Road	Torrs Gap Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,402.10	10.00	24,021.00
Power Line Road	Torrs Gap Road	Ingram Gap Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	4,213.80	10.00	
Priory Road	Last Section	End Of Sec.	Rural Road Reserve Surface	147.30	4.00	589.20
Priory Road	0.55 Km	End Of Section	Rural Category 5 Formed Graded Surface	996.30	4.00	
Priory Road	Last Section	Cropped Paddock	Rural Category 5 Formed Graded Surface	189.00	4.00	756.00
Priory Road	Redhill/koolung Rd	0.55 Km Sth	Rural Category 5 Formed Graded Surface	486.20	4.00	
Purdie Road	Ingram Gap Rd	Pipe Line Track	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,866.90	5.00	,-
Purdie Road	Ingram Gap Rd	Pipe Line Track	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,866.90	8.00	
Quarry Road	Gate	End	Rural Category 5 Formed Graded Surface	1,216.30	4.00	0.00
Quarry Road	Church Road	Gate	Rural Category 4 Sheeted (Average Material) Wearing Surface	1,384.80	4.50	6,231.60
Quarry Road	End of Seal	Church Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,164.80	6.00	
Quarry Road Quarry Road	End of Seal	Church Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	1,164.80	8.00	
				,		
Quarry Road	Church Road	Gate	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,384.80	8.00	
R Crouch's Rented Road	Clements Road	Crouch's Rented Road	Rural Leased Surface	2,232.10	4.00	8,928.40
Rackham's Rented Road No 1	Ferme's Rented Road	Cattle Track	Rural Leased Surface	351.90	4.00	1,407.60
Rackham's Rented Road No 2	Rackham's'rented Road	Cattle Track	Rural Leased Surface	344.80	4.00	1,379.20
Rackham's Rented Road No 3	Narridy Road	Lithgows Rd	Rural Leased Surface	394.10	4.00	
Rackham's Rented Road No 4	Narridy Road	End Of Road	Rural Leased Surface	2,137.20	4.00	8,548.80
Railway Terrace (Port Pirie)	800m West of Pirie Blocks Road	Old Racecourse Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface	823.90	8.00	6,591.20
Railway Terrace (Port Pirie)	Pirie Blocks Road	800m West of Pirie Blocks Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface	805.90	8.00	6,447.20
Railway Terrace (Port Pirie)	950m West of Lover's Lane	Waits Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface	706.50	8.00	5,652.00
Railway Terrace (Port Pirie)	Lover's Lane	950m West of Lover's Lane	Rural Category 2 Sheeted (Poor Material) Wearing Surface	946.00	8.00	7,568.00
Railway Terrace (Port Pirie)	Pirie Blocks Road	800m West of Pirie Blocks Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	805.90	10.00	8,059.00
Railway Terrace (Port Pirie)	800m West of Pirie Blocks Road	Old Racecourse Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	823.90	10.00	8,239.00
Railway Terrace (Port Pirie)	Lover's Lane	950m West of Lover's Lane	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	946.00	8.00	7,568.00
Railway Terrace (Port Pirie)	950m West of Lover's Lane	Waits Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	706.50	8.00	5,652.00
Range View Road	Quarry Road	Scenic Drive	Rural Category 4 Sheeted (Average Material - Low Service Level) Wearing Surface	1,937.80	4.00	7,751.20
Range View Road	Quarry Road	Scenic Drive	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,937.80	4.00	7,751.20
Range View Road Side Track	Range View Road	Augusta Highway	Rural Category 5 Formed Graded Surface	270.10	4.00	1,080.40
Ray Hayes Road	Jones Road	Torrs Gap Rd	Rural Category 5 Formed Graded Surface	924.10	4.00	3,696.40
Ray Hayes Road	Torrs Gap Rd	Augusta Highway	Rural Category 3 Sheeted (Poor Material) Wearing Surface	453.40	5.00	
Ray Hayes Road	Torrs Gap Rd	Augusta Highway	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	453.40	8.00	
Redhill Dirt Track From River Road	River Road	Adey Road East	Rural Category 5 Formed Graded Surface	521.20	6.00	3,127.20
Redhill Lease Road No 1	Mundoora Road	Augusta Highway	Rural Leased Surface	569.40	4.00	
Redhill Lease Road No 2	Ellis St	River Road	Rural Leased Surface	1,302.30	4.00	5,209.20
Redpines Road	Cross Rd	Pengilly Road	Rural Category 5 Formed Graded Surface	1,623.30	3.00	
Redpines Road	Narridy Road	Evans Rented Road	Rural Category 5 Formed Graded Surface	4,907.70	3.00	14,723.10
Redpines Road	Pengilly Road	Redhill / Koolunga Road	Rural Category 5 Formed Graded Surface	1,198.80	3.00	3,596.40
Reldep Road	Council Boundary	Collinsfield Rd	Rural Category 5 Formed Graded Surface	1,571.90	4.00	
Reldep Road	Boundary Road	River	Rural Category 3 Sheeted (Average Material) Wearing Surface	552.20	5.20	
Reldep Road	River	Yacka Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	931.70	8.50	
Reldep Road	Collinsfield Rd	Boundary Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,802.40	7.00	12,616.80
Reldep Road	Boundary Road	River	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	552.20	8.20	4,528.00
Reldep Road	River	Yacka Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	931.70	11.50	
Reldep Road	Collinsfield Rd	Boundary Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,802.40	10.00	•
Reservoir Road	Scenic Drive	Fire Track No. 3	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks Rural Category 4 Sheeted (Average Material) Wearing Surface	1,646.80	5.00	8,234.00
Reservoir Road	Scenic Drive	Fire Track No. 3	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	1,646.80	7.00	
RF Nicholls Drive	Hughes Gap Road	End of Sheeted Section	Rural Category 4 Sheeted (Poor Material) Wearing Surface	945.80	5.00	4,729.00
RF Nicholls Drive	End of Sheeted Section	West Terrace	Rural Category 2 Sheeted (Good Material) Wearing Surface	106.50	6.00	639.00
RF Nicholls Drive	Hughes Gap Road	End of Sheeted Section	Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks	945.80	5.50	5,201.90

Road Name	From	То	Asset Type	Length	Width	Area
RF Nicholls Drive	End of Sheeted Section	West Terrace	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	106.50	9.50	1,011.80
Richard Venning's Rented Road	Montrose Lane	1.0 Km East	Rural Leased Surface	930.40	4.00	3,721.60
Richards Rented Road	Mumfords / Richards Rented Road	Cattle Track	Rural Leased Surface	341.10	4.00	1,364.40
Richards Track	Bairstows Xing	Sandows Road	Rural Category 5 Formed Graded Surface	3,753.50	3.00	11,260.50
River Access Road No 2	Yacka Road	River	Rural Category 5 Formed Graded Surface	88.70	4.00	354.80
River Drive Road	River	Yacka Road	Rural Category 5 Formed Graded Surface	72.30	4.00	289.20
River Glen Road	Sheeted Rd	Wanderah Rd	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,706.80	5.00	8,534.00
River Glen Road	Dip Sign	Formed Rd	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,972.10		11,832.60
River Glen Road	Sinclairs Rd	Dip Sign On Left	Rural Category 3 Sheeted (Good Material) Wearing Surface	784.00	6.00	4,704.00
River Glen Road	Hwy 1	Sinclairs Rd	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,114.10	5.00	5,570.50
River Glen Road	Sheeted Rd	Wanderah Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,706.80		10,240.80
River Glen Road	Hwy 1	Sinclairs Rd	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,114.10	5.00	5,570.50
River Glen Road	Sinclairs Rd	Dip Sign On Left	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	784.00	7.00	
River Glen Road	Dip Sign	Formed Rd	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,972.10		13,804.70
River Glen Road	Seidel/frith	Clothier Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	2,457.50		14,745.00
River Glen Road	Seidel/frith	Clothier Rd	Rural Category 4 Sheeted (Good Material) Wearing Surface	2,457.50	4.00	9,830.00
River Road	3.0 Km West Of North South Road	Old Broughton Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,179.30	4.50	9,806.90
River Road	1.4 Km West	3.0 Km West Of North South	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,089.70	4.50	4,903.70
River Road	North South Road	1.4 Km West	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,400.20	4.50	6,300.90
River Road	Finnigans Road	North South Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,503.60	5.50	8,269.80
River Road	Spencer Highway	Finnigens Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface	1,124.40	5.00	5,622.00
River Road	Finnigans Road	North South Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,503.60	8.50	12,780.60
River Road	3.0 Km West Of North South Road	Old Broughton Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	2,179.30	8.50	18,524.10
River Road	Spencer Highway	Finnigens Road	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	1,124.40	8.00	8,995.20
River Road	North South Road	1.4 Km West	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,400.20	8.80	12,321.80
River Road	1.4 Km West	3.0 Km West Of North South	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,089.70	8.50	9,262.50
River Road (Redhill to Koolunga)	10.5 Km East Of River Tc.	Brinkworth Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	2,173.70	7.00	15,215.90
River Road (Redhill to Koolunga)	6.5 Km East Of River Tc.	7.1 Km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Wearing Surface	2,753.70	7.50	20,652.80
River Road (Redhill to Koolunga)	3.1 Km East Of River Tc.	3.8 Km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Wearing Surface	747.30	7.50	5,604.80
River Road (Redhill to Koolunga)	3.8 Km East Of River Tc.	4.1km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Wearing Surface	437.90	7.50	3,284.30
River Road (Redhill to Koolunga)	2.4 Km East Of River Tc.	3.1 Km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Wearing Surface	632.80	7.50	4,746.00
River Road (Redhill to Koolunga)	St Martins Road	2.4 Km East Of St Martins Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	2,406.50	7.00	16,845.50
River Road (Redhill to Koolunga)	Redhill Tc	St Martins Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,193.20	7.00	8,352.40
River Road (Redhill to Koolunga)	4.1 Km East Of River Tc.	6.5 Km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Wearing Surface	2,262.80		18,102.40
River Road (Redhill to Koolunga)	Redhill Tc	St Martins Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,193.20		13,125.20
River Road (Redhill to Koolunga)	St Martins Road	2.4 Km East Of St Martins Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	2,406.50	10.00	24,065.00
River Road (Redhill to Koolunga)	4.1 Km East Of River Tc.	6.5 Km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	2,262.80	11.00	24,890.80
River Road (Redhill to Koolunga)	6.5 Km East Of River Tc.	7.1 Km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	2,753.70		28,913.90
River Road (Redhill to Koolunga)	10.5 Km East Of River Tc.	Brinkworth Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	2,173.70	10.00	21,737.00
River Road (Redhill to Koolunga)	2.4 Km East Of River Tc.	3.1 Km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	632.80	10.50	6,644.40
River Road (Redhill to Koolunga)	3.1 Km East Of River Tc.	3.8 Km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	747.30	10.50	7,846.70
River Road (Redhill to Koolunga)	3.8 Km East Of River Tc.	4.1km East Of River Tc.	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	437.90	10.50	4,598.00
River Walk Road	Yacka Road	River	Rural Category 5 Formed Graded Surface	145.90	4.00	583.60
Riverglen Road	2.3km South Frith/seidels Rd	700m North Clothiers Rd	Rural Category 4 Sheeted (Good Material) Wearing Surface	513.80	4.00	2,055.20
Riverglen Road	2.3km South Frith/seidels Rd	700m North Clothiers Rd	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	513.80	4.00	2,055.20
Road Reserve (Redhill)	Bridge At Redhill	0.371 Km West	Rural Road Reserve Surface	360.80		
Road To Nowhere	Bridge	Mosquito Drive	Rural Category 5 Formed Graded Surface	465.50	4.00	1,862.00
Robinson Road	Hughes Gap Road	Start of Seal	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,541.20	3.50	5,394.20
Robinson Road	Hughes Gap Road	Start of Seal	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,541.20	6.50	10,017.80
Robinsons Lease Road	Taylors Lease Road	End Of Road	Rural Leased Surface	1,072.40	4.00	4,289.60
Roscommon Road	Railway Line	Augusta Highway	Rural Category 3 Sheeted (Good Material) Wearing Surface	702.60	5.50	3,864.30
Roscommon Road	Railway Line	Augusta Highway	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	702.60	8.50	5,972.10
Rostyns Road	Mick Talbots Sand Track	Council Boundary	Rural Category 5 Formed Graded Surface	928.90	4.00	3,715.60

Road Name	From	То	Asset Type	Length	Width	Area
Rostyns Road	Taylor/klingners	Sand Track	Rural Category 5 Formed Graded Surface	1,358.80	3.00	4,076.40
Russell JA & HC Lease Road	Noyces Road	0.875 Km West	Rural Leased Surface	865.40	4.00	3,461.60
Samphire Roads	Samphire Roads	0.5 Km East	Rural Road Reserve Surface	470.70	4.00	1,882.80
Samphire Roads	Samphire Roads	End Of Sec.	Rural Road Reserve Surface	4,165.70	4.00	16,662.80
Samphire Roads	Spencer Highway	Samphire Road	Rural Road Reserve Surface	560.90		
Samphire Roads	Samphire Roads	Samphire Roads	Rural Road Reserve Surface	2,777.20		11,108.80
Samphire Roads	Samphire Roads	Northern Doundary	Rural Road Reserve Surface	6,628.90		26,515.60
Samphire Roads	Augusta Highway	Mangroves	Rural Road Reserve Surface	3,560.10		14,240.40
Samphire Roads	Northern Boundary	Spencer Highway	Rural Road Reserve Surface	7,764.70		31,058.80
Samphire Roads	Samphire Roads	Samphire Roads	Rural Road Reserve Surface	695.10	4.00	,
Samphire Roads	Samphire Roads	Samphire Roads	Rural Road Reserve Surface	538.90	4.00	
Sandows Road	Jimmy Richards House Road	Cattle Track	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,324.10	5.00	6,620.50
Sandows Road	Jimmy Richards House Road	Cattle Track	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,324.10		14,565.10
Sandows Road East	Cattle Track	Narridy Rd	Rural Category 5 Formed Graded Surface	2,267.20	2.00	4,534.40
Sandy Lane	Beach Gate	Beach	Rural Road Reserve Surface	1,535.80	4.00	6,143.20
Sandy Lane	1.7km West North-South Road	4.0km West North-South Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,977.00	6.00	11,862.00
Sandy Lane	4.0km West North-South Road	Mrs McMahons Gate	Rural Category 3 Sheeted (Good Material) Wearing Surface	971.10	6.00	5,826.60
Sandy Lane	Old Broughton Rd	Gary Collins House	Rural Category 3 Sheeted (Good Material) Wearing Surface	2,007.00	6.00	12,042.00
Sandy Lane	Mrs McMahons Gate	Old Broughton Rd	Rural Category 3 Sheeted (Good Material) Wearing Surface	595.50	6.00	3,573.00
Sandy Lane	Gary Collins House	Fidgees Lane	Rural Category 3 Sheeted (Good Material) Wearing Surface	482.80	6.00	2,896.80
Sandy Lane	Spencer Highway	North-South Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	3,089.80	7.00	21,628.60
Sandy Lane	North-South Road	1.7km West North-South Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,445.60	6.00	8,673.60
Sandy Lane	Fidgees Lane	Beach Gate	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,616.00	6.00	9,696.00
Sandy Lane	Mrs McMahons Gate	Old Broughton Rd	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	595.50	8.00	4,764.00
Sandy Lane	Old Broughton Rd	Gary Collins House	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,007.00	7.00	14,049.00
Sandy Lane	Spencer Highway	North-South Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	3,089.80		27,808.20
Sandy Lane	Gary Collins House	Fidgees Lane	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	482.80	7.00	
Sandy Lane	Fidgees Lane	Beach Gate	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,616.00		11,312.00
Sandy Lane	1.7km West North-South Road	4.0km West North-South Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,977.00		17,793.00
Sandy Lane	4.0km West North-South Road	Mrs McMahons Gate	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	971.10	9.00	
Sandy Lane	North-South Road	1.7km West North-South Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,445.60		13,010.40
Sandy Road	Mundoora Sbr	Torrs Gap Rd	Rural Category 5 Formed Graded Surface	3,108.50	2.00	6,217.00
Sandy Terrace	Waits Road	House Gate	Rural Category 5 Formed Graded Surface	946.10	5.00	4,730.50
Sandy Terrace	House Gate	Pirie Blocks Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	603.70	5.00	3,018.50
Sandy Terrace	House Gate	Pirie Blocks Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	603.70	9.00	5,433.30
Sargents Rented Road No 1	Old Brick Kilne Rd	End Of Sec	Rural Leased Surface	775.00	4.00	3,100.00
Sargents Rented Road No 2	Frith Road	End Of Sec.	Rural Leased Surface	808.10	4.00	3,232.40
Sargents Road	Nurom Rd	End Of Rd	Rural Category 5 Formed Graded Surface	3,094.50		12,378.00
	Frith Rd		Rural Category 5 Formed Graded Surface	871.70	4.00	3,486.80
Sargents Road Sargents Road	Wandearah Rd	Nurom Rd Frith Rd	Rural Category 5 Formed Graded Surface Rural Category 5 Formed Graded Surface	2,998.20		11,992.80
Scenic Drive Lease Road	Scenic Drive	End Of Road	Rural Leased Surface	2,998.20 321.90	7.00	
Schullers Road	Inglis Road	Clements Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,892.80		11,356.80
	Wilsons Road		3 , , , , ,			-
Schullers Road	2.0 Km E Of Pirie/pt Broughton Rd	Inglis Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	2,604.70		15,628.20
Schullers Road		Wilsons Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	451.90	6.00	2,711.40
Schullers Road	1.5 Km East Pirie/pt Broughton Rd	2.0 Km East	Rural Category 2 Sheeted (Average Material) Wearing Surface	511.80	5.20	2,661.40
Schullers Road	1.0 Km From Pirie/pt Broughton Rd	1.5 Km East	Rural Category 1 Sheeted (Good Material) Wearing Surface	498.90	6.00	2,993.40
Schullers Road	Spencer Highway	0.5 Km East	Rural Category 2 Sheeted (Good Material) Wearing Surface	485.80	7.00	3,400.60
Schullers Road	0.5 Km From Pirie/pt Broughton Rd		Rural Category 2 Sheeted (Good Material) Wearing Surface	490.50	6.00	2,943.00
Schullers Road	1.0 Km From Pirie/pt Broughton Rd		Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	498.90	8.00	3,991.20
Schullers Road	1.5 Km East Pirie/pt Broughton Rd		Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks			
				511.80	8.20	4,196.80
Schullers Road	2.0 Km E Of Pirie/pt Broughton Rd	Wilsons Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	451.90	9.00	4,067.10
Schullers Road	Inglis Road	Clements Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,892.80		17,035.20
Schullers Road	Wilsons Road	Inglis Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	2,604.70	9.00	23,442.30

Road Name	From	То	Asset Type	Length	Width	Area
Schullers Road	Spencer Highway	0.5 Km East	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	485.80	9.00	4,372.20
Schullers Road	0.5 Km From Pirie/pt Broughton Rd	1.0 Km East	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	490.50	8.00	3,924.00
Scrub Track	Valley Rd	Fence Into Paddock	Rural Category 5 Formed Graded Surface	1,037.40	4.00	4,149.60
Scrub Track	Valley Rd	Fence	Rural Category 5 Formed Graded Surface	2,817.30	3.00	
Senna Road	Milcowie Road	0.4 Km South	Rural Category 2 Sheeted (Good Material) Wearing Surface	456.30	6.00	
Senna Road	0.4 Km Sth Of Milcowie Rd	0.4 Km South	Rural Category 2 Sheeted (Good Material) Wearing Surface	3,470.90	6.00	,
Senna Road	Nurom Road	Frith Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,019.30	6.00	-,
Senna Road	Milcowie Road	0.4 Km South	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	456.30	8.00	,
						.,
Senna Road	0.4 Km Sth Of Milcowie Rd	0.4 Km South	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	3,470.90	9.00	
Senna Road	Nurom Road	Frith Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	2,019.30	8.00	-, -
Sentosa Road	Scenic Drive	Muster Drive	Rural Category 2 Sheeted (Average Material) Wearing Surface	368.40	6.00	
Sentosa Road	Muster Drive	Olive Grove Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	668.30	5.00	
Sentosa Road	Scenic Drive	Muster Drive	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	368.40	10.00	3,684.00
Sentosa Road	Muster Drive	Olive Grove Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	668.30	8.00	5,346.40
Seventh Street (Warnertown)	Herritage Road	End Of Road	Rural Category 5 Formed Graded Surface	241.70	4.00	966.80
Shipways Road	Yacka Rd	Jones Rd	Rural Category 5 Formed Graded Surface	2,760.00	3.00	8,280.00
Shultz Road	Last Section	Council Boundary	Rural Category 5 Formed Graded Surface	2,357.00	4.00	9,428.00
Shultz Road	Valley Rd	End Of Unformed	Rural Category 5 Formed Graded Surface	2,078.80	5.00	10,394.00
Sims Hill Road	Welbourne Road	620m South of Welbourne Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	627.10	6.00	3,762.60
Sims Hill Road	Frank's Track	Welbourne Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,535.40	10.00	15,354.00
Sims Hill Road	Smart Road	Frank's Track	Rural Category 2 Sheeted (Average Material) Wearing Surface	844.10	6.50	5,486.70
Sims Hill Road	Welbourne Road	620m South of Welbourne Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	627.10	9.00	
Sims Hill Road	Smart Road	Frank's Track	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	844.10	7.50	6,330.80
Sims Hill Road	Frank's Track	Welbourne Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,535.40	10.00	
Sims Hill Road	865m South of Welbourne Road	Valley Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	752.00	10.00	-,
Sims Hill Road	865m South of Welbourne Road	Valley Road	Rural Category 1 Sheeted (Average Fieteriar) Buriang Surface	752.00	7.00	,
Sims JT Lease Road	Noyces Road	Boundary	Rural Leased Surface	1,522.40	4.00	-,
	•			1,802.20	4.00	
Sims Lease Road Sims PT Lease Road	Schultz Road Torrs Gap Road	Boundary 1.2 Km East	Rural Leased Surface Rural Leased Surface	1,203.50	4.00	
						,
Sims Road	Mundoora Sbr	Fence	Rural Category 5 Formed Graded Surface	1,583.60	3.00	
Sinclairs Road	River Glen Rd	Augusta Highway	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,067.80	8.00	
Sinclairs Road	Floodway Sign	River Glen Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,653.30	8.00	
Sinclairs Road	Old School House Rd	Floodway Sign .(at River)	Rural Category 1 Sheeted (Good Material) Wearing Surface	430.00	7.00	3,010.00
Sinclairs Road	River Glen Rd	Augusta Highway	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,067.80	12.00	
Sinclairs Road	Floodway Sign	River Glen Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,653.30	12.00	19,839.60
Sinclairs Road	Old School House Rd	Floodway Sign .(at River)	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	430.00	10.00	4,300.00
Sinclairs Road	Behannas Rd	Old School House Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	723.50	8.00	5,788.00
Sinclairs Road	Hunts Rd	Behannas Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,612.40	9.00	23,511.60
Sinclairs Road	Behannas Rd	Old School House Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	723.50	7.50	5,422.50
Sinclairs Road	Hunts Rd	Behannas Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,612.40	8.00	19,590.00
Siviours Road	Siviours Gate	Port Broughton Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,035,20	5.50	
Siviours Road	Mumford Road 1.6 Km Nth/west	Siviours Gateway	Rural Category 3 Sheeted (Average Material) Wearing Surface	443.30	5.00	
Siviours Road	Mumford Road	1.6 Km Nth/west	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,601.20	5.00	
Siviours Road	Augusta Highway	Mumford Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	404.10	5.20	
Siviours Road		Mumford Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	404.10	8.20	
	Augusta Highway		- , , - ,			
Siviours Road	Siviours Gate	Port Broughton Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,035.20	8.50	8,799.20
Siviours Road	Mumford Road	1.6 Km Nth/west	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,601.20	8.00	,
Siviours Road	Mumford Road 1.6 Km Nth/west	Siviours Gateway	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	443.30	8.00	-,
Sixth Street (Warnertown)	Herritage Road	End	Rural Category 5 Formed Graded Surface	31.60	4.00	
Slant Road	Mallee Grove Rd	Shultz Rd	Rural Category 5 Formed Graded Surface	3,885.00	4.00	-,
Slattery Road	0.3 Km East Of Klingners Road	Council Boundary	Rural Category 5 Formed Graded Surface	331.30	7.00	2,319.10
Slattery Road	Klingers Road	0.3 Km East	Rural Category 3 Sheeted (Average Material) Wearing Surface	336.10	5.00	1,680.50
Slattery Road	1.4 Km E.ofcrystal Brook/narridy	Klingners Road	Rural Category 3 Sheeted (Average Material) Wearing Surface	291.70	5.00	1,458.50
Slattery Road	Goyder Highway	1.4 Km East	Rural Category 3 Sheeted (Average Material) Wearing Surface	1,171.00	5.00	5,855.00
Slattery Road	1.4 Km E.ofcrystal Brook/narridy	Klingners Road	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	291.70	7.00	2,041.90
	1	Ī	I and the second			1

Road Name	From	То	Asset Type	Length	Width	Area
Slattery Road	Klingers Road	0.3 Km East	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	336.10	8.00	2,688.80
Slattery Road	Goyder Highway	1.4 Km East	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	1,171.00	7.00	8,197.00
Slaughter House Road	Koolunga / Redhill Rd	End Of Sec	Rural Category 5 Formed Graded Surface	274.30	4.00	1,097.20
Slicks Road	Cattle Track	1.1 Km East	Rural Leased Surface	1,251.30	4.00	5,005.20
Smarts Back Road	Sims Hill Rd	Council Boundary	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,900.00	4.00	
Smarts Back Road	Sims Hill Rd	Council Boundary	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,900.00	4.00	
Smarts Lease Road	Sims Hill Road	Boundary	Rural Leased Surface	1,550.30	4.00	
Smarts Road	Klau Rd	Dunsford Rd	Rural Category 5 Formed Graded Surface	2,328.50	5.00	
Smarts Road	Dunsford Gate	Sims Hill Road	Rural Category 2 Sheeted (Poor Material) Wearing Surface	2,366.30	6.00	
Smarts Road	3.4 Km Eastof Sims Hill Rd	Valley Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	175.20	6.00	
Smarts Road	Sims Hill Rd	2.4 Km East	Rural Category 2 Sheeted (Average Material) Wearing Surface	2,714.10	7.00	
Smarts Road	Dunsford Rd	Dunsford Gate	Rural Category 2 Sheeted (Average Material) Wearing Surface	353.30	7.00	2,473.10
Smarts Road	Dunsford Gate	Sims Hill Road	Rural Category 2 Sheeted (Average Material) Wearing Surface Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	2,366.30	9.00	
Smarts Road	3.4 Km Eastof Sims Hill Rd	Valley Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	175.20	9.00	
	Sims Hill Rd	2.4 Km East	- · · · · · · · · · · · · · · · · · · ·	2,714.10	10.00	,
Smarts Road		***	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,058.90	9.00	,
Smarts Road Smarts Road	2.4 Km East Of Sims Hill Rd Dunsford Rd	3.4 Km East Of Sims Hill Rd Dunsford Gate	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	,		9,530.10
			Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	353.30	10.00	.,
Smarts Road	2.4 Km East Of Sims Hill Rd	3.4 Km East Of Sims Hill Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,058.00	6.00	-,
Snowtown Road	Collinsfield Rd	Boundary	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,299.60	8.00	-,
Snowtown Road	River Rd	Collinsfield Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,543.60	7.00	,
Snowtown Road	Collinsfield Rd	Boundary	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,299.60	11.00	-,
Snowtown Road	River Rd	Collinsfield Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,543.60		27,979.60
South West Terrace	Abattiors Road	End Of Road	Rural Category 5 Formed Graded Surface	195.80	4.00	
St Martins Road	Bowman St	Hydon Rd	Rural Category 3 Sheeted (Average Material) Wearing Surface	204.80	5.00	
St Martins Road	Bowman St	Hydon Rd	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	204.80	8.00	2,272.80
St Martins Road	Bowman St	End Of Sheeted	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	400.00	8.00	2,272.80
St Martins Road	Bowman St	End Of Sheeted	Rural Category 4 Sheeted (Good Material) Wearing Surface	400.00	5.00	1,420.50
Stock Route Road	Augusta Highway	Pt Davis Road	Rural Category 5 Formed Graded Surface	2,026.10	5.00	10,130.50
Stock Route Road	Pt Davis Road	Tillers Gate	Rural Category 3 Sheeted (Average Material) Wearing Surface	344.60	8.00	2,756.80
Stock Route Road	Pt Davis	Railway Crossing	Rural Category 1 Sheeted (Average Material) Wearing Surface	120.50	6.00	723.00
Stock Route Road	Pt Davis	Railway Crossing	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	120.50	8.00	964.00
Stock Route Road	Pt Davis Road	Tillers Gate	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	344.60	12.00	4,135.20
Stringer JA & LG Lease Road	Boundary	2.6km East	Rural Leased Surface	2,619.50	4.00	10,478.00
Stringers Road	Collinsfield Rd	River Rd	Rural Category 5 Formed Graded Surface	2,100.80	4.00	
Sunkist Road	Bowman Street	.45km South	Rural Category 4 Sheeted (Good Material) Wearing Surface	515.00	4.00	
Sunkist Road	Bowman STreet	.45km South	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	515.00	4.00	
Sunnyville Road	Davies Gate	Gate	Rural Category 5 Formed Graded Surface	1,643.90	4.00	
Sunnyville Road	Scenic Drive	Davies Gate	Rural Category 3 Sheeted (Poor Material) Wearing Surface	1,633.90	5.00	
Sunnyville Road	Scenic Drive	Davies Gate	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	1,633.90	6.00	
Surveyed Road	Pirie West Area	Davies date	Rural Road Reserve Surface	1,888.90	4.00	
Surveyed Road	Esmond Road	Surveyed Road	Rural Road Reserve Surface	443.70	4.00	,
Surveyed Road	Pirie West Area	Surveyed Road	Rural Road Reserve Surface	1,623.20	4.00	
Surveyed Road				1,403.40	4.00	
Surveyed Road Surveyed Road	Pirie West Area Pirie West Area		Rural Road Reserve Surface Rural Road Reserve Surface	2,945.80	4.00	
•						,
Surveyed Road	Pirie West Area		Rural Road Reserve Surface	575.90	4.00	
Surveyed Road	Pirie West Area	Deline and Deed	Rural Road Reserve Surface	1,609.60	4.00	6,438.40
Surveyed Road (Road Reserve)	Esmond Road	Balmoral Road	Rural Road Reserve Surface	594.10		
Surveyed Road (Road Reserve)	End (north)	End (south)	Rural Road Reserve Surface	431.20		
Surveyed Road (Road Reserve)	End (east)	End (west)	Rural Road Reserve Surface	343.70		
Surveyed Road (Road Reserve)	Esmond Road	Balmoral Road	Rural Road Reserve Surface	582.00		
Surveyed Road (Road Reserve)	End (north)	Kingston Road	Rural Road Reserve Surface	578.20		
Surveyed Road (Road Reserve)	Balmoral Road	Kingston Road	Rural Road Reserve Surface	558.30		
Surveyed Road (Road Reserve)	End (north)	Moppett Road	Rural Road Reserve Surface	431.20		
		Collinsfield Rd	Rural Category 5 Formed Graded Surface	2,897.90	5.00	14,489.50
Taff's Road	River Rd		- '			
Taff's Road Taff's Road	River Rd Collinsfield Rd	Snowtown Rd	Rural Category 5 Formed Graded Surface	2,520.50		10,082.00
			- '			
Taff's Road	Collinsfield Rd	Snowtown Rd	Rural Category 5 Formed Graded Surface	2,520.50	4.00	1,153.80

Road Name	From	То	Asset Type	Length	Width	Area
Taylors Lease Road	Taylors Road	Robinsons Lease Road	Rural Leased Surface	571.50	4.00	2,286.00
Taylors Road	Goyder Highway	Klingers Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,326.60	5.00	6,633.00
Taylors Road	Goyder Highway	Klingers Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,326.60	8.00	10,612.80
The Blocks Road	Ellis St	End Of Road	Rural Category 5 Formed Graded Surface	1,019.80	4.00	4,079.20
The Bluff Track	Crusher	End Of Sec.	Rural Category 5 Formed Graded Surface	6,579.00	6.00	39,474.00
The Whim Road	1.0 km East of Nurom Road	Frith Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	1,455.20	6.00	8,731.20
The Whim Road	Nurom Road	1.0 km East of Nurom Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	980.20	6.00	5,881.20
The Whim Road	3.4km East	Nurom Road	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,393.60	6.00	8,361.60
The Whim Road	1.4 Km East	Woodlands Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	986.90	6.00	5,921.40
The Whim Road	Pirie/broughton Rd	1.4 Km East	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,423.80	6.00	8,542.80
The Whim Road	Woodlands Road	1km SE of Woodlands Road	Rural Category 1 Sheeted (Good Material) Wearing Surface	1,012.50	6.00	
The Whim Road	3.4km East	Nurom Road	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,393.60	9.00	12,542.40
The Whim Road	1.4 Km East	Woodlands Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	986.90	9.00	8,882.10
The Whim Road	Pirie/broughton Rd	1.4 Km East	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,423,80	9.00	12,814.20
The Whim Road	Nurom Road	1.0 km East of Nurom Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	980.20	9.00	
The Whim Road	1.0 km East of Nurom Road	Frith Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	1,455.20	9.00	13.096.80
The Whim Road	Woodlands Road	1km SE of Woodlands Road	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	1,012.50	9.00	9.112.50
Three Pines Road	Lower Broughton Road Ex.	Beach	Rural Category 5 Formed Graded Surface	2,555.80	4.00	,
Ti Tree Road	1.8 Km South	Exchange Road	Rural Category 5 Formed Graded Surface	1,743.80	5.00	
Ti Tree Road		2.6 South	Rural Category 5 Formed Graded Surface	2,599.90	5.00	-,
Ti Tree Road	Exchange Road		5 /		5.00	,
	2.6 South	Freezer Road	Rural Category 5 Formed Graded Surface	4,617.40		-,
Ti Tree Road	Port Davis Road	0.8 Km South	Rural Category 4 Sheeted (Poor Material) Wearing Surface	799.70	5.00	
Ti Tree Road	Port Davis Road	0.8 Km South	Rural Category 4 Sheeted (Poor Material) Lower Base & Earthworks	799.70	5.00	
Ti Tree Road	0.8 Km South	1.8 Km South	Rural Category 4 Sheeted (Good Material) Wearing Surface	1,000.00	4.00	
Ti Tree Road	0.8 Km South	1.8 Km South	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	1,000.00	4.00	4,000.00
Torrs Gap Road	Treloars Track (3km West)	Mundoora Power Line Rd	Rural Category 5 Formed Graded Surface	2,977.00	2.00	
Torrs Gap Road	1.06 Km W. Of Floppers Rd	Narrow Formed Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,173.70	8.00	
Torrs Gap Road	Mundoora Power Line Rd	Mundoora Rd	Rural Category 1 Sheeted (Good Material) Wearing Surface	2,706.00	8.00	
Torrs Gap Road	1.5 Km West Of Hayes Road	Mercowie Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	306.90	7.00	2,148.30
Torrs Gap Road	Hayes Road	1.5 Km West	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,506.30	7.50	
Torrs Gap Road	Ray Hayes Road	Hayes Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,165.90	6.50	7,578.40
Torrs Gap Road	Augusta Highway	Hayes Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	295.40	8.00	2,363.20
Torrs Gap Road	Mundoora Power Line Rd	Mundoora Rd	Rural Category 1 Sheeted (Good Material) Lower Base & Earthworks	2,706.00	11.00	29,766.00
Torrs Gap Road	Augusta Highway	Hayes Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	295.40	11.00	3,249.40
Torrs Gap Road	Ray Hayes Road	Hayes Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,165.90	9.50	11,076.10
Torrs Gap Road	Hayes Road	1.5 Km West	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,506.30	10.50	15,816.20
Torrs Gap Road	1.5 Km West Of Hayes Road	Mercowie Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	306.90	10.00	3,069.00
Torrs Gap Road	0.7 Km W. Of Floppers Rd	1.06 Km West Of Floppers Rd	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	405.00	10.00	4,050.00
Torrs Gap Road	1.06 Km W. Of Floppers Rd	Narrow Formed Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,173.70	11.00	12,910.70
Torrs Gap Road	Mercowie Prop / Floppers Rd	0.7 Km West	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	642.40	9.50	6,102.80
Torrs Gap Road	Mercowie Prop / Floppers Rd	0.7 Km West	Rural Category 2 Sheeted (Good Material) Wearing Surface	642.40	7.00	4,494.00
Torrs Gap Road	0.7 Km W. Of Floppers Rd	1.06 Km West Of Floppers Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	405.00	7.00	2,835.00
Torrs Gap Road	Narrow Formed Road	Treloars Track (3km West)	Rural Category 4 Sheeted (Good Material) Wearing Surface	3,000.00	4.00	12,000.00
Torrs Gap Road	Narrow Formed Road	Treloars Track (3km West)	Rural Category 4 Sheeted (Good Material) Lower Base & Earthworks	3,000.00	4.00	12,000.00
Tothills Track	Cattle Track	End Of Road	Rural Category 5 Formed Graded Surface	256.20	4.00	1,024.80
Treloars Track	Ward Boundary	Torrs Gap Rd	Rural Category 2 Sheeted (Poor Material) Wearing Surface	867.30	5.50	4,770.20
Treloars Track	Cliffords Rd	Ward Boundary	Rural Category 2 Sheeted (Poor Material) Wearing Surface	2,257.60	6.20	
Treloars Track	Cliffords Rd	Ward Boundary	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	2,257.60	9.20	
Treloars Track	Ward Boundary	Torrs Gap Rd	Rural Category 2 Sheeted (Poor Material) Lower Base & Earthworks	867.30	8.50	
Turners Lease Road	Oaks Road	West	Rural Leased Surface	162.70	4.00	650.80
Unnamed Road (South of Cheesman Ave)	End of Formed Section	End of Unformed Section	Rural Category 5 Formed Graded Surface	593.00	4.00	2,372.00
Unnamed Road (South of Cheesman Ave)	Senate Road	End Of Formed Section	Rural Category 5 Formed Graded Surface	331.20	4.00	1,324.80
Valley Road	2.1 Km Nth Of Mallee Grove Rd	Shultz Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface	807.50	6.50	
Valley Road	End Of Seal 100m East	0.500 Km North	Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface	616.90	6.20	3,824.80
Valley Road	Mallee Grove Rd	Smarts Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface	569.70	7.50	4,272.80
Valley Road	Behenna's Track	Mallee Grove Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface	1,781.80	8.00	
Valley Road	0.500 Km Nth Sealed Sec	Jones Rd	Rural Category 1 Sheeted (Average Material) Wearing Surface Rural Category 1 Sheeted (Average Material) Wearing Surface	4,314.70		30,202.90
·		2.1 Km North		2,097.00		
Valley Road	Smarts Rd	Z.1 KIII NOTUI	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,097.00	0.50	13,630.50

Road Name	From	То	Asset Type	Length	Width	Area
Valley Road	0.9 Km North Of Jone's Road	Behennas Track	Rural Category 1 Sheeted (Average Material) Wearing Surface	226.30	6.50	1,471.00
Valley Road	2.1 Km Nth Of Mallee Grove Rd	Shultz Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	807.50	9.00	7,267.50
Valley Road	End Of Seal 100m East	0.500 Km North	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	616.90	9.20	5,675.50
Valley Road	0.500 Km Nth Sealed Sec	Jones Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	4,314.70	10.00	43,147.00
Valley Road	Jones Rd	0.9 Km North	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	940.10	10.00	9,401.00
Valley Road	0.9 Km North Of Jone's Road	Behennas Track	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	226.30	9.50	2,149.90
Valley Road	Behenna's Track	Mallee Grove Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,781.80	11.00	19,599.80
Valley Road	Mallee Grove Rd	Smarts Rd	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	569.70	10.50	5,981.90
Valley Road	Smarts Rd	2.1 Km North	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,097.00	9.50	19,921.50
Valley Road	Jones Rd	0.9 Km North	Rural Category 1 Sheeted (Average Material) Wearing Surface	940.10	7.00	6,580.70
Valley Road (Crystal Brook)	End Of Bitumen	West Tc.	Rural Category 3 Sheeted (Good Material) Wearing Surface	2,650.10	4.50	
Valley Road (Crystal Brook)	End Of Bitumen	West Tc.	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,650.10	5.00	
Venning's Rented Road No 1	Cattle Track	Fence <welch's></welch's>	Rural Leased Surface	1,194.60	4.00	4,778.40
Venning's Rented Road No 2	Cattle Track	Wyuna Road	Rural Leased Surface	1,956.50	4.00	7,826.00
Venning's Rented Road No 3	Montrose Lane	Bob Gales Rented Rd	Rural Leased Surface	1,987.40	4.00	7,949.60
Vennings Road (Davidsons)	Cattle Track	End Of Road	Rural Category 5 Formed Graded Surface	1,083.70	4.00	
View Bank Road	Harry's Rd	End Of Sheeted 0.3 Km East	Rural Category 3 Sheeted (Average Material) Wearing Surface	255.70	7.00	1,789.90
View Bank Road	End Of Sheeted 0.6 Km East	Valley Rd	Rural Category 3 Sheeted (Average Material) Wearing Surface Rural Category 3 Sheeted (Average Material) Wearing Surface	707.30	7.00	
View Bank Road				255.70	10.00	,
	Harry's Rd	End Of Sheeted 0.3 Km East	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks			2,557.00
View Bank Road	End Of Sheeted 0.6 Km East Cattle Track	Valley Rd	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	707.30	10.00	
Wake Road		End Of Road	Rural Category 6 Unformed Surface	2,399.80	4.00	9,599.20
Walkers Track	Pengilly's Rd 1.0 Km East	Redpines Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	1,962.00	7.00	.,
Walkers Track	Koolunga / Redhill Road	0.14 K. N. Koolunga/redhill Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	136.50	7.50	,
Walkers Track	Kelly Road	Klau Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	792.70	6.00	,
Walkers Track	Evan's Rented Road 2	Kelly Rd	Rural Category 2 Sheeted (Average Material) Wearing Surface	933.20	6.00	5,599.20
Walkers Track	Redpines Road	Evan's Rented Road 2	Rural Category 2 Sheeted (Average Material) Wearing Surface	886.80	6.50	
Walkers Track	Koolunga / Redhill Road	0.14 K. N. Koolunga/redhill Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	136.50	10.50	
Walkers Track	Redpines Road	Evan's Rented Road 2	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	886.80	9.50	
Walkers Track	Evan's Rented Road 2	Kelly Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	933.20	9.00	8,398.80
Walkers Track	Kelly Road	Klau Rd	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	792.70	9.00	7,134.30
Walkers Track	Pengilly's Rd 1.0 Km East	Redpines Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	1,962.00	10.00	19,620.00
Wandearah Road	Venning Road	Augusta Highway	Rural Category 6 Unformed Surface	667.50	ļ	
Wandearah Road	Lower Broughton Road	Beach	Rural Category 5 Formed Graded Surface	5,200.70	4.00	20,802.80
Wandearah Road	Old Broughton Road	Crouch's Gate	Rural Category 2 Sheeted (Good Material) Wearing Surface	2,158.80	6.00	12,952.80
Wandearah Road	Old Broughton Road	Crouch's Gate	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	2,158.80	10.00	11,349.76
Wandearah Road	Crouch's Gate	1km West of Crouch's Gate	Rural Category 2 Sheeted (Good Material) Wearing Surface	789.70	6.00	4,738.20
Wandearah Road	Crouch's Gate	1km West of Crouch's Gate	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	789.70	10.00	7,897.00
Wandearah Road	1km West of Crouch's Gate	Lower Broughton Road	Rural Category 2 Sheeted (Good Material) Wearing Surface	1,589.60	6.00	9,537.60
Wandearah Road	1km West of Crouch's Gate	Lower Broughton Road	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	1,589.60	10.00	14,292.96
Warnertown Cemetrey Drive	Cemetrey	End Of Road	Rural Category 2 Sheeted (Average Material) Wearing Surface	112.80	4.00	451.20
Warnertown Cemetrey Drive	Cemetrey	End Of Road	Rural Category 2 Sheeted (Average Material) Lower Base & Earthworks	112.80	5.50	620.40
Water Point Road No 1	Council Lease Road	River Road	Rural Category 5 Formed Graded Surface	339.80	4.00	1,359.20
Water Point Road No 2	Council Lease Road	River Road	Rural Category 5 Formed Graded Surface	358.60	4.00	1,434.40
Water Point Road No 3	Koolunga / Redhill Road	1.1 Km South	Rural Category 5 Formed Graded Surface	1,122.00	4.00	4,488.00
Wauchopes Road	Pirie Blocks Road	Abattiors Road	Rural Category 5 Formed Graded Surface	686.00	4.00	
Wauchopes Road	Old Racecourse Road	Pirie Blocks Road	Rural Category 5 Formed Graded Surface	2,516.80	14.00	35,235.20
Welbourne Road	Sims Hill Road	Council Boundary	Rural Category 1 Sheeted (Average Material) Wearing Surface	853.50	6.00	5,121.00
Welbourne Road	Sims Hill Road	Council Boundary	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	853.50	9.00	7,681.50
West Terrace (Crystal Brook)	Valley Road	Eyre Road Ex	Rural Category 3 Sheeted (Average Material) Wearing Surface	562.00	5.50	3,091.00
West Terrace (Crystal Brook)	Talbots Rd	John Street East	Rural Category 1 Sheeted (Good Material) Wearing Surface	443.20	8.00	3,545.60
West Terrace (Crystal Brook)	Valley Road	Evre Road Ex	Rural Category 3 Sheeted (Average Material) Lower Base & Earthworks	562.00	8.50	4,777.00
West Terrace (Crystal Brook)	Talbots Rd	John Street East	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	443.20	12.00	5,318.40
Wheaton Drive	Adey Rd	End Of Unformed	Rural Category 5 Formed Graded Surface	1,505.40	2.00	
Wheaton Drive	End Of Formed	Augusta Highway	Rural Category 4 Sheeted (Average Material) Wearing Surface	373.40	4.50	1,680.30
Wheaton Drive	End Of Formed	Augusta Highway	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	373.40	7.50	
Wheatons Drive East	60031	Hydon Rd	Rural Category 6 Unformed Surface	1,288.80	2.00	
Wheatons Rented Road	Cattle Track	End Of Rd	Rural Leased Surface	1,167.90	4.00	4,671.60
White Cliffs Road	Collinsfield Rd	Reldep Rd	Rural Category 5 Formed Graded Surface	1,914.90	4.00	

Road Name	From	То	Asset Type	Length	Width	Area
White Cliffs Road	Brinkworth Road	Collinsfield Rd	Rural Category 5 Formed Graded Surface	1,408.40	6.00	8,450.40
Wilkin Road	Merriton/narridy	Arbon Rd	Rural Category 5 Formed Graded Surface	1,939.10	3.00	5,817.30
Willow Swamp Road	Pt Davis Road	Gate	Rural Category 5 Formed Graded Surface	914.90	5.00	4,574.50
Wilsons Fire Track (Rented)	Narridy / Merriton Road	Richards Rented Road	Rural Leased Surface	3,374.60	4.00	13,498.40
Wilsons Road	Dry Weather Sign	Schullers Rd	Rural Category 5 Formed Graded Surface	2,224.40	6.00	13,346.40
Wilsons Road	Clements Road	Dry Weather Sign	Rural Category 4 Sheeted (Average Material) Wearing Surface	2,112.80	6.00	12,676.80
Wilsons Road	Clements Road	Dry Weather Sign	Rural Category 4 Sheeted (Average Material) Lower Base & Earthworks	2,112.80	9.00	19,015.20
Wongabirrie Road	Lagoons	Montrose Lane	Rural Category 6 Unformed Surface	1,001.40	4.00	4,005.60
Wongabirrie Road	Binney Road	Lagoons	Rural Category 5 Formed Graded Surface	994.70	4.00	3,978.80
Wongabirrie Road	End of Seal at 750m South	Binney Rd	Rural Category 2 Sheeted (Good Material) Wearing Surface	578.80	5.00	2,894.00
Wongabirrie Road	End of Seal at 750m South	Binney Rd	Rural Category 2 Sheeted (Good Material) Lower Base & Earthworks	578.80	8.00	4,630.40
Woodlands Road	The Whim Road	Milcowie Road	Rural Category 3 Sheeted (Good Material) Wearing Surface	2,486.10	6.00	14,916.60
Woodlands Road	The Whim Road	Milcowie Road	Rural Category 3 Sheeted (Good Material) Lower Base & Earthworks	2,486.10	9.00	22,374.90
Wyeuro Road	Gate	End Of Road	Rural Category 5 Formed Graded Surface	1,147.20	5.00	5,736.00
Wyeuro Road	Exchange Road	Gate	Rural Category 5 Formed Graded Surface	1,266.50	5.00	6,332.50
Wyeuro Road	Lower Broughton Road	Exchange Road	Rural Category 5 Formed Graded Surface	453.70	4.00	1,814.80
Wyuna Road	Bob Gale's Road	2.15 Km .west	Rural Category 5 Formed Graded Surface	2,173.60	4.00	8,694.40
Wyuna Road	End Of Sheeted 0.4 Km East	Fence	Rural Category 5 Formed Graded Surface	1,869.50	3.00	5,608.50
Wyuna Road	Heaslip Rd	End Of Sheeted 0.4 Km East	Rural Category 3 Sheeted (Poor Material) Wearing Surface	452.90	4.00	1,811.60
Wyuna Road	Heaslip Rd	End Of Sheeted 0.4 Km East	Rural Category 3 Sheeted (Poor Material) Lower Base & Earthworks	452.90	4.00	1,811.60
Yacka Road	2.10 Km East Seventh St	White Cliff Crn	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,647.60	7.00	18,533.20
Yacka Road	1.45 Km East Seventh St	2.10 Km East Seventh St	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,659.40	7.00	11,615.80
Yacka Road	Seventh St(kool)	1.45 Km East	Rural Category 1 Sheeted (Average Material) Wearing Surface	1,510.20	7.00	10,571.40
Yacka Road	White Cliff Crn	Council Boundary	Rural Category 1 Sheeted (Average Material) Wearing Surface	2,216.00	8.00	17,728.00
Yacka Road	Seventh St(kool)	1.45 Km East	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,510.20	10.00	15,102.00
Yacka Road	1.45 Km East Seventh St	2.10 Km East Seventh St	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	1,659.40	10.00	16,594.00
Yacka Road	2.10 Km East Seventh St	White Cliff Crn	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,647.60	10.00	26,476.00
Yacka Road	White Cliff Crn	Council Boundary	Rural Category 1 Sheeted (Average Material) Lower Base & Earthworks	2,216.00	11.00	24,376.00
Youngs Lease Road	Les Affords Road	End Of Road	Rural Leased Surface	1,938.40	4.00	7,753.60